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HC hCV¡ −Le 
fË¡LÚ-fË¡b¢j−Ll 3 −b−L 7 hRl h−u¢p ¢nö−cl SeÉ “−mM¡fs¡u q¡−aM¢s” 
f¤¢Ù¹L¡l Q¡l¢V d¡−f 100 fkÑ¿¹ pwMÉ¡ J p¡d¡lZ −k¡N ¢h−u¡N −nM¡−e¡ q−u−Rz 
Cú¥−ml Aøj −nË¢Z fkÑ¿¹ Aˆ −nM¡l Hlf−ll f¡W…−m¡−L (SÉ¡¢j¢a J h£SN¢Za 
R¡s¡) l¡M¡ qm ¢ae¢V i¡−N “Aˆ −nM¡l q¡−aM¢s” f¤¢Ù¹L¡uz fËbj i¡−N Cú¥−ml 
¢àa£u J a«a£u −nË¢Zl, ¢àa£u i¡−N Qa¥bÑ J f’j −nË¢Zl, Bl a«a£u i¡−N B−R 
où −b−L Aøj −nË¢Zl f¡WÉz     

¢nö−cl Aˆ −nM¡l hC, k¡ BSL¡m h¡S¡−l −j−m Abh¡ plL¡l −R−f ¢halZ 
L−le, a¡−cl BL¡l ¢hn¡m Bl BuaeJ ¢hf¤mz fË¡b¢j−Ll HL HLV¡ −nË¢Zl 
f¡WÉ hC-C qm c¤-¢aen f¡a¡lz hC…−m¡−a HLC Lb¡−L l¢Pe R¢h−a e¡e¡i¡−h 
O¤¢l−u ¢g¢l−u −cM¡−e¡l g−m ¢nöje ¢hï¡¿¹ −a¡ quC, Bl −pCp−‰ hC−ul −h¡T¡l 
i¡−l a¡l ¢fW e¤−u f−s −pC ¢nöL¡m −b−LCz Cú¥−m hRl d−l fs¡ qu qu−a¡ 
A−eL, ¢L¿¹¥ −nM¡ qu LaV¡? Bj¡−cl fË−u¡Se −nM¡—i£¢aSeL hC eu, 
¢nöq¡−a e¡s¡Q¡s¡l Efk¤š² p¡d¡lZ BL«¢al f¤¢Ù¹L¡l j¡−f üÒfj§−mÉl hC, −kM¡−e 
pqS L−l −h¡T¡−e¡ b¡L−h A−ˆl fÜ¢a…−m¡ Bl Ae¤n£m−el SeÉ b¡L−h k−bø 
pwMÉ¡u Aˆz  

lP-−hl−P R¡f¡ −j¡V¡−p¡V¡ c¡¢j hC…¢ml f¡−n Hje f¡am¡ Q¢V hC −c−M 
¢h−no nËÜ¡i¢š² S¡N−h e¡z a¡q−mJ Hje hC-C BS fË−u¡Se, k¡ ¢nö-q¡−a 
e¡s¡Q¡s¡l Ef−k¡N£, J k¡ ¢c−u p¡d¡lZ ¢n¢ra A¢ii¡hL h¡ ÙÛ¡e£u j¡e¤o 
−R−m−j−u−cl Aˆ −nM¡u p¡q¡kÉ Ll−a f¡−lez BL¡l Bua−e −R¡V f¤¢Ù¹L¡ 
Q¡C—HC i¡he¡ −b−L lP£e R¢h, hs hs qlg, CaÉ¡¢c h¡ýmÉ hSÑe L−l, k¡ 
−nM¡l kaV¥L¥ −nM¡l −pV¥L¥C l¡M¡ qmz 

h£li−̈jl g¥mX¡P¡ ¢hcÉ¡QQÑ¡ −L−¾cÊ B¢ch¡p£ ¢nö−cl −mM¡fs¡ −nM¡−e¡l 
A¢i‘a¡l gpm HC f¤¢Ù¹L¡ z BlJ A−eL ¢nöl −mM¡fs¡ −nM¡u pq¡uL q−a 
f¡l−m HC f¤¢Ù¹L¡ p¡bÑL quz fËb¡Na Cú¥−ml fË¡¢aù¡¢eL ¢nr¡hÉhÙÛ¡ R¡s¡J ¢h¢iæ 
A’−m hý pj¡S−ph£ pwÙÛ¡ J ÙÛ¡e£u E−cÉ¡−N ¢nö J huú ¢nr¡l L¡S¢V pwO¢Va 
q−a −cM¡ k¡uz HC E−cÉ¡N…¢ml L¡−S pq¡ua¡l Lb¡ j¡b¡u −l−MC HC hC¢Vl 
fËL¡ne¡z fËL¡ne¡u pq¡ua¡ L−l−R −p±lmrÈ£ −j−j¡¢lu¡m VÊ¡ØVz ¢LR¥ i¥mœ¥¢V 
pw−n¡de L−l ¢c−u−Re l¡¢n¢h‘¡e£ AdÉ¡fL fËc£f −pe…ç (k¡chf¤l ¢hnÄ¢hcÉ¡mu)z  
 
−ghË¥u¡¢l 2022 
g¥mX¡P¡ ¢hcÉ¡QQÑ¡ −L¾cÊ, h£li¨j           p¤¤ae¤ i–¡Q¡kÑ 
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f¡W 1. q¡−a −l−M hs …Z Ll¡ 
Bjl¡ B−N c¤−V¡ HLL pwMÉ¡l pqS …Z J i¡N ¢n−M¢Rz hs hs pwMÉ¡l 
(cnL, naL, h¡ q¡S¡l, cn q¡S¡l O−ll pwMÉ¡) …Z J i¡N ¢nM−a 
Bj¡−cl q¡−a −l−M −k¡N ¢h−u¡−Nl fÜ¢a hÉhq¡l Ll−a q−hz fËb−j cn, 
HLn, q¡S¡l, cn q¡S¡l, CaÉ¡¢c ¢c−u …Z Ll¡l pqS Ef¡uV¡ mr Llhz 

1.1  pwMÉ¡l −n−o HL h¡ HL¡¢dL n§eÉ b¡L−m …Z Ll¡ 
−k c¤¢V pwMÉ¡l …Z Ll−a q−h a¡−cl …………ZZZZLLLL¢V (k¡ ¢c−u …Z Ll¡) h¡ 
…ZÉ…ZÉ…ZÉ…ZÉ¢Vl (k¡−L …Z Ll¡) −n−o HL¢V h¡ HL¡¢dL n§eÉ b¡L−m, −pC n§eÉ…¢m 
h¡c ¢c−u h¡¢L pwMÉ¡l …Z Ll−a q−h J a¡lfl …Zgm¢Vl −n−o n§eÉ…¢m 
h¢p−u Bjl¡ −j¡V …Zgm¢V f¡hz mr L−l¡ 10-−ul e¡ja¡z 1-−ul 
e¡ja¡l …Zg−ml −n−o HL¢V n§eÉ hp−Rz HLC i¡−h 20, 30, 40 CaÉ¡¢c 
¢c−u …Zgm f¡C 2, 3 , 4 CaÉ¡¢c ¢c−u …Zg−ml −n−o HL¢V n§eÉ hp¡−mz 

x 1 2 3 4 5 6 7 8 9 10 

10 10 20 30 40 50 60 70 80 90 100 

20 20 40 60 80 100 120 140 160 180 200 

30 30 60 90 120 150 180 210 240 270 300 

40 40 80 120 160 200 240 280 320 360 400 

50 50 100 150 200 250 300 350 400 450 500 

60 60 120 180 240 300 360 420 480 540 600 

70 70 140 210 280 350 420 490 560 630 700 

80 80 160 240 320 400 480 560 640 720 800 

90 90 180 270 360 450 540 630 720 810 900 

100 100 200 300 400 500 600 700 800 900 1000 

Bjl¡ HC dl−el …Z Ll¡l pqS fÜ¢al L−uL¢V Ec¡qlZ −cMhz 
 20 x 3 =  2 cn x 3       8 x 30  = 8 x 3 cn   
   = 2 x 10 x 3     = 8 x 3 x 10 

   = 2 x 3   x 10      = 24 x 10 

   = 6   x 10 =  60    =   240    

 30 x 50 = 3 cn x 5 cn    40 x 60  = 4 cn x 6 cn   
   = 3x10 x 5x10     = 4 x10 x  6x10 

   = 3x 5 x 10 x 10    = 4 x 6 x 10 x10 

              = 15  x 100 =1500    =   24 x 100 = 2400 
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1.2  HLL pwMÉ¡ ¢c−u …Z 
…ZÉ pwMÉ¡¢V−L Bjl¡ Jf−l ¢mMh J ¢e−Q …ZL pwMÉ¡¢V−L Hjei¡−h 
p¡¢S−u ¢mMh k¡−a X¡e¢c−L HL−Ll O−ll Aˆ¢V HLC m¡C−e b¡−Lz B−N 
−kje hm¡ q−u−R, …ZÉ h¡ …Z−Ll −n−o n§eÉ b¡L−m n§eÉ…¢m−L HL−Ll 
O−ll X¡e¢c−L p¢l−u ¢m−M l¡M−a q−hz n§eÉ…¢m HMe …Z Ll¡l j−dÉ e¡ 
d−l f−l …Zgm k¡ q−h a¡l −n−o HLh¡−l hp¡−a q−hz    
  …Z Ll¡ öl¦ Ll−a q−h Jf−ll …ZÉ pwMÉ¡¢Vl X¡e¢c−Ll HLL O−ll 
Aˆ¢V −b−Lz HC …Zgm¢V k¢c 10 h¡ 10-Hl −hn£ qu (mr L−l¡, c¤¢V 
HLL pwMÉ¡l …Zgm ph−Q−u −hn£ q−m 9x9 = 81 q−a f¡−l)z a¡q−m 
…Zgm¢Vl −b−L cn−Ll Aˆ¢¢V−L q¡−a −l−M …ZÉ pwMÉ¡¢Vl B−Nl O−l 
(cn−Ll) f¡¢W−u ¢c−a q−h, −pM¡eL¡l …Zg−m f−l −k¡N Ll−a J HL−Ll 
Aˆ¢¢V−L ¢e−Q ¢mM−a q−h HL−Ll O−lz fÜ¢a¢V −h¡T¡ k¡−h ¢e−Ql …Z…¢m 
−cM−mz a¡l B−N Bjl¡ …Z Ll¡¢V−L HLL, cnL, naL CaÉ¡¢c O−l 
−i−P ¢m−M h¤−T −ehz 

32-−L 4 ¢c−u …Z Ll¡   35-−L 4 ¢c−u …Z Ll¡ 
32    3  cn    2     35      3  cn  5 

x 4             x  4     x 4             x  4 

    12 cn 8           12 cn 20 

 = 1 na 2 cn 8 = 128   =  1 na 2 cn 2 cn =140 

39-−L 7 ¢c−u …Z Ll¡   148-−L 4 ¢c−u …Z Ll¡ 
39  3  cn  9     1 4 8  1  na 4 cn  8 

x 7        x  7        x 4                  x  4 

     21 cn 63         4 na 16 cn 32 

 =  2 na 1 cn,  6 cn 3     =  5 na 6 cn, 3 cn 2 

 =  273          =  592 

239-−L 8 ¢c−u …Z Ll¡   336-−L 4 ¢c−u …Z Ll¡ 
239  2 na 3 cn 9   3 3 6  3 na 3 cn  6 

x  8                x   8      x 4                  x  4 

      16 na 24 cn 72       12 na 12 cn  24 
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  =  16 na 24 cn 7 cn 2    =  12na 12cn  2 cn 4    

  =  16 na 31 cn  2     =  12 na 14 cn  4 

  =  19 na 1 cn 2     =  13 na 4 cn  4 

  =  1912        =  1344  

Jf−ll HC …Z…¢m−LC Bjl¡ pw−r−f ¢mMh q¡−a −l−M B−Nl O−l −k¡N 
L−l —   
q¡−a lCm      6       q¡−a lCm 1   3 
39x7   3  9     148x4   1 4  8 

        x  7               x   4 

         2 7  3             5  9  2 

fËbj …Z Ll¡¢V−L HC i¡−h f−s h−m¡ —       
    p¡a eu 63-l 3 e¡−j, q¡a lCm 6,    

    p¡a ¢ae 21 Bl R−u 27, e¡−j 27      =  273 

¢àa£u …Z Ll¡¢V−L HC i¡−h f−s h−m¡  —      
  Q¡l B−V 32-Hl 2 e¡−j, q¡−a lCm 3, 
  Q¡l Q¡−l 16 Bl ¢a−e 19-Hl 9 e¡−j, q¡−a lCm 1, 

  Q¡l H−‚ Q¡l Bl H−L qm 5, e¡−j 5  = 592 

HC i¡−h h−m h−m ¢e−Ql …Z…¢m ¢m−M AiÉ¡p L−l¡— 
     q¡−a lCm  3 7       q¡−a lCm      1  2 
239x8=  2 3 9      336x4=    3 3 6   

       x 8             x 4     
            1912               1344  

q¡−a lCm      3 6 5      q¡−a lCm      3  3 
2487x8=  2 4 8 7    2189x4=     2 1 8 9   

      x 8          x 4     
          19 8 9 6        8 7 5 6 

q¡−a lCm   4 3       q¡−a lCm  5  1 
365x7=   3 6 5     893x6=  8 9 3   

       x 7         x   6     
        2555         5358  
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q¡−a lCm      2 4 5      q¡−a lCm           2  2 
5490x6=  5 4 7 9  0    9155x40= 9 1 5 5   

          x 6          x 4    0     
          32 8 7 4   0              3 6 6 2 0    0 
mr L−l¡: −n−ol c¤¢V …−Z, …ZÉ h¡ …ZL pwMÉ¡l −n−o n§eÉ b¡L−m n§eÉ−L 
L£i¡−h …Z¢V Ll¡l pju Bm¡c¡ l¡M¡ qu J a¡lfl …Zg−ml X¡e¢c−L 
h¢p−u −eJu¡ quz 

1.3 cnL J naL pwMÉ¡ ¢c−u …Z 
cnL h¡ naL pwMÉ¡ ¢c−u …Z Ll¡ h¤T−a B−N …Z Ll¡l pwMÉ¡c¤¢V−L 
HLL, cnL, naL CaÉ¡¢c O−l −i−P −eh, J i¡−N i¡−N …Z Llhz 
a) 4 5       4 cn  5  4 cn  5   4 cn  5    

   x 1 3 = x 1 cn  3       x  3     x  1 cn 

        12 cn 15   4 na 5 cn 

        =  13 cn 5=135       = 450 

a¡q−m Bjl¡ −fm¡j—  
 4 5 x 3  = 135 

 4 5 x 10  = 450       

−k¡N L−l     585  

b)   2 8 3       2 na 8 cn  3  2 na 8 cn 3    2 na 8 cn 3   

      x  2 8 =       x   2 cn  8            x      8             x    2 cn 

          16 na 64 cn 24  4 q¡S¡l 16 na 6 cn 

       = 16 na 66 cn 4    =5 q¡S¡l 6 na 6 cn 

       = 22 na 6 cn 4    =5660 

       =2 q¡S¡l 2 na 6 cn 4 

       =2264  

a¡q−m Bjl¡ −fm¡j— 
2 8 3 x 8  =  2264 

2 8 3 x 20 =  5660       

−k¡N L−l     7924  

HC …Z…¢m−a mr L−l¡ −k …ZL k¢c cnL h¡ naL pwMÉ¡u qu, a¡q−m 
…Z¢V Bj¡−cl Ll−a qu c¤¢V h¡ ¢ae¢V d¡−fz …Z Ll¡l pju …ZL 
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pwMÉ¡¢V−L Bjl¡ HLL, cnL, naL, CaÉ¡¢c O−l −i−P ¢e−u ¢m¢M J d¡−f 
d¡−f …Z¢V L¢lz j−e L−l¡ HL¢V …ZL pwMÉ¡ 836z Hl j¡−e q−µR, 
800+30+6, AbÑ¡v, 800, 30, Bl 6-Hl −k¡Ngmz a¡C 836 ¢c−u …Z 
Ll¡l j¡−e ¢ae¢V …Z Ll¡—fËb−j 6 ¢c−u, a¡lfl 30 ¢c−u J −n−o 800 

¢c−uz −n−o −j¡V …Zgm¢V f¡h HC ¢ae¢V …Zgm−L −k¡N L−lz   
hs pwMÉ¡l …ZL ¢c−u …Z Ll¡l d¡f…¢m qm—fËb−j …ZL pwMÉ¡¢Vl 

HLL¢V ¢c−u …ZÉ−L …Z L−l …Zgm¢V ¢m¢M J a¡lfl cnL pwMÉ¡¢V ¢c−u 
…ZÉ−L …Z L−l HC …Zgm¢V a¡l ¢e−Q ¢m¢Mz mr L−l¡ −k cnL pwMÉ¡ 
¢c−u …Zgm¢Vl HL−Ll O−l n§eÉ Bp−hCz …ZL¢V naL pwMÉ¡u q−m 
Bj¡−cl a«a£u HL¢V d¡f …Z Ll−a q−h—…Z−Ll naL pwMÉ¡¢V ¢c−u 
…Z L−l …Zgm¢V ¢e−Q ¢mM−a q−hz Hh¡−l c¤¢V (cnL pwMÉ¡u …ZL) h¡ 
¢ae¢V (naL pwMÉ¡u …ZL) d¡−f −k …Zgm…¢m −fm¡j, −p…¢m−L −k¡N 
Ll−mC Bjl¡ −j¡V …Zgm¢V −f−u k¡hz 

¢e−Ql …Z…¢m−L q¡−a −l−M pw−r−f −mM¡ q−u−Rz HM¡−e −k−qa¥ 
Bjl¡ d¡−f d¡−f …ZÉ−L …Z L¢l, a¡C HL HL¢V d¡−fl …Z Ll¡l pju 
q¡−a l¡M¡ pwMÉ¡¢V−L ¢h−no p¡hd¡ea¡l p¡−b j−e l¡M−a q−h, Abh¡ …eL 
pwMÉ¡V¡ −i−P ¢e−u …Z…¢m−L i¡−N i¡−N L−l ¢e−u −n−o −k¡N L−l ¢e−a 
q−hz fËb−j Bjl¡ ¢h¢iæ d¡−fl …Z…¢m−L i¡−N i¡−N Ll¡ −c−M ¢eCz  
…Z L−l¡ 35 x12     …Z L−l¡  48 x27 
  q¡−a lCm 1           q¡−a lCm 5   1 

35   35  35    48   48   48 

x12  x2   x10   x27       x7   x20 

   70  350        336   960 

   +350         +960  
Ešl    420          Ešl  1296 

…Z L−l¡  882 x23    …Z L−l¡  458 x24 
  q¡−a lCm 2     1      q¡−a lCm 2 3          1 1 

882  882 882   458  458      458 

x23  x  3    x  20   x24  x  4      x  20   

     2646    17640         1832   9160 

  +17640         +9160  
Ešl   20286      Ešl    10992 
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…Z L−l¡  2736x234    
  q¡−a lCm     2  1  2         2  1  1           1     1 

2736   2 7 3 6   2 7 3 6   2 7 3 6     

x234         x  4   x       3 0   x       2 0 0 

                  1 0 9  4 4               8 2 0 8 0       5 4 7 2 0 0 

                +8 2 0 8 0 

    +5 4 7 2 0 0      
Ešl      6 4 0  2 2 4   

d¡−fl …Z…¢m Bm¡c¡ e¡ L−l HLV¡l ¢e−Q B−lL i¡−h Ll¡l Ec¡qlZ— 
Ec¡qlZ 1:  2494 −L 367 ¢c−u …Z Ll¡   

  2 4 9 4  
      x 3 6 7 

         1 7 4 5 8  —qm 2494 x 7 

 1 4 9 6 4 0  —qm 2494 x 60 

   7 4 8 2 0 0  —qm 2494 x 300 

 9 1 5 2 9 8 

Ec¡qlZ 2:  3598 −L 504 ¢c−u …Z Ll¡ 
3 5 9 7  

     x 5 0 4 
        1 4 3 8 8   —qm 3597 x 4 

        0 0 0 0 0   —qm 3597 x 0 

  1 7 9 8 5 0 0  —qm 3597 x 500 

  1 8 1 2 8 8 8 
HM¡−e …Z−Ll cn−Ll O−l n§eÉ b¡L¡l SeÉ ¢àa£u d¡−f n§eÉ ¢c−u …Z 
−cM¡−e¡l clL¡l qu e¡z a¡C HC d¡f¢V h¡c ¢c−uC HC …Z¢V Ll¡ k¡−hz 
Ec¡qlZ 3:  47890 −L 2400 ¢c−u …Z Ll¡ 
        4 7 8 9 0  
           x     2 4  0 0 
                  1 9 1 5 6      —qm 4789 x 4 

              9 5 7 8 0    —qm 4789 x 20 

       1 1 4 9 3 6   0 0 0 AbÑ¡v,  114936000  

mr L−l¡, HM¡−e …ZÉ J …ZL pwMÉ¡l −n−ol n§eÉ…¢m−L Bm¡c¡ −l−M 
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…Z¢V L−l ¢e−u a¡lfl …Zg−ml −n−o X¡e¢c−L hp¡−e¡ q−u−Rz 
1.4 …Z Ll¡l pqS fÜ¢a   
c¤¢V pwMÉ¡ …Z Ll¡l pju −k pwMÉ¡l AˆpwMÉ¡ Lj a¡−L …ZL J 
AeÉ¢V−L …ZÉ dlh, −kje 37 x 925 −L …Z Llh 925 x 37z H−a …Z¢V 
Lj d¡−f Ll¡ k¡−hz −L¡eJ pju pwMÉ¡…¢m Hje qu −k a¡−cl …Z −i−P 
−i−P B−lL i¡−h Ll¡ pqS quz a¡l L−uL¢V Ec¡qlZ −cMhz  
j−e l¡−M¡: håe£ ¢Qq² ( ) b¡L−m a¡l j−dÉl fË¢œ²u¡¢V B−N Ll−a q−hz 
Ec¡qlZ 4:  
 17x6 = (10+7) x 6 = (10 x 6) +(7 x 6) = 60+42=102 
 28x7 = (20+8) x 7 = (20 x 7) +(8 x 7) = 140+56=196 
 36x4 = (30+6) x 4 = (30 x 4) +(6 x 4) = 120+24=144 
Ec¡qlZ 5: 999x425 = (1000–1) x 425 = (1000 x 425) – (1 x 425)      

                                = 425000–425=424575   

Ec¡qlZ 6: 5678 x 990 = 5678 x (1000–10) = (5678x1000) –     

                                     (5678x10) = 5678000 – 56780 = 5621220 

Ec¡qlZ 7: 2010 x 334 = (2000 +10) x 334 = (2000 x 334) + (10  

x 334) = 668000 +3340 = 671340 

Ae¤n£me 1.1 …Z L−l¡  
A. B. C. D. 

1. 23 x 45 43 x 23 56 x 19 42 x 22 

2. 32 x 17 34 x 15 56 x 21 32 x 42 

3. 23 x 42 32 x 23 22 x 21 14 x 23 

4. 221 x 23 256 x 27 323 x 73 427 x 23 

5. 456 x 123 789 x 342 456 x 643 212 x 321 

6. 2178 x 28 3547 x 34 5672 x 21 5404 x 203 

7. 2056 x 104 4570 x 210 3670 x 709 4011 x 990 

8. 4023 x 234 3032 x 215 6708  x  521 5408  x  376 

9. 2103  x  700 6543 x 900 8321  x  100 5643  x  400 

10. 9999  x  111 7878  x  121 6543  x  234 765  x  2347 

Ešl 1.1  
A. B. C. D. 

1. 1035 989 1064 924 

2. 544 510 1176 1344 

3. 966 736 462 322 
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4. 5083 6912 23579 9821 

5. 56088 269838 293208 68052 

6. 60984 120598 119112 1097012 

7. 213824 959700 2602030 3970890 

8. 941382 651880 3494868 2033408 

9. 1472100 5888700 832100 2257200 

10. 1109889 953238 1531062 1795455 

1.5  11 −b−L 20 fkÑ¿¹ e¡ja¡ 
X 1 2 3 4 5 6 7 8 9 10 

11 11 22 33 44 55 66 77 88 99 110 

12 12 24 36 48 60 72 84 96 108 120 

13 13 26 39 52 65 78 91 104 117 130 

14 14 28 42 56 70 84 98 112 126 140 

15 15 30 45 60 75 90 105 120 135 150 

16 16 32 48 64 80 96 112 128 144 160 

17 17 34 51 68 85 102 119 136 153 170 

18 18 36 54 72 90 108 126 144 162 180 

19 19 38 57 76 95 114 133 152 171 190 

20 20 40 60 80 100 120 140 160 180 200 

 

X 11 12 13 14 15 16 17 18 19 20 

11 111 132 143 154 165 176 187 198 209 220 

12 132 144 156 168 180 192 204 216 228 240 

13 143 156 169 182 195 208 221 234 247 260 

14 154 168 182 196 210 224 238 252 266 280 

15 165 180 195 210 225 240 255 270 285 300 

16 176 192 208 224 240 256 272 288 304 320 

17 187 204 221 238 255 272 289 306 323 340 

18 198 216 234 252 270 288 306 324 342 360 

19 209 228 247 266 285 304 323 342 361 380 

20 220 240 260 280 300 320 340 360 380 400 
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Ae¤n£me 1.2 pj¡d¡e L−l¡ 
1. 1 −S¡s¡−a 2¢V b¡L−m 13 −S¡s¡−a LV¡ b¡−L? 
2. 1 −N¡R¡u 6V¡ L−l g¥m b¡L−m 18 −N¡R¡u LV¡ g¥m B−R? 
3. l¡S¥ ¢c−e 4 O¾V¡ L−l f−sz 7 ¢c−e −p La O¾V¡ f−s? 
4. −a¡j¡−cl h¡N¡−e 14 p¡¢l e¡l−Lm N¡R B−Rz HL HLV¡ p¡¢l−a 12V¡ 

L−l N¡R b¡L−m, −j¡V La N¡R B−R? 
5. 100 fup¡u 1 V¡L¡ quz 15 V¡L¡u La fup¡ q−h? 
6. −a¡j¡l 17 …Z V¡L¡ l¡S¥l B−Rz −a¡j¡l 235 V¡L¡ b¡L−m l¡S¥l 

La V¡L¡ B−R? 
7. HL ¢L−m¡ Q¡−ml c¡j 28 V¡L¡ q−m 14 ¢L−m¡ Q¡m ¢Le−a La V¡L¡ 

m¡N−h? 
8. HLV¡ M¡a¡u 32 f¡a¡ B−Rz 18V¡ M¡a¡u −j¡V La f¡a¡ B−R? 
9. HLV¡ C¢mn j¡−Rl c¡j 235 V¡L¡ q−m 18¢V j¡−Rl c¡j La? 
10. l¡−Sn fË¢a 1 O¾V¡u 6 j¡Cm l¡Ù¹¡ q¡yV−a f¡−lz −p 5 O¾V¡ −qy−V 

Lac§l −k−a f¡−l? 
11. L¢ha¡l N¡−R 138¢V −fu¡l¡ ¢Rmz −p 4 hå¥−L 6V¡ L−l −fu¡l¡ −f−s 

¢cm J ¢e−S 5V¡ −fu¡l¡ l¡Mmz N¡−R HMe LV¡ −fu¡l¡ lCm? 
12. L¢ha¡−L SeÈ¢c−e 7 hå¥ 6V¡ L−l J 6 hå¥ 8V¡ L−l m−S¾p 

¢c−u¢Rmz a¡l −b−L 12¢V m−S¾p L¢ha¡ a¡l −R¡V −h¡e−L ¢cm J 
¢e−S 2¢V −M−u ¢emz L¢ha¡l L¡−R HMe LV¡ m−S¾p B−R? 

Ešl 1.2  
1. 2 . 3. 4. 5. 6. 

26¢V 108¢V 28 O¾V¡ 168¢V 1500 fup¡ 3995 V¡L¡ 
7 8 9 10 11 12 

392 V¡L¡ 576 4230 V¡L¡ 30 j¡Cm 109V¡ 76V¡ 
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f¡W 2.  hs pwMÉ¡l i¡N  
B−Nl fs¡B−Nl fs¡B−Nl fs¡B−Nl fs¡    
Bjl¡ i¡N Ll¡ pð−å −S−e¢R −k c¤¢V pwMÉ¡l i¡N Ll¡l pju −k 
pwMÉ¡¢V−L i¡N Ll¡ qu a¡−L h−m i¡SÉi¡SÉi¡SÉi¡SÉ, −k pwMÉ¡¢V ¢c−u i¡N Ll¡ qu 
a¡−L h−m i¡SLi¡SLi¡SLi¡SL, J i¡N¢V L−l −k pwMÉ¡¢V f¡Ju¡ k¡u a¡−L h−m 
i¡Ngmi¡Ngmi¡Ngmi¡Ngmz −kje, 24 ÷ 8 = 3 −kM¡−e, 24 qm i¡SÉ, 8 qm i¡SL, Bl 3 
qm i¡Ngmz HC i¡N¢Vl −r−œ i¡N Ll¡l f−l i¡SÉ ¢ex−no q−u k¡u, 
¢LR¥C Bl f−s b¡−L e¡z HjeV¡ q−m hm¡ qu ¢ex−n−o i¡N J 0 qm 
i¡N−noi¡N−noi¡N−noi¡N−noz ¢L¿¹¥, 26 ÷ 8 Ll−m Bjl¡ f§ZÑ pwMÉ¡−a i¡Ngm HLC −f−mJ 
i¡N−no −b−L k¡u 2z a¡C, i¡SÉ J i¡SL pwMÉ¡c¤¢Vl Jfl ¢eiÑl Ll−R 
i¡N¢V ¢ex−no i¡N q−h, e¡ i¡N−n−o i¡−SÉl ¢LR¥ Ah¢nø h¡ i¡N−no 
b¡L−h, k¡ üi¡haC i¡S−Ll −b−L −R¡V q−hCz i¡N−no LMe La b¡−L 
h¤T−a ¢e−Ql Ec¡qlZ −cM— 

 7│3 8│5    6│2 5│4    4│1 9│4    

       3 5                     2 4      1 6 
       3              1        3 

Bjl¡ −c−M¢R  …Z q−µR h¡l h¡l HLC pwMÉ¡ −k¡N Ll¡l fË¢œ²u¡, i¡N 
q−µR h¡l h¡l HLC pwMÉ¡ ¢h−u¡N Ll¡l fË¢œ²u¡, Bl S¡¢e −k −k¡N J 
¢h−u¡N qm ¢hfl£a fË¢œ²u¡z a¡C …Z J ¢ex−n−o i¡NJ qm ¢hfl£a 
fË¢œ²u¡z a¡C j−e l¡M−a q−h −k—  
     i¡SÉ   ÷ i¡SL  = i¡Ngm 
     i¡SÉ   ÷ i¡Ngm  =  i¡SL  
     i¡Ngm  x  i¡SL   = i¡SÉ 

i¡N ¢ex−n−o e¡ q−m Bjl¡ f¡C— 
     i¡Ngm      x i¡SL + i¡N−no = i¡SÉ 
L−uL¢V p¡d¡lZ p§œ Bjl¡ −c−M¢R— 
• i¡N−no AhnÉC i¡S−Ll −b−L −R¡V q−hz a¡ e¡ q−m −h¡T¡ k¡−h 

i¡SL−L i¡SÉ −b−L B−l¡ A¿¹a HLh¡l −eJu¡ k¡−hz 
•  −k−L¡eJ pwMÉ¡−L n§eÉ ¢c−u …Z Ll−m …Zgm phÑc¡ n§eÉC q−hz 
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•  n§eÉ−L −k−L¡eJ pwMÉ¡ ¢c−u i¡N Ll−m i¡Ngm n§eÉC q−hz  
• n§eÉ ¢c−u LM−e¡C −L¡eJ pwMÉ¡−LC i¡N Ll¡ k¡u e¡z a¡l −L¡eJ AbÑ 

qu e¡ (fËbj i¡−Nl f¡−W hÉ¡MÉ¡ Ll¡ B−R)z 
•  i¡SÉ J i¡SL pj¡e q−m i¡Ngm 1 quz 
•  i¡SL 1 q−m i¡SÉ J i¡Ngm pj¡e quz 
Hh¡−l Bjl¡ hs hs i¡SÉ J i¡SL ¢c−u i¡N Ll¡l fÜ¢a ¢nMhz mr 
Ll−a q−h −k −k¡N, ¢h−u¡N, J …Z Ll¡l pju Bjl¡ pwMÉ¡l X¡e ¢cL 
−b−L öl¦ L−l h¡j ¢c−L k¡Cz i¡−Nl −r−œ Bjl¡ ¢L¿¹¥ E−ÒV¡V¡ L¢lz 
AbÑ¡v Bjl¡ i¡SÉ pwMÉ¡¢Vl h¡j ¢cL −b−L i¡N Ll¡ öl¦ L¢lz 

2.1 c¤C A−ˆl cnL pwMÉ¡l i¡SL ¢c−u i¡N Ll¡ 
Ec¡qlZ 1: 4678-−L 18 ¢c−u i¡N L−l¡ 
1. HM¡−e i¡SL qm c¤C A−ˆl, a¡C Bjl¡ i¡N öl¦ Llh i¡−SÉl fËbj 
c¤¢V Aˆ, 46-−L ¢e−uz i¡SL 18-l −b−L 46 hs, a¡C 18 ¢c−u i¡N 
Ll¡ k¡−hz ¢L¿¹¥ Bj¡−cl B¾c¡S Ll−a q−h 46-−L 18 ¢c−u Lah¡l 
i¡N Ll¡ −k−a f¡−l, h¡ 46 −b−L 18 Lah¡l −eJu¡ k¡−hz L£ L−l HC 
B¾c¡SV¡ Llh? 46-Hl j−dÉ B−R 4 

cn, Bl 18-l j−dÉ B−R 1 cnz 
p¤¤al¡w M¤h −hn£ q−m 4 h¡l j¡œ i¡N 
Ll¡ −k−a f¡−lz ¢L¿¹¥ a¡lJ Lj h¡l 
i¡N Ll¡ k¡−h L¡lZ i¡S−Ll HL−Ll 
O−l B−R B−l¡ 8z a¡C, fËb−j 3 h¡l 
¢c−u −cM¡ k¡Lz 3x18 qm (10+8)x3 
h¡ 54z 54 qm 46-Hl −b−L hs, a¡C 
3 h¡l i¡NJ Ll¡ k¡−µR e¡z AaHh, Bjl¡ ¢WL a¡l B−Nl pwMÉ¡, 2 

h¡l i¡N ¢c−u −cMhz 2x18 qm 36, k¡ 46-Hl j−dÉ k¡−hz p¤¤al¡w, 
fËbj i¡N¢V q−h 2 ¢c−uz mr l¡−M¡, HC i¡N¢V −k ¢WL −eJu¡ qm, a¡ 
−h¡T¡ k¡u HM¡−e i¡N−no 10 −c−M, k¡ i¡SL 18-l −b−L −R¡Vz  

2.  i¡Ng−ml O−l 2-−L ¢m−M 2x18=36 i¡−SÉl 46-Hl ¢e−Q −mM J 
¢h−u¡N L−l¡z ¢h−u¡Ngm ¢qp¡−h f¡C 10z Hh¡−l i¡−SÉl f−ll Aˆ, 7 

¢e−Q e¡¢j−u 10-Hl f¡−n −mMz  

18│ 4678│259  
      36     

     107 

    90  i¡Ngm 259 

    178   i¡N−no  16 

      162    

      16 
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3. HC d¡−f 107-−L i¡SL 18 ¢c−u i¡N Ll−a q−hz i¡N Ll¡l fË¢a 
d¡−fC Hje B¾c¡S Ll−a quz a¡C HC B¾c¡S Ll−a f¡l¡V¡C qm 
i¡N Ll−a −nM¡l Bpm Lb¡z HM¡−e i¡SL 18 qm fË¡u 20-l 
L¡R¡L¡¢R (20–2), J Bjl¡ QV L−l hm−a f¡¢l 5x20 qm 100z a¡C, 
fËbj B¾c¡S ¢qp¡−h Bjl¡ 107-−L 18 ¢c−u 5 h¡l i¡N ¢c−u −cMhz 
5x18 qm 90 k¡ 107 −b−L −R¡V J i¡N−no b¡−L 17 k¡ i¡SL 18-l 

−b−L −R¡Vz a¡C HM¡−e 5 ¢c−uC i¡N Ll¡ k¡−hz 
4. i¡Ng−ml O−l 5-−L ¢m−M 5x18=90-−L 107-Hl ¢e−Q −mM J ¢h−u¡N 
L−l¡z ¢h−u¡Ngm ¢qp¡−h f¡C 17z Hh¡l ¢h−u¡Ngm 17-l f¡−n i¡−SÉl 
f−ll Aˆ, 8 e¡¢j−u f¡C 178, k¡−L Bh¡l 18 ¢c−u i¡N Ll−a q−hz 
Hh¡l La ¢c−u i¡N Ll¡ k¡−h B¾c¡S Ll¡V¡ −p¡S¡, L¡lZ Bjl¡ S¡¢e 
18x10 qm 180, k¡ 178 −b−L HLV¥j¡œ −hn£z a¡C HM¡−e 9 ¢c−u i¡N 
k¡−hz 9x18 j¡−e qm (10–1)x18 h¡ 180–18=162z i¡Ng−ml O−l 
9-−L ¢m−M 9x18=162-−L 178-Hl ¢e−Q −mM J ¢h−u¡N L−l¡z 
¢h−u¡Ngm ¢qp¡−h f¡C 16z p¤¤al¡w, i¡Ngm 259 J i¡N−no b¡−L 16z 

Ec¡qlZ 2: 4169 −L 57 ¢c−u i¡N L−l¡ 
1. HM¡−e i¡SL qm c¤C A−ˆl, a¡C Bjl¡ i¡N öl¦ Llh i¡−SÉl fËbj 
c¤¢V Aˆ, 41-−L ¢e−uz ¢L¿¹¥ −cM¡ k¡−µR 41-Hl −b−L i¡SL 57 hs, 
a¡C 41-−L 57 ¢c−u i¡N Ll¡ k¡−h e¡z a¡C HM¡−e i¡−SÉl fËbj ¢ae¢V 
Aˆ, 416 ¢e−u i¡N Ll¡ öl¦ Ll−a q−hz 

2. Bj¡−cl B¾c¡S Ll−a q−h 416-−L 57 ¢c−u Lah¡l i¡N Ll¡ −k−a 
f¡−l, h¡ 416 −b−L 57 Lah¡l −eJu¡ 
k¡−hz L£ L−l HC B¾c¡SV¡ Llh? HC 
B¾c¡SV¡ Ll−a B−N −c−M¡ HM¡−e 
i¡−SÉl fËbj c¤¢V pwMÉ¡ 41-−L i¡S−Ll 
fËbj Aˆ 5 ¢c−u Lah¡l i¡N Ll¡ k¡uz 
Bjl¡ S¡¢e 5x8 qm 40z a¡C fËb−j 
8 h¡l i¡N L−l −cMh, i¡N Ll¡ k¡u ¢Le¡z 8x57 qm 456, k¡ 416 
−b−L hsz a¡C 8 h¡l i¡N Ll¡ k¡−h e¡z Hlfl a¡C B−Nl Aˆ, 7 
¢c−u i¡N Ll¡ k¡u ¢Le¡ −cMhz 7x57 qm 399, k¡ 416 −b−L −R¡Vz 
a¡C HM¡−e 7 h¡l i¡N Ll¡ k¡−hz  

57│ 4169│73  
     399     

       179 

    171  i¡Ngm 73 

        8   i¡N−no 8 
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3. i¡Ng−ml O−l 7-−L ¢m−M 7x57=399 i¡−SÉl 416-l ¢e−Q −mM J 
¢h−u¡N L−l¡z ¢h−u¡Ngm ¢qp¡−h f¡C 17z Hlfl i¡−SÉl f−ll Aˆ, 9 

¢e−Q e¡¢j−u 17-Hl f¡−n −mMz 
4. HC d¡−f 179-−L i¡SL 57 ¢c−u i¡N Ll−a q−hz Bj¡−cl B¾c¡S 
Ll−a q−h 179-−L 57 ¢c−u Lah¡l i¡N Ll¡ −k−a f¡−lz HM¡−e 
i¡−SÉl fËbj c¤¢V Aˆ 17-−L i¡S−Ll fËbj Aˆ 5 ¢c−u 3 h¡l i¡N 
Ll¡ k¡u, L¡lZ Bjl¡ S¡¢e 5x3 qm 15z a¡C 3 qm Bj¡−cl fËbj 
B¾c¡S z 3x57 qm 171, k¡ 179 −b−L −R¡Vz a¡C HM¡−e 3 h¡l i¡N 
Ll¡ k¡−hz  

5. i¡Ng−ml O−l 3-−L ¢m−M 3x57=171-−L 179-l ¢e−Q −mM J ¢h−u¡N 
L−l¡z ¢h−u¡Ngm f¡C 8z p¤¤al¡w, i¡Ngm 73 J i¡N−no b¡−L 8z 

Ec¡qlZ 3: 358256 −L 68 ¢c−u i¡N L−l¡ 
1. HM¡−e i¡SL qm c¤C A−ˆl, a¡C Bjl¡ i¡N öl¦ Llh i¡−SÉl fËbj 
c¤¢V Aˆ, 35-−L ¢e−uz ¢L¿¹¥ −cM¡ k¡−µR 35-Hl −b−L i¡SL 68 hs, 
a¡C 35-−L 68 ¢c−u i¡N Ll¡ k¡−h 
e¡z a¡C i¡−SÉl fËbj ¢ae¢V Aˆ, 
358 ¢e−u i¡N Ll¡ öl¦ Ll−a q−hz 

2. Bj¡−cl B¾c¡S Ll−a q−h 358-−L 
68 ¢c−u Lah¡l i¡N Ll¡ −k−a f¡−l, 
h¡ 358 −b−L 68 Lah¡l −eJu¡ k¡−hz 
L£ L−l HC B¾c¡SV¡ Llh? HC 
B¾c¡SV¡ Ll−a B−N −c−M¡ HM¡−e 
i¡−SÉl fËbj c¤¢V Aˆ 35-−L i¡S−Ll 
fËbj Aˆ 6 ¢c−u Lah¡l i¡N Ll¡ 
k¡uz Bjl¡ S¡¢e 6x5 qm 30z a¡C fËb−j 5 h¡l i¡N L−l −cMh, i¡N 
Ll¡ k¡u ¢Le¡z 5x68 qm 340, k¡ 358 −b−L −R¡Vz a¡C HM¡−e 5 h¡l 
i¡N Ll¡ k¡−hz   

3. i¡Ng−ml O−l 5-−L ¢m−M 5x68 = 340 i¡−SÉl 358-l ¢e−Q −mM J 
¢h−u¡N L−l¡z ¢h−u¡Ngm ¢qp¡−h f¡C 18z Hlfl i¡−SÉl f−ll Aˆ¢V, 2 

¢e−Q e¡¢j−u 18-l f¡−n −mMz 

68│ 358256│5268  
     340     

       182 

    136  i¡Ngm 5268 

      465   i¡N−no 32 

       408 

    576 

    544 

      32  



 

20   g¥mX¡P¡ ¢hcÉ¡QQÑ¡ −L¾cÊ, h£lij̈ 
 

4. HC d¡−f 182-−L i¡SL 68 ¢c−u i¡N Ll−a q−hz Bj¡−cl B¾c¡S 
Ll−a q−h 182-−L 68 ¢c−u Lah¡l i¡N Ll¡ −k−a f¡−lz HM¡−e 
i¡−SÉl fËbj c¤¢V Aˆ 18-−L i¡S−Ll fËbj Aˆ 6 ¢c−u 3 h¡l i¡N 
Ll¡ k¡u, L¡lZ Bjl¡ S¡¢e 6x3 qm 18z a¡C 3 qm Bj¡−cl fËbj 
B¾c¡Sz ¢L¿¹¥ 3x68 qm 204, k¡ 182 −b−L hsz a¡C HM¡−e 3 h¡l 
i¡N Ll¡ k¡−h e¡z Hlfl a¡C B−Nl Aˆ, 2 ¢c−u i¡N Ll¡ k¡u ¢Le¡ 
−cMhz 2x68 qm 136, k¡ 182 −b−L −R¡Vz a¡C 2 h¡l i¡N Ll¡ k¡−hz   

5. i¡Ng−ml O−l 2-−L ¢m−M 2x68=136-−L 182-l ¢e−Q −mM J ¢h−u¡N 
L−l¡z ¢h−u¡Ngm ¢qp¡−h f¡C 46z Hlfl i¡−SÉl f−ll Aˆ¢V, 5 ¢e−Q 
e¡¢j−u 46-Hl f¡−n −mMz   

6. HC d¡−f 465-−L i¡SL 68 ¢c−u i¡N Ll−a q−hz Bj¡−cl B¾c¡S 
Ll−a q−h 465-−L 68 ¢c−u Lah¡l i¡N Ll¡ −k−a f¡−lz HM¡−e 
i¡−SÉl fËbj c¤¢V Aˆ 46-−L i¡S−Ll fËbj Aˆ 6 ¢c−u 7 h¡l i¡N 
Ll¡ k¡u, L¡lZ Bjl¡ S¡¢e 6x7 qm 42z a¡C 7 qm Bj¡−cl fËbj 
B¾c¡Sz ¢L¿¹¥ 7x68 qm 476, k¡ 465 −b−L hsz a¡C HM¡−e 7 h¡l 
i¡N Ll¡ k¡−h e¡z Hlfl a¡C B−Nl Aˆ, 6 ¢c−u i¡N Ll¡ k¡u ¢Le¡ 
−cMhz 6x68 qm 408, k¡ 465 −b−L −R¡Vz a¡C 6 h¡l i¡N Ll¡ k¡−hz  

7. i¡Ng−ml O−l 6-−L ¢m−M 6x68 = 408-−L 465-l ¢e−Q −mM J ¢h−u¡N 
L−l¡z ¢h−u¡Ngm ¢qp¡−h f¡C 57z Hlfl i¡−SÉl f−ll Aˆ¢V, 6 ¢e−Q 
e¡¢j−u 57-Hl f¡−n −mMz   

8. HC d¡−f 576-−L i¡SL 68 ¢c−u i¡N Ll−a q−hz Bj¡−cl B¾c¡S 
Ll−a q−h 576-−L 68 ¢c−u Lah¡l i¡N Ll¡ −k−a f¡−lz HM¡−e 
i¡−SÉl fËbj c¤¢V Aˆ 57-−L i¡S−Ll fËbj Aˆ 6 ¢c−u 9 h¡l i¡N 
Ll¡ k¡u, L¡lZ Bjl¡ S¡¢e 6x9 qm 54z a¡C 9 qm Bj¡−cl fËbj 
B¾c¡Sz ¢L¿¹¥ 9x68 qm 612, k¡ 576 −b−L hsz a¡C HM¡−e 9 h¡l 
i¡N Ll¡ k¡−h e¡z Hlfl a¡C B−Nl Aˆ 8, ¢c−u i¡N Ll¡ k¡u ¢Le¡ 
−cMhz 8x68 qm 544, k¡ 576 −b−L −R¡Vz a¡C 8 h¡l i¡N Ll¡ k¡−hz 

9. i¡Ng−ml O−l 8-−L ¢m−M 8x68 = 544-−L 576-Hl ¢e−Q −mM J ¢h−u¡N 
L−l¡z ¢h−u¡Ngm ¢qp¡−h f¡C 32z p¤¤al¡w, i¡Ngm 5268 J i¡N−no 
b¡−L 32z 
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Ec¡qlZ 4: 71059 −L 35 ¢c−u i¡N L−l¡ (¢h−no L−l −c−M¡) 
1. HM¡−e i¡SL qm c¤C A−ˆl, a¡C Bjl¡ i¡N öl¦ Llh i¡−SÉl fËbj 
c¤¢V Aˆ, 71-−L ¢e−uz −cM¡ k¡−µR 71 i¡SL 35-l −b−L hs, a¡C 71-

−L 35 ¢c−u i¡N Ll¡ k¡−hz a¡C HM¡−e i¡−SÉl fËbj c¤¢V Aˆ, 71 ¢e−u 
i¡N Ll¡ öl¦ Ll−a q−hz 

2. Bj¡−cl B¾c¡S Ll−a q−h 71-−L 35 ¢c−u Lah¡l i¡N Ll¡ −k−a 
f¡−l, h¡ 71 −b−L 35 Lah¡l −eJu¡ 
k¡−hz L£ L−l HC B¾c¡SV¡ Llh? 
HC B¾c¡SV¡ Ll−a B−N −c−M¡, 
HM¡−e i¡−SÉl fËbj Aˆ 7-−L 
i¡S−Ll fËbj Aˆ 3 ¢c−u Lah¡l 
i¡N Ll¡ k¡uz Bjl¡ S¡¢e 3x2 qm 
6z a¡C fËb−j 2 h¡l i¡N L−l −cMh, 
i¡N Ll¡ k¡u ¢Le¡z 2x35 qm 70, 

k¡ 71 −b−L −R¡Vz a¡C HM¡−e 2 h¡l 
i¡N Ll¡ k¡−hz i¡Ng−ml O−l 2-−L ¢m−M 2x35 = 70 i¡−SÉl 71-Hl 
¢e−Q −mM J ¢h−u¡N L−l¡z ¢h−u¡Ngm ¢qp¡−h f¡C 1z Hlfl i¡−SÉl 
f−ll Aˆ¢V, 0 ¢e−Q e¡¢j−u 1-Hl f¡−n −mMz  

3. HC d¡−f 10-−L i¡SL 35 ¢c−u i¡N Ll−a q−hz ¢L¿¹¥ i¡−SÉl f−ll 
Aˆ¢V e¡¢j−u −mM¡l f−lJ −cM¡ k¡−µR 35 ¢c−u HLh¡lJ i¡N Ll¡ k¡−µR 
e¡z a¡C HM¡−e Bjl¡ hmh 35 ¢c−u n§eÉh¡l (0) i¡N Ll¡ qmz   

4. i¡Ng−ml O−l 0-−L ¢m−M 0x35 = 00 i¡−SÉl 10-Hl ¢e−Q −mM J 
¢h−u¡N L−l¡z ¢h−u¡Ngm ¢qp¡−h f¡C 10z Hlfl i¡−SÉl f−ll Aˆ¢V, 5 

¢e−Q e¡¢j−u 10-Hl f¡−n −mMz    
HC ¢h−u¡−Nl d¡f¢V −h¡T¡l SeÉ −cM¡−e¡ qmz f−l i¡N Ll¡l pju e¡ 
−cM¡−mJ Qm−hz ¢eujV¡ j−e l¡M−a q−hz i¡SÉ −b−L −L¡eJ HL¢V Aˆ 
e¡¢j−u Be¡l f−lJ i¡N Ll¡ e¡ −N−m dl−a q−h n§eÉh¡l i¡N qmz a¡C 
i¡Ng−m HL¢V n§eÉi¡Ng−m HL¢V n§eÉi¡Ng−m HL¢V n§eÉi¡Ng−m HL¢V n§eÉ ¢mM−a q−hz 

5. HC d¡−f 105-−L i¡SL 35 ¢c−u i¡N Ll−a q−hz HM¡−e i¡−SÉl fËbj 
c¤¢V Aˆ 10-−L i¡S−Ll fËbj pwMÉ¡ 3 ¢c−u 3 h¡l i¡N Ll¡ k¡u, L¡lZ 

35│ 71059│2030  
     70     

       10 

    00  i¡Ngm 2030 

     105   i¡N−no 9 

     105 

     09 

               00 

       9 
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Bjl¡ S¡¢e 3x3 qm 9z a¡C fËb−j 3 h¡l i¡N L−l −cMh, i¡N Ll¡ 
k¡u ¢Le¡z 3x35 qm 105, k¡ 105 Hl pj¡ez a¡C HM¡−e 3 h¡l i¡N 
Ll¡ k¡−hz   

6. i¡Ng−ml O−l 3-−L ¢m−M 3x35=105-−L i¡SÉ 105-Hl ¢e−Q −mM J 
¢h−u¡N L−l¡z ¢h−u¡Ngm ¢qp¡−h f¡C 0z Hlfl i¡−SÉl f−ll Aˆ¢V, 9 

¢e−Q e¡¢j−u −mMz  
7. i¡SÉ −b−L 9 e¡¢j−u Be¡l f−lJ i¡SL ¢c−u HLh¡lJ i¡N Ll¡ k¡−µR 
e¡z a¡C HM¡−eJ Bjl¡ hmh 35 ¢c−u n§eÉh¡l (0) i¡N Ll¡ qm J 
a¡C i¡Ng−m HL¢V n§eÉ ¢mM−a q−hz i¡Ng−ml O−l 0-−L ¢m−M 

0x35=00-−L 9-Hl ¢e−Q −mM J ¢h−u¡N L−l¡z ¢h−u¡Ngm ¢qp¡−h f¡C 
9z p¤¤al¡w, i¡Ngm 2030 J i¡N−no 9z 

Ae¤n£me 2.1 c¤C A−ˆl i¡SL ¢c−u i¡N L−l¡ 
A. B. C. D. 

1. 2153 ÷ 45 5643 ÷ 23 1156 ÷ 19 5672 ÷ 22 

2. 3452 ÷ 17 3213 ÷ 15 5061 ÷ 21 3204 ÷ 42 

3. 2350 ÷ 42 3112 ÷ 23 1836 ÷ 61 4622 ÷ 23 

4. 2201 ÷ 23 2568 ÷ 27 3235 ÷ 73 4271 ÷ 23 

5. 4506 ÷ 78 7189 ÷ 68 4506 ÷ 64 2192 ÷ 32 

6. 2178 ÷ 28 3547 ÷ 34 5672 ÷ 21 5404 ÷ 20 

7. 20506 ÷ 94 45070 ÷ 39 36070 ÷ 71 40101 ÷ 99 

Ešl  2.1 (i¡Ngm, i¡N−no) 
A. B. C. D. 

1. 47, 38 245, 8 60, 16 257, 18 

2. 203, 1 214, 3 241,0  76, 12 

3. 55, 40 135, 7 30, 6 200, 22  

4. 95, 16 95, 3 44, 23 185, 16 

5. 57, 60 105, 49 70, 26 68, 16 

6. 77, 22 104, 11 270, 2 270, 4 

7. 218, 14 1155, 25 508, 2 405, 6 
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2.2 ¢ae A−ˆl naL pwMÉ¡l i¡SL ¢c−u i¡N Ll¡ 
Ec¡qlZ 1: 324678 −L 418 ¢c−u i¡N L−l¡ 
1. HM¡−e i¡SL qm ¢ae A−ˆl, a¡C Bjl¡ i¡N öl¦ Llh i¡−SÉl fËbj 

¢ae¢V Aˆ, 324-−L ¢e−uz i¡SÉ 324-Hl −b−L i¡SL 418 hs, a¡C 
418 ¢c−u i¡N Ll¡ k¡−h e¡z HM¡−e 
i¡−SÉl fËbj Q¡l¢V Aˆ, 3246 ¢e−u 
i¡N Ll¡ öl¦ Ll−a q−hz Bj¡−cl 
B¾c¡S Ll−a q−h 3246-−L 418 
¢c−u Lah¡l i¡N Ll¡ −k−a f¡−lz 
L£ L−l HC B¾c¡SV¡ Llh? fËbj 
B¾c¡S Ll−a −c−M¡ i¡−SÉl fËbj 
c¤¢V Aˆ 32-−L i¡S−Ll fËbj Aˆ 
4 ¢c−u Lah¡l i¡N Ll¡ −k−a f¡−lz e¡ja¡ −b−L S¡¢e 8 h¡lz a¡C 8 
qm Bj¡−cl fËbj B¾c¡Sz  

2. 418x8 qm (400+10+8)x8 h¡ (3200+80+64) h¡ 3344, k¡ i¡SL 
3246-Hl −b−L hsz a¡C 8 h¡l i¡N k¡−h e¡z Bjl¡ 7 ¢c−u i¡N 
Llhz 418x7 qm (400+10+8)x7 h¡ (2800+70+56) h¡ 2926z  

3. i¡Ng−ml O−l 7 ¢m−M i¡−SÉl 3246-Hl ¢e−Q 2926 −mM J ¢h−u¡N 
L−l¡z ¢h−u¡Ngm ¢qp¡−h Bj¡−cl i¡N−no b¡−L 3246–2926=320z 
Hh¡−l i¡−SÉl f−ll Aˆ¢V, 7 ¢e−Q e¡¢j−u 320-l f¡−n −mMz  

4. HC d¡−f 3207-−L i¡SL 418 ¢c−u i¡N Ll−a q−hz fËbj B¾c¡S 
¢qp¡−h Bjl¡ 3207-−L 418 ¢c−u 8 h¡l i¡N ¢c−u −cMh, L¡lZ 
HM¡−eJ HLC  i¡−h −cM¡ k¡−µR 32-Hl j−dÉ 4 k¡u 8 h¡lz ¢L¿¹¥ 
3207-Hl j−dÉ 8 h¡l 418 k¡−µRe¡z a¡C Bj¡−cl 7 ¢c−u i¡N Ll−a 
q−hz 418x7 qm 2926z i¡Ng−ml O−l 7 ¢m−M i¡−SÉl 3207-Hl 
¢e−Q 2926 −mM J ¢h−u¡N L−l¡z ¢h−u¡Ngm ¢qp¡−h Bj¡−cl i¡N−no 
b¡−L 3207–2926=281z Hh¡−l i¡−SÉl f−ll Aˆ¢V, 8 ¢e−Q e¡¢j−u 
281-l f¡−n −mMz  

5. Hh¡−l 2818-−L i¡SL 418 ¢c−u i¡N Ll−a q−hz fËbj B¾c¡S 
¢qp¡−h Bjl¡ 2818-−L 418 ¢c−u 7 h¡l i¡N ¢c−u −cMh, L¡lZ 28-

418│ 324678│776  
      2926       i¡Ngm 

       3207 

    2926   
      2818  

        2508    

        310 i¡N−no 320 
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Hl j−dÉ 4 k¡u 7 h¡lz ¢L¿¹¥ 418x7 qm 2926z a¡C Bj¡−cl 6 ¢c−u 
i¡N Ll−a q−hz 418x6 qm 2508z i¡Ng−ml O−l 6 ¢m−M i¡−SÉl 
2818-l ¢e−Q 2508 −mM J ¢h−u¡N L−l¡z ¢h−u¡Ngm ¢qp¡−h Bj¡−cl 
i¡N−no b¡−L 2818–2508=310z 

Ec¡qlZ 2: 436109 −L 872 ¢c−u i¡N L−l¡ 
1. HM¡−e i¡SL qm ¢ae A−ˆl, a¡C Bjl¡ i¡N öl¦ Llh i¡−SÉl fËbj 

¢ae¢V Aˆ, 436-−L ¢e−uz ¢L¿¹¥ −cM¡ k¡−µR 436-Hl −b−L i¡SL 872 
hs, a¡C 436-−L 872 ¢c−u i¡N Ll¡ 
k¡−h e¡z a¡C HM¡−e i¡−SÉl fËbj 
Q¡l¢V Aˆ, 4361 ¢e−u i¡N Ll¡ öl¦ 
Ll−a q−hz i¡−SÉl fËbj c¤¢V Aˆ 43-

−L i¡S−Ll fËbj Aˆ 8 ¢c−u 5 h¡l 
i¡N Ll¡ −k−a f¡−lz a¡C 5 qm 
Bj¡−cl fËbj B¾c¡Sz 872x5 qm 
(800+70+2)x5 h¡ (4000+350+10) 

h¡ 4360, k¡ HM¡−e i¡SÉ 4361-l −b−L −R¡Vz a¡C 5 h¡l i¡N k¡−hz 
i¡Ng−ml O−l 5-−L ¢m−M i¡−SÉl 4361-Hl ¢e−Q 4360 −mM J ¢h−u¡N 
L−l¡z ¢h−u¡Ngm ¢qp¡−h f¡C 1z Hlfl i¡−SÉl f−ll Aˆ¢V, 0 ¢e−Q 
e¡¢j−u 1-Hl f¡−n −mMz  

2. HC d¡−f 10-−L i¡SL 872 ¢c−u i¡N Ll¡ k¡−h e¡z a¡C HM¡−e 
i¡Ng−ml O−l 0 ¢m−M i¡−SÉl 10-Hl ¢e−Q 00 −mM J ¢h−u¡N L−l¡z 
¢h−u¡Ngm ¢qp¡−h f¡C 10z Hlfl i¡−SÉl f−ll Aˆ¢V, 9 ¢e−Q e¡¢j−u 
10-Hl f¡−n −mMz HM¡−eJ 109-−L i¡SL 872 ¢c−u ¢c−u i¡N Ll¡ 
k¡−h e¡z a¡C HM¡−e i¡Ng−ml O−l 0 ¢m−M i¡−SÉl 109-Hl ¢e−Q 
000 −mM J ¢h−u¡N L−l¡z ¢h−u¡Ngm ¢qp¡−h i¡N−no f¡C 109z 

2.3 100 J 1000 ¢c−u i¡N Ll¡l pqS ¢euj 
−L¡eJ HL¢V hs pwMÉ¡−L 100 ¢c−u i¡N Ll−m Bjl¡ pwMÉ¡¢Vl −n−ol 
c¤¢V (cnL J HLL) O−l −k Aˆc¤¢V B−R a¡ ¢e−u cnL pwMÉ¡u i¡N−no 
f¡C, J a¡l B−Nl Aˆ…¢m−L i¡Ngm ¢qp¡−h f¡Cz 

872│ 436109│500  
     4360       i¡Ngm 

           10 

        00    
        109 

                 000 

                 109 i¡N−no  
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956721  ÷ 100 :  i¡N−no  21 i¡Ngm  9567 

234589 ÷ 100 :  i¡N−no  89 i¡Ngm  2345 

567800 ÷ 100 :  i¡N−no  00 i¡Ngm  5678 

774509 ÷ 100 : i¡N−no  09 i¡Ngm  7745 

−L¡eJ HL¢V hs pwMÉ¡−L 1000 ¢c−u i¡N Ll−m Bjl¡ pwMÉ¡¢Vl −n−ol 
¢ae¢V O−ll Aˆ…¢m−L ¢e−u naL pwMÉ¡u i¡N−no f¡C, J a¡l B−Nl 
Aˆ…¢m−L i¡Ngm ¢qp¡−h f¡Cz  

956721  ÷ 1000 :  i¡N−no  721 i¡Ngm  956 

234589 ÷ 1000 :  i¡N−no  589 i¡Ngm  234 

567800 ÷ 1000 :  i¡N−no  800 i¡Ngm  567 

2.4 −S¡s J ¢h−S¡s pwMÉ¡ 
−S¡s pwMÉ¡ :  −k ph pwMÉ¡−L 2 ¢c−u ¢ex−n−o i¡N Ll¡ k¡u −p…¢m qm 
−S¡s pwMÉ¡z −kje qm, 2, 4, 6, 8…..62… 478 CaÉ¡¢cz −L¡−e¡ pwMÉ¡l 
−no Aˆ 0, 2, 4, 6, 8 q−m −p¢V −S¡s pwMÉ¡z 
¢h−S¡s pwMÉ¡ : −k ph pwMÉ¡−L 2 ¢c−u ¢ex−n−o i¡N Ll¡ k¡u e¡ −p…¢m 
qm ¢h−S¡s pwMÉ¡z −kje qm, 3, 5, 7, 9…..23.. ….33…139….2581 
CaÉ¡¢cz −L¡−e¡ pwMÉ¡l −no Aˆ 1, 3, 5, 7, 9 q−m −p¢V ¢h−S¡s pwMÉ¡z 

Ae¤n£me 2.2 −S¡s J ¢h−S¡s pwMÉ¡…¢m−L ¢Q¢q²a Ll 

−S¡s pwMÉ¡…¢m−L −mM— 
1 −b−L 20-l j−dÉ;     42 −b−L 70-Hl j−dÉ 

¢h−S¡s pwMÉ¡…¢m−L −mM— 
1 −b−L 20-l j−dÉ;    33 −b−L 67-l j−dÉ 

2.5 −S¡s J ¢h−S¡s pwMÉ¡ ¢c−u i¡−Nl ¢LR¥ p§œ 
2 ¢c−u i¡N k¡u :  k¢c pwMÉ¡¢V −S¡s pwMÉ¡ qu h¡ a¡l −n−o n§eÉ b¡−L, 

−kje 48, 76, 2348, 4390 CaÉ¡¢cz 
4 ¢c−u i¡N k¡u :  k¢c pwMÉ¡¢Vl −no c¤¢V Aˆ (cnL J HLL ÙÛ¡−e) ¢j−m 

−k pwMÉ¡¢V qu a¡ 4 ¢c−u i¡N Ll¡ k¡u, h¡ pwMÉ¡¢Vl 
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−no c¤¢V ÙÛ¡−eC n§eÉ b¡−L, −kje 148, 160, 2372, 

4308, 5700 CaÉ¡¢cz 
3 ¢c−u i¡N k¡u :  k¢c HL¢V pwMÉ¡l j−dÉ −k Aˆ…¢m B−R a¡l 

−k¡Ngm−L 3 ¢c−u i¡N Ll¡ k¡uz Ec¡qlZ— 

   78 = 7+8   = 15 

 243 = 2+4+3  =   9 

 6678 = 6+6+7+8  = 27  

5 ¢c−u i¡N k¡u : k¢c pwMÉ¡¢Vl −n−o n§eÉ h¡ 5 b¡−L, −kje 40, 65, 

2345, 4390 CaÉ¡¢cz 

6 ¢c−u i¡N k¡u :  k¢c pwMÉ¡¢V 2 Hhw 3, c¤C ¢c−uC i¡N Ll¡ k¡uz 
AbÑ¡v, k¢c pwMÉ¡¢V −S¡s pwMÉ¡ qu Hhw a¡l  
Aˆ…¢ml −k¡Ngm 3 ¢c−u i¡N k¡u, −kje 114, 156, 

2372, 2142 CaÉ¡¢cz  
9 ¢c−u i¡N k¡u :  k¢c HL¢V pwMÉ¡l j−dÉ −k Aˆ…¢m B−R a¡l 

−k¡Ngm−L 9 ¢c−u i¡N Ll¡ k¡uz Ec¡qlZ— 

   378 = 3+7+8  = 18 

 9243 = 9+2+4+3  = 18 

 8973 = 8+9+7+3  = 27   
11 ¢c−u i¡N k¡u:  k¢c −L¡eJ pwMÉ¡l −S¡s ÙÛ¡−el Aˆ…¢ml −k¡Ngm 
      J ¢h−S¡s ÙÛ¡−el Aˆ…¢ml −k¡Ng−ml f¡bÑLÉ 11 ¢c−u 
      i¡N k¡u h¡ 0 quz Ec¡qlZ—   

 1342: −S¡s ÙÛ¡−el Aˆ…¢ml −k¡Ngm  3+2 = 5 

 ¢h−S¡s ÙÛ¡−el Aˆ…¢ml −k¡Ngm   1+4  = 5 

 f¡bÑLÉ = 0 a¡C 11 ¢c−u i¡N k¡uz  
           64845: −S¡s ÙÛ¡−el Aˆ…¢ml −k¡Ngm 4+4 =   8 

¢h−S¡s ÙÛ¡−el Aˆ…¢ml −k¡Ngm  6+8+5 = 19 

 f¡bÑLÉ = 11 a¡C 11 ¢c−u i¡N k¡uz 
 93929: −S¡s ÙÛ¡−el Aˆ…¢ml −k¡Ngm 3+2 =   5 

¢h−S¡s ÙÛ¡−el Aˆ…¢ml −k¡Ngm  9+9+9 = 27 

 f¡bÑLÉ = 22 a¡C 11 ¢c−u i¡N k¡uz 
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12 ¢c−u i¡N k¡u:  k¢c pwMÉ¡¢V 3 Hhw 4, c¤C ¢c−uC i¡N Ll¡ k¡uz 
L£ q−m pwMÉ¡…−m¡ 3 J 4 ¢c−u i¡N k¡u −pC ¢euj     
c¤−V¡ Jf−l −c−M e¡Jz Ec¡qlZ—     

5376: (5+3+7+6)=21,  k¡ 3 ¢c−u i¡N k¡uz 
 −no c¤¢V Aˆ 76-−L 4 ¢c−u i¡N Ll¡ k¡uz 
 5376÷12 = 448 i¡Ngmz 

Ae¤n£me 2.3 pwMÉ¡…¢m−L i¡N Ll¡ k¡u ¢Le¡ fl£r¡ L−l¡ (i¡N −N−m √ 

¢VL ¢Qq², e¡ −N−m × œ²p ¢Qq² c¡J ¢WL ¢WL O−l, −kje fËbj A−ˆ 
−cM¡−e¡ B−Rz) 
¢c−u i¡N 2379 51048 21774 5690 71391 9855 

2  × √ √ √ × × 

3        

4        

5        

6        

9        

11        

12       
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f¡W 3. …Ze£uL J …¢ZaL, Hhw −j±¢mL pwMÉ¡ J  
−k±¢NL pwMÉ¡ 

3.1 …Ze£uL h¡ Evf¡cL (Cw−l¢S qm gÉ¡ƒl) 
Bjl¡ S¡¢e −k HL¢V pwMÉ¡−L c¤¢V pwMÉ¡l …Zgm ¢qp¡−h f¡Ju¡ k¡uz 
−kje,      35 =  5 x 7 

    33 = 3 x 11 

−cM¡ k¡−µR, 35 Evfæ q−µR 5 Hhw 7 …Z Ll−m z a¡C, 35-−L 5 J 7 
HC c¤−V¡ pwMÉ¡ ¢c−uC ¢ex−n−o i¡N Ll¡ k¡−hz 5 J 7 qm 35-Hl 
…Ze£uL z HLCi¡−h 3 Hhw 11, qm 33-Hl …Ze£uL h¡ Evf¡cLz 
HL¢V pwMÉ¡−L −k −k pwMÉ¡ ¢c−u ¢ex−n−o i¡N Ll¡ k¡u (i¡N−no b¡−L 
e¡), −pC…¢m qm JC pwMÉ¡¢Vl …Ze£uL h¡ Evf¡cLz   
mr L−l¡: −k−L¡eJ pwMÉ¡l c¤C¢V …Ze£uL b¡L−hC, 1 Hhw pwMÉ¡¢V ¢e−Sz 
−k−L¡eJ pwMÉ¡l ph−Q−u −R¡V …Ze£uL qm 1, J ph−Q−u hs …Ze£uL 
qm pwMÉ¡¢V ¢e−Sz 
Ec¡qlZ:  
64-l …Ze£uL  1, 2, 4, 8, 16, 32, 64 

56-l …Ze£uL  1, 2, 4, 7, 8, 14, 28, 56 

13-l …Ze£uL  1, 13 
Ae¤n£me 3.1 pwMÉ¡…¢ml …Ze£uL…¢m h¡l L−l f¡−n −mM    
12  15  27  

42  50  11  

19  96  264  

3.2 …¢ZaL (Cw−l¢S qm j¡mÚ¢VfmÚ) 
−L¡eJ pwMÉ¡−L HL HLV¡ pwMÉ¡ (AM™ pwMÉ¡) ¢c−u …Z L−l −N−m −k 
pwMÉ¡…¢m f¡C, −p…¢m qm pwMÉ¡¢Vl …¢ZaLz ¢h¢iæ pwMÉ¡l e¡ja¡l Lb¡ 
j−e L−l¡z HL¢V pwMÉ¡l e¡ja¡u Bjl¡ −pC pwMÉ¡l fËbj L−uL¢V 
…¢ZaL f¡C—−kje,  

2 -Hl …¢ZaL qm, 2, 4, 6, 8, 10, 12, 14, ……….. 

3 -Hl …¢ZaL qm, 3, 6, 9, 12, 15, 18, 21, ………. 
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mr L−l¡: 
• −k−L¡eJ pwMÉ¡l …¢ZaL ApwMÉ, k¡l −L¡eJ −no −eCz a¡C −L¡eJ 

pwMÉ¡lC ph−Q−u hs h¡ hªqšj …¢ZaL h−m ¢LR¥ qu e¡; 
• −k−L¡eJ pwMÉ¡l ph−Q−u −R¡V h¡ m¢Où …¢ZaL qm pwMÉ¡¢V ¢e−SC, 

L¡lZ 1 ¢c−u …Z Ll−m Bjl¡ −pC pwMÉ¡¢V−LC f¡Cz AeÉ¡eÉ ph 
…¢ZaL −pC pwMÉ¡¢Vl −b−L hs q−h; 

• fË−aÉL¢V pwMÉ¡C qm 1-Hl …¢ZaLz 
• HL¢V pwMÉ¡ (L) k¢c B−lL¢V pwMÉ¡ (M)-−ul …Ze£uL qu, a¡q−m M 

pwMÉ¡¢V L pwMÉ¡l …¢ZaL q−hz AbÑ¡v …Ze£uL J …¢ZaL qm HL¢V 
AeÉ¢Vl ¢hfl£az 

Ae¤n£me 3.2 pwMÉ¡…¢ml p¡a¢V L−l …¢ZaL −mM    
9  12  10  

11  8  15  

7  6  20  

3.3 −j±¢mL pwMÉ¡ J −k±¢NL pwMÉ¡ 
¢e−Ql c¤C dl−el pwMÉ¡l …Ze£uL…¢m mr L−l¡ — 

−j±¢mL pwMÉ¡ …Ze£uL −k±¢NL pwMÉ¡ …Ze£uL 
2 1, 2 4 1, 2, 4 

3 1, 3 6 1, 2, 3, 6 

5 1, 5 8 1, 2, 4, 8 

7 1, 7 9 1, 3, 9 

11 1, 11 10 1, 2, 5, 10 

13 1, 13 12 1, 2, 3, 4, 6, 12  

17 1, 17 14 1, 2, 7, 14 

19 1, 19 15 1, 3, 5, 15 

Jf−ll a¡¢mL¡u h¡y¢c−Ll i¡NV¡−a −cM¡ k¡−µR ¢LR¥ ¢h−no dl−el pwMÉ¡, 
−k…¢ml …Ze£uL ¢qp¡−h Bjl¡ −Lhmj¡œ c¤C¢V pwMÉ¡ f¡C, 1 Hhw 
pwMÉ¡¢V ¢e−Sz HC…¢m−L −j±¢mL pwMÉ¡ (Cw−l¢S−a, fË¡CjÚ e¡ð¡l) hm¡ quz  
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−j±¢mL pwMÉ¡−L −j±¢mL pwMÉ¡−L −j±¢mL pwMÉ¡−L −j±¢mL pwMÉ¡−L 1 Hhw ¢e−S−L ¢c−u R¡s¡ AeÉ −L¡eJ pwMÉ¡ ¢c−u i¡N 
Ll¡ k¡u e¡z H−cl HC c¤C¢V j¡œ …Ze£uL quz 
Jf−ll a¡¢mL¡u ¢àa£u i¡NV¡−a Bjl¡ −cM¢R, HC pwMÉ¡…¢ml c¤C¢Vl 
−hn£, 1 J ¢e−S−L R¡s¡J A¿¹a BlJ HL¢V, …Ze£uL B−Rz HC…¢m−L 
−k±¢NL pwMÉ¡ (Cw−l¢S−a, L−Çf¡¢pVÚ e¡ð¡l) hm¡ quz   

−k±¢NL pwMÉ¡−L−k±¢NL pwMÉ¡−L−k±¢NL pwMÉ¡−L−k±¢NL pwMÉ¡−L 1 Hhw ¢e−S−L ¢c−u R¡s¡J AeÉ −L¡eJ pwMÉ¡ ¢c−uJ i¡N 
Ll¡ k¡uz H−cl c¤C¢Vl −hn£ …Ze£uL quz 

j−e −l−M¡: HC c¤C dl−el pwMÉ¡l j−dÉ 1 pwMÉ¡¢V f−s e¡z H¢V −j±¢mL h¡ 
−k±¢NL pwMÉ¡ euz Bl Bjl¡ B−NC −S−e¢R −k 0-−L −L¡eJ AM™ pwMÉ¡ 
¢qp¡−h dl¡ qu e¡z 

Ae¤n£me 3.3 ¢e−Ql a¡¢mL¡u −j±¢mL pwMÉ¡…¢m−L ¢Q¢q²a L−l¡ 
1 2 3 4 5 6 7 8 9 10 

11 12 13 14 15 16 17 18 19 20 

21 22 23 24 25 26 27 28 29 30 

31 32 33 34 35 36 37 38 39 40 

41 42 43 44 45 46 47 48 49 50 

51 52 53 54 55 56 57 58 59 60 

61 62 63 64 65 66 67 68 69 70 

71 72 73 74 75 76 77 78 79 80 

81 82 83 84 85 86 87 88 89 90 

91 92 93 94 95 96 97 98 99 100 

−j±¢mL …Ze£uL (h¡ −j±¢mL Evf¡cL−j±¢mL …Ze£uL (h¡ −j±¢mL Evf¡cL−j±¢mL …Ze£uL (h¡ −j±¢mL Evf¡cL−j±¢mL …Ze£uL (h¡ −j±¢mL Evf¡cL, Cw−l¢S−a , Cw−l¢S−a , Cw−l¢S−a , Cw−l¢S−a fË¡CfË¡CfË¡CfË¡CjÚjÚjÚjÚ    gÉ¡ƒlgÉ¡ƒlgÉ¡ƒlgÉ¡ƒl))))  
−L¡eJ pwMÉ¡l −k …Ze£uL¢V HL¢V −j±¢mL pwMÉ¡, a¡−L −j±¢mL …Ze£uL 
hm¡ quz −k−L¡eJ −k±¢NL pwMÉ¡l −L¡eJ e¡ −L¡eJ −j±¢mL …Ze£uL 
b¡L−hCz Hh¡l −cM¡ k¡L −L¡eJ HL¢V −k±¢NL pwMÉ¡l −j±¢mL …Ze£uL…¢m 
Bjl¡ L£i¡−h h¡l Llhz  
−L¡eJ −L¡eJ −L¡eJ −L¡eJ pwMÉ¡l −j±¢mL …Ze£uL…¢m pwMÉ¡l −j±¢mL …Ze£uL…¢m pwMÉ¡l −j±¢mL …Ze£uL…¢m pwMÉ¡l −j±¢mL …Ze£uL…¢m h¡lh¡lh¡lh¡l    Ll¡Ll¡Ll¡Ll¡    
Bjl¡ ¢n−M¢R, 2, 3, 5, 7, 11, 13, CaÉ¡¢c qm −j±¢mL pwMÉ¡z −L¡eJ 
pwMÉ¡l −j±¢mL …Ze£uL…¢m h¡l Ll¡l fÜ¢a qm pwMÉ¡¢V−L HC −j±¢mL 
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pwMÉ¡…¢m ¢c−u kah¡l pñh œ²j¡Na i¡N L−l −k−a q−h, J Ah−n−o 
i¡Ngm 1 q−h, k¡−L Bl i¡N Ll¡ k¡−h e¡z AbÑ¡v, HL HLh¡l i¡N 
Ll¡l f−l i¡Ngm−L Bh¡l −j±¢mL pwMÉ¡ ¢c−u i¡N Ll−a q−hz  

fË−aÉL d¡−f −Lhmj¡œ −k −j±¢mL pwMÉ¡ ¢c−u ¢ex−n−o i¡N Ll¡ k¡u, 
−aje pwMÉ¡ ¢c−uC i¡N Ll−a q−h, LM−e¡ i¡N−no b¡L−m Qm−h e¡z  
¢e−Ql Ec¡qlZ¢V −cMz Bjl¡ fË¢a d¡−f i¡Ngm−L fl fl ¢e−Q ¢m−M¢Rz 

Ec¡qlZ: 48, 56, 45 pwMÉ¡…¢ml −j±¢mL …Ze£uL…¢m h¡l L−l¡ 
  2 48    2 56     3 45 

  2 24    2 28     3 15 

  2 12    2 14     5   5 

  2   6    7   7        1  

  3     3       1   

     1       
mr L−l¡:    
48= 2 x 2 x 2 x 2 x 3;   56= 2 x 2 x 2 x 7;  45= 3 x 3 x 5 
H−L h−m −L¡−e¡ pwMÉ¡−L Evf¡c−L ¢h−nÔoZ h¡ pqS Lb¡u Eyvf¡c−L 
i¡P¡z 

Ae¤n£me 3.4 ¢e−Ql pwMÉ¡…¢ml −j±¢mL …Ze£uL…¢m h¡l L−l¡ 
26   

27   

46   

64  

72   

90   
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f¡W 4. N¢lù p¡d¡lZ …Ze£uL J m¢Où p¡d¡lZ …¢ZaL 
4.1 N¢lù p¡d¡lZ …Ze£uL (Np¡…) 
N¢lù p¡d¡lZ …Ze£uL pw−r−f qm Np¡… (Cw−l¢S−a h−m q¡−uØV LjeÚ 
gÉ¡ƒl, h¡ HCQÚ ¢p HgÚ)z −k−L¡eJ pwMÉ¡l …Ze£uL L¡−L h−m J −p…−m¡ 
h¡l Ll¡ B−N ¢n−M¢Rz HL¡¢dL pwMÉ¡l …Ze£uL…−m¡ h¡l Ll−m Bjl¡ 
qua −cMh L−uLV¡ …Ze£uL phLV¡ pwMÉ¡l −r−œC B−Rz H…−m¡−L hmh 
HC pwMÉ¡…−m¡l p¡d¡lZp¡d¡lZp¡d¡lZp¡d¡lZ (Cw−l¢S−a Lje) …Ze£uLz Bl N¢lùN¢lùN¢lùN¢lù Lb¡V¡l 
j¡−e qm ph−Q−u hsz c¤C¢V pwMÉ¡ i¡h¡ k¡L, 18 J 24:       

18 pwMÉ¡¢Vl …Ze£uL h¡ Evf¡cL…¢m qm, 1, 2, 3, 6, 9, 18 
24 pwMÉ¡¢Vl …Ze£uL h¡ Evf¡cL…¢m qm, 1, 2, 3, 4, 6, 8, 12, 24 

c¤C¢V pwMÉ¡l …Ze£uL…¢m−aC B−R, 1, 2, 3, 6 z p¤¤al¡w, HC…¢m qm HC 
c¤C¢V pwMÉ¡l p¡d¡lZ …Ze£uLz H−cl j−dÉ 6 qm ph−Q−u hs (N¢lù)z a¡C 
6 qm 18 J 24 pwMÉ¡ c¤¢Vl N¢lù p¡d¡lZ …Ze£uL (Np¡…)z 
HL¡¢dL pwMÉ¡l …Ze£uL…¢ml a¥me¡ L−l −k p¡d¡lZ …Ze£uL…¢m f¡Ju¡ 
k¡u (AbÑ¡v, phL¢V pwMÉ¡lC …Ze£uL ¢qp¡−h −k pwMÉ¡…¢m f¡C) a¡l j−dÉ 
ph−Q−u hs¢V−L N¢lù p¡d¡lZ …Ze£uL hm¡ quz 

4.2 Np¡… ¢eZÑu Ll¡l ¢ae¢V fÜ¢a 
HL¡¢dL pwMÉ¡l Np¡… ¢ae i¡−h Np¡… ¢eZÑu h¡ h¡l Ll¡ k¡uz 
fËbj fÜ¢a: …Ze£uL…¢m h¡l Ll¡fËbj fÜ¢a: …Ze£uL…¢m h¡l Ll¡fËbj fÜ¢a: …Ze£uL…¢m h¡l Ll¡fËbj fÜ¢a: …Ze£uL…¢m h¡l Ll¡    
pwMÉ¡…¢ml phL¢V …Ze£uL h¡l L−l a¥me¡ L−l −c−M¡ −L¡eÚ…¢m p¡d¡lZ 
…Ze£uLz −pC…¢ml j−dÉ ph−Q−u hs¢V qm pwMÉ¡…¢ml Np¡…z  
Ec¡qlZ: 24 J 36 pwMÉ¡ c¤¢Vl Np¡… ¢eZÑu L−l¡z 
24-Hl …Ze£uL…¢m qm 1, 2, 3, 4, 6, 8, 12, 24  
36-Hl …Ze£uL…¢m qm 1, 2, 3, 4, 6, 9, 12, 18, 36  

c¤¢V pwMÉ¡l HC …Ze£uL…¢ml j−dÉ −k…¢m p¡d¡lZ …Ze£uL, AbÑ¡v, −k 
pwMÉ¡…¢m 24-Hl …Ze£uL, Bh¡l 36-HlJ …Ze£uL, −p…¢m qm HC c¤¢V 
pwMÉ¡l p¡d¡lZ …Ze£uLz HC…¢ml am¡u c¡N c¡Jz Hh¡l −c−M¡ H−cl 
j−dÉ ph−Q−u hs −L¡eÚ¢Vz HM¡−e ph−Q−u hs p¡d¡lZ …Ze£uL qm 12z 
a¡C 24 J 36-Hl Np¡… qm 12z 
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¢àa£u fÜ¢a: −j±¢mL …Ze£uL…¢m ¢c−u ¢àa£u fÜ¢a: −j±¢mL …Ze£uL…¢m ¢c−u ¢àa£u fÜ¢a: −j±¢mL …Ze£uL…¢m ¢c−u ¢àa£u fÜ¢a: −j±¢mL …Ze£uL…¢m ¢c−u Np¡…Np¡…Np¡…Np¡… h¡l Ll¡h¡l Ll¡h¡l Ll¡h¡l Ll¡    
pwMÉ¡…¢ml phLV¡ −j±¢mL    …Ze£uL h¡l L−l −c−M¡ −L¡eÚ…¢m p¡d¡lZ 
−j±¢mL    …Ze£uLz Hh¡−l −c−M¡ HC p¡d¡lZ −j±¢mL …Ze£uL…¢m phLV¡ 
pwMÉ¡−aC Lj L−l (e§Éeaj)    Lah¡l B−Rz HC p¡d¡lZ −j±¢mL 
…Ze£uL…¢m−L a¡−cl HC e§Éeaj h¡l …Z Ll−m pwMÉ¡…¢ml Np¡… f¡hz   
Ec¡qlZ: −j±¢mL    …Ze£uL ¢c−u 12 J 16-l Np¡… ¢eZÑu  
B−N Bjl¡ pwMÉ¡ c¤¢Vl −j±¢mL …Ze£uL…¢m h¡l Llhz 

2 12    2 16 

  2   6    2   8      

  3   3    2   4      

     1    2   1         

12-l −j±¢mL    …Ze£uL…¢m qm 2, 2, 3 

16-l −j±¢mL    …Ze£uL…¢m qm 2, 2, 2, 2  
12 J 16-l p¡d¡lZ −j±¢mL …Ze£uL −fm¡j HLV¡C, 2z 12-−a H¢V 2 
h¡l J 16-−a H¢V 4 h¡l B−Rz a¡C HC p¡d¡lZ −j±¢mL pwMÉ¡¢V−L 
Bjl¡ e§Éeaj 2 h¡l f¡¢µRz p¤¤al¡w, 12 J 16-l Np¡… qm 2x2 h¡ 4z  

pqS fÜ¢apqS fÜ¢apqS fÜ¢apqS fÜ¢a: HC fÜ¢a¢V−L Bjl¡ HLV¥ pqS L−l ¢e−a f¡¢lz −k−qa¥ 
Bj¡−cl fË−u¡Se qm pwMÉ¡…¢ml p¡d¡lZ −j±¢mL …Ze£uL…¢m h¡l Ll¡, J 
−cM¡ −k e§Éeaj Lah¡l HC …Ze£uL…¢m phL¢V pwMÉ¡−aC B−R, a¡C 
Bjl¡ HL−k¡−N phL¢V pwMÉ¡l −j±¢mL …Ze£uL…¢m h¡l Llhz Hl Ef¡u 
qm, Bjl¡ phL¢V pwMÉ¡−LC i¡N Ll¡ k¡u Hje ph−Q−u −R¡V −j±¢mL 
pwMÉ¡¢V ¢e−u öl¦ L−l h¡lh¡l i¡N L−l k¡h, karZ phL¢V−L i¡N Ll¡ 
k¡u Hje −j±¢mL pwMÉ¡ f¡hz ka…¢m −j±¢mL pwMÉ¡ ¢c−u i¡N Ll¡ −Nm, 
−pC…¢ml …Zgm q−h pwMÉ¡…¢ml Np¡…z 
Ec¡qlZ: −j±¢mL    …Ze£uL ¢c−u 48, 72 J 96-Hl Np¡… ¢eZÑu  

2 48  72   96 

2 24  36  48 

2 12  18  24 

3   6    9  12 

   2        3    4    

p¤¤al¡w, 48, 72 J 96-Hl Np¡… qm 2 x 2 x 2 x 3 = 24  

mr L−l¡; HM¡−e ¢ae−V pwMÉ¡−LC f¡n¡f¡¢n ¢e−u Evf¡c−L i¡P¡ q−µR, 
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¢L¿¹¥ p¡d¡lZ −j±¢mL …Ze£uL g¥¢l−u −N−m −b−j k¡¢µRz 
a«a£u fÜ¢a: pwMÉ¡…¢m i¡N a«a£u fÜ¢a: pwMÉ¡…¢m i¡N a«a£u fÜ¢a: pwMÉ¡…¢m i¡N a«a£u fÜ¢a: pwMÉ¡…¢m i¡N (¢hi¡Se)(¢hi¡Se)(¢hi¡Se)(¢hi¡Se) L−l Np¡… h¡l Ll¡L−l Np¡… h¡l Ll¡L−l Np¡… h¡l Ll¡L−l Np¡… h¡l Ll¡ 
−k pwMÉ¡…¢ml Np¡… h¡l Ll−a q−h −p…¢ml j−dÉ ph−Q−u −R¡V pwMÉ¡¢V 
¢c−u f−ll pwMÉ¡¢V−L i¡N L−l¡z i¡N−no ¢LR¥ e¡ b¡L−m −R¡V pwMÉ¡¢VC 
qm HC c¤¢V pwMÉ¡l Np¡…z i¡N−no b¡L−m, i¡N−no−L i¡SL d−l ¢e−u 
Hh¡l −R¡V pwMÉ¡¢V−L (i¡SÉ ¢qp¡−h ¢e−u) i¡N L−l¡z Hh¡−lJ i¡N−no 
b¡L−m −h¡T¡ k¡−h −k, HC c¤¢V pwMÉ¡l Np¡… qm 1, Bl i¡N−no 0 q−m 
−h¡T¡ k¡−h −no i¡SL¢VC qm HC c¤¢V pwMÉ¡l Np¡…z Np¡… ¢eZÑ−u a«a£u 
HL¢V pwMÉ¡ b¡L−m a¡−L Hlfl fËbj c¤¢V pwMÉ¡l Np¡… ¢c−u i¡N Ll−a 
q−h HLC i¡−hz −no i¡SL¢V, k¡ ¢c−u i¡N L−l i¡N−no 0 Bp−h −p¢VC 
q−h ¢ae¢V pwMÉ¡l Np¡…z i¡N−no 0 e¡ Bp−m −h¡T¡ k¡−h ¢ae¢V pwMÉ¡l 
Np¡… qm 1z B−l¡ pwMÉ¡ b¡L−m HC i¡−h fË¢œ²u¡¢V L−l −k−a q−hz 
Ec¡qlZ: i¡N L−l 48, 72 J 108-Hl Np¡… h¡l L−l¡     

48 │ 72│1      24 │108 │4 

              48            96   

     24│48│2          12│24│2 

        48         24  

              0          0  

p¤¤al¡w, 48, 72 J 108-l Np¡… qm 12 z 
Ec¡qlZ: i¡N L−l 16, 24 J 32-Hl Np¡… h¡l L−l¡     

16 │ 24│1      8 │32 │4 

              16        32   

      8 │16│2        0  

       16          

            0           

p¤¤al¡w, 16, 24 J 32-Hl Np¡… qm 8 z 
Np¡… pð−å j−e l¡−M¡:  
• HL¡¢dL pwMÉ¡l p¡d¡lZ …Ze£uL…¢ml j−dÉ ph−Q−u hs¢V qm a¡−cl 

Np¡…; 
• HL¡¢dL pwMÉ¡l p¡d¡lZ −j±¢mL …Ze£uL…¢m−L …Z Ll−m Bjl¡ 

a¡−cl Np¡… f¡C; 
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• pwMÉ¡…¢ml −L¡eJ p¡d¡lZ −j±¢mL …Ze£uL e¡ b¡L−mp¡d¡lZ −j±¢mL …Ze£uL e¡ b¡L−mp¡d¡lZ −j±¢mL …Ze£uL e¡ b¡L−mp¡d¡lZ −j±¢mL …Ze£uL e¡ b¡L−m a¡−cl Np¡… Np¡… Np¡… Np¡… 
q−h q−h q−h q−h 1, J HC pwMÉ¡…¢ml HL¢V−L hm¡ q−h B−lL¢Vl pqpqpqpq----−j±¢mL−j±¢mL−j±¢mL−j±¢mL 
(−L¡−L¡−L¡−L¡----fË¡CfË¡CfË¡CfË¡CjÚjÚjÚjÚ) pwMÉ¡z  

• c¤¢V pwMÉ¡l HL¢V AeÉ¢V à¡l¡ ¢hi¡SÉ q−m (¢ex−no i¡N −N−m) −R¡V 
pwMÉ¡¢V (i¡SL) q−h a¡−cl Np¡…z 

Ae¤n£me 4.1 Np¡… h¡l Ll¡ 
1. a) 9 J 15-l  …Ze£uL…¢m h¡l L−l¡    

   9 J 15-l p¡d¡lZ …Ze£uL −L¡eÚ…¢m −m−M¡ 
   9 J 15-l Np¡… La −m−M¡ 

  b)    8 J 36-Hl …Ze£uL…¢m h¡l L−l¡    
   8 J 36-Hl p¡d¡lZ …Ze£uL −L¡eÚ…¢m −m−M¡ 
   8 J 36-Hl Np¡… La −m−M¡ 

 c)   24, 48 J 60-Hl  …Ze£uL…¢m h¡l L−l¡    
  24, 48 J 60-Hl p¡d¡lZ …Ze£uL −L¡eÚ…¢m −m−M¡ 
  24, 48 J 60-Hl Np¡… La −m−M¡  

 d)  42, 56 J 70-Hl  …Ze£uL…¢m h¡l L−l¡    
 42, 56 J 70-Hl p¡d¡lZ …Ze£uL −L¡eÚ…¢m  
 42, 56 J 70-Hl Np¡… La −m−M¡  

2. Np¡… h¡l L−l¡: −j±¢mL …Ze£uL fÜ¢a hÉhq¡l L−l 
a) 6, 27      b) 68, 85      c) 50, 96 

d) 14, 50, 98 e) 116, 210, 248  f) 144, 160, 256 

3. Np¡… h¡l L−l¡: i¡N (¢hi¡Se) fÜ¢a hÉhq¡l L−l 
a)  12, 28, 56     b) 20, 84, 96   c) 50, 90, 105 

d) 14, 49, 98 e) 16, 68, 72   f) 125, 175, 275 

Ešl 4.1  
 a. b. c. d. e. f. 

1. 3 4 12 14   

2. 3 17 2 2 2 16 

3. 4 4 5 7 4 25 
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4.3 m¢Où p¡d¡lZ …¢ZaL (mp¡…)    
m¢Où p¡d¡lZ …¢ZaL pw−r−f qm mp¡… (Cw−l¢S−a h−m −m¡−uØV LjeÚ 
j¡mÚ¢VfmÚ h¡ HmÚ ¢p HjÚ)z −k−L¡eJ pwMÉ¡l …¢ZaL L¡−L h−m J −p…−m¡ 
h¡l Ll¡ B−N ¢n−M¢Rz HL¡¢dL pwMÉ¡l …¢ZaL…−m¡ h¡l Ll−m Bjl¡ 
qua −cMh L−uLV¡ …¢ZaL phLV¡ pwMÉ¡l −r−œC B−Rz H…−m¡−L hmh 
HC pwMÉ¡…−m¡l p¡d¡lZp¡d¡lZp¡d¡lZp¡d¡lZ (Cw−l¢S−a Lje) …¢ZaL z Bl m¢Oùm¢Oùm¢Oùm¢Où Lb¡V¡l 
j¡−e qm ph−Q−u −R¡V z 
Ec¡qlZ: 2 J 3-Hl mp¡… 

2 pwMÉ¡¢Vl e¡ja¡ j−e L−l¡: 2, 4, 6, 8, 10, 12, 14, 16, 18 ……. 
3 pwMÉ¡¢Vl e¡ja¡ j−e L−l¡: 3, 6, 9, 12, 15, 18 …….  

−cM¡ k¡−µR, 6, 12, 18, pwMÉ¡…¢m 2-Hl …¢ZaL…¢ml j−dÉJ B−R Bh¡l 
3-Hl …¢ZaL…¢ml j−dÉJ B−Rz p¤¤al¡w, 2 J 3-Hl p¡d¡lZ …¢ZaL qm 
6, 12, 18 …..z H−cl j−dÉ ph−Q−u −R¡V (m¢Où) qm 6z AaHh, 6 qm 
2 J 3-Hl m¢Où p¡d¡lZ …¢ZaL (mp¡…)z HM¡−e mr L−l¡, 6-Hl ph 
…¢ZaLC 2 J 3-HlJ p¡d¡lZ …¢ZaL q−hz  
Ec¡qlZ: 12 J 16-l mp¡… 
12 pwMÉ¡¢Vl …¢ZaL: 12, 24, 36, 48, 60, 72, 84, 96, 108, 120…. 
15 pwMÉ¡¢Vl …¢ZaL: 30, 45, 60, 75, 90, 105,120 ……. 
HM¡−e mp¡… qm 60 z 12 J 15-l Hlf−ll p¡d¡lZ …¢ZaL…¢m, AbÑ¡v, 
120, 180, 240, …….. CaÉ¡¢c phC qm 60-HlJ …¢ZaLz 
AeÉ HL¢V Ec¡qlZ −c−M¡: 5 J 7-Hl mp¡… 
5 pwMÉ¡¢Vl …¢ZaL: 5, 10, 15, 20, 25, 30, 35, 40, 45 ……. 
7 pwMÉ¡¢Vl …¢ZaL: 7, 14, 21, 28, 35, 42, 49, 56, 63……. 
HM¡−e mp¡… qm 35z 5 J 7-Hl Hlf−ll p¡d¡lZ …¢ZaL…¢m, AbÑ¡v, 
70, 105, 140,……CaÉ¡¢c phC qm 35-HlC …¢ZaLz mr L−l¡, HM¡−e 
mp¡… qm 5 J 7 pwMÉ¡ c¤¢Vl …Zgmz   
Bl HL¢V Ec¡qlZ −c−M¡: 6 J 12-l mp¡… 
6 pwMÉ¡¢Vl …¢ZaL: 6, 12, 18, 24, 30, 36, 42, 48, 54 …. 
12 pwMÉ¡¢Vl …¢ZaL: 12, 24, 36, 48, 60, ……. 
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HM¡−e mp¡… qm 12 z 6 J 12-l Hlf−ll p¡d¡lZ …¢ZaL…¢m, AbÑ¡v, 
24, 36, 48, 60…. CaÉ¡¢c phC qm 12-lC …¢ZaLz HM¡−e mr L−l¡, 
−R¡V pwMÉ¡¢V (6) qm hs pwMÉ¡¢Vl (12) …Ze£uL, h¡ hs pwMÉ¡¢V −R¡V 
pwMÉ¡¢Vl …¢ZaLz AbÑ¡v, hs pwMÉ¡¢V −R¡V pwMÉ¡¢Vl à¡l¡ ¢hi¡SÉz hs 
pwMÉ¡¢V −R¡V pwMÉ¡ ¢c−u i¡N Ll¡ −N−m hs pwMÉ¡¢VC q−h H−cl mp¡… 
Bl −R¡V pwMÉ¡¢V q−h a¡−cl Np¡…z 
Jf−ll HC Ec¡qlZ…¢m −b−L Bjl¡ mp¡… pð−å hm−a f¡¢l: 
• HL¡¢dL pwMÉ¡l p¡d¡lZ …¢ZaL…¢ml j−dÉ ph−Q−u −R¡V¢V qm a¡−cl 

mp¡…z  
• pwMÉ¡…¢m k¢c −j±¢mL pwMÉ¡ qu h¡ pq-−j±¢mL qu, a¡q−m a¡−cl 

…Zgm¢V qm a¡−cl mp¡…, −kje 5 J 13-l mp¡… qm 65 z 
• pwMÉ¡…¢ml −R¡V pwMÉ¡¢V ¢c−u k¢c hs¢V−L i¡N Ll¡ k¡u, a¡q−m hs 

pwMÉ¡¢VC qm a¡−cl mp¡…, Hhw −R¡V pwMÉ¡¢V qm a¡−cl Np¡…, −kje 
7 J 56-l mp¡… qm 56, Bl 7 qm Np¡…z 

4.4 mp¡… ¢eZÑu Ll¡l ¢ae¢V fÜ¢a 
HL¡¢dL pwMÉ¡l mp¡… ¢ae i¡−h ¢eZÑu h¡ h¡l Ll¡ k¡uz    
fËbj fÜ¢a: …¢ZaL…¢mfËbj fÜ¢a: …¢ZaL…¢mfËbj fÜ¢a: …¢ZaL…¢mfËbj fÜ¢a: …¢ZaL…¢m h¡l Ll¡h¡l Ll¡h¡l Ll¡h¡l Ll¡    
pwMÉ¡…¢ml −hn L−uL¢V …¢ZaL fËbj −b−L h¡l L−l a¥me¡ L−l −c−M¡ 
−L¡eÚ…¢m p¡d¡lZ …¢ZaLz −pC…¢ml j−dÉ ph−Q−u −R¡V¢V qm mp¡…z 

Ec¡qlZ: 24 J 36 pwMÉ¡ c¤¢Vl mp¡… ¢eZÑu L−l¡z 
24-Hl …¢ZaL: 24, 48, 72, 96, 120, 144, 168,192, 216, 240, …   
36-Hl …¢ZaL: 36, 72, 108, 144, 180, 216, 252, 288, …….  

c¤¢V pwMÉ¡l HC …¢ZaL…¢ml j−dÉ −k…¢m p¡d¡lZ …¢ZaL, AbÑ¡v, −k 
pwMÉ¡…¢m 24-Hl …¢ZaL, Bh¡l 36-HlJ …¢ZaL, −p…¢m qm HC c¤¢V 
pwMÉ¡l p¡d¡lZ …¢ZaLz HC…¢ml am¡u c¡N c¡Jz Hh¡l −c−M¡ H−cl j−dÉ 
ph−Q−u −R¡V −L¡eÚ¢Vz HM¡−e ph−Q−u −R¡V p¡d¡lZ …¢ZaL qm 72z a¡C 
24 J 36-Hl mp¡… qm 72z 
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¢àa£u fÜ¢a: −R¡V pwMÉ¡l …¢ZaL−L¢àa£u fÜ¢a: −R¡V pwMÉ¡l …¢ZaL−L¢àa£u fÜ¢a: −R¡V pwMÉ¡l …¢ZaL−L¢àa£u fÜ¢a: −R¡V pwMÉ¡l …¢ZaL−L    hs pwMÉ¡ ¢c−u i¡N Ll¡hs pwMÉ¡ ¢c−u i¡N Ll¡hs pwMÉ¡ ¢c−u i¡N Ll¡hs pwMÉ¡ ¢c−u i¡N Ll¡    
HC fÜ¢a−a Bjl¡ phL¢V pwMÉ¡l …¢ZaL h¡l e¡ L−l öd¤ −R¡V 
pwMÉ¡¢Vl fËbj L−uL¢V …¢ZaL h¡l Llh J a¡lfl −cMh HC…¢ml j−dÉ 
ph−Q−u −R¡V −L¡eÚ …¢ZaL¢V hs pwMÉ¡¢V ¢c−u i¡N Ll¡ k¡uz HC¢VC qm 
c¤¢V pwMÉ¡l mp¡…z  
Ec¡qlZ: 24 J 36 pwMÉ¡ c¤¢Vl mp¡… ¢eZÑu L−l¡z 
24-Hl …¢ZaL: 24, 48, 72, 96, 120, 144, 168,192, 216, 240, …   
36 ¢c−u i¡N k¡u: 72, 144, 216, ….. 

HC…¢ml ph−Q−u −R¡V qm 72z p¤¤al¡w, 24 J 36-Hl mp¡… qm 72z 
a«a£u fÜ¢a: −j±¢mL a«a£u fÜ¢a: −j±¢mL a«a£u fÜ¢a: −j±¢mL a«a£u fÜ¢a: −j±¢mL …Ze£uL …Ze£uL …Ze£uL …Ze£uL ¢c−u mp¡…¢c−u mp¡…¢c−u mp¡…¢c−u mp¡… h¡l Ll¡h¡l Ll¡h¡l Ll¡h¡l Ll¡    
pwMÉ¡…¢ml phL¢V −j±¢mL    …Ze£uL (h¡ Evf¡cL) h¡l L−l −c−M¡ HL 
HL¢V p¡d¡lZ −j±¢mL …Ze£uL pwMÉ¡…¢ml …Ze£uL…¢ml j−dÉ ph−Q−u 
−hn£ Lah¡l B−Rz HC −j±¢mL …Ze£uL h¡ Evf¡cL…¢ml …Zgm q−h 
pwMÉ¡…¢ml mp¡…z  
Ec¡qlZ: 18, 24 J 30-Hl mp¡… ¢eZÑu L−l¡z 

18 = 2 x 3 x 3   2 B−R 1 h¡l; 3 B−R 2 h¡l 

24 = 2 x2 x2 x3 2 B−R 3 h¡l; 3 B−R 1 h¡l 
30= 2 x3 x5  2 B−R 1 h¡l; 3 B−R 1 h¡l; 5 B−R 1 h¡l 

pwMÉ¡…¢ml −j±¢mL …Ze£uL h¡ Evf¡cL…¢m …−e −cM¡ k¡−µR 18, 24 J 
30-Hl j−dÉ 2 B−R ph−Q−u −hn£ 3 h¡l, 3 B−R ph−Q−u −hn£ 2 h¡l, 5 

B−R ph−Q−u −hn£ 1 h¡lz p¤¤al¡w, 24 J 36-Hl mp¡… qm— 2 x2 x2 

x 3 x 3 x5=360 z  

pqS fÜ¢apqS fÜ¢apqS fÜ¢apqS fÜ¢a: HC fÜ¢a¢V−L Bjl¡ HLV¥ pqS L−l ¢e−a f¡¢lz Bjl¡ 
HL−k¡−N pwMÉ¡…¢ml pwMÉ¡l −j±¢mL …Ze£uL…¢m h¡l Llhz Hl Ef¡u 
qm, pwMÉ¡…¢ml −k−L¡eJ HL¢V−L i¡N Ll¡ k¡u Hje ph−Q−u −R¡V −j±¢mL 
pwMÉ¡¢V ¢c−u öl¦ L−l fl fl i¡N L−l k¡h kah¡l pñh, karZ 
−k−L¡eJ HL¢V−L (h¡ B−Nl d¡−f f¡Ju¡ i¡Ngm¢V−L) i¡N Ll¡ k¡u Hje 
−j±¢mL pwMÉ¡ f¡hz −no d¡−f HL HL¢V pwMÉ¡l −no i¡Ngm¢V q−h 1 h¡ 
−L¡eJ −j±¢mL pwMÉ¡z ka…¢m −j±¢mL pwMÉ¡ ¢c−u i¡N Ll¡ −Nm, J −no 
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d¡−fl i¡Ng−m −k −j±¢mL pwMÉ¡…¢m −fm¡j −pC…¢ml …Zgm q−h 
pwMÉ¡…¢ml mp¡…z 
Ec¡qlZ:  pqS −j±¢mL …Ze£uL fÜ¢a−a 18, 24 J 30-Hl mp¡…   

2 18  24   30 

2   9  12  15 

2   9    6  15 

3   9    3  15 

   3    1    5  

HC Ec¡ql−Z Bjl¡ fËb−j ph−Q−u −R¡V −j±¢mL pwMÉ¡ 2 ¢c−u i¡N L−l¢Rz 
24-−L 3 h¡l i¡N Ll¡ −N−Rz −k pwMÉ¡…¢m−L i¡N Ll¡ k¡u¢e (9 J 15), 
−p…¢m−L ¢e−Q e¡¢j−u −l−M¢Rz Hlfl 3 ¢c−u i¡N L−l¢Rz −no d¡−f 
Bjl¡ −j±¢mL pwMÉ¡ −f−u¢R 3 J 5z  

HM¡−e Q¡l¢V d¡−f i¡N Ll−a q−u−Rz c¤¢Vl −h¢n pwMÉ¡l mp¡… B−l¡ 
Lj d¡−f Ll¡ k¡uz fl fl −j±¢mL pwMÉ¡ ¢c−u i¡N Llh A¿¹a c¤¢V pwMÉ¡ 
¢hi¡SÉ q−m a−hCz −k…¢m ¢hi¡SÉ eu a¡−cl e¡¢j−u l¡Mhz ¢e−Q −c−M¡ – 
18, 24 J 30-Hl mp¡…     18, 24 J 36-Hl mp¡… 
     2 18   24   30    2 18   24   36 

     3   9      12       15     2   9  12  18 

        3   4   5    3   9    6        9   

mp¡…: 2 x3 x 3 x 4 x5=360     3    2    3 
mp¡…: 2 x2 x3 x3 x2 x3 =216 

Ae¤n£me 4.2 mp¡… h¡l Ll¡ 
1. ¢e−Ql pwMÉ¡…¢ml fËbj 8¢V L−l …¢ZaL h¡l L−l¡z p¡d¡lZ 

…¢ZaL…¢ml am¡u c¡N c¡J J mp¡… La −m−M¡z 

 pwMÉ¡ 6¢V L−l …¢ZaL p¡d¡lZ …¢ZaL mp¡… 

a. 3 J 4 

 

3, 6, 9,12, 15, 18, 21, 24  

4, 8, 12, 16, 20, 24 

12, 24 12 

b. 3 J 7    

c. 2 J 5    

d. 6 J 8    

e. 8 J 9    

HM¡−eJ Bjl¡ f¡¢µR 18, 24 J 30-Hl 
mp¡… = 2 x2 x2 x 3 x 3 x5 =360  
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f. 4 J 7    

g. 4 J 16    

2. pqS −j±¢mL …Ze£uL fÜ¢a−a mp¡… h¡l L−l¡ 
 i. ii. iii. iv. 
a. 9, 12, 15 16, 24, 30 18, 24, 30 12, 18, 45 

b. 3, 7, 15, 28 18, 27, 45, 54 24, 44, 72, 99 21, 35, 49, 56 

c. 12, 18, 24, 30 15, 25, 45, 60  15, 18, 20, 24 36, 72, 80, 96 

Ae¤n£me 4.2 Ešl  
2. i. ii. iii. iv. 
a. 180 240 360 180 

b. 420 810 1584 5880 

c. 360 900 360 1440 

Np¡… J mp¡… ¢n−M Bj¡−cl L£ m¡i qm? −L¡eÚ dl−el pjpÉ¡ Bjl¡ 
pj¡d¡e Ll−a f¡¢l H−cl fË−u¡N L−l? ¢e−Ql pjpÉ¡…¢ml pj¡d¡e L£i¡−h 
qu −c−M¡— 

1. d−l¡ HL¢V O−ll −j−T−a Bjl¡ f¡bl −L−V ¢h−R¡−a Q¡Cz O−ll j¡f 
La a¡ Bjl¡ S¡¢ez fËnÀ qm La Lj pwMÉL pj¡e −Q±−L¡ j¡−fl 
f¡bl −L−V (AbÑ¡v ph−Q−u hs hs −Q±−L¡ V¥L−l¡ −L−V) Bjl¡ L¡SV¡ 
Hjei¡−h Ll−a f¡¢l k¡−a HL¢V V¥L−l¡J h¡s¢a h¡ Lj¢a e¡ quz 
HC pjpÉ¡¢Vl pj¡d¡e Ll¡ k¡−h O−ll °cOÑÉ J fË−ÙÛl Np¡… h¡l L−l, 
k¡ Bjl¡ f−l ¢nMhz  

2. d−l¡ NË¡−jl q¡−V −R−m−hm¡l Q¡l hå¥l qW¡v −cM¡ qm HL¢cez HLSe 
hmm, −p fË¢a 4 ¢ce A¿¹l B−p HM¡−ez AeÉ ¢ae hå¥l HLSe 
hmm, −p B−p fË¢a 8 ¢ce f−l f−l, B−lLSe hmm, −p B−p fË¢a 
9 ¢ce A¿¹l, Bl −noSe S¡e¡m −k −p B−p fË¢a 12 ¢ce A¿¹lz 
fËnÀ qm, Hlfl a¡−cl Bh¡l La¢ce f−l −cM¡ q−hz Hl Ešl 
f¡Ju¡ k¡−h mp¡… L−lz Ešl qm 36 ¢ce f−lz    
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f¡W 5.  N¡¢Z¢aL fËa£L J pwMÉ¡l¡¢nl plm Ll¡ 

5.1 N¡¢Z¢aL fËa£L    
pwMÉ¡ fËa£LpwMÉ¡ fËa£LpwMÉ¡ fËa£LpwMÉ¡ fËa£L  
N¡¢Z¢aL pwMÉ¡ −mM¡l SeÉ Bjl¡ 10¢V 
fËa£L hÉhq¡l L¢lz H…¢m−LC f¡n¡f¡¢n 
p¡¢S−u −k−L¡eJ pwMÉ¡ −mM¡ quz 
fË¢œ²u¡ fËa£LfË¢œ²u¡ fËa£LfË¢œ²u¡ fËa£LfË¢œ²u¡ fËa£L  
−k¡N, ¢h−u¡N, …Z, J i¡N, HC Q¡l¢V 
fË¡b¢jL N¡¢Z¢aL fË¢œ²u¡l p¡q¡−kÉ ¢h¢iæ 
pjpÉ¡l pj¡d¡e Ll¡ k¡uz HC Q¡l¢V 
fË¢œ²u¡−L Q¡l¢V ¢Qq² ¢c−u −cM¡−e¡ quz 
pÇfLÑ h¡ a¥me¡ fËa£LpÇfLÑ h¡ a¥me¡ fËa£LpÇfLÑ h¡ a¥me¡ fËa£LpÇfLÑ h¡ a¥me¡ fËa£L    
c¤C¢V N¡¢Z¢aL l¡¢n h¡ pwMÉ¡l j−dÉ 
pÇfLÑ h¡ a¥me¡ Ll−a Bjl¡ L−uL¢V  
¢Qq² hÉhq¡l L¢lz −j¡V Ru lL−jl a¥me¡ 
q−a f¡−lz HC a¥me¡ h¡ pÇfLÑ…¢ml 
Ec¡qlZ—     
5+3 = 4+4;    5+3 ≠  4+3 

6+7 > 5+7;    8+4 >  5+9 

9+6 < 8+8;    6+5 <  8+2 

f−l Bjl¡ ¢nMh HC dl−el B−l¡ 
c¤¢V pÇfLÑ q−a f¡−l—X¡e q¡−al pwMÉ¡ 
h¡ l¡¢n h¡y ¢c−Ll pwMÉ¡ h¡ l¡¢nl −b−L 
hs Abh¡ pj¡e (¢Qq² ≤ ), −R¡V Abh¡ pj¡e (¢Qq² ≥)z   
pwMÉ¡pwMÉ¡pwMÉ¡pwMÉ¡ l¡¢nl¡¢nl¡¢nl¡¢n    
L−uL¢V pwMÉ¡ fËa£L−L fË¢œ²u¡ fËa£L ¢c−u k¤š² L−l ¢mM−m Bjl¡ pwMÉ¡ 
l¡¢n f¡C—−kje, 60÷ 5+ 4× 4–20z 
håe£ ¢Qq² håe£ ¢Qq² håe£ ¢Qq² håe£ ¢Qq²     
−L¡eJ pwMÉ¡ l¡¢n−a −L¡eÚ N¡¢Z¢aL fË¢œ²u¡¢V B−N pÇfæ Ll−a q−h a¡ 
−h¡T¡−a håe£ ¢Qq² hÉhq¡l Ll¡ quz ¢ae dl−el håe£ ¢Qq² hÉhq¡l Ll¡ 

pwMÉ¡ fËa£L 
0 Hhw 1, 2, 3, 4, 5, 6, 

7, 8, 9 

fË¢œ²u¡    fËa£L 
−k¡N  + 

¢h−u¡N  – 
…Z   × 
i¡N  ÷ 

pÇfLÑ h¡ a¥me¡ fËa£L 

pj¡e   =    
pj¡e eu  ≠    
hs   >   
−R¡V  <    
hs eu  >      
−R¡V eu  <    
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qu, fËbj håe£fËbj håe£fËbj håe£fËbj håe£ ( ), ¢¢¢¢àa£u håe£àa£u håe£àa£u håe£àa£u håe£ { }, Hhw [  ] qm a«a£u håe£a«a£u håe£a«a£u håe£a«a£u håe£z 
N¡¢Z¢aL l¡¢nl hZÑe¡u −k¡N, ¢h−u¡N, …Z J i¡N fË¢œ²u¡…¢ml −L¡eÚ¢V B−N 
h¡ f−l Ll−a q−h a¡ −h¡T¡−a kb¡kb håe£ ¢Qq² hÉhq¡l e¡ Ll−m 
l¡¢n¢Vl j¡e ¢h¢iæ q−u −k−a f¡−lz HL¢V Ec¡qlZ −cM¡ k¡L— 

36 ÷ 6 – 3   
HC l¡¢n¢Vl −L¡eÚ fË¢œ²u¡¢V B−N Ll−a q−h a¡ −h¡T¡ k¡−µR e¡z a¡C Hl 
j¡e c¤C lLj q−a f¡−lz i¡N¢V B−N L−l a¡lfl i¡Ngm −b−L ¢h−u¡N 
Ll−m f¡h l¡¢n¢Vl j¡e (6–3) h¡ 3z Bh¡l ¢h−u¡N¢V B−N L−l a¡lfl 
¢h−u¡Ngm ¢c−u i¡N Ll−m f¡h (36÷3) h¡ 12z p¤¤al¡w, −L¡eÚ¢V B−N 
Ll−a q−h −h¡T¡−a HC l¡¢n¢V−L p¢WLi¡−h ¢mM−a q−h håe£ ¢c−u,  

qu (36 ÷ 6) – 3  Abh¡ 36 ÷ (6 – 3) z  
−L¡eJ l¡¢nl j−dÉ HL¡¢dL håe£l hÉhq¡l fË−u¡Se q−a f¡−l k¢c HL¢V 
fË¢œ²u¡l −ia−l B−l¡ HL¢V h¡ c¤¢V fË¢œ²u¡ b¡−Lz Ec¡qlZ— 

60 – [(9×2) + {(26+4) ÷ (5×2)}] 

HC lLj −r−œ fËb−j Ll−a q−h fËbj håe£l j−dÉl fË¢œ²u¡¢V, a¡lfl 
¢àa£u håe£l J −n−o a«a£u håe£lz AbÑ¡v, HM¡−e ¢ae¢V d¡−f fË¢œ²u¡…¢m 
pÇfæ Ll−a q−hz  

5.2 plm Ll¡  
N¡¢Z¢aL l¡¢n h¡ pwMÉ¡ l¡¢nl HL HL¢V d¡−f fË¢œ²u¡ pÇfæ L−l Bjl¡ 
ea¥e HL¢V N¡¢Z¢aL l¡¢n f¡h, k¡ B−Nl d¡−fl N¡¢Z¢aL l¡¢n¢Vl pj¡ez 
a¡C, HL¢V d¡−fl fË¢œ²u¡¢V L−l Bjl¡ −k l¡¢n¢V f¡h, a¡−L pj¡e ¢Qq² pj¡e ¢Qq² pj¡e ¢Qq² pj¡e ¢Qq² 
¢c−u ¢mMh¢c−u ¢mMh¢c−u ¢mMh¢c−u ¢mMhz HC i¡−h d¡−f d¡−f fË¢œ²u¡…¢m pÇfæ Ll¡−L plm£LlZ h¡ 
plm Ll¡ h−mz Jf−ll l¡¢n¢V−L plm Ll¡ q−h HC i¡−h— 

60–[(9×2) + {(26+4) ÷ (5×2)}]   

=   60–[18 +{30 ÷ 10}]  

=  60–[18 + 3]  

=  60–21 =  39 

plm Ll¡u håe£ hÉhq¡−ll ¢eujplm Ll¡u håe£ hÉhq¡−ll ¢eujplm Ll¡u håe£ hÉhq¡−ll ¢eujplm Ll¡u håe£ hÉhq¡−ll ¢euj    
1. håe£ ¢Qq² hÉhq¡−ll L−uL¢V p¡d¡lZ p§œ j−e l¡M−a q−hz −L¡eJ 

HL¢V pwMÉ¡ −b−L fl fl c¤C¢V (h¡ c¤C¢Vl −hn£) pwMÉ¡ ¢h−u¡N Ll¡l 
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hc−m, håe£ ¢c−u −cM¡−e¡ k¡u −k, pwMÉ¡¢V −b−L JC c¤C¢V (h¡ c¤C¢Vl 
−hn£) pwMÉ¡l −k¡Ngm¢V ¢h−u¡N Ll¡ HLC qu z Ec¡qlZ—  

46 – 22 –13   =  24 – 13 = 11   -−L −mM¡ k¡u  

46 – (22+13)  =  46 – 35 = 11 
2. HLC i¡−h −L¡eJ HL¢V pwMÉ¡−L c¤C¢V (h¡ c¤C¢Vl −hn£) pwMÉ¡ ¢c−u 

fl fl i¡N Ll¡−L håe£ ¢c−u −cM¡−e¡ k¡u pwMÉ¡¢V−L JC c¤C¢V (h¡ 
c¤C¢Vl −hn£) pwMÉ¡l …Zgm ¢c−u i¡N Ll¡ ¢qp¡−hz Ec¡qlZ— 

  48 ÷ 8 ÷ 2   =  6 ÷ 2   =  3   -−L −mM¡ k¡u 

48 ÷ (8 × 2)  =  48 ÷ 16  =  3 

3. AbÑ¡v, −cM¡ −Nm, B−N ¢h−u¡N J i¡N ¢Qq² b¡L−m håe£ ¢c−m håe£l 
¢ia−ll fË¢œ²u¡l ¢Qq²¢V E−ÒV k¡uz håe£ M¤−m ¢mM−mJ håe£l ¢ia−ll 
fË¢œ²u¡ ¢Qq² E−ÒV k¡−hz Ec¡qlZ—  

46 – (22+13)  = 46 –22 –13;  

50 ÷ (2 ×5)  = 50 ÷ 2 ÷ 5z  
4. ¢L¿¹¥, j−e l¡M−a q−h, håe£l B−N −k¡N h¡ …Z ¢Qq² b¡L−m HjeV¡ 

q−h e¡, AbÑ¡v, håe£l ¢ia−ll fË¢œ²u¡l ¢Qq²¢V E−ÒV k¡ue¡z Ec¡qlZ— 

46 + 22–13  =  68 – 13 = 55 

46 + (22–13)  =  46 +   9 = 55 

  6  ×  16÷ 4   =   96 ÷ 4 = 24 

6  ×  (16÷ 4)  =   6 ×   4 = 24   

plm Ll¡l ¢euj j−e l¡−M¡:  
• h¡y ¢cL −b−L ¢qp¡h öl¦ Ll−a q−h; 
• fËb−j …Z J i¡N Hhw a¡lfl −k¡N J ¢h−u¡N Ll−a q−h; 
• håe£ b¡L−m håe£l ¢ia−ll ¢qp¡h B−N Ll−a q−h; 
• håe£l ¢ia−l fËb−j fËbj håe£, a¡lfl ¢àa£u håe£, J −n−o a«a£u 

håe£l ¢qp¡h Ll−a q−h;  
• håe£l B−N ¢h−u¡N J i¡N ¢Qq² b¡L−m, håe£ M¤−m ¢mM−m håe£l 

¢ia−ll fË¢œ²u¡ ¢Qq² E−ÒV k¡−hz  
 
 



 

44   g¥mX¡P¡ ¢hcÉ¡QQÑ¡ −L¾cÊ, h£lij̈ 
 

Ae¤n£me 5.1 plm L−l¡ 
1. (125÷5)x[5x{24÷(26–23)}]     Ešl   1000 

2. 95–[47+ 84 – {(48÷6) x9) ÷2}]    Ešl 0  

3. 52÷[4+27÷{1+12÷(8–2)}]     Ešl 4 

4. (36÷9) x [2 x (7–2+5–4)]     Ešl 48 

5. plm L−l −cM¡J −k 

a. 27÷(14–5)+12      >  35÷[9–{(9÷3)–2+1}]  

b. (4+5–2) x[{(6+8) ÷7}+ 3] <  [(8 x9) ÷2 x{(33÷11)–2}]   

c. 23–[14–{(56–48) ÷(4–2)}] >  [32–{(18–6) x2}+20] 

d. [{(12–6) x (15–8)} ÷7]   <   15÷{36÷(17–9+4)} 

e. [30÷(15÷3)]–(12–6)       =  (30÷6)+(15÷3) 

f. 23+(12–3–5–2)  =  23+12–3–5–2 

g. 42–(16+3–9)  =  42–16–3+9 

h. 6 x (2+4+6)  =  6x2+ 6x4 +6x6 

i. 96 ÷ (2 x 4 x 6) =  96÷2÷ 4÷ 6 
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f¡W 6. N¡¢Z¢aL E¢š² h¡ h¡LÉ J AS¡e¡ pwMÉ¡ ¢eZÑu 

6.1 N¡¢Z¢aL E¢š² h¡ h¡LÉ  
N¡¢Z¢aL E¢š² h¡ h¡−LÉ a¥me¡ fËa£L…−m¡ hÉhq¡l L−l h¡−LÉl j−a¡ L−l 
N¡¢Z¢aL E¢š² hm¡ h¡ −mM¡ qu, k¡ c¤−V¡ pwMÉ¡, pwMÉ¡l¡¢n h¡ N¡¢Z¢aL 
l¡¢nl j−dÉ a¥me¡ L−lz j−e L−l¡ l¡−jl L¡−R 7¢V J nÉ¡−jl L¡−R 4¢V 
hm B−Rz a¡q−m c¤C S−el L¡−R −j¡V LV¡ hm B−R? Bjl¡ Eš−l 
hmh, 7 Bl 4 −k¡N L−l −j¡V 11¢V hm B−Rz HC hš²hÉ¢V−L Bjl¡ 
N¡¢Z¢aL h¡−LÉ ¢mMh: 7 + 4 = 11z BlJ Ec¡qlZ mr L−l¡—  

5+3 = 4+4  15–4 = 10+1  8×6 = 20+28  32÷ 4<9 
H…¢m phC qm N¡¢Z¢aL h¡LÉ, −kM¡−e h¡y¢c−Ll pwMÉ¡ h¡ pwMÉ¡l¡¢n J 
X¡e¢c−Ll pwMÉ¡ h¡ pwMÉ¡l¡¢n c¤−V¡l j−dÉ a¥me¡ Ll¡ q−u−R z   

N¡¢Z¢aL h¡LÉ p¢aÉJ q−a f¡−l Bh¡l ¢jbÉ¡J q−a f¡−lz Jf−ll 
N¡¢Z¢aL h¡LÉ…¢m p¢aÉz ¢L¿¹¥, ¢e−Ql N¡¢Z¢aL h¡LÉ…¢m ¢jbÉ¡— 
8–3>6    15÷5=7    60+4≠16×4  3×9<30–7 
HL¢V N¡¢Z¢aL E¢š² h¡ h¡LÉ p¢aÉ e¡ ¢jbÉ¡ h¤T−a Bjl¡ −cMh h¡LÉ¢Vl 
a¥me¡ ¢Q−q²l h¡y¢c−L L£ hm¡ B−R J X¡e¢c−L L£ hm¡ B−Rz H−cl 
−ia−l −L¡eJ N¡¢Z¢aL fË¢œ²u¡ b¡L−m a¡ pÇf¨ZÑ L−l −cM−a q−h H−cl 
j¡ez Hh¡l −cM−a q−h a¥me¡ ¢Qq² Ae¤k¡u£ h¡y¢cL J X¡e¢c−Ll HC j¡e 
c¤−V¡ ¢WL ¢Le¡z k¢c ¢WL qu a¡q−m h¡LÉ¢V p¢aÉ, a¡ e¡ q−m h¡LÉ¢V 
¢jbÉ¡z AbÑ¡v, HL¢V N¡¢Z¢aL h¡LÉ p¢aÉ e¡ ¢jbÉ¡ h¤T−a h¡y¢c−Ll pwMÉ¡l¡¢n 
J X¡e¢c−Ll pwMÉ¡l¡¢nl j−dÉ a¥me¡ ¢Qq²¢V p¢WL ¢Le¡ a¡ −cM−a q−hz 

6.2 −M¡m¡ N¡¢Z¢aL h¡−LÉ AS¡e¡ pwMÉ¡l hZÑ fËa£L   
N¡¢Z¢aL h¡−LÉ −L¡eJ pwMÉ¡ AS¡e¡ b¡L−m a¡−L Bjl¡ −cM¡C −L¡eJ 
HLV¡ hZÑ−L a¡l fËa£L ¢qp¡−h hÉhq¡l L−lz −k−L¡eJ hZÑ−LC Bjl¡ 
fËa£L ¢qp¡−h hÉhq¡l Ll−a f¡¢l, −kje h¡wm¡ hZÑ L, M, N, CaÉ¡¢c, Abh¡ 
Cw−l¢S hZÑ x, y, z, CaÉ¡¢cz  

N¡¢Z¢aL h¡−LÉ AS¡e¡ pwMÉ¡ L£i¡−h Bp−a f¡−l a¡l HLV¡ 
Ec¡qlZ—¢ja¡ hmm −k a¡l L¡−R k¡ V¡L¡ B−R (−a¡j¡l AS¡e¡, a¡C 
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j−e L−l¡ x)    a¡l p¡−b 7 −k¡N L−l 2 ¢h−u¡N Ll−m 15 V¡L¡ quz HC 
Lb¡¢V−L N¡¢Z¢aL h¡−LÉ −mM¡ k¡u— 
    x + 7 – 2 = 15 V¡L¡ 
H¢V HL¢V N¡¢Z¢aL h¡LÉz HC dl−el N¡¢Z¢aL h¡LÉ−L −M¡m¡ h¡LÉ−M¡m¡ h¡LÉ−M¡m¡ h¡LÉ−M¡m¡ h¡LÉ hm¡ 
qu, L¡lZ h¡LÉ¢V p¢aÉ e¡ ¢jbÉ¡ a¡ hm¡ k¡u e¡, karZ e¡ Bjl¡ AS¡e¡ 
hZÑ fËa£LV¡l S¡uN¡u −L¡eJ pwMÉ¡ hp¡Cz HM¡−e hZÑ fËa£L x-Hl 
pwMÉ¡Na j¡e HLj¡œ 10 q−mC h¡LÉ¢V p¢aÉ quz AeÉ −k−L¡eJ pwMÉ¡ 
q−m h¡LÉ¢V ¢jbÉ¡ q−hz −L¡eJ AS¡e¡ pwMÉ¡l N¡¢Z¢aL pjpÉ¡−L HC 
dl−el N¡¢Z¢aL h¡−LÉ fËL¡n L−l Bjl¡ AS¡e¡ pwMÉ¡¢V−L ¢edÑ¡lZ Ll−a 
f¡¢l, k¡l ¢LR¥ Ec¡qlZ Bjl¡ Hl fl −cMhz   

6.3 −M¡m¡ N¡¢Z¢aL h¡−LÉ hZÑ fËa£−Ll j¡e h¡l Ll¡l fÜ¢a 
j−e l¡M−a q−h −k −k¡N J ¢h−u¡N qm flØf−ll ¢hfl£a fË¢œ²u¡ Hhw …Z 
J i¡N qm flØf−ll ¢hfl£a fË¢œ²u¡z 
−k¡N J ¢h−u¡−Nl flØfl ¢hfl£a fË¢œ²u¡u −c−M¢R— 

¢h−u¡Se  –  ¢h−u¡SÉ  = ¢h−u¡Ngm 
    ¢h−u¡Se  –  ¢h−u¡Ngm  = ¢h−u¡SÉ 
    ¢h−u¡Ngm +  ¢h−u¡SÉ  = ¢h−u¡Se  
Ec¡qlZ qm— 
    24 – 13 = 11   h¡  24 = 11 + 13 
    24 – 11 = 13   h¡  24 = 13 + 11 
    11 + 13 = 24   h¡   11 = 24 – 13 
…Z J i¡−Nl flØfl ¢hfl£a fË¢œ²u¡u −c−M¢R— 

i¡SÉ   ÷ i¡SL  = i¡Ngm 
    i¡SÉ   ÷ i¡Ngm  =  i¡SL  
    i¡Ngm  x  i¡SL   = i¡SÉ 
Ec¡qlZ qm— 
    48 ÷ 8 =   6   h¡  48 =   6 x 8 
    48 ÷ 6 =   8   h¡  48 =   8 x 6 
    6 x 8 = 48   h¡     8 = 48 ÷ 6 
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Jf−ll Ec¡qlZ…¢m −b−L Bjl¡ −cM¢R, −L¡eJ N¡¢Z¢aL h¡−LÉl h¡y¢cL J 
X¡e¢c−Ll c¤¢V l¡¢n−a −k fË¢œ²u¡…¢m hm¡ B−R −p…¢m ÙÛ¡e f¢lhaÑe L−l 
h¡y¢cL −b−L X¡e¢c−L Abh¡ X¡e¢cL −b−L h¡y¢c−L ¢e−u −Nm fË¢œ²u¡…¢m 
¢hfl£a L−l ¢e−a quz  

¢euj ¢qp¡−h j−e l¡−M¡:¢euj ¢qp¡−h j−e l¡−M¡:¢euj ¢qp¡−h j−e l¡−M¡:¢euj ¢qp¡−h j−e l¡−M¡: N¡¢Z¢aL h¡−LÉl pj¡e ¢Q−q²l (h¡ −k −L¡eJ a¥me¡ 
¢Q−q²l) h¡y¢cL −b−L X¡e¢c−L, Abh¡ X¡e¢cL −b−L h¡y¢c−L, −L¡eJ pwMÉ¡ 
h¡ pwMÉ¡l¡¢n−L ¢e−u −N−m a¡l p¡j−el fË¢œ²u¡ ¢Qq²¢V ¢hfl£a q−u k¡−hz 

−M¡m¡ N¡¢Z¢aL h¡LÉ −b−L −L¡eJ AS¡e¡ pwMÉ¡l hZÑ fËa£−Ll j¡e −hl 
Ll¡l pju HC ¢euj¢Vl ¢h−no hÉhq¡l q−hz L−uL¢V Ec¡qlZ— 

x + 8 = 15 q−m Bjl¡ f¡C,  x = 15 – 8  = 7 

 x – 6 = 24 q−m Bjl¡ f¡C,  x = 24 + 6  = 30 

 x x 4 = 32 q−m Bjl¡ f¡C,  x = 32 ÷ 4  = 8 

x ÷ 9 = 3  q−m Bjl¡ f¡C,  x =   9 x 3  = 27 

Ae¤n£me 6.1   
1. N¡¢Z¢aL h¡−LÉ fËL¡n Ll: 

a. p¡a¡n J h¡q¡š−ll −k¡Ngm ¢el¡eîC−ul pj¡e; 
b. c¤C na h¡q¡æ −b−L HLna h¡−l¡l ¢h−u¡Ngm HLna HLQ¢õn −b−L 

−R¡V; 
c. −aCn −b−L ¢ae ¢h−u¡N L−l a¡−L Q¡l ¢c−u i¡N Ll−m k¡ f¡C 

−pV¡ R¢œn−L eu ¢c−u i¡N Ll−m k¡ f¡C a¡l −b−L hs;  
d. R¢œn−L Ru ¢c−u i¡N L−l a¡l −b−L ¢ae ¢h−u¡N Ll−m k¡ f¡C 

−pV¡ R¢œn−L Ru J ¢a−el ¢h−u¡Ngm ¢c−u i¡N Ll−m k¡ f¡C a¡l 
pj¡e eu; 

e. f−e−l¡−L Q¡l ¢c−u …Z L−l a¡l p¡−b h¡−l¡ −k¡N L−l k¡ f¡C −pV¡ 
HLn −b−L ¢œn ¢h−u¡N Ll−m k¡ f¡C a¡l −b−L −R¡V eu; 

f. p¡a¢V L−l m−S¾p f¡yQSe−L ¢c−a ka m−S¾p m¡−N −pV¡ Q¡l¢V L−l 
m−S¾p eu Se−L ¢c−m ka m−S¾p m¡−N  a¡l −b−L hs eu; 

2. N¡¢Z¢aL h¡−LÉ fËnÀ…¢m −mM J a¡l AS¡e¡ pwMÉ¡¢V h¡l L−l¡: 
a. −L¡eÚ pwMÉ¡l p−‰ −aCn −k¡N Ll−m −k¡Ngm HLn h¡q¡æ qu? 
b. −L¡eÚ pwMÉ¡ −b−L p−al ¢h−u¡N Ll−m ¢h−u¡Ngm −aCn qu? 
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c. −L¡eÚ pwMÉ¡−L h¡−l¡ ¢c−u i¡N Ll−m i¡Ngm p¡a qu? 
d. −L¡eÚ pwMÉ¡−L p¡a ¢c−u …Z L−l f¡yQ ¢h−u¡N Ll−m p¡C¢œn f¡C? 
e. −L¡eÚ pwMÉ¡−L p¡a ¢c−u i¡N L−l h¡−l¡ ¢c−u …Z Ll−m h¡q¡šl 

f¡C? 
f. −L¡eÚ pwMÉ¡−L Ru ¢c−u i¡N L−l i¡Ngm−L c¤C ¢c−u …Z Ll−m −k 

pwMÉ¡ f¡C −pV¡ −RQ¢õn−L c¤C ¢c−u i¡N L−l ¢ae ¢h−u¡N Ll−m k¡ 
f¡C a¡l pj¡e? 

g. p¡aQ¢õn¢V Bj ¢Rmz f¡yQSe−L pj¡e i¡−N i¡N L−l −cJu¡l f−l 
c¤C¢V Ah¢nø lCmz HL HLSe LV¡ L−l Bj −fm? 

h. f¡yQ Se−L c¤¢V L−l −fu¡l¡ N¡−Rl Q¡l¡, f¡yQ¢V L−l Bj N¡−−Rl 
Q¡l¡, J p¡a¢V L−l e¡l−Lm N¡−Rl Q¡l¡ −cJu¡l f−l −j¡V p¡a¢V 
Q¡l¡ f−s lCmz N¡−Rl Q¡l¡ −j¡V L¢V ¢Rm? 

i. −a¡j¡l L¡−R L−uL¢V hC B−Rz Cú¥m −b−L a¥¢j B−l¡ Ru¢V hC 
fË¡CS −f−mz H−a L−l HMe −a¡j¡l ka…¢m hC qm a¡ B−N k¡ 
¢Rm a¡l ¢à…Zz −a¡j¡l L¡−R La…¢m hC B−N ¢Rm? 

j. −a¡j¡l L¡−R L−uL¢V hC B−Rz Cú¥m −b−L a¥¢j B−l¡ eu¢V hC 
fË¡CS −f−mz H−a L−l HMe −a¡j¡l ka…¢m hC qm a¡ B−N k¡ 
¢Rm a¡l Q¡l …Z −b−L ¢ae Ljz −a¡j¡l L¡−R La…¢m hC B−N 
¢Rm? [p§œ: x + 9 = (4 x x)–3] 

k. −a¡j¡−L hC, M¡a¡, −feÚ¢pm −Le¡l SeÉ h¡h¡ ¢LR¥ V¡L¡ ¢c−mez j¡−ul 
L¡R −b−L a¥¢j B−l¡ ¢œn V¡L¡ −f−mz a¥¢j ¢Le−m o¡V V¡L¡ ¢c−u 
HL¢V hC, BW¡−l¡ V¡L¡ ¢c−u ¢ae¢V M¡a¡ Bl h¡−l¡ V¡L¡ ¢c−u 
¢ae¢V −feÚ¢pmz HC…¢m −Le¡l f−l −a¡j¡l L¡−R BV V¡L¡ f−s 
lCmz h¡h¡ −a¡j¡−L La V¡L¡ ¢c−u¢R−me? 

l. p¡a¢V M¡a¡l c¡j R¡f¡æ V¡L¡ Bl f¡yQ¢V −fe¢p−ml c¡j ¢œn V¡L¡ 
q−m, ¢ae¢V M¡a¡ J ¢ae¢V −feÚ¢pm ¢Le−m o¡V V¡L¡ −b−L La V¡L¡ 
f−s b¡L−h? [p§œ: (56÷7) x 3+ (30÷5) x 3 = 60 –x]    

Ešl 6.1 

2.  
a. 129 b. 40 c. 84 d. 6 e. 42 f. 60 

g. 9¢V Bj h. 77¢V Q¡l¡ i. 6¢V j. 4¢V k. 68 V¡L¡ l. 18 V¡L¡ 
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¢ja¡ 
  l¡S¥ 

  a¥¢j 

f¡W 7. p¡d¡lZ iNÀ¡wn — d¡lZ¡ Hhw −k¡N J ¢h−u¡N 

7.1 p¡d¡lZ iNÀ¡w−nl d¡lZ¡ 
iNÀ¡wn qm iNÀ Awn(i¡P¡ V¥L−l¡), AbÑ¡v −L¡eJ ¢LR¥−L L−uL¢V pj¡e 
Aw−n −i−P h¡ i¡N L−l a¡l −b−L La…¢m Awn −eJu¡ qm a¡ hm¡ qu 
iNÀ¡wn ¢c−uz iNÀ¡w−nl d¡lZ¡¢V h¤T−a Bjl¡ L−uL¢V Ec¡qlZ −cMhz 
Ec¡qlZ 1. j−e L−l¡ −a¡j¡l L¡−R lP£e 
L¡N−Sl HL¢V f¡a¡ B−Rz a¥¢j −pV¡−L RuV¡ 
pj¡e i¡−N −L−V ¢e−m J a¡l ¢ae¢V ¢c−m 
¢ja¡−L, c¤C¢V ¢c−m l¡S¥−L Bl h¡¢L HLV¡ 
l¡M−m ¢e−Sl L¡−Rz L¡NS¢Vl HC RuV¡ i¡N 
−b−L −L LV¡ ¢em a¡ Bjl¡ iNÀ¡wn ¢c−u hm−a f¡¢l HC i¡−h— 

¢ja¡ −fm Ru¢V Aw−nl ¢ae¢V Awn h¡ Ru i¡−Nl ¢ae i¡N, j¡−e  

l¡S¥ −fm Ru¢V Aw−nl c¤C¢V Awn h¡ Ru i¡−Nl c¤C i¡N, j¡−e    

−a¡j¡l lCm Ru i¡−Nl HL i¡N, j¡−e     z 
Ec¡qlZ 2. ¢ja¡l L¡−R HL¢V lP£e ¢g−a B−Rz ¢ja¡ JV¡−L p¡a¢V pj¡e 
i¡−N −L−V ¢ae¢V V¥L−l¡ ¢cm X¢m−L, c¤¢V V¥L−l¡ ¢cm nÉ¡j¡−L, HL¢V 
V¥L−l¡ ¢cm ¢je¡−L, J ¢e−Sl SeÉ HL¢V V¥L−l¡ l¡Mmz a¡q−m −L ¢g−a¢Vl 
La Awn −fm? 
 

X¢m −fm p¡a i¡−Nl ¢ae i¡N h¡   Awn, nÉ¡j¡ −fm p¡a i¡−Nl c¤C 
i¡N h¡   Awn, ¢je¡ −fm p¡a i¡−Nl HL i¡N h¡   Awn, J ¢ja¡l 
lCm p¡a i¡−Nl HL i¡N h¡    Awn z 
EcqlZ 3. HL¢V T¥¢s−a −j¡V E¢en¢V gm B−R, k¡l j−dÉ p¡a¢V −fm 
¢ja¡, Ru¢V −fm X¢m, Q¡l¢V −fm nÉ¡j¡, Bl c¤¢V −fm ¢je¡ z −L −j¡V 
g−ml La Awn −fm?  
¢ja¡   Awn, X¢m    Awn, nÉ¡j¡    Awn, ¢je¡     Awnz 

mr L−l¡: iNÀ¡wn…−m¡−L L£i¡−h hm¡ qu—−kje, E¢en i¡−Nl p¡a i¡N 
h¡ E¢e−nl p¡a; E¢en i¡−Nl Ru i¡N h¡ E¢e−nl Ru CaÉ¡¢c z 

3 

6 
2 

6 1 

6 

3 

7 2 

7 

1 

7 1 

7 

7 

19 

6 

19 

4 

19 

2 

19 
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Ae¤n£me 7.1  
1. ¢e−Ql E¢š²…¢m−L iNÀ¡wn ¢c−u h−m¡: 

a. −aCn Se R¡œR¡œ£l E¢en Se fl£r¡u f¡n L−l−R; 
b. l¡−Sn Aˆ fl£r¡u fy¢Q−nl j−dÉ h¡Cn −f−u−R: 
c. h¡−l¡¢V B−jl Q¡l¢V Bj fQ¡;  
d. h¡Cn¢V −Qu¡−ll p¡a¢V i¡P¡; 
e. fy¢Qn Se R¡œR¡œ£l L¥¢s Se BS Cú¥−m H−p−Rz 

2. ¢e−Ql iNÀ¡wn…¢m−L Lb¡u −m−M¡: 

      f¡yQ i¡−Nl c¤C i¡N 

 

3. ¢e−Ql −lM¡…¢m−L L−uL¢V i¡−N i¡N Ll¡ q−u−Rz h¡y ¢cL −b−L …−e 
h−m¡ x Bl y La iNÀ¡wn −h¡T¡−µR: 

a.   

b.   

c.   

d.    

7.2 iNÀ¡w−nl ¢h¢iæ dle J −L¡eÚV¡l L£ e¡j  
mh mh mh mh J qlqlqlql 
−k−L¡eJ iNÀ¡w−n Jf−l HL¢V pwMÉ¡ f¡C J ¢e−Q B−lL¢V pwMÉ¡ f¡Cz 
Jf−ll pwMÉ¡ −h¡T¡u ka…¢m Awn −eJu¡ qmz H¢V−L Bjl¡ mhmhmhmh 
(Cw−l¢S−a ¢eEjÉ¡−lCVlÚ) h¢mz Bl ¢e−Ql pwMÉ¡¢V −h¡T¡u ka…¢m Aw−n 
i¡N Ll¡ q−u−R, k¡−L Bjl¡ qlqlqlql (Cw−l¢S−a ¢Xe¢j−eCVlÚ) h¢mz HC c¤¢V 
e¡−jl p−‰ Bj¡−cl f¢l¢Qa q−a q−h, L¡lZ Hl f−ll B−m¡Qe¡u Bjl¡ 

x y 

x y 

x y 

x y 

x:             y: 
 2 

 5 

 4 

 5 

 7 

17 

 5 

13 

 2 

 5 

 4 

 9 

 9 

10 

 3 

 7 

 4 

16 

 2 

10 
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¢h¢iæ dl−el iNÀ¡w−nl Lb¡ hmh, −k…¢m iNÀ¡w−nl mh J q−ll a¥me¡ 
L−l h¤Thz 

Ae¤n£me 7.2 iNÀ¡w−nl mh J ql…¢m f¡−n −mM 

 mh ql  mh ql 

 
  

   

      

      

      

fËL«a iNÀ¡wnfËL«a iNÀ¡wnfËL«a iNÀ¡wnfËL«a iNÀ¡wn    
−L¡eJ iNÀ¡w−nl mh¢V q−ll −b−L −R¡V q−m a¡−L Bjl¡ fËL«a iNÀ¡wn 
h¢mz a¡ e¡ q−m, AbÑ¡v mh¢V q−ll −b−L hs q−m, −p¢V fËL«a iNÀ¡wn 
euz HjeV¡ q−m L£ qu a¡ Bjl¡ f−l ¢nMhz p¤¤al¡w, Bjl¡ hmh—  

                            iNÀ¡wn…¢m fËL«a iNÀ¡wn, 

                              iNÀ¡wn…¢m fËL«a iNÀ¡wn euz      
    
pja¥m iNÀ¡wnpja¥m iNÀ¡wnpja¥m iNÀ¡wnpja¥m iNÀ¡wn    
HL¡¢dL iNÀ¡w−nl j¡e pj¡e q−m −p…¢m−L pja¥m iNÀ¡wn hm¡ q−hz 
¢e−Ql R¢h¢V mr L−l¡ — 

    

    
    

R¢h¢V −b−L −h¡T¡ k¡−µR −k ¢ae¢V iNÀ¡w−nl HLC j¡ez HCi¡−h Bjl¡ 
B−l¡ f¡C:       ,       ,        CaÉ¡¢c, −k…¢ml j¡e     z  

2 

5 

5 

13 

7 

17 

4 

16 

4 

9 

9 

10 

3 

7 

2 

10 

 2 

 5 

 4 

 9 

 16 

 17 

 8 

 9 

 2 

10 

 3 

 7 
 6 

 5 

 11 

 9 

 17 

 15 

 9 

 7 

12 

10 

 13 

  7 

 1 

 2 

 2 

 4 

 4 

 8 

 1 

 2 

 3 

 6 

 5 

10 

 6 

12 
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mr L−l −cM¡ k¡u— 

      =      = =    = =     =   =     ==          =       =         = 

AbÑ¡v, HC iNÀ¡wn…¢m pja¥m, k¡l j¡e      z 
HLCi¡−h mr Ll¡ k¡u— 

      =    =    =       =    =   =        =          =      =         =                              

AbÑ¡v, HC iNÀ¡wn…¢m pja¥m, k¡l j¡e      z 

p¤¤al¡w, HL¢V iNÀ¡w−nl mh J ql−L HLC pwMÉ¡ (n§eÉ R¡s¡) ¢c−u …Z…Z…Z…Z 
Ll−m Bjl¡ B−lL¢V pja¥m iNÀ¡wn f¡hz 

Bh¡l mr Ll¡ k¡u, 

      =     =  =       =    =    =       =           =        =          =                                  

 
AbÑ¡v,     ,    ,     ,     iNÀ¡wn…¢m pja¥m, k¡l j¡e     z 

p¤¤al¡w, HL¢V iNÀ¡w−nl mh J ql−L HLC pwMÉ¡ (n§eÉ R¡s¡) ¢c−u i¡Ni¡Ni¡Ni¡N 
Ll−m Bjl¡ B−lL¢V pja¥m iNÀ¡wn f¡hz 

Ae¤n£me 7.3 pja¥m iNÀ¡wn h¡l L−l¡  
 ¢e−Ql iNÀ¡wn…¢ml ¢ae¢V L−l pja¥m iNÀ¡wn …Z L−l h¡l L−l¡    
a.          b.        c.      

 ¢e−Ql iNÀ¡wn…¢ml ¢ae¢V L−l pja¥m iNÀ¡wn i¡N L−l h¡l L−l¡    
d.               e.        f.      

iNÀ¡w−nl m¢Où BL¡liNÀ¡w−nl m¢Où BL¡liNÀ¡w−nl m¢Où BL¡liNÀ¡w−nl m¢Où BL¡l 
pja¥m iNÀ¡wn…¢m −b−L Bjl¡ B−lL¢V d¡lZ¡ f¡C — −L¡eJ HL¢V 
iNÀ¡wn−L a¡l m¢Où BL¡−l −mM¡z −L¡eJ HL¢V iNÀ¡w−nl A−eL…¢m 
pja¥m iNÀ¡wn q−a f¡−lz  
pja¥m iNÀ¡wn…¢ml j−dÉ −k iNÀ¡wn¢Vl mh J q−ll 1 R¡s¡ Bl −L¡eJ 
p¡d¡lZ …Ze£uL (Evf¡cL) −eC, −pC¢V−L iNÀ¡wn…¢ml m¢Où BL¡l h−mz 
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¢e−Ql iNÀ¡wn¢V−L mr Ll−m −c¢M— 

     =          =       H¢V HL¢V pja¥m iNÀ¡wn z 

¢L¿¹¥, 18 J 27-Hl 1 R¡s¡ B−l¡ p¡d¡lZ …Ze£uL (Evf¡cL) B−Rz  
     =       =     H¢VJ HL¢V pja¥m iNÀ¡wn z  

¢L¿¹¥, 6 J 9-Hl 1 R¡s¡ B−l¡ p¡d¡lZ …Ze£uL (Evf¡cL) B−R z  
        =             =           z HC pja¥m iNÀ¡wn¢Vl mh J q−ll 1 R¡s¡ 

Bl p¡d¡lZ −L¡eJ Evf¡cL −eC z a¡C     Hl m¢Où BL¡l qm    z 

−L¡eJ iNÀ¡wn−L a¡l m¢Où BL¡−l fËL¡n Ll¡l fÜ¢a qm iNÀ¡wn¢Vl 
mh J ql−L a¡−cl p¡d¡lZ −j±¢mL Evf¡cL…¢m ¢c−u i¡N L−l Qm¡, 
karZ mh J q−ll p¡d¡lZ −j±¢mL Evf¡cL f¡Ju¡ k¡uz HC fÜ¢a¢V 
Jf−l L−l −cM¡−e¡ q−u−Rz  

¢hLÒf fÜ¢a qm iNÀ¡wn¢Vl mh J ql−L a¡−cl ph−Q−u hs p¡d¡lZ 
Evf¡cL¢V (Np¡…) ¢c−u i¡N Ll¡z Jf−ll Ec¡qlZ¢V−a −c−M¡, 36 J 
54-−L i¡N Ll¡ k¡u Hje ph−Q−u hs pwMÉ¡ (Np¡…) qm 18z a¡C 18 
¢c−u mh J ql−L i¡N L−l Bjl¡ m¢Où iNÀ¡wn¢V −f−u¢Rz 
    =        =   

Ae¤n£me 7.4 m¢Où    iNÀ¡wn h¡l L−l¡  
a.      b.       c.   d.              e. 

pjql iNÀ¡wnpjql iNÀ¡wnpjql iNÀ¡wnpjql iNÀ¡wn    
−k pLm iNÀ¡w−nl ql…¢m pj¡e −pC…¢m−L pjql iNÀ¡wn hm¡ quz a¡C 
Bjl¡ hmh −k   ,    ,    ,    ,    ,    iNÀ¡wn…¢m pjql iNÀ¡wn, 
L¡lZ a¡−cl ql HLC, HM¡−e 13 z 

HL¡¢dL iNÀ¡wn−L pjql iNÀ¡w−n f¢lZa Ll¡HL¡¢dL iNÀ¡wn−L pjql iNÀ¡w−n f¢lZa Ll¡HL¡¢dL iNÀ¡wn−L pjql iNÀ¡w−n f¢lZa Ll¡HL¡¢dL iNÀ¡wn−L pjql iNÀ¡w−n f¢lZa Ll¡    
c¤¢V (h¡ B−l¡ −hn£ pwMÉL) iNÀ¡wn pjql e¡ q−mJ a¡−cl Bjl¡ pjql 
L−l ¢e−a f¡¢lz L£i¡−h HV¡ Ll¡ k¡u −pV¡ −cMhz mr L−l¡,     J 
iNÀ¡wn c¤¢V pjql euz ¢L¿¹¥, H−cl Bjl¡ pjql L−l ¢e−a f¡¢l— 
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fËbj fÜ¢a 
ql c¤¢V−L …Z L−l Bjl¡ f¡C 24z HCV¡C q−h c¤¢V iNÀ¡w−nl pjqlz 
Hh¡l mr L−l¡, fËbj iNÀ¡wn¢Vl ql−L 4 ¢c−u …Z Ll¡ q−u−Rz a¡C Hl 
mh−LJ 4 ¢c−u …Z Ll−a q−hz Bh¡l, ¢àa£u iNÀ¡wn¢Vl ql−L 6 ¢c−u 
…Z Ll¡ q−u−Rz a¡C Hl mh−LJ 6 ¢c−u …Z L−l ¢e−a q−hz  

   =      =     Bl,    =      =     z pjql qm      J     z  

c¤¢V iNÀ¡w−nl ql c¤¢Vl −k−L¡eJ p¡d¡lZ …¢ZaL−L Bjl¡ iNÀ¡wn c¤¢Vl 
pjql iNÀ¡w−nl ql ¢qp¡−h ¢mMhz Hh¡−l HC pjql¢V−L fËbj iNÀ¡wn¢Vl 
ql ¢c−u i¡N L−l i¡Ngm−L a¡l mh ¢c−u …Z L−l ¢e−m Bjl¡ fËbj 
iNÀ¡wn¢Vl f¢lh¢aÑa mh¢V f¡hz HLC i¡−h ¢àa£u iNÀ¡wn¢Vl f¢lh¢aÑa 
mh¢V f¡h pjql¢V−L ql ¢c−u i¡N L−l mh ¢c−u …Z L−lz 

¢àa£u fÜ¢a 
−k iNÀ¡wn…¢m−L pjql iNÀ¡w−n L−l ¢e−a q−h, Bjl¡ fËb−j a¡−cl 
ql…¢ml m¢Où p¡d¡lZ …¢ZaL¢V (mp¡…) h¡l L−l −ehz HC mp¡…¢V−L 
Bjl¡ pjql ¢qp¡−h iNÀ¡wn…¢ml ¢e−Q ¢mMhz Hh¡−l mh…¢m f¡h fË−aÉL¢V 
iNÀ¡w−nl ql ¢c−u HC pjql¢V−L i¡N L−l J mh ¢c−u …Z L−lz 
Ec¡qlZ— 

   ,    J     −L pjql L−l −mM¡ z 

iNÀ¡wn ¢ae¢Vl ql…¢m qm 4, 6, J 9z H−cl mp¡… qm 36z a¡C 36-

−L Bjl¡ pjql ¢qp¡−h −ehz a¡q−m ¢ae¢V pjql iNÀ¡wn f¡hz fËbj 
iNÀ¡wn¢Vl ql 4, pjql 36-Hl j−dÉ 9 h¡l k¡uz a¡C fËbj iNÀ¡wn¢Vl 
mh J ql−L Bjl¡ 9 ¢c−u …Z Llhz ¢àa£u iNÀ¡wn¢Vl ql 6, pjql 36-

Hl j−dÉ 6 h¡l k¡uz a¡C HCV¡l mh J ql−L Bjl¡ 6 ¢c−u …Z Llhz 
HLCi¡−h a«a£u iNÀ¡wn¢Vl mh J ql−L Bjl¡ 4 ¢c−u …Z Llh — 

     =            =            = 
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j−e l¡−M¡: pjql iNÀ¡wn °a¢l Ll¡l ¢euj 
• iNÀ¡wn…¢ml ql…¢ml mp¡…−L ql L−l phL¢V iNÀ¡wn−L pjql Ll¡ 

k¡u; H…¢m q−h m¢Où pjql iNÀ¡wnz 
• iNÀ¡wn…¢ml ql…¢ml −k−L¡eJ p¡d¡lZ …¢ZaL−L ql L−l phL¢V 

iNÀ¡wn−L pjql Ll¡ k¡uz  
• −k−L¡eJ iNÀ¡wn−L phÑc¡ a¡l m¢Où BL¡−l −mM¡ E¢Qaz a¡C pjql 

Ll¡l pjuJ mp¡…−L ql d−l pjql Ll−m m¢Où BL¡−l fËL¡n Ll¡l 
L¡SV¡ pw−rf Ll¡ k¡uz 

HL¡¢dL iNÀ¡w−nl −R¡VHL¡¢dL iNÀ¡w−nl −R¡VHL¡¢dL iNÀ¡w−nl −R¡VHL¡¢dL iNÀ¡w−nl −R¡V----hs a¥me¡hs a¥me¡hs a¥me¡hs a¥me¡    
c¤¢V iNÀ¡w−nl j−dÉ −L¡eÚ¢V hs h¡ −L¡eÚ¢V −R¡V a¡ iNÀ¡wn c¤¢V −c−M L£ 
L−l hmh? Hl SeÉ iNÀ¡wn c¤¢V−L B−N pjql L−l ¢e−a q−hz  
c¤¢V pjql ¢h¢nø iNÀ¡wn i¡h¡ k¡L,       J     z 

   -Hl j¡−e 8 i¡−Nl 3 i¡N J    -Hl j¡−e 8 i¡−Nl 5 i¡N −eJu¡ 
q−u−Rz p¤¤al¡w, ¢àa£u iNÀ¡wn¢V fËbj¢Vl −b−L hs, h¡ fËbj iNÀ¡wn¢V 
¢àa£u¢Vl −b−L −R¡Vz a¡C Bjl¡ ¢mMh,   
     <           h¡     >     z   

c¤¢V iNÀ¡w−nl ql pj¡e q−m (pjql q−m) −k iNÀ¡wn¢Vl mh hs −p¢V hs 
iNÀ¡wn J −k¢Vl mh −R¡V −p¢V qm −R¡V iNÀ¡wnz 

Hh¡l −c−M¡, c¤¢V iNÀ¡wn, k¡−cl mh…¢m pj¡e ¢L¿¹¥ ql…¢m Bm¡c¡—  

−kje,    J    z fËbj iNÀ¡wn¢V−a 5¢V Aw−n i¡N L−l a¡l 2¢V −eJu¡ 
q−u−R, Bl ¢àa£u iNÀ¡wn¢V−a 3¢V Aw−n i¡N L−l 2¢V −eJu¡ q−u−Rz 
ØføaC, 5¢V Aw−n i¡N Ll−m HL HL¢V i¡N −R¡V q−h, 3¢V Aw−n i¡N 
Ll¡l −b−Lz 

 

 
 
AaHh, Bjl¡ f¡C,      <     h¡     >     z 
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c¤¢V iNÀ¡w−nl mh pj¡e q−m (pjmh q−m) −k iNÀ¡wn¢Vl ql −R¡V −p¢V 
hs iNÀ¡wn, J −k iNÀ¡wn¢Vl ql hs −p¢V qm −R¡V iNÀ¡wnz 

HC −r−œJ Bjl¡ a¥me¡¢V Ll−a f¡¢l iNÀ¡wn c¤¢V−L pjql L−l ¢e−u J 
HLC Ešl f¡C z HM¡−e ql c¤¢V qm 3 J 5, k¡l mp¡… qm 15z a¡C 
15-−L ql Ll−m Bjl¡ f¡C— 

   =     =      >        =         =       

p¤¤al¡w, j−e l¡−M¡, iNÀ¡w−nl a¥me¡ Ll−a q−m iNÀ¡wn…¢m−L pjql L−l 
¢e−mC L¡S¢V pqS quz 

Ae¤n£me 7.5 iNÀ¡w−nl a¥me¡ L−l¡ 
1. iNÀ¡wn…¢ml −R¡V-hs a¥me¡ N¡¢Z¢aL ¢Qq² ¢c−u −h¡T¡J— 

a.    J     b.    J   c.  J     d.    J   

2. iNÀ¡wn…¢m m¢Où BL¡−l hs −b−L −R¡V L−l p¡¢S−u −m−M¡ — 

a.   ,      J          b.     ,      J           c.   ,  J    

7.3 p¡d¡lZ iNÀ¡w−nl −k¡N J ¢h−u¡N 
iNÀ¡w−nl −k¡N J ¢h−u¡N Ll¡l ¢euj qm B−N iNÀ¡wn…¢m−L pjql L−l 
¢e−a q−hz  
iNÀ¡w−nl −k¡NiNÀ¡w−nl −k¡NiNÀ¡w−nl −k¡NiNÀ¡w−nl −k¡N    
−k iNÀ¡wn…¢m −k¡N Ll−a q−h fËb−j −p…¢m−L pjql L−l ¢e−a q−h J 
pjql¢V−LC −k¡Ng−mlJ ql d−l ¢e−a q−hz Hlfl pjql iNÀ¡wn…¢ml 
mh…¢m−L −k¡N L−l Bjl¡ −k¡Ng−ml mh¢V f¡hz HCi¡−h pjql L−l 
¢e−u −k¡Ng−m Bjl¡ −k iNÀ¡wn¢V f¡h, pñh q−m a¡−L m¢Où BL¡−l 
fËL¡n Ll−a q−hz 

Ec¡qlZ 1. iNÀ¡w−nl −k¡N    + 
  

=           +         =       +           ql 8 J 12-l mp¡… 24-−L pjql d−l 
iNÀ¡wn c¤¢V−L pjql iNÀ¡w−n −mM¡ qm; 
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=           =                pjql−L −k¡Ng−mlJ ql d−l pjql iNÀ¡wn c¤¢Vl  
     mh−L −k¡N L−l −k¡Ngm iNÀ¡wn¢V qm; 
=            =               −k¡Ngm iNÀ¡wn¢V−L m¢Où BL¡−l −mM¡ qm, ql J  

mh−L a¡−cl Np¡… 8 ¢c−u i¡N L−lz 
 Ec¡qlZ 2. iNÀ¡w−nl −k¡N 

     +       + 

=          +          +          

=         +       +  
                          

=                  =         

Ec¡qlZ 3. f¤L¥−l −f¡ya¡ HL¢V h¡y−nl   Awn L¡c¡u,   Awn S−m J 
h¡¢L Awn S−ml Jf−l B−Rz h¡yn¢Vl La Awn L¡c¡u J S−m B−R? 
Ešl:  L¡c¡u J S−m B−R h¡yn¢Vl  (   +   ) Awn  

=      +           =   +       =           =       Awn 

iNÀ¡w−nl ¢h−u¡NiNÀ¡w−nl ¢h−u¡NiNÀ¡w−nl ¢h−u¡NiNÀ¡w−nl ¢h−u¡N    
Jf−ll Ec¡qlZ¢V−a Bjl¡ k¢c S¡e−a Q¡C h¡yn¢Vl La Awn S−ml 
Jf−l B−R a¡q−m h¡yn¢V−L HL Awn d−l a¡l −b−L ¢h−u¡N L−l ¢e−a 
q−h kaV¡ Awn L¡c¡u J S−ml ¢ia−l B−Rz  
 
 
 
fËb−j −k iNÀ¡wn…¢m ¢h−u¡N Ll−a q−h, −p…¢m−L pjql L−l ¢e−a q−h J 
pjql¢V−LC ¢h−u¡Ng−mlJ ql d−l ¢e−a q−hz Hlfl pjql iNÀ¡wn…¢ml 
mh…¢m−L ¢h−u¡N L−l Bjl¡ ¢h−u¡Ng−ml mh¢V f¡hz HC i¡−h pjql 
L−l ¢e−u ¢h−u¡−Nl f−l Bjl¡ −k iNÀ¡wn¢V f¡h a¡−L pñh q−m m¢Où 
BL¡−l fËL¡n Ll−a q−hz j−e −l−M¡, Bjl¡ hs iNÀ¡wn −b−L −R¡V 
iNÀ¡wn ¢h−u¡N Ll¡ ¢nMhz 
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Ec¡qlZ 4. iNÀ¡w−nl ¢h−u¡N 
    –       

=           –         =      –            ql 8 J 12-l mp¡… 24-−L pjql d−l  
iNÀ¡wn c¤¢V−L pjql iNÀ¡w−n −mM¡ qm; 

=           =                              pjql iNÀ¡wn c¤¢Vl mh−L ¢h−u¡N L−l   
                           ¢h−u¡Ngm iNÀ¡wn¢V qm; 

=            =                          ¢h−u¡Ngm iNÀ¡wn¢V−L m¢Où BL¡−l  
−mM¡ qm, ql J mh−L a¡−cl Np¡…   

                           ¢c−u i¡N L−lz 
Ec¡qlZ 5. iNÀ¡w−nl ¢h−u¡N 
     –      – 

=          –          –          

=         –       –  
                          

=                  =        =  

Ec¡qlZ 6.    
−a¡j¡l L¡−R HL¢V l¦¢V B−Rz l¦¢V¢V−L p¡a¢V pj¡e i¡−N −L−V a¡l −b−L 
c¤¢V i¡N l¡S−L J ¢ae¢V i¡N ¢ja¡−L ¢c−mz −a¡j¡l L¡−R l¦¢V¢Vl La 
Awn b¡Lm? 

Ešl: Bjl¡ L¡−R b¡Lm— 

1–      –          AbÑ¡v,    –   –      Awn 

=     –     –      =                =       Awn z 

j−e l¡−M¡, −L¡eJ f§ZÑ pwMÉ¡−L iNÀ¡wn l©−f −mM¡ k¡u a¡l ql−L 1 d−l, 
L¡lZ −L¡eJ ¢LR¥−L 1 ¢c−u i¡N Ll−m a¡ Af¢lh¢aÑa b¡−Lz 
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Ae¤n£me 7.6 iNÀ¡w−nl −k¡N J ¢h−u¡N 

1. −k¡Ngm h¡l L−l¡  

a.      +    b.   +    c.    +      d.     + 

e.     +    +         f.   +    +  g.     +     +        h.     +     + 

2. ¢h−u¡Ngm h¡l L−l¡  

     a.     –             b.    –    c.     –    d.    – 

 

 e.    –     –          f.   –    –   g.     –     –        h.    –     – 

3.  plm L−l¡ 

    a.     +     –           b.     +    –          c.      –    +          d.     –    + 

 

    e.     –     +      –          f.   –       +       –        g. 1–       + 

 

4. HLSe L«oL a¡l S¢jl   Aw−n −h…e,   Aw−n j§−m¡, J L¢f 
m¡¢N−u−Re   Aw−n z a¡yl S¢jl La Aw−n ¢a¢e Q¡o L−l−Re J La 
Awn g¡yL¡ B−R? 

5. HL hÉ¢š² a¡yl pÇf¢šl   Awn a¡yl −R−m−L J   Awn a¡yl −j−u−L 
i¡N L−l ¢c−mez h¡¢L Awn a¡yl Ù»£l SeÉ −l−M ¢c−mez ay¡l Ù»£ La 
Awn −f−me? 

6. HL¢V h¡N¡−el   Aw−n Bj N¡R,   Aw−n S¡j N¡R, J   Aw−n ¢mQ¥ 
N¡R B−Rz h¡N¡−el −j¡V La Aw−n N¡R B−R J La Awn M¡¢m 
B−R? 

7. HL¢V Sm il¡ NÔ¡−pl   Awn Sm ¢c−a ¢N−u f−s −Nm J M¡Ju¡ qm    
Awn z NÔ¡−pl La Aw−n Sm lCm? 
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8. HL hÉ¢š² a¡yl B−ul   Awn pwp¡−l J  Awn −R−m−j−u−cl 
fs¡−n¡e¡u hÉu L−lez h¡¢L Awn ¢a¢e hÉ¡−ˆ Sj¡ L−lez B−ul La 
Awn ¢a¢e Sj¡e? 

9. HL¢V h¡y−nl  Awn L¡c¡u J   Awn S−m b¡L−m La Awn S−ml 
Jf−l B−R? 

Ešl 7.6 
 a. b. c. d. e. f. g. h. 

1. 
 

 
1 

      

2. 
 

 

       

3. 
 

 

       

 

4. 
 

 
5. 

 
6. 

 
7. 

 

8. 
 

 
9. 

 
 

 
 

 

7.4  fËL«a, AfËL«a, J ¢jnË iNÀ¡wn 
fËL«a J AfËL«a iNÀ¡wnfËL«a J AfËL«a iNÀ¡wnfËL«a J AfËL«a iNÀ¡wnfËL«a J AfËL«a iNÀ¡wn    
−L¡eJ iNÀ¡w−nl mh¢V q−ll −b−L −R¡V q−m a¡−L fËL«a iNÀ¡wn h−mz 
AbÑ¡v, fËL«a iNÀ¡wn j¡−eC qm a¡l j¡e H−Ll −b−L −R¡V, L¡lZ a¡ qm 
H−Ll −L¡eJ Awn j¡œz ¢L¿¹¥ k¢c −L¡eJ iNÀ¡w−n −cM¡ k¡u mh¢V qm 
q−ll −b−L hs, a¡q−m −p¢V fËL«a iNÀ¡wn eu, L¡lZ a¡l j¡e H−Ll 
−b−L −h¢n f¡hz HjeV¡ q−m Bjl¡ iNÀ¡wn¢V−L AfËL«a iNÀ¡wn hmhz  

Ec¡qlZ ¢c−u hÉ¡f¡lV¡ −h¡T¡ k¡Lz 1¢V l¦¢V−L Q¡lS−el j−dÉ pj¡e 
i¡N L−l ¢c−m HL HLSe f¡u HL¢V l¦¢Vl Q¡l i¡−Nl HL i¡N, j¡−e 
Awnz Bh¡l 3¢V l¦¢V−L Q¡lS−el j−dÉ pj¡e i¡N L−l ¢c−m HL HLSe 
f¡u −j¡V 12¢V V¥L−l¡l 3¢V L−l V¥L−l¡ h¡ HL¢V l¦¢Vl    Awnz H…¢m 
phC fËL«a iNÀ¡wn, pL−mC HL¢V l¦¢Vl Awn f¡−µR, f¤−l¡ HL¢V l¦¢V euz 
¢L¿¹¥ 4¢V l¦¢V−L Q¡lS−el j−dÉ pj¡e i¡N L−l ¢c−m HL HLSe f¡−h         
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16 
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    h¡ 1¢V L−l l¦¢V z H¢V HL¢V AfËL«a iNÀ¡wn, k¡l j¡e qm 1z j−e 
l¡−M¡, iNÀ¡w−nl mh J ql pj¡e q−m a¡l j¡e 1 quz Hh¡l j−e L−l¡, 
5¢V l¦¢V Q¡lS−el j−dÉ pj¡e i¡N L−l −cJu¡ qmz a¡q−m HL HLSe 
l¦¢V f¡−h   ¢V L−l, k¡l j¡−e qm HL HLSe f¡−h f¤−l¡ HL¢V J a¡l 
p¡−b B−l¡ HL¢V l¦¢Vl   Awnz ¢e−Ql R¢h¢V −c−M¡z 
 
 

Bjl¡ ¢nMm¡j,  
iNÀ¡w−nl mh¢V q−ll −b−L −R¡V q−m a¡−L fËL«a iNÀ¡wn hmhz Hl j¡e 
1-Hl −b−L Ljz  
iNÀ¡w−nl mh¢V q−ll pj¡e h¡ a¡l −b−L hs q−m a¡−L AfËL«a iNÀ¡wn 
hmhz pj¡e q−m Hl j¡e 1, J mh¢V hs q−m j¡e q−h 1-Hl −h¢nz 

AfËL«a iNÀ¡w−nl Ec¡qlZ  ,   ,   ,   ,   ,      CaÉ¡¢c z 

¢jnË iNÀ¡wn h¡ AfËL«a iNÀ¡w−nl ¢jnË iNÀ¡wn h¡ AfËL«a iNÀ¡w−nl ¢jnË iNÀ¡wn h¡ AfËL«a iNÀ¡w−nl ¢jnË iNÀ¡wn h¡ AfËL«a iNÀ¡w−nl ¢jnË ¢jnË ¢jnË ¢jnË BL¡lBL¡lBL¡lBL¡l    
Jf−ll Ec¡qlZ¢V −c−M¡z 5¢V l¦¢V Q¡lS−el j−dÉ pj¡e i¡N L−l −cJu¡ 
q−m HL HLSe f¡−h   ¢V L−l l¦¢V, k¡l j¡−e qm f¤−l¡ HL¢V J a¡l 
p¡−b BlJ HL¢V l¦¢Vl    Awnz   
mr L−l¡, AfËL«a iNÀ¡w−nl mh¢V q−ll −b−L hs h−m a¡−L ql ¢c−u 
i¡N Ll¡ k¡uz HM¡−e 5-−L 4 ¢c−u i¡N Ll−m i¡Ngm qu 1 J i¡N−no 
b¡−L 1z a¡C, Bjl¡ iNÀ¡wn¢V−L HC i¡−h ¢mM−a f¡¢l— 

     =     =   +   = 1+     h¡ pw¢rç l©−f 1    z 

AfËL«a iNÀ¡wn−L HC pw¢rç BL¡−l (−k¡N ¢Qq²¢V h¡c ¢c−u) −mM¡ q−m 
Bjl¡ a¡−L ¢jnË iNÀ¡wn¢jnË iNÀ¡wn¢jnË iNÀ¡wn¢jnË iNÀ¡wn l©−f f¡Cz H−L ¢jnË hm¡ qu, L¡lZ Hl j−dÉ 
HL¢V f§ZÑ pwMÉ¡ J HL¢V fËL«a iNÀ¡wn B−Rz Jf−ll HC ¢jnË 
iNÀ¡wn¢V−L fsh 1 f§ZÑ (h¡ pjÙ¹) 4 i¡−Nl 1 i¡Nz HCi¡−h— 

     =      =   +  = 3        h¡ 3 f§ZÑ (h¡ pjÙ¹) 4 i¡−Nl 3 i¡N 

     =      =   +  = 2    h¡ 2 f§ZÑ (h¡ pjÙ ¹) 5 i¡−Nl 2 i¡N 

4 
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     =      =   +  = 3        h¡ 3 f§ZÑ (h¡ pjÙ ¹) 9 i¡−Nl 4 i¡N 

mr L−l¡:  
• ¢jnË iNÀ¡w−n k¤š² −k fËL«a iNÀ¡wn¢V B−R, a¡l ql J AfËL«a 

iNÀ¡w−nl ql HLCz 
• AfËL«a iNÀ¡w−nl mh−L ql ¢c−u i¡N Ll−m −k i¡Ngm f¡Ju¡ k¡u, 

a¡ qm l©f¡¿¹¢la ¢jnË iNÀ¡w−nl f§ZÑ pwMÉ¡¢V, J i¡N−no qm ¢jnË 
iNÀ¡w−nl p−‰ k¤š² fËL«a iNÀ¡wn¢Vl mhz 

• AfËL«a iNÀ¡w−nl mh¢V−L k¢c ql ¢c−u ¢ex−n−o i¡N Ll¡ k¡u, −L¡eJ 
i¡N−no e¡ b¡−L, a¡q−m Bjl¡ f¡C f§ZÑ pwMÉ¡u öd¤ i¡Ngm¢Vz 
HC−r−œ Bjl¡ ¢jnË iNÀ¡wn f¡h e¡, f¡h −L¡eJ HL¢V f§ZÑ pwMÉ¡z 

¢jnË iNÀ¡wn−L AfËL«a iNÀ¡w−n l©f¡¿¹l¢jnË iNÀ¡wn−L AfËL«a iNÀ¡w−n l©f¡¿¹l¢jnË iNÀ¡wn−L AfËL«a iNÀ¡w−n l©f¡¿¹l¢jnË iNÀ¡wn−L AfËL«a iNÀ¡w−n l©f¡¿¹l    
Bjl¡ −c−M¢R −k ¢jnË iNÀ¡w−nl c¤¢V Awn B−Rz fËb−j b¡−L HL¢V f§ZÑ 
pwMÉ¡ J a¡l f¡−n −k¡N qu HL¢V fËL«a iNÀ¡wnz Bjl¡ S¡¢e, −k−L¡eJ 
f§ZÑ pwMÉ¡−L iNÀ¡w−nl BL¡−l −mM¡ k¡u a¡l ¢e−Q ql ¢qp¡−h 1 d−l 
¢e−uz p¤¤al¡w, f§ZÑ pwMÉ¡¢V−L iNÀ¡w−nl BL¡−l ¢m−M fËL«a iNÀ¡wn¢Vl p¡−b 
−k¡N L−l ¢e−mC Bjl¡ AfËL«a iNÀ¡wn¢V −f−a f¡¢lz 

Ec¡qlZ:  2   ¢jnË iNÀ¡wn¢V−L AfËL«a iNÀ¡w−n l©f¡¿¹l Ll¡ 
                    2     = 2 +      =     +     =           =             

AbÑ¡v, Bjl¡ pw−r−f ¢mM−a f¡¢l— 

          2     =               =  

j−e l¡−M¡: 

¢jnË iNÀ¡wn =                        = AfËL«a iNÀ¡wn 
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Ae¤n£me 7.7 ¢jnË J AfËL«a iNÀ¡w−nl l©f¡¿¹l 
1. AfËL«a iNÀ¡wn…¢m−L ¢jnË iNÀ¡wn BL¡−l −mM 

a.         b.    c.    d.   e.       

2. ¢jnË iNÀ¡wn…¢m−L AfËL«a iNÀ¡wn L−l −mM 

a.   3     b. 4   c. 7   d. 6  e. 12 

j−e l¡−M¡:   
¢jnË iNÀ¡w−nl −k¡N ¢h−u¡N h¡ …Z i¡N Ll−a q−m B−N −p…¢m−L AfËL«a 
iNÀ¡w−n l©f¡¿¹¢la L−l ¢e−a q−hz 
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f¡W 8. cn¢jL iNÀ¡wn — d¡lZ¡ Hhw −k¡N J ¢h−u¡N 
8.1 cn¢jL iNÀ¡w−nl d¡lZ¡ 
−kph iNÀ¡w−nl ql 10 h¡ 10-Hl 10 …Z L−l, j¡−e 100, 1000, 
10000, CaÉ¡¢c, −p…¢m−L Bl HL i¡−h ¢mM−a f¡¢l, k¡−L cn¢jL 
iNÀ¡wn (Cw−l¢S−a −X¢pjÉ¡m éÉ¡LÚneÚ) h−mz cn¢jL iNÀ¡w−nl d¡lZ¡¢V−L 
h¤T−a Bjl¡ fËb−j 10-Hl cn¢jL iNÀ¡wn−L −cMhz −L¡eJ ¢LR¥−L cn¢V 
pj¡e Aw−n i¡N L−l a¡l Awn…¢m−L Bjl¡ p¡d¡lZ iNÀ¡w−n f¡C—  
 

cn¢jL iNÀ¡w−nl BL¡−l H…¢m−LC −mM¡ q−h— 
0.1 0.2   0.3  0.4  0.5  0.6  0.7  0.8  0.9 

HCi¡−h −mM¡ cn¢jL iNÀ¡w−nl ¢h¾c¥¢V−L hm¡ qu, cn¢jL ¢h¾c¥ 
(Cw−l¢S−a f−u¾V)z ¢jnË iNÀ¡w−nl j−a¡C cn¢jL ¢h¾c¥l h¡y ¢c−Ll pwMÉ¡ 
(Jf−ll Ec¡ql−Z phL¢V−aC n§eÉ B−R) −h¡T¡u f§ZÑ Awn J X¡e ¢c−Ll 
pwMÉ¡ −h¡T¡u iNÀ¡wnz Jf−ll cn i¡−Nl cn¢jL iNÀ¡wn…¢m−L c−nl Awn 
¢qp¡−h hm¡ qu— 

0.1 n§eÉ cn¢jL HL HL cnj¡wn 
0.2 n§eÉ cn¢jL c¤C c¤C cnj¡wn 
0.3 n§eÉ cn¢jL ¢ae ¢ae cnj¡wn 

0.4 n§eÉ cn¢jL Q¡l Q¡l cnj¡wn 

0.5 n§eÉ cn¢jL f¡yQ f¡yQ cnj¡wn 

0.6 n§eÉ cn¢jL Ru  Ru cnj¡wn 

0.7 n§eÉ cn¢jL p¡a p¡a cnj¡wn 

0.8 n§eÉ cn¢jL BV BV cnj¡wn 

0.9 n§eÉ cn¢jL eu eu cnj¡wn 

¢jnË cn¢jL iNÀ¡wn ¢jnË cn¢jL iNÀ¡wn ¢jnË cn¢jL iNÀ¡wn ¢jnË cn¢jL iNÀ¡wn     
Hje −L¡eJ pwMÉ¡, k¡ c−nl −b−L hs ¢L¿¹¥ 10 ¢c−u ¢ex−n−o i¡N que¡, 
a¡−L cn¢V i¡−N i¡N Ll−m ¢jnË iNÀ¡wn f¡C, L¡lZ AfËL«a l©−f Hl mh 
q−ll (10) −b−L −h¢nz HC lLj q−m cn¢jL iNÀ¡w−n L£i¡−h −mM¡ qu 
J hm¡ qu mr Ll−a q−hz       

 1 
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AfËL«a 
iNÀ¡wn 

¢jnË 
iNÀ¡wn 

cn¢jL 
iNÀ¡wn 

 
hm¡ qu 

      2 2.5 c¤C cn¢jL f¡yQ 

      3 3.7 ¢ae cn¢jL p¡a 

    14 14.3 −Q¡Ÿ cn¢jL ¢ae 

    89 89.9 FeeîC cn¢jL eu 

  169 169.7 HLn Fepšl cn¢jL p¡a 

Hh¡−l Bjl¡ −cMh 100 i¡N q−m, AbÑ¡v, iNÀ¡w−nl ql 100 q−m, a¡−L 
cn¢jL iNÀ¡w−n L£i¡−h −mM¡ quz L−uL¢V Ec¡qlZ −c−M¡—  

p¡d¡lZ 
iNÀ¡wn 

cn¢jL 
iNÀ¡wn 

 
hm¡ qu 

 
k¡l AbÑ qm 

 0.01 cn¢jL n§eÉ HL HL na¡wn 

 0.02 cn¢jL n§eÉ c¤C c¤C na¡wn 

 0.07 cn¢jL n§eÉ p¡a p¡a na¡wn 

 0.19 cn¢jL HL eu F¢en na¡wn 

 0.97 cn¢jL eu p¡a p¡a¡eîC na¡wn 

j−e l¡−M¡ cn¢jL ¢h¾c¥l f−ll (X¡e¢c−Ll) pwMÉ¡ fs¡l ¢euj: 
Bjl¡ 0.19-−L hmh cn¢jL HL eu; cn¢jL F¢en hmh e¡; 0.97-−L 
hmh cn¢jL eu p¡a, cn¢jL p¡a¡eîC euz AbÑ¡v, cn¢jL ¢h¾c¥l f−l 
(X¡e¢c−L) −k Aˆ…¢m b¡L−h a¡−cl Bm¡c¡ Bm¡c¡ L−l hm−a q−h, 
¢j¢ma L−l HL¢V pwMÉ¡ ¢qp¡−h hm¡ q−h e¡z  

Hje −L¡eJ pwMÉ¡, k¡ 100 −b−L hs ¢L¿¹¥ 100 ¢c−u ¢ex−n−o i¡N que¡, 
a¡−L HLn¢V i¡−N i¡N Ll−mJ Bjl¡ ¢jnË iNÀ¡wn f¡h, k¡l ql 100z 
H…¢m−LJ Bjl¡ cn¢jL iNÀ¡w−n pq−SC ¢mM−a f¡lhz 

25 

10 

 5 

10 

37 

10 

 7 

10 

143 

 10 

 3 

10 
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 10 
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10 
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 7 

10 
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AfËL«a 
iNÀ¡wn 

¢jnË 
iNÀ¡wn 

cn¢jL 
iNÀ¡wn 

 
hm¡  qu 

      3 3.07 ¢ae cn¢jL n§eÉ p¡a 

    18 18.99 BW¡−l¡ cn¢jL eu eu 

  176 176.97 HLn ¢Ru¡šl cn¢jL eu p¡a 

HLC i¡−h −L¡eJ ¢LR¥−L q¡S¡l¢V pj¡e i¡−N i¡N Ll−m Bjl¡ HL 
Awn−L h¢m HL pqpË¡wnz p¡d¡lZ iNÀ¡wn ¢qp¡−h −mM¡ qu    Bl 
cn¢jL iNÀ¡wn ¢qp¡−h 0.001z  

Bjl¡ q¡S¡l i¡−Nl cn¢jL iNÀ¡wn−L ¢mMh HCi¡−h— 
            = 0.003             =  0.016         =  0.278 

                         =  4.067                    =  8.703                = 21.008 

HCi¡−h Bjl¡ −L¡e ¢LR¥−L cn q¡S¡l (Ak¤a) Aw−n pj¡e i¡N L−l 
HL i¡N−L (HL Ak¤a¡wn) ¢mM−a f¡¢l 0.0001z Hi¡−h −L¡eJ ¢LR¥−L 
Bjl¡ œ²j¡Na r¥â −b−L r¥âal Aw−n i¡N L−l ¢mM−a f¡lhz 

cn¢jL iNÀ¡wn…¢ml cn¢jL ¢h¾c¥l f−l (X¡e¢c−L) La…¢m Ol b¡L−h 
a¡ mr Ll−a q−hz 

       = 0.1     j¡−e HL cnj¡wn 

              = 0.01     j¡−e HL na¡wn 

               = 0.001     j¡−e HL pqpË¡wn 

             = 0.0001   j¡−e HL Ak¤a¡wn 

mr L−l¡: p¡d¡lZ iNÀ¡wn¢Vl q−l ka…¢m n§eÉ B−R, cn¢jL ¢h¾c¥l f−l 
¢WL aa…¢m Ol b¡L−Rz AbÑ¡v, c−n −k−qa¥ HL¢V n§eÉ a¡C c−nl cn¢jL 
iNÀ¡w−n cn¢jL ¢h¾c¥l f−l HL¢V Ol, HLn−a −k−qa¥ c¤¢V n§eÉ a¡C 
HLnl cn¢jL iNÀ¡w−n cn¢jL ¢h¾c¥l f−l c¤¢V Ol, q¡S¡−l −k−qa¥ ¢ae¢V 
n§eÉ a¡C q¡S¡−ll cn¢jL iNÀ¡w−n cn¢jL ¢h¾c¥l f−l ¢ae¢V Ol, Ak¤−a 
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−k−qa¥ Q¡l¢V n§eÉ a¡C Ak¤−al cn¢jL iNÀ¡w−n cn¢jL ¢h¾c¥l f−l Q¡l¢V 
Ol; HC i¡−h cn¢jL ¢h¾c¥l f−l L¢V Ol b¡L−h a¡ ¢ÙÛl q−µRz 

Hh¡−l mr L−l¡, cn¢jL iNÀ¡w−n cn¢jL ¢h¾c¥l f−l −no Ol¢V−a Bjl¡ 
phÑc¡C −L¡eJ pwMÉ¡ f¡¢µR, −pM¡−e n§eÉ b¡L−R e¡z Hl L¡lZ, cn¢jL 
¢h¾c¥l f−l −no Ol¢V−a n§eÉ ¢c−mJ a¡l g−m iNÀ¡wn¢Vl j¡−el −L¡eJ 
f¢lhaÑe qu e¡, HLC b¡−Lz Ec¡qlZ −c−M¡— 
0.3=       Bl, k¢c ¢m¢M 0.30, a¡l j¡e q−h      =      =   = 0.3 
 
0.075 =            Bl, 0.0750 =              =                =          = 0.075 

j−e l¡−M¡: cn¢jL iNÀ¡w−nl −n−o n§eÉ −mM¡l fË−u¡Se −eCz 

Ae¤n£me 8.1 p¡d¡lZ J cn¢jL iNÀ¡wn 
1. cn¢jL iNÀ¡wn…¢m fs J Lb¡u −m−M¡ 
a. 0.7  b.  0.04  c. 0.188   d. 2.456  e. 0.0034 

2. p¡d¡lZ iNÀ¡wn J cn¢jL iNÀ¡w−n −m−M¡ 
a. cn i¡−Nl p¡a i¡N  b.  Q¡l f§ZÑ h¡ pjÙ¹ cn i¡−Nl Q¡l i¡N 
c.  ¢ae cnj¡wn   d. p¡a f§ZÑ h¡ pjÙ¹ f¡yQ cnj¡wn 
e. Ru na¡wn    f. ¢ae f§ZÑ HLn i¡−Nl −a¢œn i¡N 
g. BV¢œn pqpË¡wn  h.  fyu¢œn f§ZÑ ¢ae pqpË¡wn 
i. p−a−l¡ f§ZÑ q¡S¡l i¡−Nl p¡an BW¡−l¡ i¡N  
j. ¢aen fy¢Qn f§ZÑ cn q¡S¡l i¡−Nl BV q¡S¡l p¡an ¢hu¡¢õn i¡N 
2. p¡d¡lZ iNÀ¡wn−L cn¢jL iNÀ¡w−n −m−M¡ 
a. b.    4 c.    17 

d. e.    2                              f.     23  

g. h.  75    i.   732      

3. cn¢jL iNÀ¡wn−L p¡d¡lZ J ¢jnË iNÀ¡w−n (m¢Où BL¡−l) −m−M¡ 
a.  0.09         b. 0.17 c. 5.69   d. 12.64  

e.   0.032 f. 0.875 g. 1.004 h.  120.075 

i.   47.219   j. 123.555 k.  200.005 l. 1000.005 
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8.2   cn¢jL iNÀ¡w−nl Ol…¢m J a¡l ÙÛ¡e£u j¡e 
pwMÉ¡ −h¡T¡−e¡l SeÉ Bjl¡ cn¢V fËa£L hÉhq¡l L¢l, kb¡ 1, 2, 3, 4, 5, 

6, 7, 8, 9 Hhw 0z HC L¡l−Z Bj¡−cl pwMÉ¡ NZe¡l ¢i¢š qm 10z 
¢e−Ql a¡¢mL¡¢V mr L−l¡z fËbj pwMÉ¡¢V 1, k¡l ÙÛ¡e h¡ Ol¢V−L Bjl¡ 
HLL hm¢Rz a¡lfl −b−L h¡y¢c−Ll Ol…¢m−a pwMÉ¡ −h−s−R 10 …Z L−l 
J Bjl¡ pwMÉ¡l j¡e−L e¡j ¢c−u¢R, HLL, cnL, naL, pqpË (q¡S¡l), 
Ak¤a (cnL q¡S¡l), mr, ¢ek¤a (cnL mr), −L¡¢V, CaÉ¡¢cz Hi¡−h 
h¡¢c−L pwMÉ¡ œ²j¡Na −h−sC Qm−a f¡−lz Bjl¡ ¢n−M¢R, −L¡eJ pwMÉ¡l 
j¡e La a¡ hm¡ k¡u pwMÉ¡¢Vl −L¡eÚ O−l La ÙÛ¡e£u j¡e, a¡ −c−Mz 
cn q¡S¡l q¡S¡l naL cnL HLL cnj¡wn na¡wn pqpË¡wn Ak¤a¡wn 

10000 1000 100 10 1        
     =.1 =.01 =.001 =.0001 

mr L−l¡, HLL Ol¢Vl X¡e¢c−L cn¢jL iNÀ¡w−nl Ol…¢m−a pwMÉ¡l j¡e   
L−j−R      …Z L−l h¡ 10 i¡N L−lz pwMÉ¡l HLL Ol¢Vl f−lC cn¢jL 
¢h¾c¥¢V ¢c−u h¡y¢c−L f§ZÑ pwMÉ¡ J X¡e¢c−L cn¢jL Awn−L Bm¡c¡ Ll¡ 
quz X¡e¢c−Ll Ol…¢ml fl fl e¡j, cnj¡wn, na¡wn, pqpË¡wn, Ak¤a¡wn, 
CaÉ¡¢c, k¡l ÙÛ¡e£u j¡e qm, 0.1, 0.01, 0.001, 0.0001,  CaÉ¡¢cz  
Ec¡qlZ ¢qp¡−h −cM¡ k¡L ÙÛ¡e£u j¡e ¢c−u 567.45 pwMÉ¡¢V −h¡T¡z 
cn q¡S¡l q¡S¡l naL cnL HLL cnj¡wn na¡wn pqpË¡wn Ak¤a¡wn 

10000 1000 100 10 1        
     =.1 =.01 =.001 =.0001 

  5 6 7 4 5   

HM¡−e  567.45 -Hl ÙÛ¡e£u j¡e…¢m f¡C Hi¡−h— 
                na¡w−nl O−l B−R h−m j¡e qm  0.05 

       cnj¡w−nl O−l B−R h−m j¡e qm  0.4 

               HL−Ll O−l B−R h−m j¡e qm   7 
       cn−Ll O−l B−R h−m j¡e qm      60 
       na−Ll O−l B−R h−m j¡e qm     500 
AbÑ¡v, 567.45 = 500 + 60 + 7 + 0.4 + 0.05 
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ÙÛ¡e£u j¡e −hl L−l pwMÉ¡ −h¡T¡l BlJ HL¢V Ec¡qlZ— 
2546.1037-Hl ÙÛ¡e£u j¡e…¢m qm—  
2 B−R q¡S¡−ll O−l, a¡C HC pwMÉ¡−a Hl j¡e  2000 
5  B−R na−Ll O−l, a¡C HC pwMÉ¡−a Hl j¡e   500 
4  B−R cn−Ll O−l, a¡C HC pwMÉ¡−a Hl j¡e  40  
6  B−R HL−Ll O−l, a¡C HC pwMÉ¡−a Hl j¡e     6 
1   B−R cnj¡w−nl O−l, a¡C HC pwMÉ¡−a Hl j¡e  0.1 
0   B−R na¡w−nl O−l, a¡C HC pwMÉ¡−a Hl j¡e 0.00  
3   B−R pqpË¡w−nl O−l, a¡C HC pwMÉ¡−a Hl j¡e 0.003   
7   B−R Ak¤a¡w−nl O−l, a¡C HC pwMÉ¡−a Hl j¡e  0.0007 

AbÑ¡v, 2546.1037 = 2000+500+40+6+ 0.1+0.00+0.003+0.0007 
Ae¤n£me 8.2 cn¢jL iNÀ¡w−nl ÙÛ¡e£u j¡e 
1. cn¢jL iNÀ¡wn…¢m f−s¡ J ÙÛ¡e£u j¡e…¢m f¡−n −m−M¡ 
a. 0.28 2 cnj¡wn 8 na¡wn  pqpË¡wn  Ak¤a¡wn 
b. 0.56         

c. 0.03         

d. 0.005         

e. 0.405         

f. 0.0574         

g. 0.9206         

h. 0.0003         

i. 0.1023         

j. 0.4501         

2. cn¢jL iNÀ¡wn…¢ml c¡N −cJu¡ pwMÉ¡¢Vl ÙÛ¡e£u j¡e −m−M¡ 
a. 3.29 9 na¡wn b. 0.003 3 pqpË¡wn 

c. 4.059  d. 231.01  

e. 7.569  f. 12.4507  

g. 0.2389  h. 5.00501  

i. 5.7891  j. 8.9795  
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3. cn¢jL iNÀ¡wn−L ÙÛ¡e£u j¡−e −i−P −m−M¡ J p¡d¡lZ iNÀ¡w−nl −k¡N 
¢qp¡−h −cM¡J 

a. 12.2753= 12+0.2+0.07+0.005+0.0003=            +      +      +        +  

b. 0.76   

c. 0.407   

d. 5.894   

e. 13.983   

f. 78.0679   

g. 40.7054   

h. 1.0119   

4. p¡d¡lZ iNÀ¡wn−L cn¢jL iNÀ¡w−n −m−M¡ 

a.      + = 0.7+0.02    =  0.72 

b.       +  = 

c. 12+      +         + =12+0.0+0.23+0.037 =  12.267 

d.      +      + = 

e.   14+      +      + = 

f. 234+      +       + = 

g.    12+     +      +         + = 

h.  754+     +       + = 

i.          +       + = 
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8.3  cn¢jL iNÀ¡w−nl a¥me¡ Ll¡ 
f§ZÑ pwMÉ¡l a¥me¡ Ll¡−L j−e L−l¡z k¢c c¤¢V pwMÉ¡−a A−ˆl pwMÉ¡ pj¡e 
e¡ qu, a−h −k pwMÉ¡−a A−ˆl pwMÉ¡ −h¢n −p¢V hs Bl AeÉ¢V −R¡Vz 
¢L¿¹¥ k¢c c¤¢VlC A−ˆl pwMÉ¡ pj¡e qu a¡q−m Bjl¡ öl¦ L¢l pwMÉ¡l 
h¡y¢c−Ll fËbj Ol¢Vl j¡−el a¥me¡ L−lz HM¡−e −k¢V hs, −pC pwMÉ¡¢V hs, 
AeÉ¢V −R¡Vz ¢L¿¹¥ k¢c −cM¡ k¡u HC O−l c¤¢V pwMÉ¡l j¡e HLC, a¡q−m 
Bjl¡ X¡e¢c−L a¡l f−ll Ol¢Vl j¡e a¥me¡ Llhz   

Ec¡qlZ ¢qp¡−h −cM¡ k¡L 23499 J 23501-Hl a¥me¡z c¤¢V pwMÉ¡lC 
Ak¤−al (cnL q¡S¡l) O−l B−R 2, a¡C HC O−l pwMÉ¡ c¤¢Vl j¡e pj¡ez 
p¤¤al¡w f−ll Ol¢V −cM−a q−hz f−ll pq−pËl (q¡S¡l) O−lJ c¤¢V pwMÉ¡lC 
j¡e 3, a¡C HM¡−eJ pj¡e z Hl f−ll na−Ll O−l fËbj pwMÉ¡¢Vl j¡e 4 
J ¢àa£u¢Vl j¡e 5 (hs)z a¡C ¢àa£u pwMÉ¡, 23501 qm hsz 

cn¢jL iNÀ¡w−nl a¥me¡ Bjl¡ HLC i¡−h Llhz fËb−j mr L−l¡— 
          >            >             >             

           h¡,  0.1     >   0.01  >  0.001  >  0.0001      

p¤¤al¡w, −k cn¢jL iNÀ¡wn¢Vl cnj¡w−nl (cn¢jL ¢h¾c¥l f−l fËbj O−ll) 
j¡e hs, −pC cn¢jL iNÀ¡wn¢V qm hsz j¡e pj¡e q−m Bj¡−cl −cM−a 
q−h f−ll Ol¢V h¡ na¡w−nl (cn¢jL ¢h¾c¥l f−ll ¢àa£u O−ll) j¡ez k¡l 
j¡e HM¡−e hs, −pC cn¢jL iNÀ¡wn¢V qm hsz HM¡−eJ j¡e pj¡e q−m 
Bj¡−cl −cM−a q−h a¡l f−ll Ol¢V h¡ pqpË¡w−nl (cn¢jL ¢h¾c¥l f−l 
a«a£u O−ll) j¡ez HC i¡−h Bjl¡ cn¢jL iNÀ¡w−nl a¥me¡ Ll−a f¡lhz  

Ec¡qlZ:  234.3593 J 234.3493 pwMÉ¡c¤¢Vl −L¡eÚ¢V hs? 
h¡y¢c−Ll −no Ol¢V −b−L a¥me¡ Ll−a öl¦ Llhz −cM¡ k¡−µR, c¤¢V 
pwMÉ¡−aC f§ZÑ pwMÉ¡l naL, cnL, J HLL O−ll j¡e pj¡e, 234z a¡C 
Hlfl cn¢jL Aw−nl a¥me¡ −cM−a q−hz c¤¢V pwMÉ¡−aC cnj¡w−nl O−l 
B−R 3z a¡C HM¡−eJ j¡e pj¡ez ¢L¿¹¥ Hlf−l na¡w−nl O−l, fËbj 
pwMÉ¡¢V−a B−R 5 J ¢àa£u¢V−a B−R 4z p¤¤al¡w, fËbj pwMÉ¡¢V hsz  

234.3593    >   234.3493   (hs −b−L −R¡V)  
Abh¡,   234.3493    < 234.3593     (−R¡V −b−L hs) 
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Ae¤n£me 8.3 cn¢jL iNÀ¡w−nl a¥me¡ 
1. cn¢jL iNÀ¡wn−L hs −b−L −R¡V (> ¢Qq² ¢c−u) p¡¢S−u −m−M¡ 

a. 0.43, 0.52, 0.63  b. 0.17, 0.27, 0.47, 0.29 

c. 2.03, 0.63, 0.36, 0.19 d. 0.399, 0.339, 0.998, 0.909 

e. 100.09, 1.019, 1.909 f. 0.1205, 0.2150, 0.028, 0.31 

g. 0.758, 7.58, 0.0758, 0.5078 h. 0.131, 0.139, 0.009, 0.1309 

2. cn¢jL iNÀ¡wn−L −R¡V −b−L hs (< ¢Qq² ¢c−u) p¡¢S−u −m−M¡ 
a. 0.302, 0.234, 0.099, 0.0121 b. 0.215, 0.153, 0.205, 0.165 

c. 2.451, 2.541, 2.325, 1.999 d. 5.567, 5.657, 5.299, 5.909 

e. 10.5, 1.05, 1.105, 0.105 f. 0.625, 0.652, 0.562, 0.265 

g. 0.808, 8.08, 0.8081 h. 9.999, 9.099, 90.99, 90.09 

8.4  cn¢jL iNÀ¡w−nl −k¡N J ¢h−u¡N 
Bjl¡ B−N f§ZÑ pwMÉ¡l −k¡N J ¢h−u¡N ¢n−M¢Rz cn¢jL iNÀ¡w−nl −k¡N J 
¢h−u¡N HLC ¢eu−j Ll¡ k¡−hz −k¡−Nl pju −L¡eJ pwMÉ¡l cnj¡w−nl −k¡N 
q−h AeÉ pwMÉ¡l cnj¡w−nl p¡−b, na¡w−nl −k¡N q−h na¡w−nl p¡−b, 
pqpË¡w−nl −k¡N q−h pqpË¡w−nl p¡−bz ¢h−u¡NJ q−h HLC i¡−h—cnj¡w−nl 
−b−L cnj¡wn, na¡wn −b−L na¡wn, pqpË¡wn −b−L pqpË¡wnz  

−Mu¡m l¡M−a q−h, −k¡N h¡ ¢h−u¡−Nl SeÉ pwMÉ¡…¢m−L Jf−l ¢e−Q p¡¢S−u 
−mM¡l pju −ke cn¢jL ¢h¾c¥¢V Jfl-¢e−Q HL m¡C−e b¡−L, Bl ¢h−u¡N 
Ll¡ q−h hs pwMÉ¡ −b−L −R¡V pwMÉ¡lz  

Bjl¡ B−Nl j−a¡C −k¡N h¡ ¢h−u¡N öl¦ Llh X¡e ¢c−Ll −no Ol¢V 
−b−L, J −k¡Ngm h¡ ¢h−u¡Ngm Ol…¢ml ¢e−Q ¢mMhz 

Ec¡qlZ 1. −k¡N L−l¡ 32.45 + 7.34 

  

 
 

cnL HLL cnj¡wn na¡wn 

3 2 4 5 

 7 3 4 

3 9 7 9 

32.45 

  7.34 
39.79 
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HjeV¡ q−aC f¡−l −k −k¡N h¡ ¢h−u¡N Ll¡l pwMÉ¡…¢ml −L¡−e¡¢V−a qua 
HL cn¢jL ÙÛ¡e (cnj¡wn) B−R, −L¡−e¡¢V−a qua c¤C (na¡wn) h¡ ¢ae 
cn¢jL (pqpË¡wn) ÙÛ¡e fkÑ¿¹ B−Rz Bjl¡ S¡¢e −k cn¢jL iNÀ¡w−nl −n−o 
n§eÉ ¢c−mJ a¡l j¡e Af¢lh¢aÑa b¡−Lz  

a¡C, −k¡N h¡ ¢h−u¡−Nl pju Bjl¡ h¤T−a p¤¤¢hd¡l SeÉ cn¢jL iNÀ¡w−nl 
−n−o fË−u¡Se j−a¡ n§eÉ h¢p−u −eh, pwMÉ¡…¢ml cn¢jL iNÀ¡w−nl Ol…¢m 
pj¡e L−l ¢e−az 

Ec¡qlZ 2. −k¡N L−l¡ 20.4 + 21.45+1.003 

 

 

 

q¡−a ¢e−u −k¡N J ¢h−u¡−Nl fÜ¢a B−N k¡ ¢n−M¢R a¡ HM¡−e hÉhq¡l 
Ll−a q−h HLC i¡−hz −L¡eJ O−ll −k¡Ngm c−nl −h¢n q−m cnL 
pwMÉ¡¢V q¡−a −l−M h¡y¢c−Ll B−Nl O−l −k¡N Ll−a q−hz ¢h−u¡−Nl pju 
−L¡eJ O−ll ¢h−u¡Se pwMÉ¡¢V ¢h−u¡SÉ −b−L −R¡V q−m h¡y¢c−Ll B−Nl Ol 
−b−L HL cn d¡l ¢e−u ¢h−u¡N¢V Ll−a q−h J −pC O−ll ¢h−u¡Se 
pwMÉ¡¢V−L HL cn Lj¡−a q−hz  

Ec¡qlZ 3. −k¡N L−l¡ 27.73 + 24.68 

 

 

 
Ec¡qlZ 4. ¢h−u¡N L−l¡ 32.43 – 25.75 

 

 

 

cnL HLL cnj¡wn na¡wn pqpË¡wn 
2 0 4 0 0 

2 1 4 5 0 

 1 0 0 3 

4 2 8 5 3 

cnL HLL cnj¡wn na¡wn 

2 7 7 3 

2 4 6 8 

5 2 4 1 

cnL HLL cnj¡wn na¡wn 

3 2 4 3 

2 5 7 5 

 6 6 8 

20.400 

21.450 

  1.003 
42.853 

27.73 

24.68 
52.41 

+1 +1 +1 

32.43 

25.75 
  6.68 

–1 –1 –1 
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Ae¤n£me 8.4 cn¢jL iNÀ¡w−nl −k¡N J ¢h−u¡N 
1. −k¡Ngm −hl L−l¡ 

a. 2.53+4.21 b. 7.53+8.22 

c. 13.75+7.38 d. 15.083+9.2 

e. 4.0567+12.94 f. 12.949+32.0617 

2. ¢h−u¡Ngm −hl L−l¡ 
a. 0.096–0.043 b. 0.94–0.1078 

c. 12.001–6.234 d. 5.101–4.2356 

e. 7.53–2.399 f. 4.1019–2.9 

Ešl 8.4  
 a. b. c. d. e. f. 

1. 6.74 15.75 21.13 24.283 16.9967 45.0107 

2. 0.053 0.8322 5.767 0.8654 5.131 1.2019 
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f¡W 9. p¡d¡lZ J cn¢jL iNÀ¡w−nl …Z J i¡N 

9.1 iNÀ¡wn J f§ZÑ pwMÉ¡l …Z 
Bjl¡ HL¢V f§ZÑ pwMÉ¡−L B−lL¢V f§ZÑ pwMÉ¡ ¢c−u …Z Ll¡ ¢n−M¢Rz 
−S−e¢R −k …Z Ll¡ qm h¡l h¡l −k¡N Ll¡l fË¢œ²u¡z 2 J 3-Hl …Z j¡−e 
qm 2-−L 3 h¡l −k¡N Ll¡ (2+2+2 = 6) h¡ 3-−L 2 h¡l −k¡N Ll¡ 
(3+3=6)z HLC i¡−h Bjl¡ iNÀ¡wn J f§ZÑ pwMÉ¡l …Z h¤T−a f¡¢lz  
iNÀ¡wn−L f§ZÑ pwMÉ¡ ¢c−u …Z Ll¡iNÀ¡wn−L f§ZÑ pwMÉ¡ ¢c−u …Z Ll¡iNÀ¡wn−L f§ZÑ pwMÉ¡ ¢c−u …Z Ll¡iNÀ¡wn−L f§ZÑ pwMÉ¡ ¢c−u …Z Ll¡ —‘h¡lh¡lh¡lh¡l’    Lb¡¢Vl AbÑLb¡¢Vl AbÑLb¡¢Vl AbÑLb¡¢Vl AbÑ    
j−e L−l¡ HL¢V hÉ¡P HL HL h¡−l m¡g ¢c−u f¡l qu    ¢jV¡l (¢jV¡l 
qm c§l−aÆl HL¢V f¢lj¡f, k¡ Bjl¡ f−l ¢nMh)z 4 ‘h¡lh¡lh¡lh¡l’ m¡g ¢c−u 
hÉ¡P¢V La g¥V f¡l q−h? pq−SC h¤T−a f¡¢l,    -−L 4h¡l −k¡N Ll−mC 
Bjl¡ Ešl¢V −f−u k¡hz 
  
 
a¡C Ešl q−h    +   + +      +      =               =        =      = 3 ¢jV¡l z 

p¤¤al¡w, HM¡−e Bjl¡ …Z ¢qp¡−h ¢mM−a f¡¢l    x4 =         =       = 3z 
AbÑ¡v, Bjl¡ ¢euj ¢qp¡−h j−e l¡Mh: iNÀ¡wn−L f§ZÑ pwMÉ¡ ¢c−u …Z Ll−a 
q−m Bjl¡ iNÀ¡wn¢Vl mh−L f§ZÑ pwMÉ¡¢V ¢c−u …Z Llhz 

f§ZÑ pwMÉ¡−L iNÀ¡wn ¢c−u …Z Ll¡f§ZÑ pwMÉ¡−L iNÀ¡wn ¢c−u …Z Ll¡f§ZÑ pwMÉ¡−L iNÀ¡wn ¢c−u …Z Ll¡f§ZÑ pwMÉ¡−L iNÀ¡wn ¢c−u …Z Ll¡ —‘HlHlHlHl’    Lb¡¢Vl AbÑLb¡¢Vl AbÑLb¡¢Vl AbÑLb¡¢Vl AbÑ    
HC −r−œ f§ZÑ pwMÉ¡−L iNÀ¡wn ¢c−u …Z Ll¡−L Bj¡−cl h¤T−a qu AeÉ 
i¡−h, L¡lZ iNÀ¡w−nl j−dÉC i¡N Ll¡ B−R, a¡C H−L −k¡N Ll¡ ¢qp¡−h 
−cM¡ k¡−h e¡z H−L i¡N Ll¡ ¢qp¡−hC −cM−a q−hz j−e L−l¡ −a¡j¡l 12¢V 
l¦¢V B−Rz ‘HlHlHlHl’ Q¡l i¡−Nl ¢ae i¡N (j¡−e   Awn) a¥¢j i¡C-−h¡e−cl 
¢c−mz i¡C-−h¡e−cl −j¡V LV¡ l¦¢V ¢c−m? 

HM¡−e ‘Hl’ Lb¡¢V ¢h−no L−l mr L−l¡z 12¢V l¦¢V-l 4 i¡N j¡−e 
HL HL¢V i¡−N B−R 3¢V L−l l¦¢V z a¡q−m 3¢V i¡−N q−h −j¡V 9¢V 
(3x3) l¦¢V z H−L Bjl¡ ¢mMh f§ZÑ pwMÉ¡−L …Z Ll¡ ¢qp¡−h—  

12-llll     = 12 x      =        =  =          =  

Hh¡l mr L−l¡, HC c¤¢V −r−œ L£i¡−h …Z Ll¡ q−µRz 

 3 

 4 

 3 

 4 

 3 

 4 

 3 

 4 

 3 

 4 

 3 

 4 

 3 

 4 

 3 

 4 

 3 

 4 

 3 

 4 

 3+3+3+3 

       4 

 12 

  4 
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 1 
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 3x4 
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 4 

 3 

 4 

 3 

 4 
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   L−l 4 h¡lh¡lh¡lh¡l  j¡−e        = 3 

 12-llll            j¡−e           = 9 

c¤¢V −r−œC Bjl¡ f§ZÑ pwMÉ¡ J iNÀ¡w−nl …Z Ll¡ f¡¢µR, J …Z¢VJ q−µR 
HLC i¡−h—iNÀ¡w−nl mh¢V−L f§ZÑ pwMÉ¡¢V ¢c−u …Z Ll¡ q−µRz ¢L¿¹¥, HC 
c¤¢V −r−œl A−bÑl ag¡a¢V ¢h−no L−l h¤−T l¡M−a q−h—LMe Bjl¡ f¡h 
‘….Hl ...  Awn’, Bl LMe Bjl¡ f¡h ‘…. Awn L−l …. h¡l’z  

j−e l¡−M¡: f§ZÑ pwMÉ¡ J iNÀ¡wn−L …Z Ll−a Bjl¡ iNÀ¡w−nl mh−L f§ZÑ 
pwMÉ¡¢V ¢c−u …Z L¢l, ql¢V−L HLC −l−M, J …Zgm ¢qp¡−h −k iNÀ¡wn¢V 
f¡C a¡−L m¢Où BL¡−l ¢m¢Mz 

iNÀ¡wn−L iNÀ¡wn ¢c−u …Z Ll¡iNÀ¡wn−L iNÀ¡wn ¢c−u …Z Ll¡iNÀ¡wn−L iNÀ¡wn ¢c−u …Z Ll¡iNÀ¡wn−L iNÀ¡wn ¢c−u …Z Ll¡ 
HL¢V iNÀ¡wn−L Bl HL¢V iNÀ¡wn ¢c−u …Z Ll¡ OV−h kMe HL¢V 
iNÀ¡wn−L Bjl¡ Bl HL¢V iNÀ¡w−nl Awn ¢qp¡−h h¡l Ll−a Q¡Ch, −kje 
dl¡ k¡L,   -Hl    Awn z  

Hl AbÑ qm, fËb−j Q¡l i¡N L−l a¡l ¢ae i¡N,     −eJu¡ qm, 
a¡lfl k¡ −fm¡j a¡l −b−L Bh¡l ¢ae i¡−Nl c¤C i¡N,      −eJu¡ 
qmz a¡q−m Bjl¡ JC ¢S¢eo¢Vl La Awn f¡h?  

¢e−Ql R¢h ¢ae¢V −cMz fËbj¢V−a Q¡li¡−Nl ¢ae i¡N J ¢àa£u¢V−a 
¢ae i¡−Nl c¤C i¡N −cM¡−e¡ q−u−Rz ¢L¿¹¥ Bjl¡ Q¡C, Q¡l i¡−Nl ¢ae 
i¡N-Hl ¢ae i¡−Nl c¤C i¡Nz HV¡ Bjl¡ a«a£u R¢h¢V−a f¡Cz 
 
 
 
 
 
                                      = 

HM¡−e −cM−a f¡¢µR,   -Hl     hm−m Bjl¡ c¤¢V iNÀ¡w−nl …Z f¡C— 
               x       =          =        =            

 3x2 

 4x3 

 2 

 3 

 3 

 4 

 3 

 4 

 3 

 4 
 12x3 

    4 

 3x4 

    4 

 3 

 4 

 2 

 3  3 

 4 
 2 

 3 

 3 

 4 

 2 

 3 
 3 

 4 

 2 

 3 

 3x2 

 4x3 

  6 

 12 

 1 

 2 

 4 i¡N 

3 i¡N 

 4 i¡N 

3 i¡N 

−eJu¡ −eJu¡ −eJu¡ 
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Jf−ll a«a£u R¢h¢V mr L−l¡z f¡n¡f¡¢n Q¡l i¡N Ll¡ q−u−R J Jfl-
¢e−Q ¢ae i¡N Ll¡ q−u−Rz g−m, −j¡V 12¢V (3x4) i¡N Ll¡ q−u−R J 
a¡l −b−L −eJu¡ q−u−R 6¢V (3x2) i¡Nz a¡C Bjl¡ −f−u¢R    h¡   z 

Bl HL¢V Ec¡qlZ i¡−h¡z −a¡j¡−cl N¡R −b−L 20¢V Bj f¡s¡ qmz 
a¡l f¡yQ i¡−Nl ¢ae i¡N a¥¢j −f−mz a¥¢j a¡l ¢ae i¡−Nl c¤C i¡N 
−a¡j¡l −h¡e−L ¢c−mz −a¡j¡l −h¡e LV¡ Bj −fm? 
Hl Ešl q−h 20¢V B−jl  -Hl  

    h¡  20 x     x      = 20 x        = 20x       = 20x     = 8¢V Bj z 

Bh¡l −c−M¡, Hi¡−hJ Ll¡ k¡u : a¥¢j −f−m 20¢V B−jl    = 12 ¢V 
Bjz a¡q−m −h¡e −fm 12¢V B−jl   = 8¢V Bjz  
j−e l¡−M¡:  
• HL¢V iNÀ¡wn−L B−lL¢V iNÀ¡wn ¢c−u …Z Ll−m Bjl¡ …Zgm ¢qp¡−h 
HL¢V iNÀ¡wn f¡C, k¡l mh qm iNÀ¡wn c¤¢Vl m−hl …Zgm, Bl ql 
qm iNÀ¡wn c¤¢Vl q−ll …Zgmz  

• iNÀ¡wn …Z Ll¡l pju Bjl¡ mh J ql…¢ml −L¡eJ p¡d¡lZ …Ze£uL 
b¡L−m a¡ ¢c−u i¡N L−l iNÀ¡wn¢V−L m¢Où BL¡−l ¢mMhz 

          x        =         = 

• iNÀ¡wn …Z Ll¡l pju −L¡eJ ¢jnË iNÀ¡wn b¡L−m a¡−L AfËL«a 
iNÀ¡w−n l©f¡¿¹¢la L−l ¢e−a q−hz ¢L¿¹¥ …Zgm¢V−a AfËL«a iNÀ¡w−n 
Bp−m a¡−L ¢jnË iNÀ¡w−nl BL¡−l ¢mM−a q−hz Ec¡qlZ −c−M¡ — 

           3     x  2     =           x          =  9        

 

           1     x  3     =           x          =          = 5 

9.2 ¢hfl£a iNÀ¡wn J p¡d¡lZ iNÀ¡w−nl i¡N 

¢hfl£a iNÀ¡wn¢hfl£a iNÀ¡wn¢hfl£a iNÀ¡wn¢hfl£a iNÀ¡wn    
iNÀ¡wn ¢c−u i¡N Ll¡ h¤T−a Bj¡−cl A−eÉ¡eL h¡ ¢hfl£a iNÀ¡w−nl 
(Cw−l¢S−a −l¢p−fË¡L¡m éÉ¡LÚneÚ) d¡lZ¡¢V −S−e ¢e−a q−hz fË−aÉL 
iNÀ¡w−nlC mh J ql B−Rz −L¡eJ iNÀ¡wn−L E−ÒV ¢e−u a¡l mh−L ql 

  6 

 12 

 1 

 2 

 3 

 5 

 2 

 3 

 3 

 4 

 2 

 5 

 153 

 4 

 123 

  5 

 28 

  5 
 3 

 5 

 3 

 4 

 1 

 5 

 7 

 4 

 164 

  5 

 3 

 5 

 2 

 3 

 3x2 

 5x3 

  6 

 15 

 2 

 5 

 1 

 3 

  3 

  5 

  4 

 123 

204 
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 3 
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J ql−L mh L−l ¢mM−m Bjl¡ iNÀ¡wn¢Vl ¢hfl£a iNÀ¡wn f¡Cz 
Ec¡qlZ— 
   iNÀ¡wn¢Vl mh 3 J ql 4 z mh J ql E−ÒV ¢e−u ¢mM−m f¡C,    -
Hl ¢hfl£a iNÀ¡wn    z HLC i¡−h   -Hl ¢hfl£a iNÀ¡wn qm     J  
-Hl ¢hfl£a iNÀ¡wn qm    z  

Hh¡−l mr L−l¡, −L¡eJ iNÀ¡wn−L a¡l ¢hfl£a iNÀ¡wn ¢c−u …Z 
Ll−m Bjl¡ …Zgm f¡C 1, L¡lZ iNÀ¡w−nl mh¢V L¡V¡L¡¢V (¢e−S−L 
¢c−uC i¡N) q−u k¡u ¢hfl£a iNÀ¡w−nl q−ll p¡−b, Hhw ql¢V L¡V¡L¡¢V 
q−u k¡u ¢hfl£a iNÀ¡w−nl m−hl p¡−b z  
     x      =  1;                   x     = 1 

 j−e l¡−M¡:  −L¡eJ iNÀ¡wn x a¡l ¢hfl£a iNÀ¡wn = 1 

p¡d¡lZ iNÀ¡wn ¢c−u i¡Np¡d¡lZ iNÀ¡wn ¢c−u i¡Np¡d¡lZ iNÀ¡wn ¢c−u i¡Np¡d¡lZ iNÀ¡wn ¢c−u i¡N 

Bjl¡ B−N −L¡eJ f§ZÑ pwMÉ¡−L B−lL¢V f§ZÑ pwMÉ¡ ¢c−u i¡N Ll¡ 
¢n−M¢Rz iNÀ¡wn ¢c−u i¡N Ll¡ h¤T−a −pC i¡−Nl d¡lZ¡−LC Bh¡l −c−M 
−ehz   

Bjl¡ S¡¢e, 8-−L 4 ¢c−u i¡N Ll−m f¡C 2z Hl AbÑ L£? Hl AbÑ, 
8 −b−L 4 L−l −eJu¡ k¡u 2 h¡l, h¡ 8-−L 4 L−l i¡N Ll−m Bjl¡ 
2¢V i¡N f¡Cz j−e L−l¡ 8¢V Bj B−Rz 4¢V L−l Bj ¢e−u HL 
HLSe−L ¢c−m 2 Se−L −cJu¡ k¡u (h¡ 4 Se−L Bj…¢m i¡N L−l ¢c−m 
HL HLSe 2¢V L−l Bj f¡u)z HC i¡−h Bjl¡ hm−a f¡¢l, 8¢V Bj 
−b−L 2¢V L−l ¢c−m 4 Se−L −cJu¡ k¡−h, 1¢V L−l ¢c−m 8 Se−L −cJu¡ 
k¡−hz a¡q−m i¡h¡ k¡L,   ¢V L−l Bj ¢c−m LaSe−L −cJu¡ k¡−h? 
pq−SC h¤T−a f¡¢l, Ešl qm, 16 Se−Lz AeÉ i¡−h hm¡ k¡u, 8 
−b−L   L−l 16 h¡l −eJu¡ k¡uz a¡C,  

   = 2;      = 4;       = 8; Bl       = 16  J HCi¡−h,      =   12    
−cM¡ −Nm, −L¡eJ pwMÉ¡−L f§ZÑ pwMÉ¡ ¢c−u i¡N Ll−m Bjl¡ Eš−l −k 
pwMÉ¡¢V f¡C a¡ i¡SÉ pwMÉ¡¢Vl −b−L −R¡V (h¡ 1 ¢c−u i¡N Ll−m pj¡e 
q−h)z ¢L¿¹¥, fËL«a iNÀ¡wn ¢c−u i¡N Ll−m k¡ ¢Rm a¡l −b−L −h¢n pwMÉ¡ 
f¡hz dl¡ k¡L, 6¢V L¡¢W B−Rz H…¢ml 3¢V L−l HL HL i¡−N l¡M−m 

 3 
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 8 
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 4 
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Bjl¡ 2¢V i¡N f¡hz ¢L¿¹¥ 6¢V L¡¢Wl fË−aÉL L¡¢W−LC   V¥L−l¡ L−l 
i¡P−m 18¢V i¡N f¡h, L¡lZ HL HL¢V L¡¢W −b−L 3¢V L−l V¥L−l¡ f¡¢µR 
J 6¢V L¡¢W −b−L 3x6 h¡ 18¢V L¡¢W f¡¢µRz HCi¡−h Bjl¡ −cM−a 
f¡¢µR— 

       =   x   =16;        =   x   = 12;         =      x     = 18 

iNÀ¡wn ¢c−u i¡N Ll¡l AbÑ qm fË−aÉL¢V−L Bjl¡ iNÀ¡wn¢Vl q−ll 
pwMÉ¡¢V−a i¡P¢R, a¡C Bjl¡ ql ¢c−u …Z L−l −j¡V LV¡ Awn q−h −pV¡ 
f¡¢µRz Hlfl iNÀ¡w−nl mh¢V hm−R HC −j¡V Awn…¢m −b−L LV¡ i¡−N 
i¡N Ll¡ q−h z a¡C HC −j¡V Awn−L mh¢V ¢c−u i¡N Ll−a q−hz −kje 
Bjl¡ Jf−l −cM¢R 9 ÷    -Hl j¡−e qm 9¢Vl fË−aÉL¢V−L 4¢V L−l 
Aw−n −i−P Bjl¡ (9x4) h¡ 36¢V Awn f¡C J HC 36¢V Awn −b−L 
3¢V L−l (h¡ 3¢V i¡−N) Bjl¡ 12¢V L−l Awn f¡Cz HC L¡l−Z iNÀ¡wn 
¢c−u i¡N Ll¡ j¡−e ¢hfl£a iNÀ¡wn¢V ¢c−u …Z Ll¡z  

j−e l¡−M¡: iNÀ¡wn ¢c−u i¡N Ll¡l j¡−e ¢hfl£a iNÀ¡wn¢V ¢c−u …Z Ll¡z 

iNÀ¡w−nl i¡−Nl L−uL¢V Ec¡qlZ −c−M¡ — 
a.     ÷ 6=     ÷     =     x     =            b. 1    ÷7=     ÷    =     x     =    

c.  21 ÷1    =      ÷     =      x      = 14 

d.         =        ÷       =         x      =   

 

e.  a¥¢j N¡R −b−L Bj f¡s−mz Bj…¢ml   Awn ¢e−Sl SeÉ −l−M, h¡¢L 
Bj…¢m c¤C −h¡e−L pj¡e i¡−N i¡N L−l ¢c−mz HL HLSe −h¡e 
Bj…¢ml La Awn −fm? HL HLSe −h¡e 3¢V L−l Bj −f−m −j¡V 
L¢V Bj a¥¢j −f−s¢R−m? 

pj¡d¡e : fËbj fË−nÀl Ešl— 
  Awn ¢e−Sl SeÉ l¡M−m h¡¢L b¡−L   1–     =       =     Awn, k¡ a¥¢j 
c¤C −h¡e−L ¢c−mz a¡q−m HL HLSe −h¡e −fm—   
        ÷2 =   ÷  =     x       =   Awnz 

 1 
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 3 

 4 

 3 

 4 
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 4 

 1 

 6 

 1 
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14 
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 1 
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 1 
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  4 

 3 

 4 

 3 

 4 
 3 

 4 
 2 

 1 
 3 

 4 
 1 

 2 
 3 

 8 

8 
 1 

 2 

 8 

 1 

 2 

 1 

9 
 3 

 4 

 9 

 1 
 4 

 3 

6 
 1 

 3 

 6 

 1 

 3 

 1 

 21 

 50 

 42 

 75 
 21 

 50 

 75 

 42 

 3 

 4 

 21 

 50 

 42 

 75 



 

80   g¥mX¡P¡ ¢hcÉ¡QQÑ¡ −L¾cÊ, h£lij̈ 
 

¢àa£u fË−nÀl Ešl— 
[Bjl¡ B−N AS¡e¡ pwMÉ¡ ¢c−u −M¡m¡ N¡¢Z¢aL h¡LÉ ¢n−M¢R J −c−M¢R 
L£i¡−h −M¡m¡ N¡¢Z¢aL h¡−LÉl −b−L Bjl¡ AS¡e¡ pwMÉ¡¢Vl j¡e −hl 
Ll−a f¡¢lz Bjl¡ −pC fÜ¢a¢V HM¡−e hÉhq¡l Llhz] 

−j¡V L¢V Bj f¡s¡ q−u¢Rm, −pC pwMÉ¡¢V Bj¡−cl AS¡e¡z j−e L¢l 
HC AS¡e¡ pwMÉ¡¢V qm X z Bjl¡ B−N −f−u¢R −k HL HLSe −h¡e 
f¡u −j¡V B−jl   Awn, k¡l j¡e qm 3z a¡q−m Bjl¡ HC −r−œ HL¢V 
−M¡m¡ N¡¢Z¢aL h¡LÉ ¢mM−a f¡¢l— 

           X -Hl   Awn = 3¢V Bj 

       h¡,  X   x              = 3   

Bjl¡ B−N ¢n−M¢R −k, pj¡e ¢Qq² h¡ a¥me¡ ¢Q−q²l h¡y¢cL −b−L X¡e ¢c−L 
Abh¡ X¡e¢cL −b−L h¡y¢c−L −L¡eJ l¡¢n h¡ pwMÉ¡−L ¢e−u −N−m a¡l 
p¡j−el fË¢œ²u¡ ¢Qq² (−k¡N-¢h−u¡N h¡ …Z-i¡N) E−ÒV k¡uz −pC ¢eu−j   -
−L X¡e¢c−L ¢e−u Bjl¡ ¢mMh— 

 X = 3÷     =     x       = 8 ¢V Bj z 
Ae¤n£me 9.1  p¡d¡lZ iNÀ¡w−nl …Z J i¡N 
1. …Zgm h¡l L−l¡ 
a.      x21  b. 27x   c.   x         d.       x 3 

e.      x  f.       x     x 24   g.     x      x  h. 8     x3    x 6      

2. i¡Ngm h¡l L−l¡ 

a. 5 ÷     b.     ÷ 14  c. 4  ÷1    d.  ÷   

e.   ÷   f.      ÷  g. 5÷  ÷  h.       ÷      ÷ 

3. j¡e ¢eZÑu L−l¡ 
a.       L−l 8 h¡l   b.      L−l 7 h¡l   c.       L−l 10 h¡l  

d.  10-Hl         e.        -Hl        f.  8     -Hl 2   

 3 

 8 

 3 

 8 

 3 

 8 

 3 

 8 

 3 

 8 
 3 
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 8 
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 5 
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 24 
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 4 
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4. p¡a Se ¢j−m fË−aÉ−L 1  NÔ¡p L−l c¤d l¡Mm HL¢V Lmp£−az 
Lmp£−a −j¡V La NÔ¡p c¤d B−R? 

5. −a¡j¡l i¡C−ul h−up −a¡j¡l h−u−pl   Awnz −a¡j¡l h−up 16 q−m, 
i¡C−ul h−up La? 

6. −h¡−el h−up i¡C−ul h−u−pl   Awnz −h¡−el h−up 8 q−m, i¡C−ul 
h−up La? [i¡C−ul h−up−L AS¡e¡ pwMÉ¡ x dl] 

7. j−e L−l¡ i¡Ngm−L 5 ¢c−u …Z Ll−m Bjl¡ i¡SL f¡Cz   
i¡Ngm    q−m, i¡SÉ La? [hÉhq¡l L−l¡, i¡Ngm i¡SL=i¡SÉz] 

8. −L¡eJ HL¢V pwMÉ¡−L 1   ¢c−u i¡N L−l i¡Ngm −fm¡j 2     z 
pwMÉ¡¢V La? 

9. Hje HL¢V pwMÉ¡ h¡l Ll k¡l 5 …Z qm    -Hl 12 …−Zl pj¡ez 
10. c¤C¢V pwMÉ¡l …Zgm 2   z HL¢V pwMÉ¡ 1  q−m, AeÉ¢V La? 
11. −L¡e pwMÉ¡−L 6 ¢c−u i¡N Ll−m i¡Ngm    J   -Hl −k¡Ng−ml 

pj¡e q−h?  
12. HL¢V h¡y−nl   Awn L¡c¡u,   Awn S−m J h¡¢L Awn S−ml Jf−l 

B−Rz S−ml Jf−ll Aw−nl j¡f 5 q¡a q−m L¡c¡u −k Awn¢V B−R 
a¡l j¡f La q¡a? 

13. HL¢V Lm¡ h¡N¡−el   Aw−n 1500¢V Lm¡ N¡R B−Rz h¡N¡e¢Vl  
       Aw−n L¢V Lm¡ N¡R b¡L−a f¡−l? 
14. −a¡j¡l j¡ −a¡j¡−L hC M¡a¡ −Le¡l SeÉ ¢LR¥ V¡L¡ ¢c−mez a¥¢j a¡l 

−b−L   Awn ¢c−u hC,   Awn ¢c−u M¡a¡ Bl   Awn ¢c−u Lmj 
¢L−e −cM−m −a¡j¡l L¡−R 10 V¡L¡ Ah¢nø B−Rz j¡ −a¡j¡−L La 
V¡L¡ ¢c−u¢R−me? 

15. Aˆ fl£r¡u l¡S¥ −fm −j¡V eð−ll   Awn Bl p”u −fm −j¡V 
eð−ll   Awnz l¡S¥ p”−ul −b−L 12 eðl −h¢n −f−m h¡l L−l¡, 
fl£r¡l −j¡V eðl La ¢Rm J −L La eðl −f−u¢Rmz 

16. HL¢V h¡ycl h¡yn −h−u JW¡l pju fË¢ah¡l J−W h¡yn¢Vl    Awn J 
a¡lf−lC ¢fR−m −e−j B−p h¡yn¢Vl    Awnz h¡yn¢V 10 q¡a mð¡ 
q−m La h¡−ll −Qø¡u h¡ycl¢V h¡yn¢Vl j¡b¡u EW−a f¡l−h? 

17. h¡h¡l L¡−R ¢LR¥ V¡L¡ ¢Rmz h¡h¡ a¡l    Awn MlQ L−l HL¢V O¢s 
¢Le−mez a¡lfl, k¡ MlQ qm O¢s ¢Le−a, a¡l   Awn ¢c−u HL¢V 
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−l¢XJ ¢Le−mez Hlfl k¡ V¡L¡ lCm a¡ −a¡j¡−cl c¤C i¡C−L 
pj¡ei¡−h i¡N L−l ¢c−mez a¥¢j 120 V¡L¡ −f−mz h¡h¡l L¡−R −j¡V 
La V¡L¡ ¢Rm hmz [12 −b−L 17 eðl Aˆ pj¡d¡−el SeÉ hC−ul −no 
f¡a¡ −c−M¡z                                 ] 

Ešl 9.1  
 a. b. c. d. e. f. g. h. 

1. 6 12 5/14 4/3 1/4 2 1/10 175 

2. 8 1/18 5/2 3/4 3/4 3/4 8 11/2 

3. 6 3 2 6 2/3 21   

 

4. 10 NÔ¡p 5. 12 6. 12 7. 48/15 

8. 4 9. 2 10. 2 11. 11/2 

12. 1 q¡a 13. 600 14. 112 15. 80, 60, 48 

16. 48h¡l 17. 480 V¡L¡     

9.3 cn¢jL iNÀ¡w−nl …Z J i¡N 
cn¢jL iNÀ¡w−nl …Z J i¡N h¤T−a fËb−j −c−M¡ −L¡eJ cn¢jL iNÀ¡wn−L 
10, 100, 1000, 10000, CaÉ¡¢c ¢c−u …Z J i¡N Ll−m L£ f¡Jz 
cn¢jL iNÀ¡wn−Lcn¢jL iNÀ¡wn−Lcn¢jL iNÀ¡wn−Lcn¢jL iNÀ¡wn−L    10, 100, 1000,    10000,    CaÉ¡¢c ¢c−u …ZCaÉ¡¢c ¢c−u …ZCaÉ¡¢c ¢c−u …ZCaÉ¡¢c ¢c−u …Z    
Bjl¡ L−uL¢V Ec¡qlZ ¢c−u HC …Z…¢m−L h¤Thz 

a.  0.57-−L 10 ¢c−u …Z Ll¡ 
0.57 x 10 =     x 10 =     = 5.7   
 

b.  0.063-−L 10 ¢c−u …Z Ll¡ 
0.063 x 10 =     x 10 =     = 0.63   

 
c.  0.007-−L 10 ¢c−u …Z Ll¡ 

0.007 x 10 =     x 10 =     = 0.07   

mr L−l¡: −L¡eJ cn¢jL iNÀ¡wn−L 10 ¢c−u …Z Ll−m Bjl¡ cn¢jL 
¢h¾c¥¢V−L X¡e¢c−L HLX¡e¢c−L HLX¡e¢c−L HLX¡e¢c−L HL OlOlOlOl p¢l−u ¢mMhz 

d.  0.57-−L 100 ¢c−u …Z Ll¡ 
0.57 x 100 =     x 100  =     = 57.0   
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e.  0.063-−L 100 ¢c−u …Z Ll¡ 
0.063 x100 =     x100  =     = 6.3   

 
f.  0.007-−L 100 ¢c−u …Z Ll¡ 

0.007 x100 =     x100  =     = 0.7   

mr L−l¡: −L¡eJ cn¢jL iNÀ¡wn−L 100 ¢c−u …Z Ll−m Bjl¡ cn¢jL 
¢h¾c¥¢V−L X¡e¢c−L c¤CX¡e¢c−L c¤CX¡e¢c−L c¤CX¡e¢c−L c¤C OlOlOlOl p¢l−u ¢mMhz 

g.  0.57-−L 1000 ¢c−u …Z Ll¡ 
0.57 x 1000 =     x 1000  =     = 570.0   
 

h.  0.063-−L 1000 ¢c−u …Z Ll¡ 
0.063 x1000 =     x1000  =     = 63.0   

 
i.  0.007-−L 1000 ¢c−u …Z Ll¡ 

0.007 x1000 =     x1000  =     = 7.0   

mr L−l¡: −L¡eJ cn¢jL iNÀ¡wn−L 1000 ¢c−u …Z Ll−m Bjl¡ cn¢jL 
¢h¾c¥¢V−L X¡e¢c−LX¡e¢c−LX¡e¢c−LX¡e¢c−L ¢ae¢ae¢ae¢ae Ol Ol Ol Ol p¢l−u ¢mMhz 

cn¢jL iNÀ¡wn−Lcn¢jL iNÀ¡wn−Lcn¢jL iNÀ¡wn−Lcn¢jL iNÀ¡wn−L    10,100, 1000,    10000,    CaÉ¡¢c ¢c−u i¡NCaÉ¡¢c ¢c−u i¡NCaÉ¡¢c ¢c−u i¡NCaÉ¡¢c ¢c−u i¡N    

Bjl¡ B−N cn¢jL iNÀ¡wn ¢n−M¢R— 
7 ÷ 10   =         = 0.7 

7 ÷ 100  =         = 0.07 

7 ÷ 1000  =         = 0.007 

AbÑ¡v,  10 ¢c−u i¡N Ll−m cn¢jL ¢h¾c¥ h¡yh¡yh¡yh¡y¢c−L HL¢c−L HL¢c−L HL¢c−L HL OlOlOlOl pl−R; 
 100 ¢c−u i¡N Ll−m cn¢jL ¢h¾c¥ h¡yh¡yh¡yh¡y¢c−L c¤C¢c−L c¤C¢c−L c¤C¢c−L c¤C OlOlOlOl pl−R; 
 1000 ¢c−u i¡N Ll−m cn¢jL ¢h¾c¥ h¡y¢c−Lh¡y¢c−Lh¡y¢c−Lh¡y¢c−L ¢ae¢ae¢ae¢ae OlOlOlOl pl−Rz 

Bjl¡ L−uL¢V Ec¡qlZ ¢c−u HC i¡N…¢m−L h¤Thz 
 

 63 

10 
  63 

1000 

  7 

 10 
   7 

1000 

 570 

  1 
 57 

100 

 63 

  1 
  63 

1000 

  7 

  1 
   7 

1000 

  7 

 10 

  7 

 100 

    7 

 1000 
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a. 0.57-−L 10 ¢c−u i¡N Ll¡ 
      0.57 ÷ 10 =      ÷     =    x      =           = 0.057   

b. 0.063-−L 100 ¢c−u i¡N Ll¡ 
0.063 ÷ 100 =     ÷        =     x    =        = 0.00063   

c. 5.7-−L 1000 ¢c−u i¡N Ll¡ 
5.7 ÷ 1000 =    ÷        =     x    =        = 0.0057   

Ae¤n£me 9.2  cn¢jL iNÀ¡w−nl …Z J i¡N —10, 100, 1000 ¢c−u 
1. …Zgm¢V f¡−n −m−M¡ 

10  ¢c−u …Z 100  ¢c−u …Z 1000  ¢c−u …Z 
0.7  0.89  0.789  

0.24  0.475  2.4578  

2.37  36.24  7.0589  

2. i¡Ngm¢V f¡−n −m−M¡ 
10  ¢c−u i¡N   100  ¢c−u i¡N   1000  ¢c−u i¡N   

26.45  78.23  23.457  

7.95  1.008  4567.23  

721.45  4511.01  0.4178  

cn¢jL iNÀ¡wn J f§ZÑ pwMÉ¡l …Zcn¢jL iNÀ¡wn J f§ZÑ pwMÉ¡l …Zcn¢jL iNÀ¡wn J f§ZÑ pwMÉ¡l …Zcn¢jL iNÀ¡wn J f§ZÑ pwMÉ¡l …Z    
Bjl¡ S¡¢e −L¡eJ pwMÉ¡ ¢c−u …Z Ll¡l j¡−e qm pwMÉ¡¢V ka, ¢WL 
aah¡l −k¡N Ll¡z a¡C 0.2 x 4-Hl j¡−e qm 0.2-−L 4 h¡l −k¡N Ll¡z 
a¡C HM¡−e Bjl¡ ¢mM−a f¡¢l— 

0.2 x 4 = 0.2 + 0.2 + 0.2 + 0.2 = 0.8 
Bjl¡ BlJ S¡¢e −k −k−L¡eJ …−Z …ZÉ J …ZL−L E−ÒV ¢e−mJ 
…Zgm¢V HLC b¡−Lz AbÑ¡v, 0.2 x 4 Bl 4 x 0.2 qm HLCz a¡C, −h¡T¡l 
p¤¤¢hd¡l SeÉ −L¡eJ cn¢jL iNÀ¡wn J f§ZÑ pwMÉ¡l …−Zl pju Bjl¡ f§ZÑ 
pwMÉ¡¢V−L …ZL ¢qp¡−h d−l −ehz 

4 x 0.2 = 0.2 x 4 = 0.2 + 0.2 + 0.2 + 0.2 = 0.8 
Jf−ll Ec¡ql−Z cn¢jL iNÀ¡wn¢V cnj¡w−n B−R (cn¢jL ¢h¾c¥l f−l 
HL¢V pwMÉ¡) J …Zgm¢VJ Bjl¡ −f−u¢R cnj¡w−nz  
Bl HL¢V …Z −cM¡ k¡L— 0.3 x 4 = 0.3 + 0.3 + 0.3 + 0.3 = 1.2 
p¡d¡lZ iNÀ¡w−n HC …Z¢V−L −mM¡ k¡u— 

 57 

10 
 10 

  1 
 57 

10 
  1 

 10 
   57 

 1000 

  63 

1000 
 100 

   1 
  63 

1000 
   1 

 100 
     63 

100000

 57 

 10 
1000 

   1 
 57 

 10 
   1 

1000 
   57 

10000 
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0.3 x 4 =      +      +      +      =                =       = 1.2 

HLC i¡−h Bjl¡ f¡C— 
0.12 x 3 =         +         +        =                 =        =  0.36 

0.45 x 3 =         +        +         =                 =        =  1.35 

mr L−l¡: cn¢jL iNÀ¡wn¢V−a cn¢jL ¢h¾c¥l X¡e¢c−L (h¡ f−l) ka…¢m 
Aˆ B−R, …Zgm¢Vl X¡e¢cL (h¡ −no) −b−L ¢WL aa…¢m A−ˆl B−N 
cn¢jL ¢h¾c¥¢V hp−Rz p¤¤al¡w, HL¢V f§ZÑ pwMÉ¡ J cn¢jL iNÀ¡w−nl …Z 
Llh fËb−j p¡d¡lZ …−Zl j−a¡C, cn¢jL pwMÉ¡¢Vl cn¢jL ¢h¾c¥¢V−L FqÉ 
−l−M (h¡ e¡ d−l) HL¢V f§ZÑ pwMÉ¡ ¢qp¡−h d−l ¢e−u, J −n−o …Zgm¢V−a 
cn¢jL ¢h¾c¥¢V HC ¢euj¢V Ae¤k¡u£ h¢p−u −ehz  

Ec¡qlZ: …Z L−l¡ 12 x 2.125 

 2 1 2 5 

 x    1 2  
      4 2 5 0  

            2 1 2 5 x   

          2 5 5 0 0   p¤¤al¡w, 12 x 2.125 = 25.500 = 25.5  
mr L−l¡: cn¢jL pwMÉ¡¢V−a cn¢jL ¢h¾c¥l f−l ¢ae¢V Aˆ B−Rz a¡C 
…Zgm¢Vl −no ¢ae¢V A−ˆl B−N Bjl¡ cn¢jL ¢h¾c¥ h¢p−u¢Rz a¡lf−l 
cn¢jL ¢h¾c¥l f−l −no c¤¢V Aˆ n§eÉ qJu¡l g−m −L−V ¢c−u¢Rz 
cn¢jL iNÀ¡wn−L cn¢jL iNÀ¡wn ¢c−u …Zcn¢jL iNÀ¡wn−L cn¢jL iNÀ¡wn ¢c−u …Zcn¢jL iNÀ¡wn−L cn¢jL iNÀ¡wn ¢c−u …Zcn¢jL iNÀ¡wn−L cn¢jL iNÀ¡wn ¢c−u …Z 

…Z…¢m HLC i¡−h q−hz −k−qa¥ HM¡−e …ZÉ J …ZL, c¤¢VC qm cn¢jL 
iNÀ¡wn, a¡C cn¢jL ¢h¾c¥¢V FqÉ −l−M c¤¢V f§ZÑ pwMÉ¡ ¢qp¡−h …Z¢V L−l 
¢e−a q−h, J −n−o …Zgm¢V−a cn¢jL ¢h¾c¥¢V h¢p−u ¢e−a q−h, …ZÉ J 
…Z−L cn¢jL ¢h¾c¥l f−l −j¡V ka…¢m Aˆ ¢Rm −pC Ae¤k¡u£z  

Ec¡qlZ: …Z L−l¡ 0.72  x 0.25 

 7 2 

 x    2 5  
 3 6 0  

            1 4 4 x   

            1 8 0 0   p¤¤al¡w, 0.72 x 0.25 = 0.1800  = 0.18  

  3+3+3+3 

      10 
 12 

 10 
  3 

 10 
  3 

 10 
  3 

 10 
  3 

 10 

  45+45+45 

      100 
 135 

 100 
  45 

 100 
  45 

 100 
  45 

 100 

  12+12+12 

      100 
  36 

 100 
  12 

 100 
  12 

 100 
  12 

 100 
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HM¡−e cn¢jL ¢h¾c¥l f−l …ZÉ J …Z−L c¥¢V L−l −j¡V Q¡l¢V Aˆ B−Rz 
a¡C …Zg−mJ Bjl¡ cn¢jL ¢h¾c¥l f−l Q¡l¢V Aˆ −l−M¢Rz 
Ec¡qlZ: 0.12 x 0.3 =         x       =             =          =  0.036 
mr L−l¡: HM¡−e cn¢jL ¢h¾c¥l f−l …−ZÉ B−R c¥¢V J …Z−L B−R 
HL¢V, −j¡V ¢ae¢V Aˆz a¡C …Zg−mJ Bjl¡ cn¢jL ¢h¾c¥l f−l ¢ae¢V 
Aˆ l¡Mhz HM¡−e −k−qa¥ f§ZÑ pwMÉ¡ ¢qp¡−h …Z¢V L−l Bjl¡ j¡œ c¤¢V 
A−ˆ 36 −f−u¢R, a¡C cn¢jL ¢h¾c¥l f−l ¢ae¢V Aˆ l¡M−a Bjl¡ cn¢jL 
¢h¾c¥l f−lC HL¢V n§eÉ h¢p−u ¢e−u¢Rz 
Ec¡qlZ: 0.02 x 0.03 =         x       =               =           = 0.0006 
HM¡−e cn¢jL ¢h¾c¥l f−l …−ZÉ J …Z−L c¥¢V L−l, −j¡V Q¡l¢V Aˆ B−Rz 
a¡C …Zg−mJ Bjl¡ cn¢jL ¢h¾c¥l f−l Q¡l¢V Aˆ −l−M¢R, cn¢jL ¢h¾c¥l 
f−lC ¢ae¢V n§eÉ h¢p−u ¢e−uz 

HC …Z…¢m−L Bjl¡ Hi¡−hJ h¤T−a f¡¢l—  
0.12 x 0.3   = (12x0.01) x (3x0.1)= 36 x 0.001= 0.036            

0.02 x 0.03 = (2x0.01) x (3x0.01)= 6 x 0.0001= 0.0006   

j−e l¡−M¡: cn¢jL iNÀ¡w−nl …−Z fËb−j …Z¢V Ll−a q−h cn¢jL ¢h¾c¥−L 
FqÉ −l−M f§ZÑ pwMÉ¡l p¡d¡lZ …Z ¢qp¡−h, J a¡lfl …Zg−m cn¢jL ¢h¾c¥ 
hp¡−a q−h Hjei¡−h k¡−a …ZÉ J …Z−L cn¢jL ¢h¾c¥l f−l −j¡V ka…¢m 
Aˆ ¢Rm, …Zg−mJ −ke a¡C b¡−Lz Hl SeÉ fË−u¡Se q−m …Zg−m 
cn¢jL ¢h¾c¥l f−l HL h¡ HL¡¢dL n§eÉ hp¡−a q−a f¡−lz 

Ae¤n£me 9.3 cn¢jL iNÀ¡w−nl …Z 
 a. b. c. d. 

1. 21 x 0.31 3.56 x 18 5 x 8.05 5.05 x 12 

2. 23 x 3.353 22.22 x 1.1  0.25 x 0.25  125.05 x 1000   

3. 4 x 0.4 x 0.04 x 0.004 x 4000           

4. 30 x 0.3 x 0.03 x 0.003 x 300           

5. 1200 x 0.2 x 0.012 x 0.002 x 0. 1           

Ešl 9.3  
 a. b. c. d. 

1. 6.51 64.08 40.25 6.06 

2. 77.119 24.442  0.0625  125050   

3. 1.024           4. 0.243    5.   0.000576  

  12 x 3 

  100x10 
  12 

 100 
  3 

 10 
  36 

1000 

    2 x 3 

  100x100 
   2 

 100 
  3 

 100 
   6 

10000 
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6 │42.012│7.002           

          42    

            0012 

               12 
    0 

 

cn¢jL iNÀ¡wn−L cn¢jL iNÀ¡wn−L cn¢jL iNÀ¡wn−L cn¢jL iNÀ¡wn−L f§ZÑ pwMÉ¡ f§ZÑ pwMÉ¡ f§ZÑ pwMÉ¡ f§ZÑ pwMÉ¡ ¢c−u ¢c−u ¢c−u ¢c−u i¡Ni¡Ni¡Ni¡N 

dl¡ k¡L HL¢V cn¢jL iNÀ¡wn qm 45.6z H−L Bjl¡ 6 ¢c−u i¡N Ll−a 
Q¡Cz p¡d¡lZ iNÀ¡w−nl i¡N ¢qp¡−h Bjl¡ ¢mM−a f¡¢l— 
45.6 ÷ 6 =       ÷     =    x   =     = 7.6 
HC i¡N¢V−L p¡d¡lZ i¡N Ll¡l j−a¡ L−l L£i¡−h −mM¡ q−h −cM¡ k¡L— 

6 │ 45.6│7.6          

           42    

             36 

               36 
      0 
Jf−ll HC i¡N¢V ¢àa£u d¡−f −no q−u−R, i¡N−no n§eÉ q−u k¡Ju¡l 
g−mz ¢L¿¹¥ AeÉ lLjJ q−a f¡−lz Ec¡qlZ— 

42.012 ÷ 6   

HC i¡N¢V B−Nl j−a¡C Ll¡ q−hz ¢L¿¹¥ HM¡−e BlJ L−uL d¡f Bp−hz 
HM¡−e i¡Ng−m cn¢jL ¢h¾c¥ ¢c−u i¡−SÉl 
cn¢j−Ll f−ll Aˆ¢V, 0 e¡¢j−u¢Rz ¢L¿¹¥ 
a¡J −a¡ i¡N k¡u e¡z a¡C i¡Ng−m n§eÉ 
¢c−u i¡−SÉl f−ll Aˆ¢V, 1 e¡¢j−u¢Rz 
a¡q−mJ 6 ¢c−u i¡N Ll¡ k¡u e¡z a¡C 
Bh¡l n§eÉ ¢c−u a¡lf−ll Aˆ, 2 e¡¢j−u¢R 

J 12-−L 6 ¢c−u i¡N L−l i¡Ng−m 2 ¢m−M¢Rz  
a¡C Bjl¡ B−lLV¡ ¢euj 

−fm¡jz HC ¢àa£u ¢euj¢V−a 
−c¢M −k, i¡N Ll¡l pju 
i¡−SÉl cn¢jL ¢h¾c¥l f−ll 
Aˆ e¡¢j−uJ −L¡eJ d¡−f i¡N 
Ll¡ e¡ −N−m (i¡S−Ll −b−L 
Ah¢nø −R¡V q−m) Bjl¡ 
Ah¢n−øl −n−o J i¡Ng−m 
HL¢V n§eÉ h¢p−u ¢eC J HCi¡−h i¡N¢V L−l Q¢m karZ fkÑ¿¹ i¡N¢V 
¢j−m ¢N−u ¢ex−no e¡ quz HC dl−el i¡−Nl HL¢V Ec¡qlZ—  

 456 

  10 
 6 

 1 
 456 

  10 
 1 

 6 
 76 

 10 

¢euj 1. i¡N Ll−a kMeC i¡−SÉl cn¢jL 
¢h¾c¥l f−ll Aˆ¢V −eJu¡ qu aMeC i¡Ng−m 
cn¢jL ¢h¾c¥ hp¡−a quz 

¢euj 2. i¡N Ll¡l pju −L¡eJ 
d¡−f i¡−SÉl cn¢jL ¢h¾c¥l f−ll 
Aˆ e¡¢j−uJ i¡N Ll¡ e¡ −N−m 
Ah¢n−øl f−l J i¡Ng−m HL¢V 
L−l n§eÉ h¢p−u ¢e−u i¡N Llh J 
HC i¡−h i¡N¢V L−l Qmh karZ 
e¡ i¡N¢V ¢j−m k¡uz  
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16 │38.5│2.40625           

             32   

               65 

               64 
    100 

      96 

    40 

    32 

      80 

       80 

    0 

Jf−ll i¡N¢V−a −cM, fËbj d¡−f i¡N L−l 6 Ah¢nø −f−u¢R J Bjl¡ 
i¡Ng−m cn¢jL ¢h¾c¥ ¢c−u 5 e¡¢j−u¢Rz ¢àa£u d¡−f 65-−L 16 ¢c−u i¡N 
L−l i¡Ng−m 4 ¢m−M¢R J Ah¢nø −f−u¢R 1z −k−qa¥, i¡N Ll¡ k¡−µR e¡ 
a¡C Bjl¡ ¢àa£u ¢euj¢V Ae¤p¡−l 1-Hl f¡−n n§eÉ ¢m−M 10 −f−u¢Rz   

j−e l¡−M¡, cn¢jL ¢h¾c¥l f−ll Aw−nl −n−o Bjl¡ 0 −i−h ¢e−a f¡¢l, 
L¡lZ H−a j¡e f¡ÒV¡u e¡z a¡C i¡Ng−m cn¢jL ¢h¾c¥ ¢c−u ¢e−u cn¢jL 
¢h¾c¥l f−ll Aw−nl i¡−Nl pju fË−u¡Se j−a¡ 0 e¡j¡−a f¡¢lz  

   a¡J i¡N Ll¡ k¡−µR e¡ h−m i¡Ng−m n§eÉ ¢c−u Ah¢n−øl f−l 
B−lL¢V n§eÉ ¢c−u 100 −f−u¢Rz Hh¡l 16 ¢c−u i¡N L−l i¡Ng−m 6 
¢m−M¢R J HC d¡−f Ah¢nø −f−u¢R 4z Ah¢nø l−u −Nm h−m i¡N¢V 
Bj¡−cl L−l −k−a q−hz a¡C ¢àa£u ¢euj¢V Ae¤p¡−l Ah¢nø 4-Hl f¡−n 
n§eÉ h¢p−u 40 −f−u¢R J 16 ¢c−u i¡N L−l i¡Ng−m 2 ¢m−M¢Rz HC 
d¡−f Ah¢nø qm 8z a¡C Bh¡l n§eÉ h¢p−u 80 −f−u¢R J 16 ¢c−u i¡N 
L−l i¡Ng−m 5 ¢m−M¢Rz Hlfl Bl Ah¢nø b¡−L¢ez 

j−e l¡−M¡: cn¢jL iNÀ¡w−nl i¡N Ll¡l pju −L¡eJ −L¡eJ −r−œ i¡N¢V 
œ²j¡Na Qm−aC b¡−L, ¢ex−no qu e¡, L¡lZ HLC Ah¢nø −b−LC k¡u J 
i¡Ng−m HLC pwMÉ¡ Bp−a b¡−Lz HC ¢h−no −r−œ Bjl¡ −k dl−el 
i¡Ngm f¡C, a¡−L Bhªš h¡ −f±exf¤¢eL cn¢jL (Cw−l¢S−a −lL¡¢lw 
−X¢pjÉ¡mÚ) hm¡ qu, k¡ Bjl¡ f−l ¢nMhz Ec¡qlZ qm, 10÷3, 8÷14z 
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25 │640│25.6         

        50    

         140   

          125 
       150 

            150 

             0 

 

f§ZÑ pwMÉ¡−L cn¢jL iNÀ¡wn f§ZÑ pwMÉ¡−L cn¢jL iNÀ¡wn f§ZÑ pwMÉ¡−L cn¢jL iNÀ¡wn f§ZÑ pwMÉ¡−L cn¢jL iNÀ¡wn ¢c−u ¢c−u ¢c−u ¢c−u i¡Ni¡Ni¡Ni¡N 

cn¢jL iNÀ¡w−nl i¡N Ll¡l pju i¡SL¢V cn¢jL iNÀ¡w−nl q−m p¡d¡lZ 
fÜ¢a−a i¡N Ll¡ L¢We q−u f−sz a¡C Bjl¡ i¡SL−L f§ZÑ pwMÉ¡u 
l©f¡¿¹¢la L−l ¢eC, fË−u¡Se j−a¡ 10, 100, 1000 CaÉ¡¢c ¢c−u …Z L−l 
¢e−uz −pC L¡l−Z i¡SÉ−LJ Bj¡−cl HLC i¡−h …Z L−l ¢e−a quz 
i¡SL−L HCi¡−h …Z L−l −eJu¡l AbÑ qm cn¢jL ¢h¾c¥¢V−L X¡e ¢c−L 
p¢l−u −mM¡z −k−qa¥ i¡SL J i¡SÉ−L Bjl¡ HLC i¡−h …Z L−l ¢e¢µR, 
a¡C i¡N¢V HLC b¡−Lz 
mr L−l¡,  27÷ 0.9 =27 ÷      =  (       x10) ÷ (      x 10)   = 270 ÷ 9 = 30        

Ec¡qlZ:   64÷2.5 
   64 ÷ 2.5  

= 64 x 10 ÷ 2.5 x 10  

= 640 ÷ 25      
= 25.6  

 

Ec¡qlZ:   68÷4.25 
mr L−l¡, i¡S−Ll cn¢jL ¢h¾c¥ X¡e d¡−l 
pl¡−e¡ q−u−R Hje i¡−h k¡−a i¡SL HL¢V f§ZÑ 
pwMÉ¡ q−u k¡uz i¡S−Ll cn¢jL ¢h¾c¥ X¡e 
¢c−L ka…¢m Ol pl¡−a q−u−R, i¡−SÉl −n−o 
¢WL aa…¢m n§eÉ hp¡−e¡ q−u−Rz 

j−e l¡−M¡: cn¢jL iNÀ¡wn ¢c−u i¡N Ll¡l pju i¡S−Ll cn¢jL ¢h¾c¥ X¡e 
d¡−l pl¡−e¡ q−u−R Hje i¡−h k¡−a i¡SL HL¢V f§ZÑ pwMÉ¡ q−u k¡uz 
i¡S−Ll cn¢jL ¢h¾c¥ X¡e ¢c−L ka…¢m Ol pl¡−a q−u−R, i¡−SÉl −n−o 
¢WL aa…¢m n§eÉ hp¡−e¡ q−u−Rz 

cn¢jL iNÀ¡wn−L ¢c−u cn¢jL iNÀ¡wn i¡Ncn¢jL iNÀ¡wn−L ¢c−u cn¢jL iNÀ¡wn i¡Ncn¢jL iNÀ¡wn−L ¢c−u cn¢jL iNÀ¡wn i¡Ncn¢jL iNÀ¡wn−L ¢c−u cn¢jL iNÀ¡wn i¡N 

HC dl−el i¡NJ HLC ¢eu−j Ll¡ q−hz i¡S−Ll cn¢jL ¢h¾c¥−L X¡e 
d¡−l pl¡−a q−h, k¡−a i¡SL¢V HL¢V f§ZÑ pwMÉ¡ q−u k¡uz i¡S−Ll 
cn¢jL ¢h¾c¥ X¡e ¢c−L ka Ol pl¡−e¡ qm, i¡−SÉl cn¢jL ¢h¾c¥J ¢WL 
aa Ol X¡e ¢c−L pl¡−a q−h, fË−u¡Se q−m −n−o n§eÉ h¢p−uz  

HC dl−el i¡−Nl ¢euj¢Vl L−uL¢V Ec¡qlZ—   

425 │6800│16         

          425    

          2550   

          2550 
         0 

 27 

  1 
  9 

 10 
9 

10 
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31.2 ÷1.2   HM¡−e i¡N Ll−a q−h 312-−L 12 ¢c−u 

3.12 ÷ 1.2  HM¡−e i¡N Ll−a q−h 31.2-−L 12 ¢c−u 

31.2 ÷ 0.12  HM¡−e i¡N Ll−a q−h 3120-−L 12 ¢c−u 

Ae¤n£me 9.4 cn¢jL iNÀ¡w−nl i¡N 
 a. b. c. 

1. 24.56÷4 4872.88÷8 3.333÷11 

2. 632÷1.6 456÷1.2 63÷0.07 

3. 33÷0.003 420÷7.5 42÷0.075 

4. 5.75÷2.3 6.75÷2.5 43.2÷0.16 

4. 0.00064÷0.8 0.007÷0.035 65.34÷0.0027 

Ešl 9.4  
 a. b. c. 

1. 6.14 609.11 0.303 

2. 395 380 900 

3. 11000 56 560 

4. 2.5 2.7 270 

4. 0.0008 0.2 24200 
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f¡W 10. pj−ul f¢lj¡f 

10.1 HLV¡ ¢c−el pju j¡f¡  
Bjl¡ fË¢a¢ce −c¢M pL¡m qu, c¤f¤l N¢s−u ¢h−Lm B−p, påÉ¡ e¡−j J 
l¡a quz a¡lfl Bh¡l f−ll ¢ce B−pz HC i¡−h pju h−u Q−mz 
p§−kÑ¡cu −b−L p§kÑ¡Ù¹—HL HLV¡ ¢c−el ¢h¢iæ Awn−L Bjl¡ e¡j ¢cC HC 
i¡−h—f§−hl BL¡−n p§−kÑ¡cu qJu¡l ¢LR¥V¡ B−N −b−LC ¢c−el B−m¡ 
−g¡−V, −pC pjuV¡−L h¢m −i¡lz a¡lfl p§−kÑ¡c−ul fl −b−L −l¡c Qs¡ 
qJu¡ J j¡T BL¡−n p§kÑ Bp¡ (jdÉ¡q²) fkÑ¿¹ pjuV¡−L h¢m pL¡mz 
Hlfl Qs¡ −l¡c b¡−L (BL¡n −jOm¡ e¡ q−m) J p§kÑ œ²jn f¢ÕQj ¢c−L 
−k−a b¡−Lz HC pjuV¡ qm c¤f¤lz a¡lfl p§kÑ f¢ÕQj BL¡−n Q−m H−m 
−l¡−cl −aS L−j B−p, Bjl¡ h¢m ¢h−Lm qmz ¢h−Lm b¡−L p§kÑ¡Ù¹ qJu¡l 
B−N fkÑ¿¹z p§kÑ¡−Ù¹l f−l ¢LR¥V¡ pju B−m¡-Bd¡y¢l b¡−L, Bjl¡ h¢m påÉ¡ 
qmz Hlfl AåL¡l Oe q−a b¡−Lz f−ll ¢c−e −i¡−ll B−m¡ −g¡V¡ fkÑ¿¹ 
HC pjuV¡ qm l¡az   

Bjl¡ HL HLV¡ ¢c−el Awn−L e¡j ¢c−mJ HC i¡−h pju−L ¢e¢cÑø 
L−l j¡f−a f¡¢l e¡z HLV¡ ¢c−el pju−L j¡f¡l SeÉ Bjl¡ f¢lj¡f 
¢qp¡−h hÉhq¡l L¢l O¾V¡, ¢j¢eV, −p−Läz HC f¢lj¡f¢V Bjl¡ ¢nMhz 

HLV¡ ¢c−el pju−L Bjl¡ d¢l 24 O¾V¡ (Cw−l¢S−a BJu¡lÚ), k¡−L 
c¤¢V pj¡e i¡−N i¡N L−l f¡C, jdÉl¡a −b−L jdÉ¡q² h¡ jdÉ¢ce qm 12 
O¾V¡ J jdÉ¡q² −b−L jdÉl¡a fkÑ¿¹ qm B−l¡ 12 O¾V¡z  
  1     2    3  4    5    6    7   8 9    10  11 12   13  14  15 16  17  18  19 20  21  22  23  24  

 0                12                  12  

pj−ul −pË¡−a HLV¡ ¢c−el f−l Bl HLV¡ ¢ce B−pz jdÉl¡a−L 0 d−l 
¢c−el pju j¡f¡ öl¦ qu, HL, c¤C, ¢ae.....O¾V¡ L−l (h¡wm¡ j−a p§−k¡Ñcu 
−b−L ¢ce öl¦ qu)z 12 O¾V¡ f−l jdÉ¡q² B−p, k¡−L Bjl¡ h¢m −hm¡ 
h¡−l¡V¡, J a¡lfl B−l¡ 12 O¾V¡ (h¡ ¢c−el öl¦ −b−L −j¡V 24 O¾V¡) 
f¡l q−u B−p Bh¡l jdÉl¡a—HL¢V ¢c−el −no J f−ll ¢c−el öl¦ z 

 

jdÉl¡a jdÉ¡q² jdÉl¡a
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10.2 O¢s −cM¡ J pju hm¡ J −mM¡ 
O¢s (Cw−l¢S−a h−m LÓLÚ) qm HL¢V ¢c−el pju 
¢e−cÑn Ll¡l k¿»z p¡d¡lZ O¢s−a 12¢V O¾V¡ −cM¡−e¡ 
b¡−L Qœ²¡L¡−l, Bl pju ¢e−cÑn Ll¡l ¢ae¢V Ly¡V¡ 
b¡−L, −k…¢m Qœ²L¡−l −O¡−l O¢sl h¡y¢cL −b−L 
X¡e¢c−L, j¡−e −k¢c−L O¤l−m L¡yV¡ k¡u pwMÉ¡ 1 −b−L 
12 fkÑ¿¹ z HC i¡−h Qœ²¡L¡−l −O¡l¡−L Cw−l¢S−a h−m 
LÓLÚ-Ju¡CpÚ −j¡neÚz Hh¡−l mr L−l¡ L¡yV¡…¢mz c¤¢V j§m L¡yV¡l HL¢V −R¡V, 
k¡ O¾V¡−L ¢e−cÑn L−l J AeÉ¢V hs, k¡ ¢j¢eV −h¡T¡uz a«a£u L¡yV¡¢V 
r£ZL¡u qu (A−eL O¢s−a −cJu¡ b¡−L e¡), k¡ −p−Lä j¡−fz HR¡s¡ 
B−lL lL−jl O¢s BSL¡m Q¡m¤ q−u−R (¢X¢SV¡m LÓL)z H−a L¡yV¡ b¡−L 
e¡z pju −cM¡−e¡ qu pwMÉ¡ ¢c−uz H−L B¢ˆL ( Cw−l¢S−a h−m ¢X¢SV¡m) 
O¢sz −j¡h¡Cm −g¡−e HlLj O¢s −cM¡ k¡uz 

O¢s−a L£i¡−h pju −cM¡−e¡ qu h¤T−a Bj¡−cl S¡e−a q−h O¾V¡, 
¢j¢eV J −p−L−äl f¢lj¡f¢Vz HLV¡ ¢ce−L 24¢V O¾V¡u i¡N L−l HL 
HL¢V O¾V¡−L Bjl¡ Bh¡l 12¢V i¡N L−l HL HL i¡−N 5¢V L−l ¢j¢eV 
d¢lz a¡q−m HL O¾V¡u b¡−L 60 (12x5) ¢j¢eVz Bh¡l HL HL¢V 
¢j¢eV−L Bjl¡ 12¢V i¡N L−l HL HL i¡−N 5¢V L−l −p−Lä d¢lz 
a¡q−m HL ¢j¢e−V b¡−L 60 (12x5) −p−Läz  

j−e l¡−M¡:   1 ¢ce   =   24 O¾V¡ 
     1 O¾V¡   =   60 ¢j¢eV 
     1 ¢j¢eV  =   60 −p−Lä 

1¢V O¾V¡−L 12¢V i¡N L−l fË¢a i¡−N 5¢V L−l ¢j¢eV J 1¢V ¢j¢eV−L 
12¢V i¡N L−l fË¢a i¡−N 5¢V L−l −p−Lä −cM¡−e¡l SeÉ O¢sl hªš¢V−L 
12¢V O−l i¡N L−l fË¢a¢V O−l 5¢V L−l ¢h¾c¥ (−j¡V 60¢V ¢h¾c¥) b¡−Lz  

Hh¡l Bjl¡ −cMh O¢sl ¢ae¢V L¡yV¡ ¢c−u L£i¡−h HL¢V ¢c−el pju 
j¡f¡ k¡uz Bjl¡ S¡¢e −k HL¢V ¢c−el −no qm Bl HL¢V ¢c−el öl¦z 
O¢s−a 12 −mM¡ ¢h¾c¥¢V−L Bjl¡ HL¢V ¢c−el −no J f−ll ¢ce¢Vl öl¦ 
¢qp¡−h dlhz −L¡eJ l¡−a O¢sl ¢ae¢V L¡yV¡C HLp¡−b 12 −mM¡ ¢h¾c¥¢V−a 
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b¡L−m Bjl¡ dlh JC ¢ce¢Vl pju qm 24 O¾V¡ (j¡−e −no) J f−ll 
¢ce¢Vl pju qm 0 (j¡−e öl¦)z HL¢V ¢c−el öl¦l f−l ¢ae¢V L¡yV¡C 
AhnÉ HLp¡−b 12 ¢h¾c¥¢V−a Bh¡l HLh¡l Bp−h ¢c−el −hm¡u, ¢WL 12 
O¾V¡ f−lz  

HL¢V ¢c−el öl¦, AbÑ¡v 12 −mM¡ ¢h¾c¥¢V−L 0 d−l Bjl¡ −cMh 
−p−L−äl L¡yV¡¢V O¤−l Q−m−R J HL HL L−l f¡yQ¢V ¢h¾c¥l Ol…¢m f¡l 
q−µRz a¡C −p−L−äl Ly¡V¡¢V 3 −mM¡ ¢h¾c¥¢V−a Bp−m hmh 15 (3x5) 
−p−Lä, 7 −mM¡ ¢h¾c¥¢V−a Bp−m hmh 35 (7x5) −p−Lä q−u−Rz HC 
i¡−h −p−L−äl Ly¡V¡¢V Bh¡l 12 −mM¡ ¢h¾c¥¢V−a Bp−m hmh 60 (12x5) 
−p−Lä h¡ 1 ¢j¢eV q−u−Rz Hl g−m ¢j¢e−Vl Ly¡V¡¢V HL ¢h¾c¥ p−l B−p, 
−h¡T¡ k¡u 1 ¢j¢eV f¡l q−u−Rz HC i¡−h −p−L−äl Ly¡V¡¢V 15 h¡l f¤−l¡ 
hªš¢V O¤l−m 15 ¢j¢eV f¡l qu, g−m ¢j¢e−Vl Ly¡V¡¢V 3 −mM¡ ¢h¾c¥¢Vl Jfl 
B−pz a¡q−m Bjl¡ h¤Tm¡j — ¢j¢e−Vl Ly¡V¡¢V 4 −mM¡ ¢h¾c¥¢V−a Bp−m 
20 (4x5) ¢j¢eV, 9 −mM¡ ¢h¾c¥¢V−a Bp−m 45 (9x5) ¢j¢eV f¡l q−u−Rz 
HLC i¡−h ¢j¢e−Vl Ly¡V¡¢V 12 −mM¡ ¢h¾c¥¢V−a Bp−m hmh 60 (12x5) 
¢j¢eV h¡ 1 O¾V¡ f¡l q−u−Rz Hl g−m O¾V¡l Ly¡V¡¢V HL Ol p−l, −h¡T¡ 
k¡u 1 O¾V¡ f¡l q−u−Rz   

HC i¡−h ¢j¢e−Vl Ly¡V¡¢V ¢WL 7 h¡l f¤−l¡ hªš¢V O¤l−m 7 O¾V¡ f¡l 
qu, g−m O¾V¡l Ly¡V¡¢V ¢WL 7 −mM¡ ¢h¾c¥¢Vl Jfl B−pz mr L−l¡, 
HlflJ −p−L−äl Ly¡V¡ O¤l−R J ¢j¢e−Vl Ly¡V¡ HL ¢h¾c¥ L−l pl−Rz a¡C 
¢j¢e−Vl Ly¡V¡ Bh¡l 12¢V Ol f¡l q−m 8 h¡l f¤−l¡ hªš¢V −O¡l¡ q−hz 
O¾V¡l Ly¡V¡¢V a¡l B−N fkÑ¿¹ 7 −b−L 8-Hl O−l b¡L−h J HLV¥ HLV¥ 
L−l 8 ¢h¾c¥¢Vl ¢c−L k¡−hz a¡C O¾V¡l Ly¡V¡ 7 −b−L 8-Hl j−dÉ b¡L−m 
Bjl¡ hmh 7 O¾V¡ (f¡l q−u−R), J HLC i¡−h 2 −b−L 3-Hl j−dÉ 
b¡L−m Bjl¡ hmh 2 O¾V¡ (f¡l q−u−R), 5 −b−L 6-Hl j−dÉ b¡L−m 
Bjl¡ hmh 5 O¾V¡ (f¡l q−u−R)z AbÑ¡v, −k O¾V¡¢V pcÉ f¡l q−u−R a¡C 
¢c−u Bjl¡ O¾V¡l pjuV¡ hmhz 
j−e l¡−M¡: −p−Lä h¡ ¢j¢e−Vl Ly¡V¡l pju ¢e−cÑn¢V fs−a qu −L¡eÚ O−ll 
−L¡eÚ ¢h¾c¥−a Ly¡V¡¢Vl AhÙÛ¡e a¡C −c−Mz ¢L¿¹¥ O¾V¡l Ly¡V¡¢Vl O¾V¡ ¢e−cÑn¢V 
fsh −L¡e Ol f¡l q−u Ly¡V¡¢V B−R a¡C ¢c−uz 
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pju hm¡pju hm¡pju hm¡pju hm¡        
O¢s−a pju −cM¡l SeÉ Bjl¡ fËb−j −cMh O¾V¡l Ly¡V¡¢V −L¡eÚ Ol f¡l 
q−u−R, J a¡lfl −cMh ¢j¢eV J −p−L−äl Ly¡V¡ −L¡eÚ O−ll −L¡eÚ ¢h¾c¥−a 
B−Rz A−eL O¢s−aC Ol…¢m −mM¡ b¡L−mJ HL HL¢V O−ll fy¡Q¢V L−l 
¢h¾c¥ −cM¡−e¡ e¡J b¡L−a f¡−lz −p−r−œ Bjl¡ HL HL¢V O−l fy¡Q¢V L−l 
¢h¾c¥ B¾c¡S L−l ¢eCz Hh¡l −c−M¡, Ef−ll fËbj O¢sl R¢h¢V−a −cM¡−µR 
10 O¾V¡ 10 ¢j¢eV 31 −p−Läz HLC i¡−h f−s h−m¡ ¢e−Ql O¢s…¢ml 
−L¡eV¡Ú L£ pju −cM¡−µRz 
 
 
 

          a.          b.     c.      d. 

Bjl¡ HC Q¡l¢V O¢s−a −k pju −cM¡−µR a¡ hm−a f¡¢l HC i¡−h— 
a.  3 O¾V¡ 35 ¢j¢eV 54 −p−Lä,  b. 6 O¾V¡ 45 ¢j¢eV 55 −p−Lä,  
c. 4 O¾V¡ 10 ¢j¢eV 40 −p−Lä, J  d.  11 O¾V¡ 40 ¢j¢eV 15 −p−Läz  

Q¢ma Lb¡u −p−Lä EqÉ −l−M hm−a f¡¢l—  

a. ¢ae−V −h−S fyu¢œn (Cw−l¢S−a ¢j¢eV−L B−N h−m—b¡¢VÑ g¡Ci f¡pÚV 
bË£), b. RV¡ −h−S fyua¡¢õn, c. Q¡l−V −h−S F¢en, d. HN¡−l¡V¡ −h−S Q¢õnz   

mr L−l¡, ¢j¢e−Vl Ly¡V¡¢V −cM¡u HL¢V O¾V¡l f−l La ¢j¢eV f¡l 
q−u−R, k¡l Bl HLV¡ j¡−e qm f−ll O¾V¡u −fy±R−a BlJ La ¢j¢eV 
(60 ¢j¢eV −b−L ¢h−u¡N L−l) h¡¢L B−Rz a¡C −k−L¡eJ O¾V¡l 30 ¢j¢eV 
f¡l q−u −N−m f−ll O¾V¡ Bp−a B−l¡ La ¢j¢eV h¡¢L B−R −pV¡ hm−m 
pjuV¡ −h¡T¡ B−l¡ pqS quz −pC SeÉ Bjl¡ ¢ae−V −h−S f’¡æ hm¡l 
hc−m hmh, Q¡l−V h¡S−a fy¡Q (Cw−l¢S−a g¡Ci ¢j¢eVpÚ V¥ −g¡lÚ)z  

¢ae¢V −r−œ ¢j¢e−Vl pju¢V−L AeÉ i¡−hJ hm¡ quz −k−qa¥ Bjl¡ 60 
¢j¢eV pju−L h¡ O¢sl hªš¢V−L Q¡l¢V i¡−N −cM−a f¡¢l, HL HL¢V i¡−N 
15 ¢j¢eV L−l, a¡C Bjl¡ pJu¡ (15 ¢j¢eV), p¡−s (30 ¢j¢eV) J −f±−e 
(45 ¢j¢eV) në…¢m hÉhq¡l Ll−a f¡¢l HC ¢ae¢V −r−œ, ¢j¢e−Vl pju¢V 
hm−az a¡C 3-−V −h−S 15-−L hm−a f¡¢l pJu¡ ¢ae−V (Cw−l¢S−a 
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−L¡u¡VÑ¡l f¡pÚV bË£), 3-−V −h−S 30-−L hm−a f¡¢l p¡−s ¢ae−V 
(Cw−l¢S−a q¡gÚ f¡pÚV bË£), J 3-−V −h−S 45-−L hm−a f¡¢l −f±−e Q¡l−V 
(Cw−l¢S−a −L¡u¡VÑ¡l V¥ −g¡lÚ)z 
pju −mM¡ pju −mM¡ pju −mM¡ pju −mM¡     
Hh¡−l −cMh HL¢V ¢c−el pju−L Bjl¡ L£i¡−h ¢mMhz Bjl¡ fËb−j ¢mMh 
O¾V¡, a¡lfl ¢j¢eV J a¡lfl −p−Lä, Hhw j¡−T −ch −L¡me ¢Qq² (:)z 
p¤¤al¡w,  3 O¾V¡ 35 ¢j¢eV 54 −p−Lä−L ¢mMh 3:35:54 z ¢L¿¹¥ HM¡−e 
Bjl¡ HLV¡ pjpÉ¡ −cM¢Rz Bjl¡ S¡¢e −k, HLV¡ ¢c−el 24 O¾V¡−L 
Bjl¡ 12 O¾V¡ L−l c¤C¢V i¡−N −l−M¢R—jdÉl¡a −b−L jdÉ¡q² qm HL¢V 
¢c−el fËbj 12 O¾V¡ J jdÉ¡q² −b−L Bh¡l jdÉl¡a qm ¢ce¢Vl f−ll 12 
O¾V¡z O¢sl O¾V¡l Ly¡V¡¢V a¡C HL¢V ¢c−e 12 O¾V¡l hªš¢V c¤Ch¡l O¤l−Rz 
a¡q−m −cM¡ k¡−µR 12 O¾V¡l O¢sl −L¡eJ HL¢V pju pL¡−mJ q−a f¡−l 
Bh¡l l¡−aJ q−a f¡−l—−kje,  8 O¾V¡ 47 ¢j¢eV 23 −p−Lä h¡ 
8:47:23 pjuV¡ pL¡−mJ q−a f¡−l Bh¡l l¡−aJ q−a f¡−lz a¡C pju 
¢mM−a Bj¡−cl E−õM Ll−aC qu pjuV¡ pL¡−ml (¢ch¡) e¡ l¡−al 
(l¡œ)z pju hm¡u HC pjpÉ¡ que¡, L¡lZ k¡−L HMeL¡l pju hm¢R −p 
−a¡ −cM−aC f¡−µR HMe ¢ce e¡ l¡az   

B¿¹SÑ¡¢aL ¢eu−j pju −mM¡l SeÉ Bjl¡ ¢ch¡ h¡ l¡œ −mM¡l hc−m 
pj−ul −n−o ¢m¢M H.Hj. (a.m.) h¡ ¢f. Hj. (p.m.)z Cw−l¢S−a a.m. 

Lb¡¢Vl f¤−l¡ qm ‘AÉ¡¾VC −j¢l¢Xu¡e’ (ante meridian) J p.m. Lb¡¢Vl 
f¤−l¡ qm ‘−f¡pÚV −j¢l¢Xu¡e’ (post meridian)z Bjl¡ fª¢bh£l −k−L¡eJ 
ÙÛ¡−e cy¡¢s−u k¢c Ešl −jl¦ −b−L c¢rZ −jl¦ fkÑ¿¹ −L¡eJ −lM¡ LÒfe¡ 
L¢l, a¡q−m −pC −lM¡ −pC ÙÛ¡−el jdÉ BL¡n ¢c−u Ešl −b−L c¢rZ 
hl¡hl k¡uz HC −lM¡¢V−L −pC ÙÛ¡−el ‘−j¢l¢Xu¡e’ h−mz HL¢V ¢c−el fËbj 
i¡−N (jdÉl¡a −b−L jdÉ¡q²) p§kÑ−L Bjl¡ −c¢M HC −lM¡¢Vl f§hÑ ¢c−L J 
a¡−L œ²jn f¢ÕQ−jl ¢c−L −k−a −c¢Mz ‘AÉ¡¾VC’ Lb¡V¡l j¡−e qm B−Nz 
Hlfl ¢c−el ¢àa£u i¡−Nl (jdÉ¡q² −b−L jdÉl¡a) öl¦−a p§kÑ jdÉ BL¡−n 
H−p HC −lM¡¢V f¡l q−u k¡uz ‘−f¡pÚV’ Lb¡¢Vl j¡−e qm f−lz −pCSeÉ 
HL¢V ¢c−el l¡a 12V¡ −b−L −hm¡ 12V¡ fkÑ¿¹ pju−L hm¡ qu a.m. J 
−hm¡ h¡−l¡V¡ −b−L l¡a 12V¡ fkÑ¿¹ pju−L hm¡ qu  p.m.z j−e l¡−M¡, ¢WL 
l¡a 12V¡ (12:00:00) pjuV¡ a.m.-J eu p.m.-J eu, a¡C l¡a 12V¡l 
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f¡−n ¢mM−a q−h jdÉl¡a (Cw−l¢S−a ¢jXe¡CVÚ) Hhw HLC L¡l−Z −hm¡ 
¢WL 12V¡l f¡−n ¢mM−a q−h jdÉ¡q² (Cw−l¢S−a e§eÚ)z 

pju−L HC i¡−h ¢mM−m Bj¡−cl −n−o a.m. e¡ p.m. (J c¤¢V ¢h−no 
−r−œ ¢jXe¡CV h¡ e§eÚ) ¢mM−aC q−µRz e¡q−mC pjuV¡ …¢m−u k¡−µR—l¡a 
e¡ ¢ce −h¡T¡ k¡−µR e¡z a¡C pju −mM¡l AeÉ Bl HL¢V fÜ¢a B−R, k¡ 
−VÊ−el pju p¡l¢Z−a −cM¡ k¡u J −kM¡−e ¢cel¡a d−l L¡S qu, −kje 
q¡pf¡a¡m, −V¢m¢in−el Mhl¡Mhl −cM¡−e¡, CaÉ¡¢cz HC fÜ¢a−a HL¢V 
¢c−el pju−L c¤C i¡−N 12 O¾V¡ d−l −mM¡l hc−m V¡e¡ 24 O¾V¡ d−l 
−mM¡ quz p¤¤al¡w, HL¢V ¢c−el fËbj i¡N¢V−L (jdÉl¡a −b−L jdÉ¡q²) 0 
−b−L 12 O¾V¡ ¢c−u −kje −mM¡ q−µR a¡ B−Nl ¢eu−jC q−hz ¢L¿¹¥ ¢c−el 
¢àa£u i¡N¢V−L (jdÉ¡q² −b−L jdÉl¡a) −mM¡ q−h 13 −b−L 24 O¾V¡uz HC 
c¤C i¡−h pju −mM¡l Ec¡qlZ— 

    3:43:23  a.m.  = 03:43:23 

     7:24:12  a.m.  = 07:24:12 

   11:52:43 a.m.  = 11:52:43 

12 noon    = 12:00:00  

    3:43:23  p.m.  = 15:43:23 

     7:24:12  p.m.  = 19:24:12 

   11:52:43 p.m.  = 23:52:43 

12 midnight   = 00:00:00 

Ae¤n£me 10.1 ¢e−Ql O¢s…¢m−a −cM¡−e¡ pju−L ¢h¢iæ i¡−h −m−M¡ 

 

 
 
 
        A     B     C     D 
LV¡ −h−S La ¢ae−V fuy¢œn     
LV¡ h¡S−a La Q¡l−V h¡S−a fy¢Qn    
¢c−el pju q−m 3:35:55 a.m.    

24 O¾V¡l ¢qp¡−h 03:35:55    

c¤f¤−ll f−l q−m 3:35:55 p.m.    

24 O¾V¡l ¢qp¡−h 15:35:55    
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−lmJ−u −VÊ−el pjuf¢” fs¡−lmJ−u −VÊ−el pjuf¢” fs¡−lmJ−u −VÊ−el pjuf¢” fs¡−lmJ−u −VÊ−el pjuf¢” fs¡    
pjuf¢”−a −lmJ−u p¡l¡ −c−n ¢h¢iæ −VÊe Qm¡Q−ml pju fËL¡n L−lz Hl 
−b−L Bjl¡ S¡e−a f¡¢l −L¡eÚ −VÊe LMe −L¡b¡ −b−L −R−s −L¡b¡u k¡uz 
pjuf¢”−a −mM¡ b¡−L −VÊ−el eðl J e¡j, −ØVn−el e¡j Hhw HL HL¢V 
−ØVn−e −VÊe LMe B−p (Cw−l¢S−a h−m AÉ¡l¡Ci¡mÚ, k¡−L pw−r−f −mM¡ 
qu ‘a’ ¢c−u) J −pM¡e −b−L LMe R¡−s (Cw−l¢S h−m ¢Xf¡lÚQ¡lÚ, k¡−L 
pw−r−f −mM¡ qu ‘d’ ¢c−u)z j−e l¡M−a q−h, HM¡−e pju −mM¡ qu 24 
O¾V¡l O¢s ¢qp¡−hz Bl j−e l¡M−a q−h −k, −VÊe fËb−j −L¡eJ HL¢V 
−ØVne −b−L −R−s −no N¿¹hÉ −ØVn−e k¡u (H−L h−m Bf −VÊe, −mM¡ qu 
‘Up’ ¢c−u) J a¡lfl −pM¡e −b−L −gla B−p (H−L h−m X¡Ee −VÊe, 
−mM¡ qu ‘Dn’ ¢c−u)z −VÊ−el pjuf¢”−a a¡C c¤¢V L−l p¡l¢Z b¡−L—Bf 
J X¡Ee −VÊ−elz mr L−l¡, Bf J X¡Ee −VÊ−el A¢ij¤M ¢WL ¢hfl£az 
a¡C −L¡eJ HL¢V −ØVne −b−L AeÉ HL¢V −ØVn−e −k−a q−m Bj¡−cl 
fËb−jC h¤−T ¢e−a q−h Bf e¡ X¡Ee −VÊe dl−a q−hz ¢e−Q −c−M¡ X¡Ee 
−VÊ−el pjuf¢” −Lje q−a f¡−l z 

Up      −VÊ−el 
eðl,   e¡j 
−ØVne 

341 

°eq¡¢V 
−m¡L¡m 

563 

hÉ¡l¡Lf¤l 
−m¡L¡m 

143 

LmÉ¡Z£ 
−m¡L¡m 

455 
l¡Z¡O¡V 
−m¡L¡m 

267 
n¡¢¿¹f¤l 
−m¡L¡m 

743 

L«o·eNl 
−m¡L¡m 

¢nu¡mcq       a – – – – – – 

d 03:50 04:20 4:40 23:50 14:25 11:55 

E−ÒV¡X¡P¡           a 03:58 – 4:47 23:57 14:33 12:03 

d 04:00  4:48 23:58 14:34 12:04 

cjcj         a 04:11 04:30 4:59 00:08 14:45 12:15 

d 04:13 04:13 5:01 00:12 14:47 12:16 

−hmO¢lu¡            a 04:21 – 5:10 00:20 14:55 12:24 

d 04:22  5:11 00:22 14:56 12:25 

BNlf¡s¡          a 04:27 – 5:16 00:27 15:01 12:30 

d 04:28  5:18 00:28 15:02 12:31 

−p¡cf¤l              a 04:35 04:23 5:25 00:35 15:09 12:38 

d 04:37 04:25 5:27 00:37 15:10 12:39 

Mscq         a 04:43 – 5:33 00:43 15:16 12:45 

d 04:44  5:34 00:45 15:18 12:46 

¢VV¡Ns               a 04:52 – 5:41 00:53 15:26 12:54 

d 04:53  5:42 00:55 15:27 12:56 

hÉ¡l¡Lf¤l           a 05:00 04:55 5:50 01:02 15:34 13:03 

d 05:04 – 5:53 01:05 15:35 13:05 
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−VÊ−el pjuf¢” −c−M Bjl¡ hm−a f¡¢l −L¡eÚ −ØVne −b−L −L¡eÚ −ØVn−e 
−k−a −L¡eÚ −VÊ−e La pju m¡−N, −kje E−ÒV¡X¡P¡ −b−L ¢VV¡Ns −k−a 455 
l¡Z¡O¡V −m¡L¡m pju −eu 55 ¢j¢eV; 743 L«o·eNl −m¡L¡m ¢nu¡mcq −b−L 
−R−s 35 ¢j¢eV f−l BNlf¡s¡ −ØVn−e −fy±Ruz HC ¢q−ph…¢m Ll−a 
Bj¡−cl S¡e−a q−h pj−ul −k¡N J ¢h−u¡N L£i¡−h Llhz 

10.3 pju f¢lj¡−fl l©f¡¿¹l J −k¡N-¢h−u¡N …Z-i¡N 
pju f¢lj¡−fl l©f¡¿¹lpju f¢lj¡−fl l©f¡¿¹lpju f¢lj¡−fl l©f¡¿¹lpju f¢lj¡−fl l©f¡¿¹l    
Bjl¡ S¡¢e −k 24 O¾V¡u 1 ¢ce, 60 ¢j¢e−V 1 O¾V¡, J 60 −p−L−ä 1 
¢j¢eVz p¤¤al¡w, Bjl¡ ¢ce−L (24 ¢c−u …Z L−l) O¾V¡u, O¾V¡−L (60 
¢c−u …Z L−l) ¢j¢e−V, J ¢j¢eV−L (60 ¢c−u …Z L−l) −p−L−ä fËL¡n 
Ll−a f¡¢lz E−ÒV¡V¡J Ll¡ −k−a f¡−l …−Zl hc−m i¡N L−lz 

Ec¡qlZ:  5 ¢ce 7 O¾V¡ j¡−e La O¾V¡? 
Ešl:   5 x 24 + 7 = 120 + 7 = 127 O¾V¡z 

Ec¡qlZ:  10 ¢ce 5 O¾V¡ 42 ¢j¢eV j¡−e La ¢j¢eV? 
Ešl:   [(10 x 24) + 5] x 60 + 42  

= 245 x 60 + 42 = 14700 + 42= 14742 ¢j¢eVz 

Ec¡qlZ:  3 ¢ce 7 O¾V¡ 15 ¢j¢eV 32 −p−Lä j¡−e La −p−Lä? 
Ešl:   [{(3 x 24)+7} x 60 + 15]x 60 + 32    

= [(72+7) x 60 + 15] x 60 + 32  

= [4740+15] x 60 + 32 = 4755 x 60 + 32   

= 285300+32 = 285332 −p−Läz 
Ae¤n£me 10.2 pju f¢lj¡−fl l©f¡¿¹l  

 a. b. c. 

O¾V¡u fËL¡n L−l¡ 9 ¢ce 4 O¾V¡ 8 ¢ce 6 O¾V¡ 12 ¢ce 2 O¾V¡ 

¢j¢e−V fËL¡n L−l¡ 
3 ¢ce 7 O¾V¡ 
42 ¢j¢eV 

8 ¢ce 9 O¾V¡ 
32 ¢j¢eV 

15 ¢ce 9 O¾V¡ 
8 ¢j¢eV 

−p−L−ä fËL¡n L−l¡ 
2 ¢ce 11 
O¾V¡ 8 ¢j¢eV 
32 −p−Lä 

22 ¢ce 6 
O¾V¡ 25 ¢j¢eV 
58 −p−Lä 

12 ¢ce 10 O¾V¡ 
50 ¢j¢eV 52 
−p−Lä 
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 Ešl 10.2  
1a. 220 O¾V¡ 1b. 198 O¾V¡  1c. 290 O¾V¡ 
2a. 4782 ¢j¢eV 2b. 12092 ¢j¢eV 2c. 22148 ¢j¢eV 

3a. 212912 −p−Lä 3b. 1923958 −p−Lä 3c. 1075852 −p−Lä 

Jf−ll Ec¡qlZ…¢m −b−L −h¡T¡ k¡u −k Bjl¡ E−ÒV¡V¡J Ll−a f¡¢lz 
−p−L−ä fËL¡¢na −L¡eJ pju 60 −p−L−äl −h¢n q−m a¡−L Bjl¡ ¢j¢eV 
J −p−L−ä fËL¡n Ll−a f¡¢l, (60x60) h¡ 3600 −p−L−äl −h¢n q−m 
Bjl¡ O¾V¡, ¢j¢eV J −p−L−ä fËL¡n Ll−a f¡¢l, Bl (24x3600) h¡ 
86400 −p−L−äl −h¢n q−m ¢ce, O¾V¡, ¢j¢eV J −p−L−ä fËL¡n Ll−a 
f¡¢lz Hl SeÉ Bj¡−cl fË¢œ²u¡¢V E−ÒV¡, AbÑ¡v i¡N Ll−a q−hz 
Ec¡qlZ:  294 −p−Lä−L ¢j¢eV J −p−L−ä fËL¡n L−l¡ z 
Hl Ešl −f−a Bjl¡ 60 ¢c−u i¡N L−l −cMh 294 −p−L−äl j−dÉ 
La…¢m 60 −p−Lä B−Rz i¡Ngm¢V −b−L f¡h La…¢m 60 −p−Lä h¡ 
¢j¢eV B−Rz Bl i¡N−no¢V (60-Hl −b−L Lj) −p−Lä ¢qp¡−hC −b−L 
k¡−hz p¤¤al¡w, HM¡−e Bjl¡ f¡h— 
   294÷ 60 =        = 4       =  4 ¢j¢eV  54 −p−Lä−p−Lä−p−Lä−p−Lä z 

Ec¡qlZ:  7658 −p−Lä−L O¾V¡, ¢j¢eV J −p−L−ä fËL¡n L−l¡ z 
HM¡−e Bjl¡ c¤¢V d¡−f i¡N Llhz fËb−j 60 ¢c−u i¡N L−l Bjl¡ ¢j¢eV 
J −p−L−ä fËL¡n Llhz Jf−ll Ec¡ql−Zl j−a¡ Bjl¡ i¡Ngm¢V f¡h 
¢j¢e−V J i¡N−no b¡L−h −p−L−äz a¡lfl ¢j¢eV−L (60-Hl −h¢n q−m) 
Bh¡l 60 ¢c−u i¡N L−l O¾V¡ J ¢j¢e−V fËL¡n Llhz HM¡−e i¡Ngm f¡h 
O¾V¡u J i¡N−no b¡L−h ¢j¢e−Vz 

7658÷ 60 =          = 127       =   127 ¢j¢eV + 38 −p−Lä−p−Lä−p−Lä−p−Lä 

      127÷ 60  =     = 2           =  2 O¾V¡ + 7 ¢j¢eV¢j¢eV¢j¢eV¢j¢eV    
p¤¤al¡w, Ešl qm: 2 O¾V¡ 7 ¢j¢eV 38 −p−Lä z 

Ec¡qlZ: 9662 −p−Lä−L ¢ce, O¾V¡, ¢j¢eV J −p−L−ä fËL¡n L−l¡z 
HM¡−e Bjl¡ ¢ae¢V d¡−f i¡N Llhz mr L−l¡, a«a£u d¡−f O¾V¡−L ¢c−e 
fËL¡n Ll−a Bjl¡ 24 ¢c−u i¡N Llhz  

294 

  60 
  54 

  60 

7658 

   60 
38 

  60 
127 

  60 

7 

  60 
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96624÷ 60 =          =1610        = 1610 ¢j¢eV + 24 −p−Lä−p−Lä−p−Lä−p−Lä     
1610÷ 60   =      = 26          =  26 O¾V¡ + 40 ¢j¢eV¢j¢eV¢j¢eV¢j¢eV 

26÷ 24    =    =  1    =  1 ¢ce  2 O¾V¡O¾V¡O¾V¡O¾V¡ 
p¤¤al¡w, Ešl qm: 1 ¢ce  2 O¾V¡ 40 ¢j¢eV 24 −p−Lä z 

Ae¤n£me 10.3 pju f¢lj¡−fl l©f¡¿¹l  
 −p−L−ä −cJu¡ pju−L a. b. c. 

¢j¢eV J −p−L−ä fËL¡n L−l¡ 1968 2472 3349 

O¾V¡, ¢j¢eV J −p−L−ä fËL¡n L−l¡ 8903 12450 80400 

¢ce, O¾V¡, ¢j¢eV J −p−L−ä fËL¡n L−l¡ 110312 324508 764087 

Ešl 10.3  
 a. b. c. 

1. 32 ¢j¢eV 48 −p−Lä 41 ¢j¢eV 12 −p−Lä 55 ¢j¢eV 49 −p−Lä 

2. 2 O¾V¡, 28 ¢j¢eV 23 
−p−Lä 

3 O¾V¡, 27 ¢j¢eV 30 

−p−Lä 

22 O¾V¡, 20 ¢j¢eV 0    
−p−Lä 

3. 1 ¢ce, 6 O¾V¡, 38  

¢j¢eV 32 −p−Lä 

3 ¢ce, 18 O¾V¡, 8 

¢j¢eV 28 −p−Lä 

8 ¢ce, 20 O¾V¡, 14 

¢j¢eV 47 −p−Lä 

pj−ul −k¡Npj−ul −k¡Npj−ul −k¡Npj−ul −k¡N----¢h−u¡N J …Z¢h−u¡N J …Z¢h−u¡N J …Z¢h−u¡N J …Z----i¡Ni¡Ni¡Ni¡N    
pju ¢e−u A−ˆl HC fË¢œ²u¡…¢m Ll−a pj−ul j¡fL¡¢W¢V −Mu¡m l¡M−a 
q−h—24 O¾V¡u 1 ¢ce, 60 ¢j¢e−V 1 O¾V¡, J 60 −p−L−ä 1 ¢j¢eVz   

−k¡N J ¢h−u¡−Nl Ec¡qlZ −cM¡ k¡Lz 
HMe pju 5V¡ −h−S 45 ¢j¢eV 37 
−p−Lä q−m 3 O¾V¡ 18 ¢j¢eV 32 
−p−Lä f−l LV¡ h¡S−h, J  2 O¾V¡ 48 
¢j¢eV 49 −p−Lä B−N LV¡ −h−S¢Rm? 
fËbj fËnÀ¢Vl Ešl −f−a Bj¡−cl 
5:45:37-Hl p−‰ 3:18:32 −k¡N Ll−a 
q−h, Bl ¢àa£u fË−nÀl Ešl f¡h 5:45:37 −b−L 2:48:49 ¢h−u¡N L−lz 
mr L−l¡: −k¡N öl¦ q−h −p−L−äl Ol −b−L z −p−L−äl O−l −k¡Ngm qm 
69, ¢j¢e−Vl O−l 63, J O¾V¡l O−l 8z Bjl¡ S¡¢e 60 −p−L−ä 1 

−k¡N : 5:45:37+3:18:32 
O¾V¡ ¢j¢eV −p−Lä 

5 45 37 

3 18 32 

   8+1    63+1 69 

9 04 09 
Ešl: 9V¡ 4 ¢j¢eV 9 −p−Lä 

96624 

   60 
1610 

   60 

24 

   60 
  40 

  60 
  26 

  24 
   2 

  24 



 

Aˆ −nM¡l q¡−aM¢s–¢àa£u i¡N  101 

 

¢j¢eVz a¡C 1 ¢j¢eV−L ¢j¢e−Vl O−l −k¡N L−l −p−L−äl O−l ¢mMh h¡¢L 
9 −p−Läz Hlfl ¢j¢e−Vl O−l −k¡Ngm qm 64 ¢j¢eVz Bjl¡ S¡¢e 60 
¢j¢e−V 1O¾V¡z a¡C 1 O¾V¡−L O¾V¡l O−l −k¡N L−l ¢j¢e−Vl O−l ¢mMh 
h¡¢L 4 ¢j¢eVz Hlfl O¾V¡l O−ll −k¡Ngm qm 9 O¾V¡z 
  mr L−l¡: ¢h−u¡N öl¦ q−h −p−L−äl Ol 
−b−Lz 37 −b−L 49 ¢h−u¡N Ll¡ k¡−µR e¡z 
a¡C ¢j¢e−Vl Ol −b−L 1 ¢j¢eV, j¡−e 60 
−p−Lä d¡l ¢e−u −p−L−äl O−l f¡C 97 

−p−Läz Hh¡l 97 −b−L 49 ¢h−u¡N L−l 
−p−L−ä O−l ¢h−u¡Ngm ¢m¢M 48 −p−Läz 
Hlfl ¢j¢e−Vl O−ll ¢h−u¡N Llhz 1 ¢j¢eV d¡l ¢e−u¢Rm¡j, a¡C 44 −b−L 
48 ¢h−u¡N Ll−a q−hz HM¡−eJ ¢h−u¡N Ll¡ k¡−µR e¡z a¡C O¾V¡l Ol −b−L 
1 O¾V¡ j¡−e 60 ¢j¢eV d¡l ¢e−u ¢j¢e−Vl O−l f¡C 104 ¢j¢eV J 48 

¢j¢eV ¢h−u¡N L−l ¢h−u¡Ngm f¡C 56 ¢j¢eVz ph−n−o O¾V¡l O−ll ¢h−u¡N¢V 
Ll¡l pju −k 1 O¾V¡ d¡l ¢e−u¢Rm¡j −pV¡J ¢h−u¡N L−l ¢h−u¡Ngm f¡C 2 

O¾V¡z 
Ae¤n£me 10.4 pj−ul −k¡N J ¢h−u¡N 

1. −k¡N L−l¡       

a. O¾V¡ ¢j¢eV −p−Lä b. ¢ce O¾V¡ ¢j¢eV −p−Lä 

 2 46 33  2 12 37 53 

 7 22 42  5 15 53 28 

2. ¢h−u¡N L−l¡       

a. O¾V¡ ¢j¢eV −p−Lä b. ¢ce O¾V¡ ¢j¢eV −p−Lä 
 7 46 33  7 7 22 42 
 2 22 12  3 8 46 52 

3. a¥¥¢j J −a¡j¡l i¡C ¢j−m HL¢V L¡S LlRz −a¡j¡l i¡C L¡S Llm 
3 O¾V¡ 42 ¢j¢eV 42 −p−Lä J a¥¢j L¡S Ll−m 3 O¾V¡ 39 ¢j¢eV 
48 −p−Läz c¤S−e ¢j−m LarZ L¡S Ll−m? 

4. HL¢V L¡S Ll−a g¢lc¡ pju −eu 2 ¢ce 8 O¾V¡ 22 ¢j¢eV 12 
−p−Lä J g−aj¡ pju −eu 1 ¢ce 18 O¾V¡ 47 ¢j¢eV 52 −p−Läz 
HLC pju L¡S öl¦ Ll−m −L LarZ B−N L¡S¢V −no Ll−h? 

¢h−u¡N : 5:45:37–2:48:49 
O¾V¡ ¢j¢eV −p−Lä 

 5–1  45–1 37 

  2  48 49 

  2  56 48 
Ešl: 2V¡ 56 ¢j¢eV 48 −p−Lä 
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5. a¥¢j O¤j −b−L E−W pL¡m 7V¡ 20 ¢j¢eV 32 −p−L−ä fs−a hp−mz 
1 O¾V¡ 32 ¢j¢eV 42 −p−Lä fs¡−n¡e¡ L−l 33 ¢j¢eV 13 −p−L−ä 
°a¢l q−u Cú¥−m k¡−h h−m h¡¢s −b−L h¡l q−mz Cú¥−m −k−a 25 
¢j¢eV 22 −p−Lä m¡−Nz a¥¢j LV¡l pju Cú¥−m −fy±R−h?    

Ešl 10.4 
1a. 10 O¾V¡ 9 ¢j¢eV 15 −p−Lä    1b. 8 ¢ce 4 O¾V¡ 31 ¢j¢eV 21 −p−Lä     

2a. 5 O¾V¡ 24 ¢j¢eV 21 −p−Lä    2b. 3 ¢ce 22 O¾V¡ 35 ¢j¢eV 50 −p−Lä     

3. 7 O¾V¡ 22 ¢j¢eV 30 −p−Lä    4. g−aj¡ 13 O¾V¡ 34 ¢j¢eV 20 −p−Lä B−N      

5. 9 V¡ 51 ¢j¢eV 49 −p−Lä       

Hh¡l Bjl¡ pj−ul …Z J i¡N Ll¡ −cMhz j−e L−l¡ 5 S−el fË−aÉ−L 2 
O¾V¡ 25 ¢j¢eV 30 −p−Lä L−l −L¡eJ L¡S Llmz a¡q−m 5 S−e ¢j−m 
−j¡V La pju L¡S Llm? Hl Ešl −f−a Bj¡−cl 2 O¾V¡ 25 ¢j¢eV 
30 −p−Lä−L 5 ¢c−u …Z Ll−a q−hz 

mr L−l¡, HM¡−e …Zgm qm 
−p−L−äl O−l 150 (30x5) −p−Lä, 
¢j¢e−Vl O−l 125 (25x5) ¢j¢eV, J 
O¾V¡l O−l 10 (2x5) O¾V¡z −k−qa¥ 60 
−p−L−ä 1 ¢j¢eV, a¡C 150 −p−L−äl 
−b−L ¢j¢e−Vl O−l  (60x2=120) h¡ 
2 ¢j¢eV −k¡N L−l Bjl¡ −p−L−äl O−l …Zgm ¢mMh h¡¢L 30 −p−Läz 
Hlfl ¢j¢e−Vl O−ll …Zgm qm 125 J a¡l p¡−b JC 2 ¢j¢eV−L −k¡N 
L−l f¡C 127 ¢j¢eVz −k−qa ¥ 60 ¢j¢e−V 1 O¾V¡, a¡C O¾V¡l O−l 
(60x2=120) h¡ 2 O¾V¡ f¡¢W−u Bjl¡ ¢j¢e−Vl O−ll …Zgm ¢mMh 7 
¢j¢eVz Hlfl O¾V¡l O−l …Zgm f¡C 10 O¾V¡ J a¡l p¡−b JC 2 O¾V¡ 
−k¡N L−l f¡C 12 O¾V¡z  

i¡N Ll¡ h¤T−a Jf−ll Ec¡qlZ¢V−LC E−ÒV ¢e−u −cM¡ k¡L—5 S−e 
¢j−m HL¢V L¡S Llm 12 O¾V¡ 7 ¢j¢eV 30 −p−L−äz HL HLSe La 
pju L¡S L−l−R? Hl Ešl −f−a Bj¡−cl 12 O¾V¡ 7 ¢j¢eV 30 
−p−Lä−L 5 ¢c−u i¡N Ll−a q−hz HC i¡N¢V Ll¡l fÜ¢a qm Bjl¡ 
i¡N Ll¡ öl¦ Llh h¡y¢cL −b−L fËb−j O¾V¡−L i¡N L−lz k¢c i¡SÉ O¾V¡¢V 

…Z : 2:25:30 x 5 
O¾V¡ ¢j¢eV −p−Lä 

    2     25 30 

     x 5 

10+2 125+2 150 

  12      7      30 
Ešl: 12 O¾V¡ 7 ¢j¢eV 30 −p−Lä 
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i¡S−Ll −b−L hs qu a¡q−m i¡Ngm¢V O¾V¡−a f¡h J i¡N−no−L 60 
¢c−u …Z L−l ¢j¢e−V l©f¡¿¹¢la L−l ¢e−u ¢j¢e−Vl p−‰ −k¡N L−l −ehz 
HjeV¡ e¡ q−m i¡SÉ O¾V¡−L fËb−jC 60 ¢c−u …Z L−l ¢j¢e−Vl p−‰ −k¡N 
L−l ¢e−a q−hz Hlfl ¢j¢eV−L i¡N Llh HLC i¡−h—i¡Ngm¢V ¢j¢e−V 
−l−M i¡N−no−L 60 ¢c−u …Z L−l −p−L−ä l©f¡¿¹¢la Llh J −p−L−äl 
pwMÉ¡¢Vl p−‰ −k¡N L−l −ehz a¡lfl i¡N Llhz  

HC fÜ¢a−a i¡N Ll¡l pju i¥m qJu¡l pñ¡he¡ b¡−Lz a¡C pqS 
fÜ¢a qm, −k pju¢V−L i¡N Ll−a q−h a¡−L a¡l ph−Q−u −R¡V Awn¢Vl 
j¡fL¡¢W−a l©f¡¿¹¢la L−l −eJu¡ J a¡lfl i¡N Ll¡z i¡Ngm k¡ f¡h, 
a¡−L Hlfl Bh¡l fË−u¡Se j−a¡ O¾V¡, ¢j¢eV, −p−L−ä l©f¡¿¹¢la L−l 
¢e−a q−hz Bj¡−cl HC Ec¡qlZ¢V−a Bjl¡ 12 O¾V¡ 7 ¢j¢eV 30 
−p−Lä−L B−N −p−L−ä l©f¡¿¹¢la L−l i¡N¢V Llh J a¡lfl i¡Ngm−L 
Bh¡l O¾V¡, ¢j¢eV, −p−L−ä l©f¡¿¹¢la L−l fËL¡n Llhz 
5 S−e ¢j−m L¡S L−l−R 12 O¾V¡ 7 ¢j¢eV 30 −p−Lä 
 =[(12 x 60) +7] x 60 + 30= [720+7] x 60 + 30 

  =727 x 60 + 30= 43620 + 30 = 43650 −p−Lä   

p¤¤al¡w, HL HLSe L¡S L−l−R,  43650 ÷ 5 = 8730 −p−Lä   
= 145 x 60 + 30 = 145 ¢j¢eV  30 −p−Lä  

= (2 x 60 + 25) ¢j¢eV  30 −p−Lä 
= 2 O¾V¡ 25 ¢j¢eV 30 −p−Lä z 

HC i¡−h pju−L HL¢V j¡œ j¡fL¡¢W−a l©f¡¿¹¢la L−l …Z J i¡N 
Ll¡l p¤¤¢hd¡ qm, Bjl¡ HL¢V pju−L Bl HL¢V pju ¢c−u …Z h¡ i¡N 
Ll−a f¡lhz Ec¡qlZ ¢qp¡−h j−e L−l¡, fË¢a O¾V¡u a¥¢j 23 ¢j¢eV 47 
−p−Lä L−l pju hÉu L−l¡ Lb¡ hm−az a¡q−m 2 ¢ce 2 O¾V¡u a¥¢j −j¡V 
La pju Lb¡ hm−a hÉu Ll−h? Hl Ešl −f−a Bj¡−cl 23 ¢j¢eV 47 
−p−Lä−L …Z Ll−a q−h 2 ¢ce 2 O¾V¡ ¢c−uz HC …Z¢V Ll−a Bjl¡ 
23 ¢j¢eV 47 −p−Lä−L −p−L−ä J 2 ¢ce 2 O¾V¡−L O¾V¡l j¡fL¡¢W−a 
l©f¡¿¹¢la L−l −ehz 

23 ¢j¢eV 47 −p−Lä  =(23 x 60) +47 = 1380+47= 1427 −p−Lä   

2 ¢ce 2 O¾V¡   =[(2 x 24) + 2] = 50 O¾V¡   

p¤¤al¡w, 50 O¾V¡u Lb¡ hm¡ q−h, 1427 x 50 =  71350 −p−Lä  
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= 1189 x 60 + 10 −p−Lä = 1189 ¢j¢eV + 10 −p−Lä 

= 19 x 60+49 ¢j¢eV +10 −p−Lä  = 19 O¾V¡  49 ¢j¢eV 10 −p−Läz   
HL¢V pju−L Bl HL¢V pju ¢c−u i¡N Ll¡ LMe clL¡l q−a f¡−l 

a¡ h¤T−a Bjl¡ B−N Ll¡ HLV¡ Ec¡qlZ−L AeÉ i¡−h −cM−a f¡¢lz 
HL¢V L¡S pÇfæ Ll−a q−h ¢WL 12 O¾V¡ 7 ¢j¢eV 30 −p−Lä pj−uz 
HL HLSe 2 O¾V¡ 25 ¢j¢eV 30 −p−Lä  L−l L¡S Ll−m, L¡S¢V ¢WL 
pj−u pÇfæ Ll−a LaSe m¡N−h? HM¡−e Ešl −f−a 12 O¾V¡ 7 ¢j¢eV 
30 −p−Lä−L i¡N Ll−a q−h 2 O¾V¡ 25 ¢j¢eV 30 −p−Lä ¢c−uz HC 
i¡N¢V Ll−a Bjl¡ pju−L −p−L−ä l©f¡¿¹¢la L−l −ehz 

12 O¾V¡ 7 ¢j¢eV 30 −p−Lä 
  =[(12 x 60) +7] x 60 + 30= [720+7] x 60 + 30 

  =727 x 60 + 30= 43620 + 30 = 43650 −p−Lä z   
2 O¾V¡ 25 ¢j¢eV 30 −p−Lä   
=[(2 x 60) + 25] x 60+30 = [120+25] x 60+30= 145 x 60+30 

= 8700+30= 8730 −p−Lä  z 
p¤¤al¡w, ¢WL pj−u L¡S¢V pÇfæ Ll−a m¡N−h 

(43650 ÷ 8730) Se =  5 Se z 

Ae¤n£me 10.5 ¢c−el pju−L …Z J i¡N 
1. …Z L−l¡       

a. O¾V¡ ¢j¢eV −p−Lä b. ¢ce O¾V¡ ¢j¢eV −p−Lä 

 2 46 33  2 12 37 53 

   x 4     x 8 
         

2. i¡N L−l¡       

a. O¾V¡ ¢j¢eV −p−Lä b. ¢ce O¾V¡ ¢j¢eV −p−Lä 

 7 46 33  6 7 21 44 
   ÷ 3     ÷ 4 

3. fs¡−n¡e¡ Ll¡l pju fË¢a O¾V¡u −a¡j¡l 23 ¢j¢eV 37 −p−Lä pju 
k¡u ¢houV¡ h¤T−a J i¡h−az fË¢a O¾V¡l h¡¢L pjuV¡u a¥¢j ¢houV¡ 
Ae¤n£me L−l¡z a¥¢j Na p¡a ¢c−e fs¡−n¡e¡u −j¡V pju 1 ¢ce 6 O¾V¡ 
¢c−m LaV¡ pju Ae¤n£me L−lR? 
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4. S−ml Lm −b−L −h¡a−m Sm il−a −a¡j¡−L −j¡V 1 O¾V¡ 15 ¢j¢eV 
pju −cJu¡ qmz HL HL¢V −h¡a−m Sm il−a 2 ¢j¢eV 30 −p−Lä pju 
m¡N−m a¥¢j −j¡V L¢V −h¡a−m Sm il−a f¡l−h?  
Ešl 10.5  
1a. 11 O¾V¡ 6 ¢j¢eV 12 −p−Lä     1b. 20 ¢ce 5 O¾V¡ 3 ¢j¢eV 4 −p−Lä     

2a. 2 O¾V¡ 35 ¢j¢eV 31 −p−Lä     2b. 1 ¢ce 13 O¾V¡ 50 ¢j¢eV 26 −p−Lä     

3. 18 O¾V¡ 11 ¢j¢eV 30 −p−Lä       4. 30 ¢V      

10.4 hRl, j¡p, pç¡q J LÉ¡−mä¡l 
Bjl¡ ¢c−el pju j¡f¡l pju E−õM L−l¢R—fË¢a¢ce −c¢M pL¡m qu, 
c¤f¤l N¢s−u ¢h−Lm B−p, påÉ¡ e¡−j J l¡a qu, J a¡lfl Bh¡l f−ll 
¢ce B−pz HC i¡−h pju h−u Q−m HL¢V ¢c−el −b−L Bl HL¢V ¢c−e, 
Bl O¤−l O¤−l ¢g−l B−p HL HL¢V ¢c−el −i¡l, pL¡m, c¤f¤¤l, ¢h−Lm, 
påÉ¡, l¡az Hh¡l Bjl¡ kMe ¢ce…¢ml ph¢j−m h−u Qm¡ −c¢M, aMe 
Ae¤ih Ll−a f¡¢l Ru¢V Ga¥L¡m—NË£×j, hoÑ¡, nlv, −qj¿¹, n£a, hp¿¹ 
(Cw−l¢S−a Q¡l¢V Ga¥, p¡j¡lÚ, AV¡jÚ h¡ gAmÚ, EC¾V¡l, ¢ØfËw)z HC 
Ga¥…¢mJ O¤−l O¤−l h¡lh¡l B−pz −i¡l, pL¡m, c¤f¤¤l, ¢h−Lm, påÉ¡, J l¡a 
¢j−m HL¢V ¢ceQœ² pÇf¨ZÑ qu HLV¡ ¢c−e k¡−L Bjl¡ j¡¢f 24 O¾V¡ pju 
¢qp¡−hz Bl NË£×j, hoÑ¡, nlv, −qj¿¹, n£a, hp¿¹ ¢j−m HL¢V Ga¥Qœ² pÇf¨ZÑ 
qu HLV¡ hR−l, k¡−L Bjl¡ d¢l −j¡V¡j¤¢Vi¡−h 365 ¢cez 

HjeV¡ qu −Le? −Le Bjl¡ 24 O¾V¡u HLV¡ ¢ce Bl 365 ¢c−e 
HLV¡ hRl d¢l? Hl L¡lZ fª¢bh£l O¤−l Qm¡z fª¢bh£l O¤−l Qm¡ OV−R 
c¤i¡−h—HL, −p ¢e−Sl Ar −lM¡u O¤l−R, k¡−L hm¡ qu fª¢bh£l 
B¢q²LN¢a (Cw−l¢S−a −l¡−VneÚ) J c¤C, a¡l Jfl −p p§kÑ−L fËc¢rZ 
Ll−R a¡l Lrf−b (Cw−l¢S−a −li¢mEneÚ)z fËbj¢Vl g−m fª¢bh£−a ¢h¢iæ 
ÙÛ¡−e HL HL¢V ¢c−el −i¡l, pL¡m, c¤f¤¤l, ¢h−Lm, påÉ¡, J l¡a quz HL¢V 
¢c−el pju fË¡u 24 O¾V¡ qu, L¡lZ fª¢bh£ a¡l B¢q²L Qœ²¢V pÇf¨ZÑ L−l 
23.93 O¾V¡uz 

fª¢bh£ a¡l Lrf−b (Cw−l¢S−a h−m AlÚ¢hVÚ) p§kÑ−L fËc¢rZ−L HLh¡l 
pÇf¨ZÑ Ll−a pju −eu 365 ¢ce 5 O¾V¡ 48 ¢j¢eV 47 −p−Lä (fË¡u), k¡−L 
Bjl¡ −j¡V¡j¤¢Vi¡−h 365 ¢ce (J fË¢a Qa¥bÑ hRl−L 366 ¢ce) d−l h¢m 
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HL hRlz Hl L¡l−ZC fª¢bh£−a p§−kÑl B−m¡l a£hËa¡l Lj −hn£ qu J 
a¡C Ga¥Q−œ²l BhaÑe O−Vz 
 
 

 

 

 

 

 

 

 

 
 

 
 
Hh¡l ¢nMh pju f¢lj¡−fl AeÉ¡eÉ HLL…¢m z 

pju f¢lj¡−fl HLL 
60 −p−Lä  =1 ¢j¢eV  30 ¢ce    =1 j¡p 
60 ¢j¢eV   =1 O¾V¡ 12 j¡p    =1 hRl 
24 O¾V¡   =1 ¢ce 12 hRl     =1 k¤N 
7 ¢ce    =1 pç¡q 100 hRl    =1 na¡ë£ 

365 ¢ce =1 hRl 

p§−kÑl B−m¡ 

fª¢bh£fª¢bh£fª¢bh£fª¢bh£ 
p§kÑp§kÑp§kÑp§kÑ 

Ar 

B¢q²LN¢a 

l¡a ¢ce 
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−k−qa¥ 365 ¢c−el HL¢V hRl−L Bjl¡ 12¢V j¡−p i¡N L¢l, a¡C HC 
j¡p…¢m−L ¢Q¢q²a Ll−a H…¢ml HL HL¢Vl e¡j ¢c−a q−hz Bh¡l, 
−k−qa¥ fË¢a 7¢V ¢ce−L Bjl¡ HL¢V pç¡q hm¢R, a¡C pç¡−ql 7¢V 
¢ce−LJ Bj¡−cl ¢Q¢q²a Ll−a e¡j ¢c−a q−hz 

pç¡−ql 7¢V ¢c−el h¡wm¡ e¡j (h¡wm¡u pç¡−ql ¢ce−L h¡l hm¡ qu) 
−p¡j  j‰m h¤d hªqØf¢a öœ² n¢e l¢h 

Cw−l¢S e¡j  
j¡eÚ−X ¢VEpÚ−X J−uXÚepÚ−X b¡pÑ−X é¡C−X pÉ¡V¡lÚ−X p¡eÚ−X 
h¡wm¡ j¡−pl e¡j ¢c−el pwMÉ¡ Cw−l¢S j¡−pl e¡j ¢c−el pwMÉ¡ 
1. °hn¡M 30/31 S¡e¤u¡¢l  31 
2. °SÉù 31/32 −ghË¥u¡¢l* 28* 

3. Bo¡t 31/32 j¡QÑ 31 
4. nË¡hZ 31/32 H¢fËm 30 
5. i¡â 31/32 −j 31 
6. B¢nÄe 30/31 S¥e 30 
7. L¡¢aÑL  29/30 S¥m¡C 31 

8. ANËq¡uZ 29/30 AN¡ø 31 

9. −f±o 29/30 −p−ÃVðl 30 

10. j¡O 29/30 A−ƒ¡hl 31 

11. g¡ÒN¥e 29/30 e−iðl 30 

12. °Qœ 30/31 ¢X−pðl 31 
* fË¢a Qa¥bÑ hR−l (A¢dhoÑ h¡ m£fÚ Cu¡l) −ghË¥u¡¢l j¡p qu 29 ¢c−ez 
 

C−l¢S LÉ¡−mä¡l 2017         h¡wm¡ LÉ¡−mä¡l 1423-1424 
S¡e¤u¡¢l   −f±o-j¡O  −ghË¥u¡¢l  j¡O-g¡ÒN¥e 
−p¡j j‰m h¤d hªq öœ² n¢e l¢h  −p¡j j‰m h¤d hªq öœ² n¢e l¢h 
      1    1 2 3 4 5 

      17    18 19 20 21 22 
2 3 4 5 6 7 8  6 7 8 9 10 11 12 
18 19 20 21 22 23 24  23 24 25 26 27 28 29 
9 10 11 12 13 14 15  13 14 15 16 17 18 19 

25 26 27 28 29 30 1  1 2 3 4 5 6 7 
16 17 18 19 20 21 22  20 21 22 23 24 25 26 
2 3 4 5 6 7 8  8 9 10 11 12 13 14 

23 24 25 26 27 28 29  27 28      
9 10 11 12 13 14 15  15 16      

30 31              
16 17              
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j¡QÑ   g¡ÒN¥e-°Qœ  H¢fËm  °Qœ-°hn¡M 
−p¡j j‰m h¤d hªq öœ² n¢e l¢h  −p¡j j‰m h¤d hªq öœ² n¢e l¢h 
  1 2 3 4 5       1 2 

  17 18 19 20 21       18 19 
6 7 8 9 10 11 12  3 4 5 6 7 8 9 
22 23 24 25 26 27 28  20 21 22 23 24 25 26 
13 14 15 16 17 18 19  10 11 12 13 14 15 16 
29 30 1 2 3 4 5  27 28 29 30 31 1 2 
20 21 22 23 24 25 26  17 18 19 20 21 22 23 
6 7 8 9 10 11 12  3 4 5 6 7 8 9 

27 28 29 30 31    24 25 26 27 28 29 30 
13 14 15 16 17    10 11 12 13 14 15 16 

 
Jf−l Bjl¡ −c¢M−u¢R Cw−l¢S J h¡wm¡ LÉ¡−mä¡−ll Q¡l¢V j¡p z h¡wm¡ 
LÉ¡−mä¡l¢V i¡la£u ¢euj Ae¤p¡−l −cM¡−e¡ q−u−Rz h¡wm¡−c−nl LÉ¡−mä¡−l 
HL HL¢V h¡wm¡ j¡−pl ¢c−el pwMÉ¡ AeÉ lLj quz LÉ¡−mä¡−l E¢õ¢Ma 
pwMÉ¡…¢m−L a¡¢lM (Cw−l¢S−a −XVÚ) hm¡ quz mr Ll¡ k¡u −k, Cw−l¢S 
hRl öl¦ qu S¡e¤u¡¢l j¡−pl 1 a¡¢lM −b−L J h¡wm¡ hRl öl¦ qu °hn¡M 
j¡−pl 1 a¡¢lM −b−Lz −cM¡ k¡u −k p¡d¡lZa Cw−l¢S j¡−pl 14-15 
a¡¢l−M HL HL¢V h¡wm¡ j¡p −no qu J f−ll j¡p¢V öl¦ quz h¡wm¡ J 
Cw−l¢S j¡−pl a¡¢lM…¢m HL e¡ q−mJ pç¡−ql ¢ce h¡ h¡l (Cw−l¢S−a 
−X) HLC i¡−h p¡S¡−e¡ b¡−Lz   
A¢dhoÑ h¡ m£fÚ Cu¡lÚ   A¢dhoÑ h¡ m£fÚ Cu¡lÚ   A¢dhoÑ h¡ m£fÚ Cu¡lÚ   A¢dhoÑ h¡ m£fÚ Cu¡lÚ       
Bjl¡ HL¢V hRl−L d¢l 365 ¢ce, ¢L¿¹¥ fª¢bh£ p§−kÑl Q¡lf¡−n HLh¡l 
O¤l−a pju −eu 365 ¢ce 5 O¾V¡ 48 ¢j¢eV 47 −p−Lä (fË¡u)z a¡C fË¢a 
hRlC ¢LR¥ Lj pju dl¡ quz H−L ¢qp¡−hl j−dÉ Be−a Cw−l¢S 
LÉ¡−mä¡−l fË¢a Qa¥bÑ hRl¢V−L Bjl¡ 366 ¢c−e L−l ¢eC −ghË¥u¡¢l j¡p−L 
29 ¢ce d−lz HC hRl¢V−L A¢dhoÑ h¡ m£fÚ Cu¡lÚ hm¡ quz j−e l¡−M¡, 
h¡wm¡u −L¡eJ HL¢V hRl−L ¢e¢cÑø L−l a¡l −n−o hm¡ qu p¡mz ¢MËø¡ë 8 
p¡m −b−L A¢dhoÑ NZe¡ öl¦ quz 

−L¡eJ HL¢V Cw−l¢S hRl A¢dhoÑ h¡ m£fÚ Cu¡lÚ q−h k¢c— 

a. Cw−l¢S p¡m¢Vl HLL J cnL O−ll Aˆ c¤¢V n§eÉ e¡ qu J p¡−ml 
pwMÉ¡¢V 4 à¡l¡ ¢hi¡SÉ quz 

b. HLL J cnL O−ll Aˆ c¤¢V n§eÉ q−mJ k¢c p¡−ml pwMÉ¡¢V 400 
à¡l¡ ¢hi¡SÉ qu, −kje 1600z 
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hRl, j¡p, pç¡q, ¢cehRl, j¡p, pç¡q, ¢cehRl, j¡p, pç¡q, ¢cehRl, j¡p, pç¡q, ¢ce,,,,    CaÉ¡¢c pj−ul l©f¡¿¹lCaÉ¡¢c pj−ul l©f¡¿¹lCaÉ¡¢c pj−ul l©f¡¿¹lCaÉ¡¢c pj−ul l©f¡¿¹l    
Bjl¡ B−N ¢n−M¢R ¢ce, O¾V¡, ¢j¢eV, J −p−L−ä hm¡ pju−L l©f¡¿¹¢la 
L−l HL¢VC f¢lj¡−f fËL¡n J E−ÒV¡V¡J Ll¡ k¡uz hRl, j¡p, pç¡q−LJ 
Bjl¡ ¢c−e, h¡ O¾V¡, ¢j¢eV, J −p−L−ä fËL¡n Ll−a f¡lh HLC 
fÜ¢a−az Hl SeÉ hÉhq¡l Ll−a q−h pju f¢lj¡−fl HLL h¡ 
j¡fL¡¢W…¢mz    

j−e l¡M−a q−h, HC l©f¡¿¹l Ll¡l pju Bjl¡ fËQ¢ma ¢eu−j hRl−L 
dlh 365 ¢ce J j¡p−L dlh 30 ¢cez g−m fËQ¢ma ¢eu−j Bj¡−cl 
¢qp¡h f¤−l¡f¤¢l ¢WL q−h e¡z  
Ec¡qlZ: 2 hRl 2 j¡p 10 ¢ce−L O¾V¡u fËL¡n L−l¡ z 
2 hRl  = 2 x 365  =  730  ¢ce  

2 j¡p   = 2 x 30    =     60  ¢ce 
10  ¢ce      =  10  ¢ce 

−j¡V qm  =   800  ¢ce  
                        x 24 
                                    19200 O¾V¡ z       
Ec¡qlZ: 18030 O¾V¡−L hRl, j¡p, ¢ce, O¾V¡u fËL¡n L−l¡ z 
18030 O¾V¡  = 751 x 24 +6   = 751 ¢ce 6 O¾V¡ 
    = 25 x 30 +1 +6  = 25 j¡p 1¢ce 6 O¾V¡ 

= 2 x 12+1 +1+6 = 2 hRl 1 j¡p 1¢ce 6 O¾V¡ z 
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f¡W 11. °cOÑÉ, JSe J alm fc¡−bÑl f¢lj¡f 
Bj¡−cl HC SN−a f¢lj¡−fl j§ma ¢ae¢V ¢cL qu °cOÑÉ, JSe, J pju°cOÑÉ, JSe, J pju°cOÑÉ, JSe, J pju°cOÑÉ, JSe, J pjuz 
B−N pj−ul f¢lj¡f ¢n−M¢Rz Hh¡l Bjl¡ °cOÑÉ J JSe f¢lj¡f ¢nMhz  
j−e l¡−M¡j−e l¡−M¡j−e l¡−M¡j−e l¡−M¡: °cOÑÉ j¡−e q−µR −L¡eJ ¢LR¥ LaV¡ mð¡, h¡ QJs¡, h¡ EyQ¥ Abh¡ 
¢S¢ep¢V La c§−l B−Rz JSe j¡−e q−µR −L¡eJ ¢LR¥ LaV¡ i¡¢lz HR¡s¡ 
Bjl¡ ¢nMh alm fc¡bÑ, k¡l ¢eSü −L¡eJ Buae −eC, −kje Sm, c¤d, 
CaÉ¡¢c−L L£i¡−h j¡f¡ k¡−h, HL¢V ¢h−no Buae−L f¢lj¡−fl HLL d−lz 

11.1 f¢lj¡−fl −j¢VÊL fÜ¢a 
B−N f¢lj¡−fl SeÉ ¢h¢iæ ÙÛ¡e£u HL−Ll hÉhq¡l qaz HMeJ −p…¢ml 
¢LR¥ hÉhq¡l −cM¡ k¡u—−kje, °cOÑÉ j¡f¡l SeÉ hÉhq¡l qu q¡a, NS, 
Abh¡, C¢’, g¥V, j¡Cm CaÉ¡¢c; JSe j¡f¡l SeÉ −a¡m¡, l¢a, L¡µQ¡, 
RV¡L, −f¡u¡, −pl, jZ CaÉ¡¢cz Bh¡l S¢jl j¡f −h¡T¡−e¡ qa RV¡L, L¡W¡, 
¢hO¡, HLl CaÉ¡¢c ¢c−uz ¢h¢iæ ÙÛ¡−e h¡ −c−n f¢lj¡f…¢m Bm¡c¡ qJu¡l 
SeÉ Ap¤¤¢hd¡ qa h¤T−az a¡C HL¢V p¡d¡lZ f¢lj¡f fÜ¢a ph −c−nC 
BSL¡m hÉhq¡l qu, k¡−L hm¡ qu −j¢VÊL fÜ¢az  

−j¢VÊL fÜ¢a−a °cOÑÉ j¡f¡l SeÉ ¢jV¡ljV¡ljV¡ljV¡l, JSe j¡f¡l SeÉ NË¡jNË¡jNË¡jNË¡j, Hhw 
alm fc¡bÑ−L Buae ¢c−u j¡f¡l SeÉ ¢mV¡l¢mV¡l¢mV¡l¢mV¡l−L HLL hm¡ quz HC 
HLL¢Vl cn …Z h¡ cn i¡Ncn …Z h¡ cn i¡Ncn …Z h¡ cn i¡Ncn …Z h¡ cn i¡N L−l Bjl¡ −j¢VÊL fÜ¢al AeÉ¡eÉ 
f¢lj¡f…¢m f¡C, J a¡−cl−L HLL¢Vl B−N E−õM L¢l z  

 
pqpË naL cnL HLL cnj¡wn na¡wn pqpË¡wn 

1000 100 10 1 0.1 

=1/10 

0.01 

=1/100 

0.001 

=1/1000 

¢L−m¡ −q−ƒ¡ −XL¡ 
¢jV¡l 

−X¢p −p¢¾V ¢j¢m NË¡j 
¢mV¡l 

Jf−ll a¡¢mL¡ −b−L Bjl¡ f¡C, °cOÑÉ j¡f¡l HLL qm ¢jV¡l J a¡l 
−b−L cn cn …Z L−l hs f¢lj¡f…¢m qm, −XL¡¢jV¡l, −q−ƒ¡¢jV¡l, J 
¢L−m¡¢jV¡l, Hhw cn¡wn L−l L−l −R¡V f¢lj¡f…¢m qm −X¢p¢jV¡l, 
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−p¢¾V¢jV¡l J ¢j¢m¢jV¡lz HLC i¡−h NË¡j J ¢mV¡−ll p¡−b HC f¢lj¡f…¢m 
hÉhq¡l qu z A¢dL¡wn −r−œ Bjl¡ ¢j¢m, −p¢¾V, J ¢L−m¡ ¢c−u j¡f¢V−L 
fËL¡n L¢lz −X¢p, −XL¡, h¡ −q−ƒ¡ M¤h HLV¡ hm¡ qu e¡z  
j−e l¡−M¡: 
10 ¢j¢m = 1 −p¢¾V 

10 −p¢¾V = 1 −X¢p 

10 −X¢p = 1¢jV¡l, NË¡j, h¡ ¢mV¡l 

10 ¢jV¡l, NË¡j, h¡ ¢mV¡l = 1 −XL¡ 
10 −XL¡ = 1 −q−ƒ¡ 
10 −q−ƒ¡ = 1 ¢L−m¡ 
p¡d¡lZa hÉhq¡−ll SeÉ 
10 ¢j¢m = 1 −p¢¾V 

1000 ¢j¢m = 1¢jV¡l, NË¡j, h¡ ¢mV¡l 

100 −p¢¾V = 1¢jV¡l, NË¡j, h¡ ¢mV¡l 

1000 ¢jV¡l, NË¡j, h¡ ¢mV¡l = 1 ¢L−m¡ 

−mM¡l pju Bjl¡ °c−OÑÉl f¢lj¡f…¢m−L pw−r−f ¢m¢M— 
¢j¢m¢jV¡l (¢j.¢j. h¡ mm), −p¢¾V¢jV¡l (−p.¢j. h¡ cm), −X¢p¢jV¡l (−X¢p¢j 
h¡ dm.), ¢jV¡l (¢j. h¡ m), −XL¡¢jV¡l (−X.¢j. h¡ dcm), −q−ƒ¡¢jV¡l 
(−q.¢j. h¡ hm) J ¢L−m¡¢jV¡l (¢L.¢j. h¡ km) z 

HLC i¡−h JS−el f¢lj¡f ¢m¢M— 
¢j¢mNË¡j (¢j.NË¡. h¡ mg), −p¢¾VNË¡j (−p.NË¡. h¡ cg), −X¢pNË¡j (−X¢pNË¡. h¡ 
dg), NË¡j (NË¡. h¡ g), −XL¡NË¡j (−X.NË¡. h¡ dcg), −q−ƒ¡NË¡j (−q.NË¡. h¡ hg) 
J ¢L−m¡NË¡j (¢L.NË¡. h¡ −L¢S h¡ kg) z 

alm fc¡−bÑl f¢lj¡f…¢m−L ¢m¢M— 
¢j¢m¢mV¡l (¢j.¢m. h¡ ml), −p¢¾V¢mV¡l (−p.¢m. h¡ cl), −X¢p¢mV¡l (−X¢p¢m. 
h¡ dl), ¢mV¡l (¢m. h¡ l), −XL¡¢mV¡l (−X.¢m. h¡ dcl), −q−ƒ¡¢mV¡l (−q.¢m. 
h¡ hl) J ¢L−m¡¢mV¡l (¢L.¢m. h¡ kl) z 
°cOÑÉ f¢lj¡−fl HLL°cOÑÉ f¢lj¡−fl HLL°cOÑÉ f¢lj¡−fl HLL°cOÑÉ f¢lj¡−fl HLL    
−j¢VÊL fÜ¢a−a °cOÑÉ f¢lj¡−fl HLL qm ¢jV¡lz fËnÀ S¡N−aC f¡−l ¢WL 
LaV¡ °cOÑÉ−L Bjl¡ 1 ¢jV¡l ¢qp¡−h d¢lz Bjl¡ pju f¢lj¡−f −Le 1 
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¢ce−L 24

pju −eu a¡ −b−Lz HM¡−eJ Bjl¡ ¢WL LaV¡ °cOÑÉ−L 
a¡l hÉ¡MÉ¡ ¢h‘¡e −b−L f¡C, B−m¡ ¢e¢cÑø pj−u LaV¡ c§laÆ k¡u a¡l 
−b−Lz HC hÉ¡MÉ¡ Bjl¡ f−l ¢nMhz

°cOÑÉ f¢lj¡−fl −j¢VÊL HLL R¡s¡J hý −r−œ B
g¥V, J NS ¢c−u °cOÑÉ j¡f¡ quz p¡d¡lZa °cOÑÉ j¡f¡l −úm h¡ ¢g−a−aJ 
HL¢c−L ¢jV¡l J −p¢¾V¢jV¡l Hhw AeÉ¢c−L C¢’ J g¥V
b¡−Lz a¡C Bjl¡
f¢lj¡f¢VJ −S−e l¡Mh z 

j−e l¡−M¡: 
12 C¢’ 

i¢hoÉ−a LMeJ fË−u¡Se q−a f¡−l −j¢VÊL HLL−L C¢’ h¡ g¥−V f¢lhaÑe 
L−l −eJu¡lz −pC SeÉ h−m l¡M¡ qm 

1 C¢’ 
JSe f¢lj¡−fl HLLJSe f¢lj¡−fl HLLJSe f¢lj¡−fl HLLJSe f¢lj¡−fl HLL
HM¡−eJ fËnÀ S¡N−a f¡−l, ¢WL LaV¡ i¡¢l q−m a¡−L Bjl¡ 
HlJ hÉ¡MÉ¡ Bjl¡ f−l f¡h 
f¢lj¡f pwÙÛ¡ B−R, −kM¡−e JS−el p¢WL f¢lj¡f¢V l¡M¡ b¡−Lz

 
−j¢VÊL fÜ¢a−a −h¢n JSe Ll−a hÉhq¡l qu L¥C¾V¡m J −j¢VÊL Vez HC 
c¤¢V f¢lj¡f qm 

100

10

g¥mX¡P¡ ¢hcÉ¡QQÑ¡ −L¾cÊ, h£lïj

24 O¾V¡ d¢l a¡l hÉ¡MÉ¡ −f−u¢R fª¢bh£ p§kÑ−L fËc¢rZ Ll−a LaV¡ 
pju −eu a¡ −b−Lz HM¡−eJ Bjl¡ ¢WL LaV¡ °cOÑÉ−L 
a¡l hÉ¡MÉ¡ ¢h‘¡e −b−L f¡C, B−m¡ ¢e¢cÑø pj−u LaV¡ c§laÆ k¡u a¡l 
−b−Lz HC hÉ¡MÉ¡ Bjl¡ f−l ¢nMhz

°cOÑÉ f¢lj¡−fl −j¢VÊL HLL R¡s¡J hý −r−œ B
g¥V, J NS ¢c−u °cOÑÉ j¡f¡ quz p¡d¡lZa °cOÑÉ j¡f¡l −úm h¡ ¢g−a−aJ 
HL¢c−L ¢jV¡l J −p¢¾V¢jV¡l Hhw AeÉ¢c−L C¢’ J g¥V
b¡−Lz a¡C Bjl¡ HC AeÉ 
f¢lj¡f¢VJ −S−e l¡Mh z   

j−e l¡−M¡:  
C¢’ = 1 g¥V;  3 g¥V 

i¢hoÉ−a LMeJ fË−u¡Se q−a f¡−l −j¢VÊL HLL−L C¢’ h¡ g¥−V f¢lhaÑe 
L−l −eJu¡lz −pC SeÉ h−m l¡M¡ qm 

C¢’ = 2.54 −p¢¾V¢jV¡l 
JSe f¢lj¡−fl HLLJSe f¢lj¡−fl HLLJSe f¢lj¡−fl HLLJSe f¢lj¡−fl HLL    
HM¡−eJ fËnÀ S¡N−a f¡−l, ¢WL LaV¡ i¡¢l q−m a¡−L Bjl¡ 
HlJ hÉ¡MÉ¡ Bjl¡ f−l f¡h 
f¢lj¡f pwÙÛ¡ B−R, −kM¡−e JS−el p¢WL f¢lj¡f¢V l¡M¡ b¡−Lz

−j¢VÊL fÜ¢a−a −h¢n JSe Ll−a hÉhq¡l qu L¥C¾V¡m J −j¢VÊL Vez HC 
c¤¢V f¢lj¡f qm — 

100 ¢L−m¡NË¡j   
10 L¥C¾V¡m h¡ 1000 
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O¾V¡ d¢l a¡l hÉ¡MÉ¡ −f−u¢R fª¢bh£ p§kÑ−L fËc¢rZ Ll−a LaV¡ 
pju −eu a¡ −b−Lz HM¡−eJ Bjl¡ ¢WL LaV¡ °cOÑÉ−L 
a¡l hÉ¡MÉ¡ ¢h‘¡e −b−L f¡C, B−m¡ ¢e¢cÑø pj−u LaV¡ c§laÆ k¡u a¡l 
−b−Lz HC hÉ¡MÉ¡ Bjl¡ f−l ¢nMhz 

°cOÑÉ f¢lj¡−fl −j¢VÊL HLL R¡s¡J hý −r−œ B
g¥V, J NS ¢c−u °cOÑÉ j¡f¡ quz p¡d¡lZa °cOÑÉ j¡f¡l −úm h¡ ¢g−a−aJ 
HL¢c−L ¢jV¡l J −p¢¾V¢jV¡l Hhw AeÉ¢c−L C¢’ J g¥V

g¥V = 1 NS; 5280

i¢hoÉ−a LMeJ fË−u¡Se q−a f¡−l −j¢VÊL HLL−L C¢’ h¡ g¥−V f¢lhaÑe 
L−l −eJu¡lz −pC SeÉ h−m l¡M¡ qm — 

−p¢¾V¢jV¡l  h¡  1 ¢jV¡l = 3.28082

HM¡−eJ fËnÀ S¡N−a f¡−l, ¢WL LaV¡ i¡¢l q−m a¡−L Bjl¡ 
HlJ hÉ¡MÉ¡ Bjl¡ f−l f¡h ¢h‘¡e −b−Lz a¡R¡s¡ ph −c−nC S¡a£u 
f¢lj¡f pwÙÛ¡ B−R, −kM¡−e JS−el p¢WL f¢lj¡f¢V l¡M¡ b¡−Lz

 

−j¢VÊL fÜ¢a−a −h¢n JSe Ll−a hÉhq¡l qu L¥C¾V¡m J −j¢VÊL Vez HC 

    = 1 L¥C¾V¡m
 ¢L−m¡NË¡j  = 1 −j¢VÊL Vez

O¾V¡ d¢l a¡l hÉ¡MÉ¡ −f−u¢R fª¢bh£ p§kÑ−L fËc¢rZ Ll−a LaV¡ 
pju −eu a¡ −b−Lz HM¡−eJ Bjl¡ ¢WL LaV¡ °cOÑÉ−L 1 ¢jV¡l hm¡ qu 
a¡l hÉ¡MÉ¡ ¢h‘¡e −b−L f¡C, B−m¡ ¢e¢cÑø pj−u LaV¡ c§laÆ k¡u a¡l 

°cOÑÉ f¢lj¡−fl −j¢VÊL HLL R¡s¡J hý −r−œ B−NL¡l fÜ¢a−a C¢’, 
g¥V, J NS ¢c−u °cOÑÉ j¡f¡ quz p¡d¡lZa °cOÑÉ j¡f¡l −úm h¡ ¢g−a−aJ 
HL¢c−L ¢jV¡l J −p¢¾V¢jV¡l Hhw AeÉ¢c−L C¢’ J g¥V-Hl j¡f −cJu¡ 

5280 g¥V = 1 j¡Cmz 
i¢hoÉ−a LMeJ fË−u¡Se q−a f¡−l −j¢VÊL HLL−L C¢’ h¡ g¥−V f¢lhaÑe 

= 3.28082 g¥V z 

HM¡−eJ fËnÀ S¡N−a f¡−l, ¢WL LaV¡ i¡¢l q−m a¡−L Bjl¡ 1 NË¡j hmhz 
¢h‘¡e −b−Lz a¡R¡s¡ ph −c−nC S¡a£u 

f¢lj¡f pwÙÛ¡ B−R, −kM¡−e JS−el p¢WL f¢lj¡f¢V l¡M¡ b¡−Lz 

 
 
 
 
                       
 

−j¢VÊL fÜ¢a−a −h¢n JSe Ll−a hÉhq¡l qu L¥C¾V¡m J −j¢VÊL Vez HC 

L¥C¾V¡m 
−j¢VÊL Vez 

O¾V¡ d¢l a¡l hÉ¡MÉ¡ −f−u¢R fª¢bh£ p§kÑ−L fËc¢rZ Ll−a LaV¡ 
¢jV¡l hm¡ qu 

a¡l hÉ¡MÉ¡ ¢h‘¡e −b−L f¡C, B−m¡ ¢e¢cÑø pj−u LaV¡ c§laÆ k¡u a¡l 

−NL¡l fÜ¢a−a C¢’, 
g¥V, J NS ¢c−u °cOÑÉ j¡f¡ quz p¡d¡lZa °cOÑÉ j¡f¡l −úm h¡ ¢g−a−aJ 

Hl j¡f −cJu¡ 

 
i¢hoÉ−a LMeJ fË−u¡Se q−a f¡−l −j¢VÊL HLL−L C¢’ h¡ g¥−V f¢lhaÑe 

NË¡j hmhz 
¢h‘¡e −b−Lz a¡R¡s¡ ph −c−nC S¡a£u 

 
 
 
 
                       
 

−j¢VÊL fÜ¢a−a −h¢n JSe Ll−a hÉhq¡l qu L¥C¾V¡m J −j¢VÊL Vez HC 

                       



 

−j¢VÊL fÜ¢a−a JS−el j¡f ¢qp¡−h NË¡j h¡ ¢L−m¡NË¡j −k phÑc¡ hÉhq¡l qu 
a¡ euz hý −r−œ Bjl¡ f¡Eä h¡ BE−¾pl hÉhq¡l −c¢Mz −kje, f¡El¦¢V 
h¡ −LLÚ f¡E−ä j¡f¡ qu, Bh¡l Jo¤−dl f¢lj¡e A−eL pju BE−¾p j¡f¡ 
quz HC j¡f…¢m Bj¡−cl −S−e l¡M−a q−hz

alm fc¡bÑ f¢lj¡−fl HLLalm fc¡bÑ f¢lj¡−fl HLLalm fc¡bÑ f¢lj¡−fl HLLalm fc¡bÑ f¢lj¡−fl HLL
alm fc¡−bÑl ¢eSü −L¡eJ Buae −eCz a¡C alm fc¡bÑ j¡f¡l SeÉ 
Bjl¡ HL¢V ¢e¢cÑø Buae−L alm fc¡bÑ l¡M¡l f¡œ ¢qp¡−h −i−h ¢eCz 
HC f¡œ¢V qm °cOÑÉ, fËÙÛ, J EµQa¡u 
10

−p.¢j.
f¢lj¡f ¢nMhz 
alm fc¡bÑ d−l −pC f¢lj¡e−L dl¡ qu 
¢mV¡l (

fc¡−bÑl f¢lj¡e−L j¡f−a f¡¢lz j¡f¡l SeÉ 
¢h¢iæ f¡œ f¡Ju¡ k¡u, k¡l N¡−u −ú−ml j−a¡ 
c¡N ¢c−u LaV¡ alm fc¡bÑ B−R
qu EµQa¡ ¢c−uz 
alm fc¡bÑ f¢lj¡−f BE¾pJ hÉhq¡l quz
JS−el f¢lj¡f¢V −b−L HC BE¾p Bm¡c¡
a¡C H−L al−ml j¡f −h¡T¡−a gÓ¥CX BE¾p 
h¡ 
= 29.57

¢qp¡−h NÉ¡me hÉhq¡l Ll¡ quz ¢L¿¹¥, NÉ¡m−el j¡f¢V ¢h¢iæ −c−n ¢h¢iæ 
q−a −cM¡ k¡uz hª¢Vn 
¢mV¡lz
 

 

−j¢VÊL fÜ¢a−a JS−el j¡f ¢qp¡−h NË¡j h¡ ¢L−m¡NË¡j −k phÑc¡ hÉhq¡l qu 
a¡ euz hý −r−œ Bjl¡ f¡Eä h¡ BE−¾pl hÉhq¡l −c¢Mz −kje, f¡El¦¢V 
h¡ −LLÚ f¡E−ä j¡f¡ qu, Bh¡l Jo¤−dl f¢lj¡e A−eL pju BE−¾p j¡f¡ 
quz HC j¡f…¢m Bj¡−cl −S−e l¡M−a q−hz

j−e l¡−M¡:  
−j¢VÊL f¢lj¡−f f¢lhaÑe Ll−a 
1 BE¾p  =

alm fc¡bÑ f¢lj¡−fl HLLalm fc¡bÑ f¢lj¡−fl HLLalm fc¡bÑ f¢lj¡−fl HLLalm fc¡bÑ f¢lj¡−fl HLL
alm fc¡−bÑl ¢eSü −L¡eJ Buae −eCz a¡C alm fc¡bÑ j¡f¡l SeÉ 
Bjl¡ HL¢V ¢e¢cÑø Buae−L alm fc¡bÑ l¡M¡l f¡œ ¢qp¡−h −i−h ¢eCz 
HC f¡œ¢V qm °cOÑÉ, fËÙÛ, J EµQa¡u 
10 −p.¢j. x10 −p.¢j.
−p.¢j.3 h¡ 1000 ¢p¢pz 
f¢lj¡f ¢nMhz HC Bua−el j−dÉ −k f¢lj¡e 
alm fc¡bÑ d−l −pC f¢lj¡e−L dl¡ qu 
¢mV¡l (=1000 ¢p¢p

HC f¢lj¡e¢V−L HLL d−l Bjl¡ alm 
fc¡−bÑl f¢lj¡e−L j¡f−a f¡¢lz j¡f¡l SeÉ 
¢h¢iæ f¡œ f¡Ju¡ k¡u, k¡l N¡−u −ú−ml j−a¡ 
c¡N ¢c−u LaV¡ alm fc¡bÑ B−R
qu EµQa¡ ¢c−uz  
alm fc¡bÑ f¢lj¡−f BE¾pJ hÉhq¡l quz
JS−el f¢lj¡f¢V −b−L HC BE¾p Bm¡c¡
a¡C H−L al−ml j¡f −h¡T¡−a gÓ¥CX BE¾p 
h¡ fl oz hm¡ quz j−e l¡M−a q−h, 
= 29.57 ¢j¢m¢mV¡lz A−eL pju f¢lj¡f 
¢qp¡−h NÉ¡me hÉhq¡l Ll¡ quz ¢L¿¹¥, NÉ¡m−el j¡f¢V ¢h¢iæ −c−n ¢h¢iæ 
q−a −cM¡ k¡uz hª¢Vn 
¢mV¡lz B−j¢lL¡ jq¡−c−n hÉhq¡l qu 
 

 

−j¢VÊL fÜ¢a−a JS−el j¡f ¢qp¡−h NË¡j h¡ ¢L−m¡NË¡j −k phÑc¡ hÉhq¡l qu 
a¡ euz hý −r−œ Bjl¡ f¡Eä h¡ BE−¾pl hÉhq¡l −c¢Mz −kje, f¡El¦¢V 
h¡ −LLÚ f¡E−ä j¡f¡ qu, Bh¡l Jo¤−dl f¢lj¡e A−eL pju BE−¾p j¡f¡ 
quz HC j¡f…¢m Bj¡−cl −S−e l¡M−a q−hz

   16 BE¾p (h¡ oz

−j¢VÊL f¢lj¡−f f¢lhaÑe Ll−a 
= 28.3495 NË¡j; Hhw 

alm fc¡bÑ f¢lj¡−fl HLLalm fc¡bÑ f¢lj¡−fl HLLalm fc¡bÑ f¢lj¡−fl HLLalm fc¡bÑ f¢lj¡−fl HLL    
alm fc¡−bÑl ¢eSü −L¡eJ Buae −eCz a¡C alm fc¡bÑ j¡f¡l SeÉ 
Bjl¡ HL¢V ¢e¢cÑø Buae−L alm fc¡bÑ l¡M¡l f¡œ ¢qp¡−h −i−h ¢eCz 
HC f¡œ¢V qm °cOÑÉ, fËÙÛ, J EµQa¡u 10 

−p.¢j. x10 −p.¢j. = 
¢p¢pz Bjl¡ f−l Bua−el 

HC Bua−el j−dÉ −k f¢lj¡e 
alm fc¡bÑ d−l −pC f¢lj¡e−L dl¡ qu 

¢p¢p h¡ cc)z  
HC f¢lj¡e¢V−L HLL d−l Bjl¡ alm 

fc¡−bÑl f¢lj¡e−L j¡f−a f¡¢lz j¡f¡l SeÉ 
¢h¢iæ f¡œ f¡Ju¡ k¡u, k¡l N¡−u −ú−ml j−a¡ 
c¡N ¢c−u LaV¡ alm fc¡bÑ B−R −h¡T¡−e¡ 

alm fc¡bÑ f¢lj¡−f BE¾pJ hÉhq¡l quz
JS−el f¢lj¡f¢V −b−L HC BE¾p Bm¡c¡
a¡C H−L al−ml j¡f −h¡T¡−a gÓ¥CX BE¾p 

j−e l¡M−a q−h, 1 BE¾p 
¢j¢m¢mV¡lz A−eL pju f¢lj¡f 

¢qp¡−h NÉ¡me hÉhq¡l Ll¡ quz ¢L¿¹¥, NÉ¡m−el j¡f¢V ¢h¢iæ −c−n ¢h¢iæ 
q−a −cM¡ k¡uz hª¢Vn h¡ C¢Çf¢lu¡m j¡−f, 

B−j¢lL¡ jq¡−c−n hÉhq¡l qu US

Aˆ −nM¡l q¡−aM¢s

−j¢VÊL fÜ¢a−a JS−el j¡f ¢qp¡−h NË¡j h¡ ¢L−m¡NË¡j −k phÑc¡ hÉhq¡l qu 
a¡ euz hý −r−œ Bjl¡ f¡Eä h¡ BE−¾pl hÉhq¡l −c¢Mz −kje, f¡El¦¢V 
h¡ −LLÚ f¡E−ä j¡f¡ qu, Bh¡l Jo¤−dl f¢lj¡e A−eL pju BE−¾p j¡f¡ 
quz HC j¡f…¢m Bj¡−cl −S−e l¡M−a q−hz 

oz) = 1 f¡Eä (h¡ 
−j¢VÊL f¢lj¡−f f¢lhaÑe Ll−a — 

NË¡j; Hhw 1 f¡Eä  = 453.592

alm fc¡−bÑl ¢eSü −L¡eJ Buae −eCz a¡C alm fc¡bÑ j¡f¡l SeÉ 
Bjl¡ HL¢V ¢e¢cÑø Buae−L alm fc¡bÑ l¡M¡l f¡œ ¢qp¡−h −i−h ¢eCz 

10 −p¢¾V¢jV¡l L−lz Hl Buae qu 
 1000 

Bjl¡ f−l Bua−el 
HC Bua−el j−dÉ −k f¢lj¡e 

alm fc¡bÑ d−l −pC f¢lj¡e−L dl¡ qu 1 

HC f¢lj¡e¢V−L HLL d−l Bjl¡ alm 
fc¡−bÑl f¢lj¡e−L j¡f−a f¡¢lz j¡f¡l SeÉ 
¢h¢iæ f¡œ f¡Ju¡ k¡u, k¡l N¡−u −ú−ml j−a¡ 

−h¡T¡−e¡ 

alm fc¡bÑ f¢lj¡−f BE¾pJ hÉhq¡l quz 
JS−el f¢lj¡f¢V −b−L HC BE¾p Bm¡c¡z 
a¡C H−L al−ml j¡f −h¡T¡−a gÓ¥CX BE¾p 

BE¾p 
¢j¢m¢mV¡lz A−eL pju f¢lj¡f 

¢qp¡−h NÉ¡me hÉhq¡l Ll¡ quz ¢L¿¹¥, NÉ¡m−el j¡f¢V ¢h¢iæ −c−n ¢h¢iæ 
j¡−f, imperial 1 NÉ¡me 

US NÉ¡me = 3.8 ¢mV¡l z
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−j¢VÊL fÜ¢a−a JS−el j¡f ¢qp¡−h NË¡j h¡ ¢L−m¡NË¡j −k phÑc¡ hÉhq¡l qu 
a¡ euz hý −r−œ Bjl¡ f¡Eä h¡ BE−¾pl hÉhq¡l −c¢Mz −kje, f¡El¦¢V 
h¡ −LLÚ f¡E−ä j¡f¡ qu, Bh¡l Jo¤−dl f¢lj¡e A−eL pju BE−¾p j¡f¡ 

(h¡ lb) z  

= 453.592 NË¡j z  

alm fc¡−bÑl ¢eSü −L¡eJ Buae −eCz a¡C alm fc¡bÑ j¡f¡l SeÉ 
Bjl¡ HL¢V ¢e¢cÑø Buae−L alm fc¡bÑ l¡M¡l f¡œ ¢qp¡−h −i−h ¢eCz 

−p¢¾V¢jV¡l L−lz Hl Buae qu 

¢qp¡−h NÉ¡me hÉhq¡l Ll¡ quz ¢L¿¹¥, NÉ¡m−el j¡f¢V ¢h¢iæ −c−n ¢h¢iæ 
NÉ¡me = 4.55 
¢mV¡l z 
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11.2 −j¢VÊL f¢lj¡−f HLL f¢lhaÑe Ll¡ 
HLL…¢m f¢lhaÑe Ll¡l pju fËb−jC −S−e l¡M−a q−h Bjl¡ L£ Ll−a 
Q¡Cz c¤C lLj q−a f¡−l—hs −b−L −R¡V HL−L fËL¡n Ll¡, Abh¡ −R¡V 
−b−L hs HL−L fËL¡n Ll¡z hs −b−L −R¡V HL−L fËL¡n Ll−a Bj¡−cl 
d¡−f d¡−f …Z Ll−a q−h 10, 100, 1000, 10000 CaÉ¡¢c ¢c−uz Bl, 
−R¡V −b−L hs HL−L −k−a −N−m Bj¡−cl HLC i¡−h i¡N Ll−a q−hz 

Ec¡qlZ 1. hs −b−L −R¡V HL−L fËL¡n Ll¡hs −b−L −R¡V HL−L fËL¡n Ll¡hs −b−L −R¡V HL−L fËL¡n Ll¡hs −b−L −R¡V HL−L fËL¡n Ll¡ 
a) 7 −XL¡¢jV¡l 9 ¢jV¡l−L −p¢¾V¢jV¡l J ¢j¢m¢jV¡−l −mMz  
7 −X.¢j. 9 ¢j.  = 70 ¢j. + 9 ¢j.   (L¡lZ, 1 −X.¢j. =10 ¢j.) 
     = 79 ¢j x 100 −p.¢j.   (1¢j. =100 −p.¢j.) 
     = 7900 −p.¢j.        Ešl 

     = 7900 x 10 ¢j..¢j.    (1−p.¢j =10 ¢j..¢j.) 
= 79000 ¢j..¢j.        Ešl 

b) 5 −L¢S 7 −q.NË¡. 3 −X.NË¡.-−L NË¡j J −p¢¾VNË¡−j −mMz 
5 −L¢S  7 −q.NË¡. 3 −X.NË¡. = 5x1000 +7x100 +3x10 NË¡. 

  (L¡lZ, 1 −L¢S  =1000 NË¡., 1 −q.NË¡.  =100 NË¡., 1 −X.NË¡. =10 NË¡.) 
= 5000 +700 +30 NË¡. 
= 5730 NË¡.       Ešl 
= 5730 x100 −p.NË¡. (1NË¡. =100 −p.NË¡.) 
= 573000 −p.NË¡.     Ešl 

Ec¡qlZ 2. −R¡V −b−L hs HL−L fËL¡n Ll¡−R¡V −b−L hs HL−L fËL¡n Ll¡−R¡V −b−L hs HL−L fËL¡n Ll¡−R¡V −b−L hs HL−L fËL¡n Ll¡ 
a) 5347 ¢mV¡l−L ¢L−m¡¢mV¡l, −q−ƒ¡¢mV¡l, −XL¡¢mV¡l, J ¢mV¡−l −mMz  

5347 ¢mV¡l = 5000+300+40+7 ¢mV¡l 
   = 5000÷1000 ¢L.¢m. +300÷100 −q.¢m. + 40÷10 −X.¢m. +7 ¢m. 

   = 5 ¢L.¢m. 3 −q.¢m. 4 −X.¢m. 7 ¢m.   Ešl 

b) 7455 −p¢¾V¢jV¡l−L −XL¡¢jV¡l, ¢jV¡l, −X¢p¢jV¡l, J −p¢¾V¢jV¡−l −mMz  
7455 −p¢¾V¢jV¡l =7000+400+50+5 −p¢¾V¢jV¡l 
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  =7000÷1000 −X.¢j. +400÷100 ¢j. + 50÷10 −X¢p¢j.. +5 −p.¢j. 
    (L¡lZ, 1 −X.¢j. =10 ¢j.. = 100 −X¢p¢j.. =1000 −p.¢j., 

1 ¢j.  =10 −X¢p¢j.. =100 −p.¢j., 1 −X¢p¢j..  =10 −p.¢j.) 

=7 −X.¢j. 4 ¢j.  5 −X¢p¢j.. 5 −p.¢j.     Ešl 

Ae¤n£me 11.1  
1. ¢j¢m¢jV¡−l fËL¡n L−l¡ 

a. 79 ¢j. 35 −p.¢j. 8 ¢j..¢j.   b.  32 ¢j. 51 −p.¢j. 12 ¢j..¢j. 
c. 3 ¢L.¢j. 12 ¢j. 16 −p.¢j.  d.  7 −X.¢j. 4 ¢j.  5 −X¢p¢j.. 5 −p.¢j. 

2. −p¢¾VNË¡−j fËL¡n L−l¡ 
a. 17 NË¡. 31 −X¢pNË¡.   b.  72 −L¢S  33 NË¡. 
c. 15 −L¢S  7 −q.NË¡. 3 −X.NË¡. d. 71 −q.NË¡. 8 −X.NË¡. 3 NË¡. 

3. ¢mV¡−l fËL¡n L−l¡ 
a. 14 −X.¢m. 7 ¢m.      b. 31 −q.¢m. 8 −X.¢m. 
b. 15 ¢L.¢m. 3 −q.¢m. 4 −X.¢m.  d. 42 ¢L.¢m. 9 −X.¢m. 7 ¢m.   

4. 2345 ¢mV¡l−L ¢L−m¡¢mV¡l, −q−ƒ¡¢mV¡l, −XL¡¢mV¡l J ¢mV¡−l −mMz  
5. 4356 −p¢¾V¢jV¡l−L −XL¡¢jV¡l, ¢jV¡l, −X¢p¢jV¡l J −p¢¾V¢jV¡−l −mMz  
6. 6085 ¢j¢mNË¡j−L NË¡j, −X¢pNË¡j, −p¢¾VNË¡j J ¢j¢mNË¡−j −mMz 

Ešl 11.1  
 a. b. c. d. 

1. 79358 32522 3012160 74550 

2. 2010 7203300 1573000 718300 

3. 147 3180 15340 42097 

4. 2 ¢L.¢m. 3 −q.¢m. 4 −X.¢m. 5 ¢m. 
5. 4 −X.¢j. 3 ¢j. 5 −X¢p¢j.. 6 −p.¢j. 
6. 6  NË¡.  8 −p.NË¡. 5 ¢j.NË¡. 

11.3 −j¢VÊL f¢lj¡−fl −k¡N, ¢h−u¡N, …Z J i¡N 
−j¢VÊL fÜ¢al ph−Q−u hs p¤¤¢hd¡ qm, p¡d¡lZ Aˆ Lo¡l ¢eu−jC −k¡N, 
¢h−u¡N, …Z J i¡N Ll¡ k¡−hz Hl L¡lZ, pwMÉ¡l ÙÛ¡e£u j¡e −ki¡−h hm¡ 
qu cn-−L ¢i¢š L−l, −j¢VÊL f¢lj¡f…¢mJ cn-−L ¢i¢š L−l p¡S¡−e¡ quz  
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cn-−ul −b−L hs pwMÉ¡l −L¡eJ HL¢V (¢L−m¡l Lj) f¢lj¡f−L  
pq−SC HCi¡−h p¡¢S−u ¢e−a f¡¢lz pwMÉ¡¢Vl −no HLL Aˆ¢V−L a¡l 
f¢lj¡f¢Vl O−l ¢m−M, Bj¡l HL HL L−l h¡y¢c−Ll Aˆ…¢m−L fl fl 
B−Nl f¢lj¡f…¢ml O−l ¢mMhz ¢L−m¡ f¢lj¡f¢V qm ph−Q−u hs (JSe 
f¢lj¡−fl −r−œ L¥C¾V¡m J Ve qu), a¡C ¢L−m¡ f¢lj¡f¢V−a cnL h¡ a¡l 
−b−LJ hs pwMÉ¡ Bp−a f¡−l, k¡ AeÉ f¢lj¡f…¢m−a q−h e¡z  
f¢lj¡f ¢L−m¡ −q−ƒ¡ −XL¡ ¢jV¡l −X¢p −p¢¾V ¢j¢m 
5678¢jV¡l 5 6 7 8    

2045 −X¢p¢jV¡l  2 0 4 5   

3407 ¢j¢m¢jV¡l    3 4 0 7 

8003045¢j¢m¢jV¡l 8 0 0 3 0 4 5 

7350 ¢jV¡l 7 3 5 0    

25103890¢j¢m¢jV¡l 25 1 0 3 8 9 0 

n§eÉ…¢m hp¡−e¡ ¢h−no L−l mr L−l¡z  

−k¡N, ¢h−u¡N, …Z, i¡N Ll¡l pju Bjl¡ pwMÉ¡l ¢eu−jC, −L¡eJ O−ll 
−k¡Ngm HLL A−ˆl −b−L −h¢n q−m cnL Aˆ¢V−L B−Nl O−l −k¡N 
Llhz Bh¡l, ¢h−u¡N Ll¡l pju B−Nl Ol −b−L 1 d¡l ¢e−u f−ll O−l 
Be−m a¡−L dl−a q−h 10z  
Ec¡qlZ 1. −k¡N L−l¡ 
¢jV¡l −X¢p −p¢¾V ¢j¢m  ¢L−m¡ −q−ƒ¡ −XL¡ NË¡j 
2+1 7+1 4+1 3   8 8+1 6+1 7 

4 5 6 8   4 0 9 8 

7 3 1 1   12 9 6 5 

Ec¡qlZ 2. −k¡N L−l¡ 
¢jV¡l −X¢p −p¢¾V ¢j¢m  ¢L−m¡ −q−ƒ¡ −XL¡ NË¡j 
  2+2 7+1 4+2 3       8+3 8+2 6+2 7 

  3 4 5 7   5 9 4 5 

  4 5 6 8   4 4 9 8 

  7 3 1 9   15 9 6 5 

18 0 8 7   35 2 7 5 
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Ec¡qlZ 3. ¢h−u¡N L−l¡ 
¢mV¡l −X¢p −p¢¾V ¢j¢m  ¢L−m¡ −q−ƒ¡ −XL¡ ¢mV¡l 
7–1 3–1 4–1 3   8 8–1 6–1 7 

4 5 6 5   4 0 9 8 

2 7 7 8   4 7 6 9 

Ec¡qlZ 4. …Z L−l¡ 
¢mV¡l −X¢p −p¢¾V ¢j¢m  ¢L−m¡ −q−ƒ¡ −XL¡ ¢mV¡l 
5+6 7 0+5 6   3+3 4+5 6+6 8 

  x 9    x 8 

51 3 5 4  27 7 4 4 

Ec¡qlZ 4. i¡N: 74 ¢L.¢j. 8 −q.¢j. 9 −X.¢j. 8 ¢j. −L 9 ¢c−u i¡N L−l¡ 
 
 
 
 
 
 
 

 

 

 

mr L−l¡: HC i¡N¢V ¢L¿¹¥ BlJ pq−S Ll¡ k¡uz  
74 ¢L.¢j. 8 −q.¢j. 9 −X.¢j. 8 ¢j. =74898¢j. z HC pwMÉ¡¢V−L Bjl¡ 9 

¢c−u i¡N Ll−m i¡Ngm f¡C 8322 = 8 ¢L.¢j. 3 −q.¢j. 2 −X.¢j. 2 ¢j. z  
pqS fÜ¢a: −j¢VÊL fÜ¢al f¢lj¡f…¢ml −k¡N, ¢h−u¡N, …Z, i¡N Bjl¡ 
pqS Ef¡−u p¡d¡lZ pwMÉ¡ d−l ¢e−u Ll−a f¡lhz HV¡ Ll¡l pju mr 
l¡M−a q−h, pwMÉ¡…¢ml f¢lj¡f −ke HLC quz pwMÉ¡ ¢qp¡−h −mM¡l pju 
j¡−Tl −L¡eJ f¢lj¡f n§eÉ qJu¡l SeÉ hm¡ e¡ b¡L−mJ a¡l S¡uN¡u n§eÉ 
¢mM−a i¥m −ke e¡ quz −kje, 7 ¢j. 8 −p¢¾V.¢j. j¡−e ¢L¿¹¥ 708 −p¢¾V.¢j.z  
Ešl¢V −mM¡l pju Bh¡l f¢lj¡f…¢m−a −i−P ¢mM−a q−hz  

9 │74 ¢L.¢j. 8 −q.¢j. 9 −X.¢j. 8 ¢j.│8¢L.¢j. 3−q.¢j. 2−X.¢j. 2¢j. 
       72  ¢L.¢j. 
    28 −q.¢j.     (L¡lZ, 2 ¢L.¢j. = 20 −q.¢j.)    
   27 −q.¢j. 
  19 −X.¢j.  (L¡lZ, 1−q.¢j. = 10−X.¢j.) 
           18 −X.¢j. 
     18 ¢j.  (L¡lZ, 1−X.¢j. = 10¢j.) 
     18 ¢j.  

   0 

Ešl: i¡Ngm 8¢L.¢j. 3−q.¢j. 2−X.¢j. 2¢j;. i¡N−no 0  
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Ec¡qlZ 5. −k¡N L−l¡: 4 −L¢S 7 NË¡j J 12 NË¡j 5 −p¢¾VNË¡jz 
4 −L¢S 7 NË¡j   =  4007  NË¡j  =   400700 −p¢¾VNË¡j  
12 NË¡j 5 −p¢¾VNË¡j  =        1205 −p¢¾VNË¡j 

             401905 −p¢¾VNË¡j 
Hh¡−l f¢lj¡f¢V−L ÙÛ¡e£u j¡−e hp¡−a q−h, ¢e−Ql j−a¡ L−lz 
f¢lj¡f ¢L−m¡ −q−ƒ¡ −XL¡ NË¡j −X¢p −p¢¾V ¢j¢m 

401905 −p¢¾VNË¡j = 4 0 1 9 0 5  

Ešl: 4 −L¢S 1 −XL¡NË¡j  9 NË¡j 5 −p¢¾VNË¡j z 
Ae¤n£me 11.2 

1. −k¡N L−l¡ 
a. ¢jV¡l −X¢p −p¢¾V ¢j¢m b. ¢L−m¡ −q−ƒ¡ −XL¡ NË¡j 
 3 6 9 3   7 8 5 5 

 4 5 6 8   4 0 9 8 

 

c. ¢mV¡l −X¢p −p¢¾V ¢j¢m d. ¢L−m¡ −q−ƒ¡ −XL¡ NË¡j 
   2 7 4 5       7 7 8 5 

   7 5 0 3   8 6 5 8 

   4 2 6 6   5 7 7 8 

   8 1 9 7   12 8 7 6 

2.    ¢h−u¡N L−l¡ 
a. ¢mV¡l −X¢p −p¢¾V ¢j¢m b. ¢L−m¡ −q−ƒ¡ −XL¡ ¢mV¡l 
 5 0 4 3  9 5 3 7 

 3 3 7 8  5 5 9 8 

 

c. ¢mV¡l −X¢p −p¢¾V ¢j¢m d. ¢L−m¡ −q−ƒ¡ −XL¡ ¢mV¡l 
 6 5 2 3  8 3 6 5 

 3 7 8 6  4 7 9 8 
 
3.   …Z L−l¡ 

a. ¢mV¡l −X¢p −p¢¾V ¢j¢m b. ¢L−m¡ −q−ƒ¡ −XL¡ ¢mV¡l 
 3 8 0 7  9 3 7 8 

   x 9    x 6 



 

Aˆ −nM¡l q¡−aM¢s–¢àa£u i¡N  119 

 

 

c. ¢mV¡l −X¢p −p¢¾V ¢j¢m d. ¢L−m¡ −q−ƒ¡ −XL¡ ¢mV¡l 
 5 7 0 6  3 4 6 8 

   x 12    x 15 

4.   i¡N L−l¡ 
a.  2 ¢L.¢j. 9 −q.¢j. 7 −X.¢j. 6 ¢j. ` 8    

b.  15 ¢L.¢j. 7 −q.¢j. 5 −X.¢j. 7 ¢j. ` 7    

c.  24 ¢L.¢j. 7 −q.¢j. 3 −X.¢j. 2 ¢j. ` 12   

d.  30 ¢L.¢j. 3 −q.¢j. 4 −X.¢j. 5 ¢j. ` 15   

Ešl 11.2  
 a. b. c. d. 

1. 8 ¢j.  2 −X¢p¢j. 
6 −p.¢j. 1 ¢j.¢j. 

11 −L¢S 9−q.NË¡.      
5 −X.NË¡. 3 NË¡. 

22¢m. 7−X¢p¢m.     
1 −p.¢m. 1¢j.¢m. 

32−L¢S 9 −X.NË¡.     
7 NË¡. 

2. 1¢m.  6 −X¢p¢m.         
6 −p.¢m. 5¢j.¢m. 

 3¢L.¢m. 9−q.¢m.      
3 −X.¢m. 9 ¢m.  

2 ¢m. 7 −X¢p¢m.      
3 −p.¢m. 7 ¢j.¢m. 

3¢L.¢m.  5−q.¢m.    
6 −X.¢m. 7¢m. 

3. 34¢m. 2−X¢p¢m.             
6 −p.¢m. 3 ¢j.¢m. 

56¢L.¢m. 2 −q.¢m.     
6 −X.¢m. 8 ¢m. 

68¢m. 4 −X¢p¢m.             
7 −p.¢m. 2 ¢j.¢m. 

52¢L.¢m. 2 −X.¢m.   

4. 3 −q.¢j. 7 −X.¢j.   
2 ¢j. 

2 ¢L.¢j. 2 −q.¢j. 
5 −X.¢j. 1¢j. 

2 ¢L.¢j. 6 −X.¢j.  
1 ¢j. 

2 ¢L.¢j. 2 −X.¢j.   
3 ¢j. 

11.4 cn¢jL iNÀ¡w−n −j¢VÊL f¢lj¡f 
−j¢VÊL f¢lj¡f…¢ml ¢h−noaÆ qm H…¢m−L pl¡p¢l cn¢jL iNÀ¡w−n fËL¡n 
Ll¡ k¡u, fl fl 10 ¢c−u i¡N L−lz ¢e−Q Hl ¢LR¥ Ec¡qlZ −cJu¡ qm 
¢jV¡l ¢c−uz HLC i¡−h Bjl¡ NË¡j h¡ ¢mV¡l−LJ fËL¡n Ll−a f¡lhz 

¢jV¡l = −X¢p¢jV¡l = −p¢¾V¢jV¡l = ¢j¢m¢jV¡l 

0.005  0.05  0.5  5  

0.037 0.37 3.7 37 

0.5 5 50 500 

2.8 28 280 2800 
 

¢L−m¡¢jV¡l = −q−ƒ¡¢jV¡l = −XL¡¢jV¡l = ¢jV¡l 

0.001 0.01 0.1 1 

0.435 4.35 43.5 0.435 
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0.750 7.5 75 750 

0.500 5 50 500 

5.708 57.08 570.8 5708 

HCi¡−h cn¢jL iNÀ¡w−n −mM¡l p¤¤¢hd¡ qm, Bjl¡ −j¢VÊL f¢lj¡f…¢ml 
−k¡N, ¢h−u¡N, …Z, i¡N pq−SC cn¢jL iNÀ¡w−nl ¢eu−jC Ll−a f¡lhz öd¤ 
−Mu¡m l¡M−a q−h k¡−a f¢lj¡f¢Vl HLL¢V HLC b¡−Lz  

Ae¤n£me 11.3 cn¢j−L ¢m−M −c−M¡ ¢WL ¢m−MR ¢Le¡ 
−m−M¡ a. cn¢jL ¢jV¡−l b. cn¢jL ¢mV¡−l c. cn¢jL NË¡−j 

1. 4¢j. 75−p.¢j. 7¢m. 5−p.¢m. 12NË¡. 8−p.NË¡. 
2. 7¢j. 7−X¢p¢j. 9−p.¢j. 2¢m. 7−X¢p¢m. 3−p.¢m. 3NË¡. 6−X¢pNË¡. 2−p.NË¡. 
3 4−X¢p¢j. 5¢j.¢j. 14−X¢p¢m. 3¢j.¢m. 7−X¢pNË¡. 25¢j.NË¡. 
4. 75−p.¢j. 4¢j.¢j.  22−p.¢m. 4¢j.¢m.  17−p.NË¡. 9¢j.NË¡.  
−m−M¡ a. cn¢jL ¢L−m¡NË¡−j  b. cn¢jL −p¢¾V¢mV¡−l  c. cn¢jL ¢L−m¡¢jV¡−l  
5. 2¢L.NË¡. 3−q.NË¡. 4−X.NË¡. 2¢L.¢m. 30¢m. 14¢j.¢m. 2¢L.¢j. 3−q.¢j. 4−X.¢j. 

6. 12¢L.NË¡. 4NË¡. 6−q.¢m. 4¢m. 8¢j.¢m. 12¢L.¢j. 4¢j. 

7. 4−X.NË¡. 5NË¡.  7 −p.¢m. 4¢j.¢m. 5¢j. 7 −p.¢j. 

8. 500NË¡. 30 −p.NË¡.  50¢m. 3 −p.¢m. 4¢j.¢m. 50¢j. 3 −p.¢j. 4¢j.¢j. 

Ae¤n£me 11.4 −j¢VÊL f¢lj¡f…¢m−a −i−P −m−M¡ 
 a. b. c. 
1. 4.75¢j.  7.05¢m.  12.08NË¡. 
2. 7.79¢j.  2.73.¢m. 3.62NË¡. 
3 0.405¢j. 1.403¢m. 0.725NË¡. 
4. 0.0754¢j.  0.224¢m.  0.179NË¡.  
5. 2.34¢L.NË¡.  2.03014¢L.¢m. 2.34¢L.¢j.  
6. 12004¢L.NË¡. 0.604008¢L.¢m. 12.004¢L.¢j. 
7. 0.045¢L.NË¡. 0.000074¢L.¢m. 0.00507¢L.¢j. 
8. 0.503¢L.NË¡.  50.000034¢L.¢m. 0.050034 ¢L.¢j. 
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Ae¤n£me 11.5  

1. l¢”−al j¤¢cl −c¡L¡−e 123 −L¢S 340 NË¡j Q¡m B−Rz a¡l −b−L 
−p 32 −L¢S 250 NË¡j Q¡m pq−ch−L J 67 −L¢S 750 NË¡j Q¡m 
p”£h−L ¢h¢œ² Llmz l¢”−al L¡−R HMe La Q¡m lCm? 

2. f¡s¡l ¢fL¢e−L 12 Se fË−aÉ−L ¢cm 2 −L¢S 500 NË¡j L−l Q¡m, 
J 7 Se fË−aÉ−L ¢cm 1 −L¢S 750 NË¡j L−l X¡mz −j¡V La Q¡m, 
J La X¡m qm? 

3. HL HLSe k¢c j¡b¡¢fR¥ 225 NË¡j Q¡−ml i¡a M¡u, a¡q−m 1 −L¢S 
575 NË¡j Q¡−m La Se −M−a f¡l−h? 

4. HL¢V S−ml XÊ¡−j 175 ¢mV¡l Sm d−lz HL¢V h¡m¢a−a k¢c 12 

¢mV¡l 50 −p¢¾V¢mV¡l Sm −a¡m¡ k¡u, a¡q−m XÊ¡j¢V il−a La 
h¡m¢a Sm m¡N−h?  

5. −h¡mf¤l −b−L LmL¡a¡ 192 ¢L−m¡¢jV¡l 330 ¢jV¡l, J LmL¡a¡ 
−b−L hdÑj¡e 107 ¢L−m¡¢jV¡l 750 ¢jV¡lz a¡q−m −h¡mf¤l −b−L 
hdÑj¡e LaV¡ c§l? 

Ešl 11.5  
1. 23 −L¢S 340 NË¡. 2. 30 −L¢S Q¡m; 12−L¢S 250 NË¡. X¡m 

3. 7 Se 4. 14 h¡m¢a 5. 84¢L.¢j. 580¢j. 
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f¡W 12. i¡la£u j¤â¡l f¢lj¡f 
−k−L¡eJ ¢LR¥ ¢Le−aC Bj¡−cl V¡L¡fup¡ m¡−Nz a¡C Bjl¡ L¡S L−l 
V¡L¡fup¡ Ef¡SÑe L¢l, J a¡ ¢c−u fË−u¡Se£u ¢S¢epfœ ¢L¢ez Bl f¡l−m 
¢LR¥ V¡L¡fup¡ p’uJ L¢lz V¡L¡fup¡…−m¡ h¡S¡−l B−p hÉ¡wL −b−Lz ph 
−c−nlC ¢eSü V¡L¡fup¡ B−R J a¡−cl Bm¡c¡ e¡jJ B−Rz Hj¢e−a 
V¡L¡fup¡−L hm¡ qu j¤â¡ (Cw−l¢S−a, j¡¢e)z V¡L¡fup¡ h¡ j¤â¡l c¤¢V dle 
qu d¡a¥ j¤â¡ (Cw−l¢S−a, L−ue) J L¡N−Sl j¤â¡ (Cw−l¢S−a, L¡−l¢¾p −e¡V 
h¡ öd¤ −e¡V)z i¡la£u V¡L¡fup¡l e¡j l¦¢fl¦¢fl¦¢fl¦¢f (Cw−l¢S−a, Rupee), k¡−L 
−mM¡ qu ₹ ¢Qq² ¢c−uz 

V¡L¡fup¡ ¢c−u ¢S¢epf−œl −Le¡ J −hQ¡ qu, a¡C −k−L¡eJ −Le¡−hQ¡l 
¢S¢e−pl c¡j j¡f¡ qu V¡L¡fup¡ ¢c−uz −kje, dl¡ k¡L HL¢V −feÚ¢p−ml 
c¡j ₹3, HL ¢mV¡l c¤−dl c¡j ₹20, HL −L¢S Q¡−ml c¡j ₹40, HL 
fÉ¡−LV ¢hú¥−Vl c¡j ₹5 V¡L¡z a¡q−m Bjl¡ hm−a f¡lh, 4¢V −feÚ¢pm  
¢Le−a ₹12, 3 ¢mV¡l c¤d ¢Le−a ₹60, 7 −L¢S Q¡m ¢Le−a ₹280, 5 
fÉ¡−LV ¢hú¥V ¢Le−a ₹25 m¡N−hz  ka V¡L¡fup¡ ¢Le−a m¡Nm, h¡ ¢hœ²£ 
L−l −c¡L¡ec¡l −fm, a¡−L Bjl¡ h¢m ¢S¢ep…−m¡l j§mÉ (Cw−l¢S−a 
iÉ¡m¤)z HM¡−e −k¡N L−l ph…¢ml −j¡V j§mÉ qm ₹377z  

12.1 i¡la£u j¤â¡l HLL 
V¡L¡fup¡ ¢c−u ¢S¢epf−œl j§mÉ f¢lj¡−fl i¡la£u HLL qm HL l¦¢f, ₹ 
1 (k¡−L Bjl¡ h¢m 1 V¡L¡)z HC 1 V¡L¡−L Bh¡l na¡w−n i¡N L−l 
Bjl¡  1 fup¡ f¡Cz j¡−e 100 fup¡u 1 V¡L¡z fup¡−L −mM¡ qu p 
¢c−uz l¦¢f J fup¡l f¢lj¡f Bjl¡ cn¢jL iNÀ¡wn ¢c−u h¤T−a f¡¢lz 

100p = ₹1   50p =  ₹0.5   25p =  ₹0.25    1p = ₹0.01    

p¤¤al¡w, ₹42.57 j¡−e qm 42 V¡L¡ 57 fup¡ h¡ ₹42 J 57pz  
V¡L¡fup¡l −me−ce h¡ −Le¡L¡V¡ p¤¤¢hd¡l SeÉ −c−nl plL¡l ¢h¢iæ j§mÉ 

f¢lj¡−fl d¡a¥ j¤â¡ J −e¡V ¢WL L−l −cu, k¡ Bjl¡ hÉhq¡l L¢lz B−N 1 
fup¡, 2 fup¡, 3 fup¡, 10 fup¡, 20 fup¡ hÉhq¡l qaz BSL¡m ph 
¢S¢e−plC c¡j −h−s k¡Ju¡u J…¢m Bl hÉhq¡l qu e¡z Hje¢L 25 fup¡, 
50 fup¡J M¤hC Lj hÉhq¡l quz a¡q−mJ c¡j S¥−s −j¡V j§mÉ ¢qp¡−hl 
pju fup¡ b¡−Lz ¢e−Q i¡la£u j¤â¡ h¡ V¡L¡ fup¡l R¢h −c−M e¡Jz  



 

d¡a¥ j¤â¡, Cw−l¢S−a d¡a¥ j¤â¡, Cw−l¢S−a d¡a¥ j¤â¡, Cw−l¢S−a d¡a¥ j¤â¡, Cw−l¢S−a 

V¡L¡ h¡ L¡N−Sl −e¡V, Cw−l¢S−aV¡L¡ h¡ L¡N−Sl −e¡V, Cw−l¢S−aV¡L¡ h¡ L¡N−Sl −e¡V, Cw−l¢S−aV¡L¡ h¡ L¡N−Sl −e¡V, Cw−l¢S−a

 

 

 

d¡a¥ j¤â¡, Cw−l¢S−a d¡a¥ j¤â¡, Cw−l¢S−a d¡a¥ j¤â¡, Cw−l¢S−a d¡a¥ j¤â¡, Cw−l¢S−a 

V¡L¡ h¡ L¡N−Sl −e¡V, Cw−l¢S−aV¡L¡ h¡ L¡N−Sl −e¡V, Cw−l¢S−aV¡L¡ h¡ L¡N−Sl −e¡V, Cw−l¢S−aV¡L¡ h¡ L¡N−Sl −e¡V, Cw−l¢S−a

 

 

 

 

d¡a¥ j¤â¡, Cw−l¢S−a d¡a¥ j¤â¡, Cw−l¢S−a d¡a¥ j¤â¡, Cw−l¢S−a d¡a¥ j¤â¡, Cw−l¢S−a Coin (L−ue)(L−ue)(L−ue)(L−ue)    –    

V¡L¡ h¡ L¡N−Sl −e¡V, Cw−l¢S−aV¡L¡ h¡ L¡N−Sl −e¡V, Cw−l¢S−aV¡L¡ h¡ L¡N−Sl −e¡V, Cw−l¢S−aV¡L¡ h¡ L¡N−Sl −e¡V, Cw−l¢S−a    Currency
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urrency (L¡−l¢¾p)(L¡−l¢¾p)(L¡−l¢¾p)(L¡−l¢¾p)    
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    –    i¡la£ui¡la£ui¡la£ui¡la£u    
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Ae¤n£me 12.1 

1. V¡L¡u (₹) fËL¡n L−l¡ 
300 p 700 p 1200 p 34000 p 

187 p 2307 p 80004 p 1201005 p 

2. fup¡u (p) fËL¡n L−l¡ 
₹32 ₹47 ₹355 ₹231 

₹507 ₹912 ₹401 ₹1209 

3. cn¢j−L fËL¡n L−l¡ 
₹30  J  7p  ₹100 J  30 p  ₹122  J  97 p  ₹304 J 9p  

₹34 J 57p  ₹8010 J 20p  ₹10 J 10p  ₹10 J 1p  

4. V¡L¡ (₹) J fup¡u (p) fËL¡n L−l¡ 
₹30.57   ₹100.58  ₹100.10  ₹100.01 

₹34.22  ₹3004. 01 ₹999.9  ₹333.03 

12.2  V¡L¡fup¡l −k¡N, ¢h−u¡N, …Z, J i¡N 
V¡L¡fup¡l −k¡N, ¢h−u¡N, …Z J i¡N Ll¡l HLV¡ fÜ¢a qm, B−N ph…¢m 
V¡L¡ J fup¡−L fup¡u fËL¡n L−l −eJu¡z fËb−j V¡L¡l pwMÉ¡¢V−L 100 
¢c−u …Z L−l fup¡u ¢e−u H−p a¡l p¡−b fup¡l pwMÉ¡¢V−L −k¡N L−l 
phV¡C fup¡u ¢m−M ¢e−a q−h J a¡lfl pwMÉ¡…¢m ¢e−u −k¡N, ¢h−u¡N, …Z 
J i¡N Ll¡ k¡−h p¡d¡lZ pwMÉ¡ ¢qp¡−hz EšlV¡ Bp−h fup¡u, J a¡C 
a¡−L Bh¡l 100 ¢c−u i¡N L−l V¡L¡ J fup¡u ¢mM−a q−hz 
Ec¡qlZ 1. −k¡N L−l¡: ₹34 p78  +  ₹73 p57 
₹34  p78 = p 34x 100+78 = p 3400+78 =    p 3478  

₹73  p57 = p 73x 100+57 = p 7300+57 =    p 7357  

               p10835 

Ešl:  p10835 = ₹10835÷100 = ₹108.35 = ₹108 p35   
Ec¡qlZ 2. ¢h−u¡N L−l¡: ₹73 p57 – ₹34  p78   
₹73 p57 = p 73x 100+57 = p 7300+57  =  p 7357  

₹34  p78 = p 34x 100+78 = p 3400+78  =  p 3478    
                                                        p 3879 

Ešl:  p 3879 = ₹3879÷100 = ₹38.79 = ₹38 p79     
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Ec¡qlZ 3. …Z L−l¡: ₹43 p85 x 4  

₹43 p85 = p 43x 100+85 = p 4300+85  =  p 4385  

               x  4 
                                                                p17540 

Ešl:  p 17540 = ₹17540÷100 = ₹175.40 = ₹175 p40   

Ec¡qlZ 4. i¡N L−l¡: ₹81 p45÷ 9  

₹81 p45 = p 81x 100+45 = p 8100+45  =  p 8145   

       9│8145│905 

                81 

           45 

          45 

            0 

Ešl:  p 905 = ₹905÷100 = ₹9.05 = ₹9 p5   
Ae¤n£me 12.2   
 a. −k¡N L−l¡ b. ¢h−u¡N L−l¡ c. …Z L−l¡ d. i¡N L−l¡ 
1.    ₹203 p54  

+  ₹ 85  p65  
   ₹ 23  p27  
–  ₹ 17  p82   

₹73  p57 

x 5 

₹73  p55 

÷ 5 

2.    ₹623 p8  
+  ₹288 p97   

   ₹203 p62  
–  ₹112 p73   

₹103  p18 

x 9 
₹102 p 87 

÷9 
3.    ₹123 p56  

+  ₹ 94  p9   
   ₹123 p27  
–  ₹104 p82   

₹703  p43 

x 12 

₹723 p48 

÷12 

4.    ₹786 p87  
+  ₹112 p43   

   ₹237 p06  
–  ₹ 98  p18   

₹227  p67 

x 11 
₹227 p59 

÷ 11 

Ešl 5.7  
 a. b. c. d. 

1. ₹289  p19 ₹5   p45 ₹367   p85 ₹14  p71 

2. ₹912  p05 ₹90  p89 ₹928   p62 ₹11  p 43 

3. ₹217 p65 ₹18  p45 ₹8441 p16 ₹60  p29 

4. ₹899 p30 ₹138 p88 ₹2504 p37 ₹20  p69 

−R¡V pwMÉ¡l −R¡V pwMÉ¡l −R¡V pwMÉ¡l −R¡V pwMÉ¡l pqS fÜ¢a: pqS fÜ¢a: pqS fÜ¢a: pqS fÜ¢a: A−eL pj−uC V¡L¡fup¡l ¢qp¡h Hi¡−h ¢m−M 
Ll¡l p¤¤−k¡N b¡−L e¡, ¢h−noa −c¡L¡eh¡S¡l Ll¡l pjuz a¡C V¡L¡fup¡l 
−R¡VM¡−V¡ ¢qp¡h Bj¡−cl j−e j−eC L−l ¢e−a quz j−e j−e ¢qp¡h Ll¡l 
SeÉ Bjl¡ fËb−j fup¡l ¢qp¡hV¡ L−l ¢eC J −pV¡l V¡L¡l Awn J 
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fup¡l Awn k¡ f¡C a¡ j−e l¡¢Mz Hlfl V¡L¡l Aw−nl ¢qp¡h L−l a¡l 
p¡−b H−L −k¡N L−l ¢eCz 
−k¡N Ll¡−k¡N Ll¡−k¡N Ll¡−k¡N Ll¡    
fup¡…¢ml −k¡Ngm¢V HLn−al −h¢n q−a f¡−lz Bjl¡ S¡¢e 100 fup¡u 
1 V¡L¡z a¡C fup¡l −k¡Ngm¢V 100-l −h¢n q−m 1 V¡L¡, 200-l −h¢n 
q−m 2 V¡L¡—HCi¡−h V¡L¡l Awn¢V Bm¡c¡ L−l q¡−a −l−M h¡¢L fup¡l 
Awn¢V fup¡ ¢qp¡−h ¢mMhz Hlfl V¡L¡l Awn¢V −k¡N L−l ¢e−u q¡−a 
l¡M¡ V¡L¡−LJ −k¡N L−l −eh J −k¡Ngm¢V V¡L¡ ¢qp¡−h ¢mMhz  
Ec¡qlZ 5. −k¡N L−l¡: ₹62  p53  +  ₹43 p78  

HM¡−e Bjl¡ B−N fup¡l Awn¢V −k¡N Llhz 
p53 + p78 =  p131  =  ₹1  p31 

Hh¡−l V¡L¡l Awn¢V −k¡N Llh J a¡l p¡−b HC 1 V¡L¡J −k¡N L−l −ehz 
₹62 + ₹43 + ₹1 = ₹105+ ₹1 =  ₹106 

Hh¡−l V¡L¡ J fup¡l Awn¢V−L f¡n¡f¡¢n ¢m−M f¡C Bj¡−cl Ešlz 
Ešl ₹106 p31z 

¢h−u¡N Ll¡¢h−u¡N Ll¡¢h−u¡N Ll¡¢h−u¡N Ll¡    
HC fÜ¢a−a ¢h−u¡N Ll¡l pju Hje q−a f¡−l −k fup¡l Awn¢V−a 
¢h−u¡N Ll−a V¡L¡l Awn −b−L 1 V¡L¡ h¡ 100 fup¡ d¡l ¢e−a q−hz 
−aje q−m HC 1 V¡L¡¢V−L Bjl¡ f−l V¡L¡l Aw−nJ ¢h−u¡N L−l −ehz 
Ec¡qlZ 6. ¢h−u¡N L−l¡: ₹62  p53  –  ₹43 p78 

B−N fup¡l Awn¢V ¢h−u¡N Llhz −k−qa¥ 53 fup¡ −b−L 78 fup¡ ¢h−u¡N 
Ll¡ k¡u e¡ a¡C V¡L¡l Awn −b−L 1 V¡L¡ h¡ 100 fup¡ d¡l ¢e−u 153 

fup¡ −b−L 78 fup¡ ¢h−u¡N Llhz 
p153 – p78 =  p75   

Hh¡−l V¡L¡l Awn¢V ¢h−u¡N Llh J a¡l −b−L JC 1 V¡L¡J ¢h−u¡N Llhz 
₹62 – ₹43 – ₹1 = ₹61– ₹43 =  ₹18 

Hh¡−l V¡L¡ J fup¡l Awn¢V−L f¡n¡f¡¢n ¢m−M f¡C Bj¡−cl Ešlz 
Ešl ₹18 p75z 

…Z Ll¡ …Z Ll¡ …Z Ll¡ …Z Ll¡     
…−Zl pjuJ fup¡−L …Z L−l …Zgm¢V 100-l −h¢n −f−a f¡¢lz a¡C 
fup¡l …Zgm¢V 100-l −h¢n q−m 1 V¡L¡, 200-l −h¢n q−m 2 V¡L¡ —
HCi¡−h V¡L¡l Awn¢V Bm¡c¡ L−l q¡−a −l−M h¡¢L fup¡l Awn¢V fup¡ 
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¢qp¡−h ¢mMhz f−l V¡L¡l Awn¢V−L …Z L−l ¢e−u q¡−a l¡M¡ V¡L¡−LJ 
−k¡N L−l −eh J −k¡Ngm¢V V¡L¡ ¢qp¡−h ¢mMhz  
Ec¡qlZ 7. …Z L−l¡: ₹43 p85 x 4 

Bjl¡ B−N fup¡l Awn¢V …Z Llhz 
p85 x 4 =  p340  =  ₹3 p40 

Hh¡−l V¡L¡l Awn¢V …Z Llh J a¡l p¡−b JC 3 V¡L¡J −k¡N L−l −ehz 
₹43 x 4+ ₹3 = ₹172+ ₹3 =  ₹175 

Hh¡−l V¡L¡ J fup¡l Awn¢V−L f¡n¡f¡¢n ¢m−M f¡C Bj¡−cl Ešlz 
Ešl: ₹175 p40z 

i¡N Ll¡ i¡N Ll¡ i¡N Ll¡ i¡N Ll¡     
i¡N Ll¡l pju j−e l¡M−a q−h −k phÑc¡ ¢ex−n−o i¡N e¡J q−a f¡−l, 
AbÑ¡v i¡N−no −b−L −k−a f¡−lz ¢àa£ua, Bjl¡ HM¡−e B−N fup¡l 
Awn eu, V¡L¡l Awn¢V−L i¡N Llhz i¡N−no b¡L−m a¡−L 100 …Z L−l 
fup¡u L−l −eh J fup¡l Aw−n −k¡N L−l −ehz a¡lfl fup¡l Awn¢V−L 
i¡N Llhz 
Ec¡qlZ 8. i¡N L−l¡: ₹127 p25 ÷ 5 

Bjl¡ B−N V¡L¡l Awn¢V−L i¡N Llhz 
₹127 ÷ 5 =  ₹25,  i¡N−no ₹2  = p 200 

i¡N−no p200 fup¡l Aw−n −k¡N L−l f¡C p225, k¡−L Bjl¡ Hh¡−l 
i¡N Llhz    p225÷ 5 = p 45  

Hh¡−l V¡L¡ J fup¡l Awn¢V−L f¡n¡f¡¢n ¢m−M f¡C Bj¡−cl Ešlz 
Ešl: ₹25 p45z 

Ae¤n£me 12.3  e¡ ¢m−M j−e j−e L−l¡  
 a. −k¡N L−l¡ b. ¢h−u¡N L−l¡ c. …Z L−l¡ d. i¡N L−l¡ 
1.    ₹50  p50  

+  ₹10    p25  
   ₹23   p27  
–  ₹20  p20   

₹8  p50 

x 5 

₹15  p55 

÷ 5 

2.    ₹65   p08  
+  ₹14    p92   

   ₹33 p75  
–  ₹20  p50   

₹12  p30 

x 4 
₹14 p04 

÷4 
3.    ₹23   p17  

+  ₹76    p93   
   ₹31  p22  
–  ₹12  p42   

₹40  p25 

x 8 

₹62 p40 

÷12 

4.    ₹24   p65  
+  ₹11   p55   

   ₹14  p15  
–  ₹12  p18   

₹20 p63 

x 10 
₹20 p70 

÷ 9 
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Ešl 12.3  
 a. b. c. d. 

1. ₹60  p75 ₹3   p07 ₹42  p50 ₹3  p11 

2. ₹80  ₹13 p25 ₹49  p20 ₹3  p51 

3. ₹100 p10 ₹18 p80 ₹483  ₹5  p20 

4. ₹36 p20 ₹1  p97 ₹206 p30 ₹2  p30 

cn¢jLcn¢jLcn¢jLcn¢jL fÜ¢afÜ¢afÜ¢afÜ¢a: : : : V¡L¡fup¡l hs hs −k¡N, ¢h−u¡N, …Z J i¡N Ll¡l pqS 
fÜ¢a q−h pl¡p¢l cn¢jL pwMÉ¡u V¡L¡fup¡…¢m−L ¢m−M ¢e−u −k¡N, 
¢h−u¡N, …Z J i¡N Ll¡z V¡L¡ J fup¡l pwMÉ¡…¢m−L cn¢jL pwMÉ¡u 
Jfl-¢e−Q −mM¡l pju −Mu¡m −l−M¡ cn¢jL ¢h¾c¥¢V −ke HLC m¡C−e b¡−Lz 

Ec¡qlZ 1. −k¡N L−l¡: ₹34  p78  +  ₹73 p57  
 
 
  

Ešl ₹108. 35 

Ec¡qlZ 2. −k¡N L−l¡: ₹103  p32  +  ₹114 p57 + ₹183 p47 
   
 
 
 

Ešl ₹401. 36  

Ec¡qlZ 3. ¢h−u¡N L−l¡: ₹252  p23  –  ₹143 p78 

 
 

Ešl ₹108. 45   

 

 

 

V¡L¡ ₹ fup¡ p 
+1

   3 4
+1

 7
+1

 8 

   7 3 5 7 

 1   0 8 3 5 

V¡L¡ ₹ fup¡ p 
1

+1
  0

+1
 3

+1
 3

+1
 2 

1  1 4 5 7 

1  8 3 4 7 

4  0 1 3 6 

V¡L¡ ₹ fup¡ p 
2  5

–1
 2

–1
 2

–1
 3 

1  4 3 7 8 

1  0 8 4 5 
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Ec¡qlZ 4. …Z L−l¡: ₹453 p78 x 43 

 
 
 
 

Ešl ₹19512. 54  

Ec¡qlZ 5. i¡N L−l¡: ₹4055 p25 ÷ 15 

cn¢jL pwMÉ¡−L AM™ pwMÉ¡ ¢c−u i¡N Ll¡ ¢n−M¢Rz HC i¡NV¡ −pCi¡−h 
Llhz 

15│4055.25│270.35 

      30 

       105 

      105 

         52 

        45 

        75  

        75 

        0  Ešl ₹270. 35z 
Ec¡qlZ 6.    fË−aÉL−L 169 V¡L¡ 70 fup¡ L−l ¢c−m 1018 V¡L¡ 20  

fup¡ −b−L LaSe−L −cJu¡ k¡−h?  

HC ¢qp¡hV¡ Ll−a Bj¡−cl 1018 V¡L¡ 20 fup¡−L i¡N Ll−a q−h 169 
V¡L¡ 70 fup¡ ¢c−u, h¡ 1018.20-−L i¡N Ll−a q−h 169.70 ¢c−uz 
Bjl¡ HL¢V cn¢jL pwMÉ¡−L B−lL¢V cn¢jL pwMÉ¡ ¢c−u i¡N Ll¡ 
¢n−M¢Rz HC i¡N¢V −pCi¡−h Ll−a q−hz  

i¡S−Ll cn¢jL ¢h¾c¥−L X¡e¢c−L c¤C Ol p¢l−u f¡C 16970 Bl 
−pCj−a¡ i¡−SÉlJ cn¢jL ¢h¾c¥−L X¡e¢c−L c¤C Ol p¢l−u f¡C 101820z 
i¡N¢V a¡C Ll−a q−h 101820-−L 16970 ¢c−uz 

HM¡−e i¡SL qm 5 A−ˆl J i¡SÉ qm 6 A−ˆlz Bjl¡ i¡N¢Vl 
B¾c¡S Ll−a −cMh i¡S−Ll fËbj c¤¢V Aˆ, j¡−e 16 ¢c−u i¡−SÉl fËbj 
¢ae¢V Aˆ, j¡−e 101-−L Lah¡l i¡N Ll¡ −k−a f¡−lz 16-l e¡ja¡ j−e 

V¡L¡ ₹ fup¡ p 
  4  5 3 7 8 

    x 4 3 

 1 3  6 1 3 4 

1 8 1  5 1 2 0 

1 9 5  1 2 5 4 
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L−l −cM, 6x16 qm 96, ¢L¿¹¥ 7x16 Sm 112z a¡C 6 ¢c−u Bjl¡ 
i¡N¢V L−l −cMhz Hh¡−l i¡SL−L 6 ¢c−u …Z L−l f¡C 6x16970= 

101820z p¤¤al¡w, i¡Ngm 6 q−mC i¡N¢V ¢j−m k¡−h, −L¡eJ i¡N−no 
b¡−L e¡z 

16970│101820│6 

                 101820 

            0  

Ešl:  1018 V¡L¡ 20 fup¡ −b−L fË−aÉL−L 169 V¡L¡ 70 fup¡   
    L−l 6  Se−L −cJu¡ k¡−h z 

Ae¤n£me 12.4  cn¢jL fÜ¢a−a L−l¡ 
 a. −k¡N L−l¡ b. ¢h−u¡N L−l¡ c. …Z L−l¡ d. i¡N L−l¡ 
1.    ₹567  p78  

+  ₹110  p57  
   ₹203  p17  
–  ₹107 p28   

₹87 p17 

x 52 

₹175  p05 

÷ 15 

2.    ₹678  p08  
+  ₹114  p97   

   ₹336 p25  
–  ₹208  p58   

₹27 p35 

x 23 
₹144  p04 

÷4 
3.    ₹233  p07  

+  ₹716  p93   
   ₹317 p22  
–  ₹128  p47   

₹40 p25 

x 19 

₹606 p72 

÷₹50 p56 

4.    ₹240  p65  
+  ₹119  p85   

   ₹143 p15  
–  ₹ 87  p18   

₹24 p63 

x 13 
₹186 p 84  

÷ ₹20 p76 

Ešl 12.4  
 a. b. c. d. 

1. ₹678.35 ₹95.89 ₹4532.84 ₹11. 67 

2. ₹793.05 ₹127.67 ₹629.05 ₹36.01 

3. ₹950 ₹188.75 ₹764.75     12 

4. ₹360.50 ₹55.97 ₹320.19       9 

12.3  V¡L¡fup¡l Sj¡-Ml−Ql ¢qp¡h l¡M¡ 
Bj¡−cl phÑc¡C V¡L¡fup¡l ¢qp¡h l¡M−a qu — pwp¡−ll ¢qp¡h, h¡S¡−ll 
¢qp¡h, −c¡L¡e h¡ hÉhp¡ Q¡m¡−e¡l ¢qp¡h, Hje¢L Q¡yc¡ a¥−m −L¡eJ Ae¤ù¡e 
Ll¡l ¢qp¡hz HC ¢qp¡h l¡M¡l fÜ¢a qm, V¡L¡fup¡ k¡ f¡Ju¡ −Nm a¡−L 
Sj¡ (Bu) J k¡ MlQ qm a¡−L MlQ (hÉu)  ¢qp¡−h Bm¡c¡ L−l ¢m−M 
l¡M¡z Hlfl Sj¡…¢m−L −k¡N L−l −j¡V Sj¡ J MlQ…¢m−L −k¡N L−l −j¡V 
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MlQ f¡Ju¡ k¡−h z −j¡V Sj¡ −b−L −j¡V MlQ ¢h−u¡N Ll−m La V¡L¡ 
q¡−a lCm (Cw−l¢S−a h−m hÉ¡m¡¾p) a¡ f¡Ju¡ k¡−hz   
Ec¡qlZ 1. j−e L−l¡ −a¡jl¡ f¡yQSe hå¥ ¢j−m ¢e−Sl¡ h¡h¡-j¡−ul L¡R 
−b−L V¡L¡fup¡ −k k¡ f¡−h a¡C ¢c−u Qs¥Ci¡¢a h¡ ¢fL¢eL Ll−h ¢WL 
L−lRz ¢qp¡h l¡M¡l i¡l −a¡j¡lz ¢fL¢e−Ll SeÉ V¡L¡ EWm HC lLj — 

l¡−Sn 35 V¡L¡ 50 fup¡, üfe 43 V¡L¡ 75 fup¡, lqja 57 V¡L¡ 20 
fup¡, ¢ja¡ 38 V¡L¡ 80 fup¡, Bl L¢ha¡ 33 V¡L¡ 65 fup¡z Hh¡l k¡ 
MlQ qm a¡ HC lLj — Q¡m 32 V¡L¡ 80 fup¡, X¡m 35 V¡L¡ 35 
fup¡, −am 13 V¡L¡ 75 fup¡, jnm¡ 18 V¡L¡ 35 fup¡, ¢Xj 45 V¡L¡, 
p−¾cn 50 V¡L¡z La V¡L¡ EWm Bl La MlQ qm J La h¡yQm a¡l 
¢qp¡h a¥¢j L£i¡−h −c−h?  

Ešl: h¡y¢c−L Sj¡ J X¡e¢c−L MlQ…¢m ¢m−M ¢qp¡h¢V HC i¡−h −c−h — 
Sj¡ ₹ MlQ  ₹ 

l¡−Sn 35.50 Q¡m 32.80 

üfe 43.75 X¡m 35.35 

lqja 57.20 −am 13.75 

¢ja¡ 38.80 jnm¡ 18.35 

L¢ha¡ 33.65 ¢Xj 45.00 

  p−¾cn 50.00 

−j¡V Sj¡ 208.90 −j¡V MlQ 195.25 

           q¡−a lCm (hÉ¡m¡¾p):    
−j¡V Sj¡  = 208.90 

–   −j¡V MlQ  = –195.25  

=   ₹13.65 
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pj¡d¡e —  80 fªù¡u Ae¤n£me 9.1 Aˆ 12 −b−L 17 

(HC Aˆ…¢ml pj¡d¡−e ¢hfl£a iNÀ¡w−nl hÉhq¡l Ll−a q−hz j−e l¡−M¡, −L¡−e¡ 
iNÀ¡wn −b−L f§ZÑ h¡ pj−Ù¹l j¡e −f−a iNÀ¡wnV¡−L a¡l ¢hfl£a iNÀ¡wn ¢c−u …Z 
Ll−a quz fªù¡ 78 −c−M¡z) 
12.  S−ml Jf−l B−R 1-     -     = 1- (   +   ) = 1-    =   z HC Aw−nl  
j¡f 5 q¡az a¡q−m ¢hfl£a iNÀ¡wn   ¢c−u …Z L−l f¤−l¡ Awn (   x   ) q−h   
5 x      q¡a h¡ 8 q¡a z a¡q−m L¡c¡u b¡L¡ Awn¢V q−h 8 x     = 2 q¡a z 
13. h¡N¡−el   Aw−n B−R 1500¢V Lm¡ N¡Rz a¡q−m f¤−l¡ h¡N¡−e (   x    ) 

b¡L−h (1500 x   )-¢V = 2400-¢V Lm¡ N¡Rz   Aw−n b¡L−h (2400 x   )-¢V  

h¡ 600 -¢V Lm¡ N¡R 

14.  1-     -      -     = 1-       =       Awn q¡−a b¡Lm ph −Le¡l f−l z Hl j¡e  

10 V¡L¡ q−m f¤−l¡ ¢Rm (    x    ) h¡ 10x       = 112 V¡L¡z   

15.       -     =        Aw−nl j¡e qm 12 eðlz a¡q−m −j¡V (   x    ) q−h      

 12x     = 80 eðlz l¡S¥ −f−u−R 80x   = 60eðl Bl p”u −f−u−R 48eðlz 

 16.  HL HL h¡−l J−W f¤−l¡ 10 q¡a h¡y−nl   -   =    Awnz a¡q−m f¤−l¡  

   10 q¡a h¡ynV¡ EW−h 10 x    = 48 h¡−lz 

 17.     Hl   =     Awnz a¡q−m O¢s J −l¢XJ −Le¡l f−l B−R 1-     -    = 

Awnz    Hl   =     Awnz Hl j¡e qm 120 V¡L¡z a¡q−m −j¡V V¡L¡ qm 480z 

  

[ B−lL i¡−h AS¡e¡ pwMÉ¡ d−l HC A−ˆl pj¡d¡e Ll¡ k¡uz d−l¡, x qm −j¡V  

V¡L¡z a¡q−m Bjl¡ ¢mM−a f¡¢l (x –   x –    .      x) .     = 120 z HC pj£LlZ 
−b−L x-−ul j¡e h¡l L−l Bjl¡ Ešl f¡hz ] 
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